ﬁﬁiﬁitﬂﬁ,}g FLINTJIE Sf1 Toolindex for hole machining

#H$8 Rough boring $#4hE Boring Outer Circle K % Reverse boring
TWE R 7J48% TWE X414 RBH W 7J#%¥ RBH K% CBH-M$#4rE  CBR$ESME HBORK #% 3k
Em#hk EEE =0k
Fast Drilling bit High precision shovel drill Hollow Drilling bit

=ik BT =ik

v e TR 4k TIAF

EM7IA QD
YIHIE & 08~026
CBFLIR R 4 7L

YIHE R 09-065
PR KTI A (B FLYRERTLEEFL

@200~1200mm | @20~204mm

BESL I 1548

Fine boring

EREES o ____

|
| High precision shovel drill oo : NBH2084
_______________________ - @8~280mm
(== > ~ I e .
B2k G9~65mml 6y Drilling bit | : e
S Fast Drilling bit_ @50~220mm | P!
. |
> 3 I NBJ16
2 4 Sk | P
- ) 1 @8~50mm
Fast Drilling bit [+) | L--9o
___________________________ I
: @10~65mm : I
| Lo
I . N |
. VMD $ Sk/ 2 1l !
| |————— === === 0 Fo
: I VMD large bit/ centering drill : |
|
I @18~180mm P!
1 2 ;!
|
1 N / 1
| : iﬁ ~ / | :
R T _— oy
ol Drill Bit | ! /
L @0.2~50mm Fo
| : ! : | /
| | 1
(I ! 1 l
o : I .
I i
: [ ! : =
o by
o by
o by
o by
o by
o by
o by
o by
P | | TBS..30° TBS..45° TBS..90° CBS..30° CBS..45° CBS..90°
Ve S eb i 3 |
(I SPEELH#L WCHE Lk VMDA 1 K46 TIATC K46 71HTC K46 7IKTC K46 71/cC K46 71RCC K46 71RCC
N \ J——
L VMDK $ 3k/ 7 1> $5 _ Lo ik
| | .
: : VMD large bit / centering drill : | Rough boring
| @18~180mm ! NFRE 30° TR 45° NFME 90° TR 30° TR 45° NHME 90°
! . s ] ! SFLSER20~190mm | #FLIBE20~190mm | FL3EE20~190mm| #FLIEE20~190mm | FLIEE20~190mm| #FLIEE20~190mm
1! s S = FIT R =T AYE | i mT mEmT hiemT T mEmT i mT
| 1 YIB B2 018~030 | YIHIE R 025~040 |EIHIEE 045~0180 | VR pnp
ol USH(B D) Sk | USS(E R LRSB S | (BRDATLE L P! BSA % BSB #H & BSB..LBK..
1 P! K45 K45 K46 TIHTP K46 7IATP K46 TIATP
! |
e S |
| MR 4k S |
BST ! Fast Drilling bit L ;! ! BST
" | g»] 0~65mm § | | 71H#EO BT TIHEN LBK JIfEED BTH 71D LBK TIFFFE 30° TIFFRRE 45° TIFFfE 90° %’é
%5’: ?L ! | | FLIEE20~190mm| EFLEE20~190mm | $FLIEE20~190mm | & FLFEE20~190mm | #FL3EE20~190mm | #7138 El20~190mm| $FLIEE20~190mm £ ?L
TR : e S NE e S G P . AEmT AgmT mEmT AEMT AEmT AEmT mEmT kil
ZD..WC YIB AR 014~065 ZD..SP. YIYER 013~060 | B —e———
HBOR | N REERTIH | USGETURES K | RBEEA | UBCE IR ! | . . HBORf 423k HBORMEEE®R BN /NET) CBH#§§¥sk CBHAE#k CBHIF#sk SCT A+ HBOR
L mEEEk ERMKER  EHES L Fine boring
CBI b = S J s > L T e s K33 £34-K35 / K34 K37y K37 K44 CBI
CBH Drill Bit Kae Kao Kot Koo | %% w‘”g ‘@u CBH
ek Lol @0.2~50mm / / / ' I k ﬁ'é =] % 4
B %1 . > '// gﬂ N
! 1 y 4
’%Zﬁ > 1 NEEO CK 71##ED CK EETIH HBOR 7I##EDO LBK O 5 7)WIEO HE %,ﬁ
— S s P BRI ERIIE SO ERE ERAE XO | " - Eiﬁ;ﬁ%?g%ﬁ?mm E?ﬁ;’é%ﬂ?%ﬁovmm %ﬁ?ﬁ{lﬂ?ﬂor?nn X‘éiﬁ?ﬁli/]ﬂ?ﬂ«?t}:{mm %iﬁ?ﬁl/ﬂ?otzt%nm ?i?LiiElm—smmv
NBJ BB 002-017.5 | KB 150~600mm B & 07~-0100 7D..SO YIMEE 010~050 ZD..XO. YIYE1E 013-060 | /J\ ?L*%%E & ﬁ £ REFLAH0.002mm | AT MIH0.002mn | HEEFLAIB0.002mm | HRMFLAH0.01mn H#FL R0 FhEmLT NBJ
NBH AL ML AW EAL T A ETL T BRI | US(PRIVBESEE | REEETIA | UB(RRFRE Sk I Il hole fi . . NBH
a7 HEREMACEESL 1255 SGEMEL I Small hole fine boring and suit CBINEXEHE CBIMEHER ST R4 AT 550/ 82 7] NBH2084 % %% A
szl GG Ll 0 e ML AL e 090900 e o oy
éﬁt K53 K53 K54 K13 K15 K39 K40 K40 K40 =¥
- = Zo @ £
TWE = 3 % 7] #R B 1 v S TWE
RBH ik EmEESK | BREEMEL Ee Bk Oil way Tool Holder ER ERTIA WD Emam ERTIE P BRI DD LBK | 7MED LBk | MEEO ST | MmO A | MmO A | RS CBl 5 ous : RBE
*ﬁiﬁ B 0250~0600 | E#& 013.5~032 BHE 01~020 B 00.4~010 HE01-014 i WDX YIBIEE 013-065 TAF. YIMERE 012-056 880 HEEG-50mm | HEBE-50mm | HEEME-42mm | FHEEMM-42mm WEEE-10mm | HEBES~50mm | ¥ B Es~280mm *ﬁ'{;
o A E LT LT mmELmT LT EWEA T Accessories BEEANIA | USCERIRESS | REESIR | USCERIDREE | BB AR 0l | WAL MATLHIA0 01n | ML HIR0.01n WA 0lin | MFTLHA0In | M HHO.01nn e
T WRRTIET] EHWRETRT] Tt a |
%E%L ZINREEEAT LEIb=E2S BT IM HEMEIIWH BST 714 NBH20847]# BT-LBKJ]4& SK-LBKJ]# HSK-LBK7J# HEMLBKJI4 NT-LBKJI# MT-LBKJI#& LBKF R I+ EFLTI K %E%“
= > K26 -
_ = _
bk BT BT HBIPTIET) —
HiE 01~020 HE 02~020 HiE 012-060 H1E 06~020 BRI XC B Sk SER 3k BB Sk Bk SER 3k B Sk SR 3k M 45° R
AmEELMT EHEAL T EHELMT AmHELMT YIYER 08~014 HE1Z200mmid L§87) NBH2084 BHZ200mmA T4 7] | EZ200mmEl T8 7] | B /2200mmd F4E 7] | B Z200mmEl F4E7) | EZ200mmEl R4 7] | B112200mmid T8 7] | BL&200mmEL T4 7] | HZ200mmEl T4 7] | Bif S M5~160mm &M
NFLESKETAET) | hE R 547 R A BT R BT R BT R A BT R #NNH #TNHE #NNE #TNH #INH #TNE #NH #NNHE #TNE HAMT #AMT




ﬁﬁiﬁﬂﬂﬂﬁg fFLINTJIBE S Toolindex for hole machining

© P,
o B
J—— Balance Weight
K37-K38
0 = &
REMBHBEEESL AR
CHB Large Diameter @ Finish Head
Modular Micro Boring Head
@ K37-K38
BST% 5'] K37-K38
BST BORING SYSTEM EEE =
Flange K37-K38

Y

N i AR
S— Extension Slide
- (( -i (@ K43-K44 K37-K38 K37-K38
\ = K BRI T] Bk TIHERTIA

Insert Setting And

RBH Large Diameter
a0 g Clamp Base Applicable Insert

Modular Rough Boring

o 33 BST{ELTIHR

BST Boring Heads Bar K37-K38

TNRERER

Height Setting Shim

K43-K44

SR AEEFLTIK (RBH 120)
RBH Modular Roughing Boring Head

®7]
TR IR TRIR
£k sk
- (RBH 160) § 4k
%L %E RBH Modular Roughing
[ Boring Head E Il
&1 WA EE X %EQ—
$hk _ S
EWN/CBH Micro Boring Head
VMD VMQ
A K K $hk
Bk gk s
o= s iER45° fHEX 250
:I—_l A . >
%59: Split type 45 degree coarse boring head %Eb‘:
il I B
Boft I B 1
LBK K45 LBK
ol LBK# %I REBRERKEN) £ 1ER90° 4Bk L il =l
i i Splittype 90 d [0 i
ok SRR saxnsiens S 55
K40 K40 K40
HBOR - ‘ BRNFEMER  HRBWOF  BEEL HBOR
CBI ((. \‘)\ NBJ Collet For Super ST Anti-shank Solid BE Boring CBI
CBH o\ \ \ ST Head Solid Caibide Carbide Boring Bar Head CBH
m K32 \ Boring Bar gk £aln
Y J— » o
e e NBJ-16 Small Diameter
NBJ LBK4E L J14R P Mirco Boring Head BT ketkaz NBJ
NBH Boring Head Bar NBJ-16 Micro Boring Bar ”;LBT
s Clp=—— o | L
A : K40 K37-K38 I;EB,%E
TH 2 (% K40 K3r B 45
; / EER 4
45 HTB B8 T AL 45 6942 7) 4T 5
25 S S " 5%
7] A 7]
- BBV corcis (O — ,
High Precision Toolholder K37 K38 K37-K38
C32E 14 7] #F CBH-MR $#3k TR 22 Sk
C32 Straight Shank Boring Bar CBH-M Counter Boring Head CBH Micro Boring Head



ifﬁiﬁﬂﬁ.ﬁ WC [Ri1E£L S  WC Type Fast Drilling Bit

S 3
BIL ML - — BT .
==
e [—k 0| & { g
| S | E—
&7l T T gy . -
‘ L
L2 @ TREMH @ —MUH g FREOH
Cutting Environment ble Cutting General Cutting Unstab tting .
— o < = R ~F Dimension (mm) BEETIHR
P @ Steel 0 Vxzzee f—g RER JUT R~ MRS I D;ggggégggg
M | THR Stainless Steel O OBBBOO s Product Image Dimensioning Specification re A B T L TO;:O;;S’ 8885’%‘8&5%5%
K | %% Iron e ¢ exx®
N | $2/4R/85/ 58/ B R/ KR4 Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° o
= ) Carbide/Powder Metall oL WCMX 030208-ZK 0.8 5.56 3.8 2.38 2.8 = e ecee
QRS p arbidelrowder Hetarurgy ° b - 24 Peef 040208-2K 08 | 635 43 | 238 31 e o eose
H | &/ER&&/mTH Titanium/Superalloy/Carbon Fiber d xHee 27l T I L 050308-ZK 0.8 7.94 5.4 3.18 32 | * ocee
z ij A LA 06T308-ZK 08 9525 65 397 37 (Toolholder) o scee
<R EoEE AR AR R~f Dimension (mm) BRETIR xo ol @ re 70 080412-ZK 1.2 127 8.7 476 43 K05-K06 o oeee
Sk Matching |RZZB3SHQ2LLe r K19-K20
3 Product Image Dimensioning Specification re A B T L Toolholder 8885%&&&&&& A T
. x WCMX 030208-SU 0.8 5.56 3.8 2.38 2.8 = ecoccoe R s . WCMX 030208 0.8 5.56 3.8 2.38 2.8 = o eocooe
i . . . ) eeecoe H T . . . ) e eocoeoe
ki ® 040208-SU 0.8 6.35 4.3 2.38 3.1 TR E 3 ® i 040208 0.8 6.35 4.3 2.38 3.1 TI4E
: % § 050308-SU 0.8 7.94 5.4 3.18 3.2 e \.h . ecocococe g % T *I L 050308 0.8 7.94 5.4 3.18 32 T \-y d o ecooe
s s 06T308-SU 0.8 9525 65 397 37 (Toolholder) ecccee e \ s 067308 08 9525 65 397 37 (Toolholder) e ecee
’ N 080412-SU 1.2 127 | 87 476 @ 43 K05-K06 seccce ’ g 70 080412 1.2 127 | 87 476 @ 43 K05-K06 ¢ cosee
re K19-K20 N re = K19-K20
» 4
IR R IR

WCH! & 2 2 R 45 3k SR ESESL-WCT]E L1=3xD Fast Drill - WC Type AERIESL SK-WCT]H  L1=4xD Fast Drill - WC Type 5f&RiEEES-WCTI B L1=5xD Fast Drill - WC Type

T . = - B BS il Lol d ERATIR | B2 87 5l EaLT] BS il Lol d ERATIA | B2 BT pice
WC Ty pe F a St D rl I I n g B |t EaET] BE L1 | L2 L D d ERTR By | ¥ Fries Order Model Applicable Inserts | Screw |Wrench Order Model Applicable Inserts | Screw |Wrench
Order Model Applicable Inserts | Screw | Wrench 503500 ZD04-14.0-XP25-WC03-02 | 61 | 56 | 134 | 14 825 503700 |ZD05-14.0-XP25-WC03-02 | 75 | 56 | 148 | 14 950
503300 |ZD03-14.0-XP25-WC03-02 56 | 120 | 14 738 503502 | ZD04-14.6-XP25-WC03-02_| 63 | 56 | 136 | 145 825 503702 |ZD05-14.5-XP25 WC03-02 .| 775 | 56 | 150 | 145 950
503302 |ZD03-14.5-XP25-WC03-02 56 | 122 | 14.5 738 503504 | ZD04-15.0-XP25-WC03-02_| 65 | 56 | 138 | 15 825 503704 |ZD05-15.0-XP25-WC03-02_| 80 | 56 | 153 | 15 950
503304 |ZD03-15.0-XP25-WC03-02 56 | 123 | 15 738 503506 | ZD04-15.6-XP25-WC03-02_| 67 | 56 | 140 | 155 825 503706 |ZD05-15.5-XP25-WC03-02 | 82.5 | 56 | 155 | 155 950
503306 |ZD03-15.5-XP25-WC03-02 56 | 124 | 15.5 738 503506 | ZD04-16.0-XP25-WC03-02_| 69 | 56 | 142 | 16 825 503708 |ZD05-16.0-XP25-WC03-02 | 85 | 56 | 158 | 16 950
503308 |ZD03-16.0-XP25-WC03-02 56 | 126 | 16 738 503510 ZD04-16.5-XP25-WC08-02_| 71 | 56 | 144 | 165 825 503710 |ZD05-16.5-XP25-WC03-02 | 67.5 | 56 | 160 | 165 950
503310 |ZD03-16.5-XP25-WC03-02 56 | 127 | 165 738 503512 ZD04-17.0-XP25-WC03-02_| 73 | 56 | 146 | 17 . 825 503712 |ZD05-17.0-XP25-WC03-02_| 90 | 56 | 165 | 17 . 950
503312 |ZD03-17.0-XP25-WC03-02 56 | 129 | 17 WCMX030208 738 503514|ZD04-17.56-XP25-WC03-02_| 75 | 56 | 148 | 175 WEMX030208 825 503714 |ZD05-17.5-XP25-WC03-02 | 92.5 | 56 | 165 | 17.5 WEMX030208 950
503314 |ZD03-17.5-XP25-WC03-02 56 | 130 | 175 738 503516 ZD04-18.0-XP25-WC03-02_| 77 | 56 | 150 | 18 825 503716 |2D05-18.0-XP25-WC03-02 | 95 | 56 | 168 | 18 950
503316 |ZD03-18.0-XP25-WC03-02 56 | 132 | 18 738 503516 | ZD04-18.5-XP26-WC03-02 | 79 | 56 | 152 | 185 | 2° 825 503718 |ZD05-18.5-XP25-WC08-02 | 975 | 56 | 170 | 185 | 2° 950
503318 |ZD03-18.5-XP25-WC03-02 56 | 133 | 18.5 M25x6.5 | T8 | 738 503520 | ZD04-19.0-XP25-WC03-02_| 81 | 56 | 154 | 19 M2.5x6.5 | T8 [ 825 503720 |ZD05-19.0-XP25-WC03-02_| 100 | 56 | 175 | 19 M2.5x6.5 | T8 [ 950
503320 |ZD03-19.0-XP25-WC03-02 56 | 135 | 19 | 25 738 503522 |ZD04-19.5-XP25-WC03-02_| 83 | 56 | 155 | 195 825 503722 |ZD05-19.5-XP25-WC03-02_[1025 | 56 | 174 | 195 950
503322 |7D03-19.5-XP25-WC03-02 56 | 136 | 19.5 738 503524 ZD04-20.0-XP25-WC08-02_| 85 | 56 | 159 | 20 825 503724 |ZD05-20.0-XP25-WC03-02_| 105 | 56 | 179 | 20 950
{ 503324 |ZD03-20.0-XP25-WC03-02 56 | 139 | 20 738 503526 |ZD04-20.5-XP25-WC03-02_| 87 | 56 | 161 | 205 1025 503726 |ZD05-20.5-XP25-WC03-02_|107.5 | 56 | 181 | 205 1150
503326 |ZD03-20.5-XP25-WC03-02 56 | 140 | 205 925 503526 |ZD04-21.0-XP25-WC03-02_| 89 | 56 | 163 | 21 1025 503728 |ZD05-21.0-XP25-WC04-02 | 110 | 56 | 184 | 21 1150
503328 |ZD03-21.0-XP25-WC04-02 56 | 142 | 21 925 503530 | ZD04-21.6-XP25-WC04-02 | 91 | 56 | 165 | 215 1025 503730 |ZD05-21.5-XP25-WC04-02_|112.5 | 56 | 186 | 21.5 1150
ZD03-21.5-XP25-WC04-02 56 | 143 | 215 925 503532 ZD04-22.0-XP25-WC04-02 | 93 | 56 | 167 | 22 1025 503732 |ZD05-22.0-XP25-WC04-02 | 115 | 56 | 189 | 22 1150
= 7D03-22.0-XP25-WC04-02 56 | 145 | 22 925 503534 ZD04-22.5-XP25-WC04-02 | 95 | 56 | 169 | 225 1025 503734 |ZD05-22.5-XP25 WC0402 _|117.5 | 56 | 193 | 205 150 <
§ 4k 7D03-22.5-XP25-WC04-02 56 | 148 | 225 WOMX040208 925 503536 | 7D04-23.0-XP25-WC04-02 | o7 | 56 | 171 | 25 WEMX040208 1025 503736 |ZD05-23.0-XP25-WC04-02_| 120 | 56 | 194 | 25 \WENX040208 1150 5 #h
7D03-23.0-XP25-WC04-02 56 | 148 | 23 925 503538 | ZD04-23.6-XP25-WC04-02 | 99 | 56 | 173 | 235 1025 503738 |ZD05-23 5-XP25-WC04-02_|122.5 | 56 | 196 | 235 1150
o 7D03-23.5-XP25-WC04-02 56 | 149 | 235 925 503540 | ZD04-24.0-XP25-WC04-02_| 101 | 56 | 175 | 24 1025 503740 |ZD05-24.0-XP25-WC04-02_| 125 | 56 | 199 | 24 1150 EFil
&L 7D03-24.0-XP25-WC04-02 56 | 161 | 24 925 503542 | ZD04-24.56-XP25-WC04-02_| 103 | 56 | 177 | 245 1025 503742 |2D05-24.5-XP25-WC04-02 1275 | 56 | 201 | 245 1150 N
&h 3k 7D03-24.5-XP25-WC04-02 56 | 162 | 24.5 925 503544 | ZD04-25.0-XP32-WC04-02_| 105 | 60 | 191 | 25 1025 503744 |ZD05-25.0-XP32-WC05-02_| 130 | 60 | 216 | 25 1150 £k
7D03-25.0-XP32-WC05-02 60 | 166 | 25 925 503546 | ZD04-25.6-XP32-WC08-02_| 107 | 60 | 193 | 255 1150 503746 |7D05-25.5 xP32 WC05-02__[152.5 | 60 | 218 | 255 1300 _
o . N ZD03-25.5-XP32-WC05-02 60 | 167 | 255 1038 503548 | ZD04-26.0-XP32-WC08-02_| 109 | 60 | 195 | 26 1150 503748 | 7D05-26.0-XP32-WC05-02_| 135 | 60 26 1300
VMD 2ZRIEEESK-WCTIHF  L1=2xD Fast Drill - WC Type ZD03-26.0-XP32-WC05-02 50 | 169 | 26 1038 503550 ZD04-26.5-XP32-WC03-02_| 111 | 60 | 197 | 26.5 1150 503750 | 7D05-26.5-XP32-WC05 02__|157.5 | 60 265 1300 VMD
K4k Sk ZD03-26 5-XP32-WC05-02 60 | 170 | 265 1038 503552 | ZD04-27.0-XP32-WC08-02_| 113 | 60 | 199 | 27 1150 503752 |7D05-27.0-XP32-WC05-02 | 140 | 60 | 226 | 27 1300 K&k sk
< ZD03-27.0-XP32-WC05-02 60 | 172 | 27 1038 503554 | ZD04-27.6-XP32-WC08-02_| 115 | 60 | 201 | 275 1150 503754 |ZD05-27.5-XP32-WC05-02 | 1425 | 60 | 228 | 275 1300
[ EE T #E L1l L2 L D d ERAE 24 | §5F Price ZD03-27.0-XP32-WC0s-02 60 | 173 | 275 1038 503556 [ZD04-28.0-XP32-WC03-02 | 117 | 60 | 203 | 28 WCMX050308| M3x7 | T8 [ 1150 503756 |ZD05-28.0-XP32-WC05-02 | 145 | 60 | 231 | 28 WCMX050308| M3x7 | T8 | 1300 |
ETRIN Order Model Applicable inserts | Screw |Wiench 5 |2D03-28.0-XP32-WC05-02 60 | 175 | 28 WCMX050208| M3x7 | Ts | 1038 503558 | ZD04-28.5-XP32-WC08-02_| 119 | 60 | 205 | 285 1150 503756 |7D05-28.5-XP32-WC05-02_|147.5| 60 | 235 | 265 1300 &b s
503100 [ZD0ZETAOXE25EWCoato2]] 33 | 56 | 108 | 14 -5 7D03-28.0-XP32-WC0s-02 60 | 176 | 285 1038 503560 | ZD04-29.0-XP32-WC08-02_| 121 | 60 | 207 | 29 1150 503760 |7D05-29.0-XP32-WC05-02_| 150 | 60 | 236 | 29 1300
503102| 250 ETSTOXE e Weoaool a2 | o6 | 105 1 15 o5 7D03-29.0-XP32-WC05-02 60 | 178 | 20 1038 503562 | ZD04-29.5-XP32-WC08-02_| 123 | 60 | 209 | 295 1150 503762 |7D05-29.5-XP32-WC05-02_|152.5 | 60 | 238 | 295 1300 —_—
Z= 0 503104200 ETIONE vieosol a2 | o8 | 110 T 46 o0 7D03-29.5-XP32-WC05-02 60 | 179 | 295 1038 503564 | ZD04-30.0-XP32-WC03-02_| 125 | 60 | 211 | 30 1150 503764 |ZD05-30.0-XP32-WC05-02_| 155 | 60 | 241 | 30 1300 Z=0)
. e - 7D03-30.0-XP32-WC05-02 60 | 181 | 30 1038 503566 | ZD04-30.5-XP32-WC08-02_| 127 | 60 | 213 | 305 | 32 1325 503766 |2005-30.5-XP32-WC05-02 _|157.5| 60 | 245 | 305 | 32 1450 EEsL
£k ggglgg ;ggg'g‘g'ixg'wggggg — WEMX030208 ;83 5 |7D03-30 5-XP32-WC05-0T 60 | 182 | 30.5 1213 503566 |ZD04-31.0-XP32-WC03-02_| 129 | 60 | 215 | 31 1325 503768 |7D05-31.0-XP32-WC05-02 | 160 | 60 | 246 | 31 1450 <
503110 [P0 SHIOT0X DS TWC 0305 j; gg Hg lg 25 M2.5%6.5 00 7D03-31.0-XP32-WC05-02 60 | 184 | 31 1213 503570|ZD04-31.5-XP32-WC08-02_| 131 | 60 | 217 | 315 1325 503770 |ZD05-31.5-XP32-WC05-02_|162.5 | 60 | 248 | 3156 1450
h o 203112 [eDOSTOTKP a0l 25 | o6 | 415 | 20 00 7D03-31.5-XP32-WC05-02 60 | 185 | 315 1213 503572 ZD04-32.0-XP32-WC03-02_| 153 | 60 | 219 | 30 1325 503772 ZD05-32.0-XP32-WC06-02_| 165 | 60 | 251 | 32 1450 3 g%
JH B e lopos o sweorosl & 1 oo 1 1es T o5 e ZD03-32.0-XP32-WC05-02 60 | 187 | 32 | 32 1213 503574]ZD04-32.5-XP32-WC06-02_| 135 | 60 | 221 | 325 1325 503774 |ZD05-32.5-XP32-WC06-02_|167.5 | 60 | 255 | 325 1450 /H ba
e 14 E03116 VD00 e WOl 4o oo [ 1os | 22 ) T8 [“a7e 503374 |ZD03-32.5-XP32-WC06-02 60 | 188 | 325 1213 503576 | ZD04-33.0-XP32-WC06-02_| 137 | 60 | 225 | 35 1325 503776 |7D05-33.0-XP32-WC06-02_| 170 | 60 | 256 | 35 1450 B 14
503116]2D02-23.0-XP25-We04-02 | 51 1 56 T 125 | 23 WCMX040208 875 503376 |ZD03-33.0-XP32-WC06-02 60 | 190 | 33 1213 503578 ZD04-33.5-XP32-WC06-02 | 139 | 60 | 225 | 33.5 1325 503778 |ZD05-33.5-XP32-WC06-02 [172.5| 60 | 258 [33.5 1450
03120 DS AT XBsWeoHT0sl s | on o0 | o B 503378 |7D03-33.5-XP32-WC06-02 60 | 191 | 335 1213 503560 | ZD04-34.0-XP32-WC06-02_| 141 | 60 | 227 | 34 1325 503760 |ZD05-34.0-XP32-WC06-02_| 175 | 60 | 261 | 34 1450
LBK =03122 [xD0P IO XBsWeoET0al e T oo Ty | o5 B 503380 |ZD03-34.0-XP32-WC06-02 60 | 193 | 34 1213 503562 | ZD04-34.5-XP32-WC06-02_| 143 | 60 | 229 | 345 1325 503762 |ZD05-34.5-XP32-WC06-02_|177.5 | 60 | 263 | 345 1450 LBK
=03124 [7D0P 2T XBaoWeDeT0ol 05 | a0 T 4a | o8 T 503382 |7D03-34.5-XP32-WC06-02 | 1085 60 | 194 | 345 1213 503564 | ZD04-35.0-XP32-WC06-02_| 145 | 60 | 231 | 35 WCMX06T308| M3.sxs | T15| 1325 503784 |ZD05-35.0-XP32-WC06-02_| 180 | 60 | 266 | 35 WCMX06T308| M3.5%8 | T15 | 1450 BST
BST 203156 /7002 IO W a0l o ogs ] | 503384 |ZD03-35.0-XP32-WC06-02 110 | 60 | 196 | 35 1213 503586 | ZD04-35.5-XP32-WC06-02_| 147 | 60 | 233 | 355 1475 503766 |ZD05-35.5-XP32-WC06-02_|182.5 | 60 | 2668 | 355 1600 .
457 203156 7002 BT0SXD 3 WGt gf gg 133 ;g WCMX050308| M3x7 o5 503386 |2D03-35.5-XP32-WC06-02 | 111.5| 60 | 197 | 355 1325 503568 | ZD04-36.0-XP32-WC06-02_| 149 | 60 | 235 | 36 1475 503768 |ZD05-36.0-XP32-WC06-02_| 185 | 60 | 271 | 36 1600 =Tl
203130 [2D0P 29T XRaoWe0sT0ol 63 | a0 T 149 | 25 o5 503388 |ZD03-36.0-XP32-WC06-02 113 | 60 | 199 | 36 1325 503500 | ZD04-35.5-XP32-WC06-02_| 151 | 60 | 237 | 365 1475 503700 |ZD05-36.5-XP32-WC06-02_|167.5 | 60 | 273 | 365 1600 T14%
1A 2031327002 00X B We0T 0ol o o T o5 503390 [2D03-36.5-XP32-WC06-02__| 114.5 | 60 | 200 | 36.5 WCMX06T308| M3.5x8 | T15| 1325 503502 | ZD04-37.0-XP32-WC06-02_| 153 | 60 | 239 | 37 1475 503792 |7D05-37.0-XP32-WC06-02_| 190 | 60 | 276 | 37 1600
0315412007 310 XPas Weos 05 T or T e0 T res T o5 e 503392 |ZD03-37.0-XP32-WC06-02__| 116 | 60 | 202 | 37 1325 503594 |ZD04-37.5-XP32-WC06-02 | 155 | 60 | 241 | 375 1475 503794 |ZD05-37.5-XP32-WC06-02_|192.5 | 60 | 278 | 375 600 _—
HBOR S03150 Dot N0X R WeoeToRl oo | o0 T aoe | a2 e 503304 |7D03-37.5-XP32-WC06-02 | 1175 | 60 | 205 | 375 1325 503596 | ZD04-38.0-XP32-WC06:02 | 157 | 60 | 243 | 38 475 503796 |ZD05-38.0-XP32-WC06-02 60 | 281 | 38 1600 HBOR
203135]2002.35.0 XPa2-WGC06-02 | 1+ |60 57 [ 35 1 e 503396 |7003-38 0-XP32-WGC06-02 119 [ 60 | 205 | 38 1325 503595 [ZD0ss X ra T WC o Bl 59 | 60 | 245 385 75 50379512D05-38.5-XP32-WC06-02 60 | 283 [38.5 1600
CBI 503140|2D02-34.0-XP32-WC06-02 | 73 | 60 | 159 | 34 1150 503398 |ZD03256H:XR32WC0S020 1205 | 60 | 206 | 38.5 1825 503600 | ZD04-39.0-XP32WC06-02__| 161 | 60 | 247 | 39 | 32 |wCMX06T308 | M3.5x8 1475 503800 [}ZD05239:0: XR82WC06202 60 | 264 | 59 1600 CBI
2031422002 35I0XpaWe0eT0al s T a0 o1 | 35 e 503400 |7D03-39.0-XP32-WC06-02 122 | 60 | 206 | 39 1325 205002 2004 39 xPasweoa 0o T1es T oo 245 1305 e 503802 | ZD05-39.5-XP32-WC06-02 . 60 | 288 | 395 1600 CBH
CBH 203144 D0 SRIONX T T WGOBT02 s 503402 |ZD03-39.5-XP32-WC06-02 | 1235 | 60 | 209 | 395 1325 503804 | ZD05-40.0-XP32-WC06-02 60 | 291 | 40 | 32 |WCMX06T308 | M3.5x8 | T15] 1600
oy 20314617005 37 DxPas-Weoe-0s | 75 a0 T 1es | o \WEMX06T308 | M358 1258 503404 |7D03-40.0-XP32-WC06-02__ | 125 | €0 | 211 | 40 1525 209601 |2D04-40.0 XP32-WG06:02_| 165 | 60 | 251 | 40 e 503806 | ZD05-41.0-XP32-WC06-02 60 | 296 [ 41 1900 t54E
Hox 503148]7D02-36.0-XP32-WC06-02 | 81 | 60 | 167 | 38 1258 503406 [ZDOSHROXEI2WE062020| 126 | 60 | 214 | 41 1525 503606]2D04-41.0-XP32-WC06-02 | 169 | 60 | 255 | 41 1700 503808 | ZD05-42.0-XP32-WC06-02 60 | 301 | 42 1900 24
Ay 031502002 ol weoetool 83 | oo | 1eo | 39 525 ]  [503408 |2D03-42.0-XP32-WC06-02_| 131 | 60 | 217 | 42 1525 503606 2D04-42.0-XP32-WC06-02__| 175 | 60 | 259 | 42 1700 503810 | ZD05-43.0-XP40-WC08-02 85 315 | 43 1900 R4
503152[ZD02-40.0-XP32-WC06-02 | 85 | 60 | 171 | 40 1258 503410|7D03-43.0-XP40-WC08-02 | 134 | 65 | 229 | 43 1525 503610 |ZD04-43.0-XP40-WC08-02 | 177 | 65 | 272 | 43 1700 503812 | ZD05-44.0-XP40-WC08-02 65 | 320 | 44 1900
NBJ 503154]ZD02-41.0-XP32-WC06-02 | 87 | 60 | 173 | 41 1450 503412 |ZD03-44.0-XP40-WC08-02 | 137 | 65 | 232 | 44 1525 503612 |ZD04-44.0-XP40-WC08-02__| 181 | 656 | 276 | 44 1700 503814 | ZD05-45.0-XP40-WC08-02 65 | 325 | 45 1900 NBJ
503156]7D02-42.0-XP32-WC06-02 | 89 | 60 | 175 | 42 1450 503414 |ZD03-45.0-XP40-WC08-02_| 140 | 65 | 235 | 45 1525 503614 ZD04-45.0-XP40-WC08-02__| 185 | 656 | 280 | 45 1700 503816 | ZD05-46.0-XP40-WC08-02 65 | 330 | 46 2100
NBH 503158|2D02-43.0-XP40-WC08-02 | 91 65 | 186 | 43 1450 503416 |ZD03-46.5-XP40-WC08-02 | 143 | 65 | 238 | 46 1725 503616 | ZD04-46.0-XP40-WC08-02 189 | 65 | 284 | 46 1900 503818 | ZD05-47.0-XP40-WC08-02 65 | 335 | 47 2100 NBH
sa7 503160/2D02-44.0-XP40-WC08-02 | 93 | 65 | 188 | 44 1450 503418 |ZD03-47.0-XP40-WC08-02_| 146 | 65 | 241 | 47 725 | 503618 |ZD04-47.0-XP40-WC08-02 | 193 | 65 | 288 | 47 1900 503820 | ZD05-48.0-XP40-WC08-02 65 | 340 | 48 2100 27
= ooy oo 2088 190 | 45 = 503420 |ZD03-48.0-XP40-WC08-02_| 149 | 65 | 244 | 48 1725 503620 | ZD04-48.0-XP40-WC08-02__| 197 | 65 | 292 | 48 1yl 1900 503822 | ZD05-49.0-XP40-WC08-02 65 | 345 | 49 wenxosostz | axto 2100 =i
503166]2D02-47.0-XP40-WC08-02 | 99 65 | 194 | 47 1638 503422 [ZD03-49.0-XP40-WC08-02 | 152 | 65 | 247 | 49 1725 503622 | ZD04-49.0-XP40-WC08-02 201 | 65 [ 296 | 49 WOMX080412 | Max10 1900 503824 | ZD05-50.0-XP40-WC08-02 65 | 350 | SO 2100
503165]ZD02-48.0-XP40-WC08-02 | 101 | 65 | 196 | 48 1638 503424 |ZD03-50.0-XP40-WC08-02_| 155 | 65 | 250 | 50 WCMX080412 | M4x10 1725 503624 | ZD04-50.0-XP40-WC08-02__| 205 | 65 | 300 | 50 1900 503826 | ZD05-51.0-XP40-WC08-02 65 | 855 | 51 2300
TWE 503170]ZD02-49.0-XP40-WC08-02 | 103 | 65 | 198 | 49 WeMX080412| Max 10 1638 503426 |ZD03-51.0-XP40-WC08-02 | 158 | 65 | 263 | 51 1950 503626 | ZD04-51.0-XP40-WC08-02__ | 209 | 65 | 304 | 51 2150 503826 [12D05:5210-XRA0-C15-02 65 | 360 | 92 2500 TWE
RBH 503172]ZD02-50.0-XP40-WC08-02 | 105 | 65 | 200 | 50 1638 503428 |ZD03-52.0-XP40-WC08-02 | 161 | 65 | 256 | 52 T15] 1950 503626 | ZD04-52.0-XP40-WC08-02 | 213 | 656 | 308 | 52 2150 fgzgzg ;ggg':oi;:gwgg:'g Zf ésg :j 40 T15 iigg RBH
AL 503174]ZD02-51.0-XP40-WC08-02 | 107 | 65 | 202 | 51 T15|_1853 503430 |7D03-53.0-XP40-WC08-02 | 164 | 65 | 250 | 53 | ,, 7950 503630 | ZD04-53.0-XP40-WC08-02 | 217 | 65 | 312 | 53 2150 EErEn Bl ELCREH o g =5 o e
*H £ 503176]2D02-52.0-XP40-WC08-02 | 109 | 65 | 204 | 52 1853 503432 |ZD03-54.0-XP40-WC08-02 | 167 | 65 | 262 | 54 1950 503632 | ZD04-54.0-XP40-WC08-02 | 221 | 65 | 316 | 54 40 2150 ZBO5255'0-XR40=W G002 65 | 575 | 55 *ﬂii
A% 50317812D02-53.0-XP40-WC08-02 | 111 | 65 | 206 | 53 1853 503434 |ZD03-55.0-XP40-WC08-02 | 170 | 65 | 265 | 55 1950 503634 | ZD04-55.0-XP40-WC08-02 | 225 | 65 | 320 | 55 2150 509836 12005:50.0: xR0V 608,02 65 | 560 | 56 R4
RE 503180]ZD02-54.0-XP40-WC08-02 | 113 | 65 | 208 | 54 1853 e . = L T iy — 503838 | ZD05-57.0-XP40-WC08-02 65 | 385 | 57 E
—_— 503182]ZD02-55.0-XP40-WC08-02 | 115 | 65 | 210 | 55 | 4 1853 503436 [2D03:56.0:XR40-WCQ5:020] 173 | 65 | 268 | 56 2150 96 : z 503840 | ZD05-58.0-XP40-WC08-02 65 | 390 | 58 —_—
e 503154]2D02-56 0.XP40-WG0S-02| 117 | 65 212 | 56 2043 503438 |ZD03-57.0-XP40-WC08-02 | 176 | 65 | 271 | 57 2150 503638 | ZD04-57.0-XP40-WC08-02__| 233 | 65 | 328 | 57 2375 503842 [[ZD05 59T0-X PAOWGUE02 55 T 305 T 50 ksl
< 505186]2D02-57.0-XP40-WC08-02 | 119 | 65 | 214 | 57 2043 503440 |ZD03-58.0-XP40-WC06-04 | 179 | 65 | 274 | 58 2150 503640 | ZD04-58.0-XP40-WC06-04 | 237 | 656 | 332 | 58 2375 503844 | ZD05-60 0-XP40-WC06-02 55 1 400 T 60
_— 503188]2D02-58.0-XP40-WC06-04 | 121 | 65 | 216 | 58 2043 503442 |ZD03-59.0-XP40-WC06-04 | 182 | 65 | 277 | 50 2150 503642 | ZD04-59.0-XP40-WC06-04 | 241 | 656 | 336 | 59 2375 503546 | ZD05-61.0-XP32-WC06-02 65 | 405 | 61 =
/f-/ﬁj—‘, 503190/ZD02-59.0-XP40-WC06-04 | 123 | 65 | 218 | 59 2043 503444 [ZD03-60.0-XP40-WC06-04 | 185 | 65 [ 280 | 60 2150 503644 | ZD04-60.0-XP40-WC06-04 245 | 65 | 340 | 60 2375 503848 | ZD05-62.0-XP32-WC06-02 65 | 410 | 62 WCMX06T308 | M3.5x8 %QT_I
- 503192|2D02-60.0-XP40-WC06-04 | 125 | 65 | 220 | 60 2043 503446 [ZD03-61.0-XP40-WC06-04 | 188 | 65 | 283 | 61 503646 |ZD04-61.0-XP40-WC06-04 | 249 | 65 | 344 | 61 503850 | ZD05-63.0-XP32-WC06-02 65 | 415 | 63
503194|ZD02-61.0-XP40-WC06-04 | 127 | 65 | 222 | 61 - WCMX06T308 | M3.5x8 = WCMX06T308 | M3.5x8 5 5 5
310t | oD00 82 0 XPA0-WCseoa T oo et 22a ot WCMX06T308| M3.5x8 503448 |ZD03-62.0-XP40-WC06-04 | 101 | 65 | 286 | 62 503648 | ZD04-62.0-XP40-WC06-04 | 253 | 65 | 348 | 62 503852 | ZD05-64.0-XP32-WC06-02 | 325 | 65 | 420 | 64
203198 |ZD02BT0XPA0WGC0E0M 151 | oo | 225 | 63 503450 |ZD03-63.0-XP40-WC06-04 | 104 | 65 | 289 | 65 503650 | ZD04-63.0-XP40-WC06-04 | 257 | 656 | 352 | 63 503854 | ZD05-65.0-XP32-WC06-02 | 330 | 65 | 425 | 65
503200|2D02-64.0-XP40-WC06-04 | 133 | 65 | 228 | 64 503452 |ZD03-64.0-XP40-WC06-04 | 197 | 65 | 202 | 64 503652 | ZD04-64.0-XP40-WC06-04 261 | 65 | 356 | 64
503202 |ZD02-65.0-XP40-WC06-04 135 65 230 65 503454 |ZD03-65.0-XP40-WC06-04 200 65 295 65 503654 | ZD04-65.0-XP40-WC06-04 265 65 360 65




SEES RN NS

SP R 1R &4 =k SP Type Fast Drilling Bit

High Efficiency Drilling

-
M—[ d N—( d
LT L2 E
PIERAH RETH —RRIH FRRETIH PIHIR S REDH — R H TRREIHI
Cutting Environment . ble Cutting 0 General Cutting x Unstab tting Cutting Environment . S C ng 0 General Cutting x Unstable Cutting
P | W Steel 00 WxRxZeO P | Steel 00 WRERXOO
M THW Stainless Steel O OBBBOO M TN Stainless Steel O 088BBOO0
K | #% Iron o ¢ VRE%R K | %% Iron @ 0 VRE%R
N SR/4R /5555 B RY/ AR A Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° ') N SB/4R /45 /B BB R/ K K Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° ")
S | BERAS/MARAE Carbide/Powder Metallurgy ° xR0 S | BRAS/MEKASE Carbide/Powder Metallurgy 2%ee
H | /ERa &/ Titanium/Superalloy/Carbon Fiber ° 2RO H | /R ae/Mmas Titanium/Superalloy/Carbon Fiber ° 2200
>
p|  FRER N R s iR S Rt Dimension (mmj BENH | v goouns 7= B LA R MRS Rt Dimension (mm) RENE | vo_ o-onns
8 & Matching Nnzz3SHILLeee Matching nzz@SHI2Lee
3 Product Image Dimensioning Specification re A B T L Toolholder 8885%&&&&&& Product Image Dimensioning Specification re A B T L Toolholder 888%%3&&&&&
sre
SPMG 050204-TT 0.4 5.0 5.0 2.38 2.2 ®eeccoe T SPMG 050204-PM 0.4 5.0 5.0 2.38 22 e ecooe
060204-TT 0.4 6.0 6.0 2.38 2.6 = ecccoe N \ ™ 060204-PM 0.4 6.0 6.0 2.38 2.6 = e eocooe
B 07T308-TT 0.8 7.94 7.94 3.97 2.8 TR escooe B ' 07T308-PM 0.8 7.94 7.94 3.97 2.8 T ® oo
090408-TT 0.8 9.8 9.8 4.30 4.2 (Toolholder) ecccce J / % 090408-PM 0.8 9.8 9.8 4.30 4.2 (Toolholder) e oo
110408-TT 0.8 1.5 1.5 4.8 4.4 K07-K08 ecccce - 110408-PM 0.8 1.5 1.5 4.8 4.4 K07-K08 o eceoe
140512-TT 1.2 14.3 14.3 5.0 5.75 ecccce A 140512-PM 1.2 14.3 14.3 5.0 5.75 o ecee
» W >
R 3R TR IR

-

3fERFEEESL-SPT] B L1=3xD Fast Drill - SP Type AERIFEEL-SPT] )/ L1=4xD Fast Drill - SP Type 5fEhiE L SL-SPJ] B L1=5xD Fast Drill - SP Type

SPRIEF R

R IR S5

- . ? 415 BES ERTIR | BZ (5F| o, : :
SP Type Fast Drilling Bit Order Model L1|L2 | L | D | d |apiicableinserts | Screw [wens| ~"1C® o = L 2| L |p|al|BR7IA | BE EF o, = == Li|2|L|p|a|BRAK | BEEE o
rder Wrer Wrenct
504200 | ZD03-13.0-XP25-5P05-02 | 44 | 56 | 117 | 13 738 - 44eO oce crow e — Ly oce crew |
504202 | ZD03-13.5-XP25-SP05-02 | 455 | 56 | 118 | 13.5 738 e iggi’lgg’iﬁ;g’gﬁgg’g; R = 504600 ZD05-13.0-XP25-SP05-02 | 70 | 56 | 143 | 13 950
504204 | ZD03-14.0-XP25-5P05-02 | 47 | 56 | 120 | 14 SPMG050204 | M2x5 738 = Sl PR 59 15 5 SPMG060204 | Maxs 5 504602 | ZD05-13.5-XP25-5P05-02 | 72.5 | 56 | 145 | 135 950
504206 | ZD03-14.5-XP25-5P05-02 | 48.5 | 56 | 122 | 14.5 738 204404 1 2D04-14.0-XP25-5P05-02_1 61 | 56 | 154 | 14 825 504604 [§ZD05:14:0:XP25-5R05:0208| 75 | 56 | 146 | 14 SPMG050204 | M2x5 950
‘ d 504406 | ZD04-14.5-XP25-SP05-02 | 63 | 56 | 136 | 145 825 14.5-XP25-5P05- 950
504208 | ZD03-15.0-XP25-SP05-02 ~ 504606 | ZD05-14.5-XP25-SP05-02 77.5 56 150 14.5 5
SlcuR drpdorl Al 50 | 56 | 123 | 15 738 504408 | ZD04-15.0-XP25-SP05-02 | 65 | 56 | 138 | 15 825
d 504608 | ZD05-15.0-XP25-SP05-02 | 80 | 56 | 153 | 15 950
504210 | ZD03-15.5-XP25-SP06-02 [ 51.5 | 56 | 124 | 15.5 738 504410 | ZD04-15.5-XP25-5P06-02 | 67 | 56 | 140 | 15.5 825
- e - - d 504610 | ZD05-15.5-XP25-SP06-02 | 825 | 56 | 155 | 155 950
504212 | ZD03-16.0-XP25-SP06-02 53 56 | 126 | 16 738 504412 | ZD04-16.0-XP25-SP06-02 69 825 - - -
56 {142 | 16 504612 | ZD05-16.0-XP25-5P06-02 | 85 | 56 | 156 | 16 950
504214 | ZD03-16.5-XP25-SP06-02 | 54.5 | 56 | 127 | 16.5 738 504414 | ZD04-16.5-XP25-5P06-02 | 71 | 56 | 144 | 165 Te |_825 50461 IZDOEETETSIXE25iSP05 0 2Bl 375 | 56 | 160 | 76.5 550
504216 | ZD03-17.0-XP25-SP06-02_| 56 | 56 | 129 | 17 T6 738 504416 | ZD04-17.0-XP25-SP06-02 | 73 | 56 | 146 | 17 825 504616 |FZD0SEITIONKP25ISRUH02 90‘) 56 [ 168 | 17 950
504216 | ZD03-17.5-XP25-5P06-02__| 5756 | 56 | 130 | 175 738 504415 | ZD04-17.5-XP25-5P06-07 | 75 | 56 | 148 | 17.5 825 e 05x(I720:-XE25-5R06:0 > 6 o0
504220 | ZD03-18.0-XP25-SP06-02 59 56 | 132 | 18 SPMG060204 | M2.2%5 738 504420 | ZD04-18.0-XP25-SP06-02 | 77 | 56 | 150 | 18 SPMG060204 | M2.2x5 825 r(mezﬁ 2D05-17.5-XP25-5P06-02__| 92.5 2: 155 117 5 2
504222 | 2D03-18.6-XP25-5P06-02 | 60.5 | 56 | 133 | 185 | o 738 504422 | ZD04-18.5-XP25-SP06-02 | 79 | 56 | 162 [185 | 25 825 e ZD05-18.0-XP25-SP06-02 9‘% = GZ 188 SPMG060204 | M2.2x5 0
504224 | ZD03-19.0-XP25-SP06-02 | 62 | 56 | 135 | 19 ; 738 504424 ZD04-19.0-XP25-SP06-02 | 81 | 56 | 154 | 19 625 ZD05185-XR25-5R06:02 751 0 i S 25 =
504426 | ZD04-19.5-XP25-SP06-02 | 83 | 56 | 155 | 19.5 825 504624 | ZD05-19.0-XP25-SP06-02 | 100 | 56 | 173 | 19 950
504226 | ZD03-19.5-XP25-SP06-02 63.5 56 136 19.5 738
§r4h 504228 | ZD03-20.0-XP25-5P06-02__| 65 | 56 | 139 | 20 738 504428 | ZD04-20.0-XP25-5P06-02 | 85 | 56 | 159 | 20 825 504626 | ZD05-19.5-XP25-SP06-02_[102.5| 56 | 174 | 195 950 oy
- -20.5-XP25-SP06- ¥ -20.0-XP25-SP06- 5 9 | 2 950
504230 ||ZD022055xP25"SP0E 070 66.5 | 56 | 140 | 205 505 504430] 7D04-20.5-XP25-5P06-02_| 87 | 56 | 761 205 1025 504628 | ZD05-20.0-XP25-5P06-02 | 105 | 56 | 179 | 20
504252 DT I Eo SO0 = 504432 | ZD04-21.0-XP25-5P06-02_| 89 | 56 | 163 | 21 1025 504630 | ZD05-20.5-XP25-5P06-02__[107.5| 56 | 181 | 205 1150
S 50428 -21.0-XP25-SP06- 68 | 56 | 142 | 1 925 504434 | ZD04-21.5-XP25-SP06-02 | 91 | 56 | 165 |215 1025 504632 | ZD05-21.0-XP25-5P06-02 | 110 | 56 | 184 | 21 1150 Eil
FE 1D 504234 | ZD03-21.6-XP25-5P06-02 | 69.5 | 56 143 1215 925 504436 | ZD04-22.0-XP25-5P07-02_| 93 | 56 | 167 | 22 1025 504634 | ZD05-21.5-XP25-5P06-02__[112.5 | 56 | 186 | 215 1150 o
ghsk 204256 2D03-22.0-XP25-SP07-02 | 71 _| 56 | 145 | 22 22t 504436 [ ZD04-22.5-XP25-SP07-02 | 95 | 56 | 169 [225 1025 504636 | ZD05-22.0-XP25-5P07-02__| 115 | 56 | 180 | 22 1150 $hk
504238 | 2D03-22.5-XP25-5P07-02_| 72.5 | 56 | 148 | 22.5 925 504440 | ZD04-23.0-XP25-SP07-02_| 97 | 56 | 171 | 23 1025 504638 | ZD05-22.5-XP25-5P07-02 | 117.5| 56 | 193 | 225 1150
504240 | ZD03-23.0-XP25-SP07-02 | 74 | 56 | 148 | 23 SPMG07T308 | M25x6 | T8 | 225 504442 | ZD04-23.5-XP25-SP07-02_| 99 | 56 | 173 |235 1025 504640 | ZD05-23.0-XP25-5P07-02 | 120 | 56 | 194 | 23 1150
VMD . N N . 504242 | ZD03-23.5-XP25-SP07-02 | 755 | 56 | 149 [ 235 925 504444 ] ZD04-24.0-XP25-SP07-02 | 101 | 56 | 175 | 24 SPMGO7T308 | M2.5%6 1025 504642 | ZD05-23.5-XP25SP07-02 1225 56 | 196 | 235 SPMG07T308 | M2.5x6 1150 VMD
St 2 = ll‘;% ;':\T%E ~7l:_SP T ' ):IL L1=2xD Fast Drill - SP Type 504244 | ZD03-24.0-XP25-8P07-02__| 77 | 56 | 151 | 24 925 504446 | ZD04-24.5-XP25-SP07-02_| 103 | 56 | 177 | 245 k g 1025 T : - - — I & 3k
& = = = = ZD05-24.0-XP25-SP07-02 | 125 | 56 | 199 | 24 1150 S
< 504246 | ZD03-24.5-XP25-5P07-02 | 78.5 | 56 | 152 | 24.5 925 504448 | ZD04-25.0-XP32-5P07-02_| 105 | 60 | 191 | 25 1025 -
5 = 504646 | ZD05-24.5-XP25-SP07-02 127.5 56 201 245 T8 1150 ——
v we BRI Bz |53 504248 | ZD03-25.0-XP32-5P07-02 | 80 | 60 | 166 | 25 925 504450 | ZD04-25.5-XP32-SP07-02_| 107 | 60 | 193 | 255 1150 oicil oDoeasoxpassroros [0 o Tare T a5 5
&b s = L1lL2| L bl d 7] L= Price 504250 | ZD03-25.5-XP32-SP07-02_| 815 | 60 | 167 | 255 1038 504452 | 2D04-26.0-XP32-5P07-02_ | 109 | 60 | 195 | 26 1150 5 ] 5 $hoe
= Order Model Applicable Inserts | Screw |Wrench 504454 | ZD04-26.5-XP32-SP07-02 | 111 | 60 | 197 [265 1150 504650 §ZD05:25'5-XRI2=SR07-020M 132.5 | 60 | 218 | 26.5 1300
- 504252 12003:26 0-XR32-SRO7-02MM) 83 | 60 | 169 | 26 1038 - 3 504652 | 7D05-26.0-XP32-SP07-02 | 135 | 60 | 221 | 26 1300
504100 ZD02-13.0-XP25-8P05-02 | 31 | 56 | 104 | 13 700 504254 | ZD03-26.5-XP32-SP07-02 | 84.5 | 60 | 170 | 265 1038 504456 | ZD04-27.0-XP32-SP07-02 | 113 | 60 | 199 | 27 1150 T d B 0 225 T30 SPMGO07T308| M2.5x6 1300 .
=il 504102 zD02-14.0-XP25-SP05-02 | 33 | 56 | 106 | 14 SPMG050204 | M2x5 700 504256 ZD03-27.0.XP32.5P0702 | 86 | 60 | 172 | 27 1038 583423 ZD04-27.5-XP32-8P07-02 | 115 | 60 [ 201 |275 1150 204226 ;gg:'i‘;g'xgi':ig;'gi 114705 Zo ng sz e =il
£h Sk — e e L o 504258 §2D05:27:6:XR32:SRO7-020| 87.5 | 60 | 173 | 27.5 1038 :04362 300185 XPansrto0s | o | a0 | 205 120 oy 504656 | ZD05-27.5:XP32-5P07-02_|142.5| 60 | 226 | 27.6 1300 Hh Sk
S 504106 | 2D02-16.0-XP25-5P06:02 | 37 | 56 | 110 | 16 700 a z E ZD04-28.5-XP32-SP09-02 | 119 | 60 | 205 | 285 1150 50465 -27.5-XP32-SPO7- - E <
504260 | ZD03-28.0-XP32-SP09-02 | 80 | 60 | 175 | 28 1038 5 50 | 23 2
504108 [R2DOREITIOXPe S cP0G 02 5o | 55 112 117 6 05 504464 | ZD04-29.0-XP32-5P09-02 | 121 | 60 | 207 | 29 1150 504660 | ZD05-28.0-XP32-5P09-02 | 145 | 60 | 231 | 28 1300 [
h Bk 207110 T 250516 0-XPo8 SP0s05 T T =e T e 25 w00 504262 | 7D03-28.5-XP32-SP09-02 | 90.5 | 60 | 176 | 28.5 1038 504466 | ZD04-29.5-XP32-SP09-02 | 123 | 60 | 209 [295 1150 504662 | ZD05-28.5-XP32-SP09-02__|147.5| 60 | 233 | 285 1300 3 B8
Pﬁﬂ Eu - = - - SPMG060204 | M2.2x5 504264 | ZD03-29.0-XP32-SP09-02 92 60 | 178 | 29 3p | SPMG090408 | M35x8 | T15[ 1038 504468 | ZD04-30.0-XP32-SP09-02 125 1 60 | 211 30 1150 504664 | ZD05-29.0-XP32-SP09-02 150 | 60 | 236 | 29 1300 )i a
i 42 504112 | ZD02-19.0-XP25-SP06-02 | 43 [ 56 | 116 | 19 700 504266 | ZD03-29.5-XP32-SP09-02__| 935 | 60 | 179 | 295 1038 504470 | ZD04-30.5-XP32-5P09-02 | 127 | 60 | 213 | 305 1325 504666 | ZD05-29.5-XP32-SP09-02 | 152.5| 60 | 238 | 295 1300 [iTyR ==
504114 ] 7D02-20.0 xP25-SP06-02 | 45 | 56 [ 119 | 20 700 504268 | 7D03-30.0-XP32-5P09-02 | 95 | 60 | 161 | 30 1038 504472 | ZD04-31.0-XP32-5P08-02_| 129 | 60 | 215 | 31 SPMG090408 | M3.5x8 1325 504668 | 2D05.30.0.XP32-5P09-02_| 155 | 60 | 241 | 30 1300
504116 -21.0-; Y Y 47 | 56 | 121 | 21 875 30,5 o v o1 e . w E N > g = S 8
ZD02-21.0-XP25-SP06-02 ] o 504270 | ZD03-30.5-XP32-SP09-02 | 9656 | 60 | 182 | 305 1213 504474 | ZD04-31.5-XP32-SP09-02 | 131 | 60 | 217 |315 1325 504670 | ZD05-30.5-XP32-5P09-02 _|157.56] 60 | 243 | 30.5 SPMG090408 | 13558 1450
LBK 504118 7D02-22.0-XP25-SP07-02 | 49 | 56 | 123 [ 22 875 504272 | 7D03-31.0-XP32-8P09-02 | 98 | 60 | 164 | 31 1213 504476]7D04-32.0-XP32-SP09-02 | 155 | 60 | 210 | 32 | . 1325 504672 2D05-31.0.XP32-5P09:02 | 160 | 60 | 246 | 31 1250 LBK
504120 | 7D02-23.0-XP25-SP07-02 51 | 56 | 125 | 23 875 504274 | ZD03-31.5-XP32-SP09-02_ | 99.5 | 60 | 185 | 31.5 1213 504478 ZD04-32.5-XP32-SP09-02 | 135 | 60 | 221 |32.5 T15[ 1325 504674 | ZD05-31.5-XP32-SP09-02 _|162.5| 60 | 248 | 31.5 1450
- > S d 51 32 5 BST
BST 504122 | 7D02-24.0-XP25-SP07-02 | 53 | 56 | 127 | 24 SPMGO07T308 | M2.5x6 | T8 875 504276 | ZD03-32.0-XP32-5P09-02__| 101 | 60 | 187 | 32 1213 504480 | ZD04-33.0-XP32-SP09-02 | 137 | 60 | 223 | 33 1325 504676 | ZD05-32.0-XP32-5P09-02 | 165 | 60 | 251 | 32 1450 o
457 504124] 7D02-25.0-XP32-SP07-02 | 55 | 60 | 141 | 25 875 504278 | ZD03-32.5-XP32-SP09-02 [ 1025] 60 | 188 | 325 1213 504462 ] ZD04-33.5-XP32-5P09-02 | 139 | 60 | 225 335 1525 504678 | ZD05-32.5.XP32-.5P09-02|167.5| 60 | 253 | 32.5 1450 =7
T 4% 504126 | 7D02-26.0-XP32-8P07-02 | 57 | 60 | 143 | 26 988 504280 | ZD03-33.0-XP32-5P09-02 | 104 | 60 | 190 | 33 1213 T o s e B B 1525 504680 | 2D05.33.0.XP32-5P09-02_ | 170 | 60 | 256 | 33 1450 ki
504128 | 7D02-27.0-XP32-SP07-02 59 | 60 | 145 | 27 988 504282 | ZD03-33.5-XP32-SP09-02  [105.5| 60 | 191 | 33.5 1213 = 2D04-34.5-XP32-SP11-02_| 145 | B0 | 229 1545 132: 504682 | ZD05-33.5-XP32-SP09-02 _|172.5| 60 | 258 | 33.5 1450
502130 0 xPar.aP09. 61 T 60 1127 | 28 288 - — 504488 | ZD04-35.0-XP32-SP11-02 | 145 | 60 | 231 | 35 1325 T5
ZD02-28.0-XP32-5P09-02 504284| ZD03-34.0-XP32-SP11-02_| 107 | 60 | 193 | 34 1213 077501 200435 5 XP3s-8PTi 02 | Ti7 1 c0 155 152 2 e 504684 | ZD05-34.0-XP32-SP11-02 | 175 | 60 | 261 | 34 1450
504132 - - - - 63 60 149 29 988 5 E - ~ ~ 2R
HBOR 5)04134 ZD02-29.0-XP32-SP09-02 e e 504266] ZD03-34.5-XP32-SP11-02_[108.5| 60 | 194 | 345 1213 504492 | 2D04-36.0-XP32-8P11-02 | 129 | 60 | 235 | 36 1475 504686 | ZD05-34.5-XP32-SP11-02 | 177.5] 60 | 263 | 34.5 1450 HBOR
CBI L ZD02-30.0-XP32-5P09-02 R SPMG090408 | M3.5%8 o 504268 | 7D03-35.0-XP32-8P11-02 [ 110 | 60 [ 196 | 35 1213 504494 | ZD04-36 5-XP32-8P11-02 | 151 | 60 | 237 136.5 1275 504688 | ZD05-35.0-XP32-SP11-02 | 180 | 60 | 266 | 35 1450 CBI
ZD02-31.0-XP32-SP09-02 ] 53 | 3 E 504290| ZD03-35.5-XP32-SP11-02_[111.5 | 60 | 197 | 355 1325 504496 ZD04-37 0-XP32-5P11-02 | 155 | 60 1 239 | 37 SPMG110408 | M4x10 1475 504690 | ZD05-35.5-XP32-5P11:02 _|182.5] 60 | 268 | 35.5 1600
CBH 504158 | 7D02-32.0-XP32-SP09-02 | 69 | 60 | 155 | 52 50 504292| 7D03-36.0-XP32-SP11-02 | 113 | 60 | 199 | 36 1325 504498 | ZD04-37.5-XP32-SP11-02_| 155 | 60 | 241 |37.6 1475 504602 | ZD05-36.0-XP32-SP11-02 | 185 | 60 | 271 | 36 1600 CBH
g b 504140 7D02-33.0-XP32-SP09-02 71 | 60 | 157 | 33 | 32 1150 504294 [ ZD03-36.5-XP32-SP11-02 | 114.5 | 60 | 200 | 36.5 SPMG110408 | M14x10 | T15] 1325 504500 | ZD04-38.0-XP32-SP11-02 | 157 | 60 | 243 | 38 1475 504694 | ZD05-36.5-XP32-SP11-02_ [187.5| 60 | 273 | 36.5 SPMG110408 | M4x10 1600 b=
'H £ 504142 7D02-34.0-XP32-SP11-02 | 73 [ 60 | 159 | 34 T15] 1150 504296 ZD03-37.0-XP32-SP11-02 | 116 | 60 | 202 | 37 | 32 1325 504502 | ZD04-38.5-XP32-SP11-02_| 150 | 60 | 245 | 385 1475 504696 | ZD05-37.0-XP32-5P11-02 | 190 | 60 | 276 | 37 1600 H 1+
4 504144 | 7D02-35.0-XP32-SP11-02 75 60 161 35 1150 504298 | ZD03-37.5-XP32-SP11-02 117.5 60 203 | 37.5 1325 504504 | ZD04-39.0-XP32-SP11-02 161 60 247 39 1475 . 5 - o 5 z \é
JIRZ — — 504698 | ZD05-37.5-XP32-SP11-02 192.5 60 278 37.5 1600
504146 | ZD02-36.0-XP32-SP11-02 77 | 60 | 163 | 36 SPMG110405 | maxto 1258 504300| ZD03-38.0-XP32-SP11-02 | 119 60 | 205 | 38 1325 504506 | ZD04-39.5-XP32-SP11-02 163 | 60 | 249 |39.5 1475 504700 ZD05-38.0-XP32-SP11-02 195 | 60 | 281 | 38 1600 —_—
504148 | ZD02-37.0-XP32-SP11-02 | 79 | 60 [ 165 [ &7 1258 504302 ZD03-38.5-XP32-SP11-02_[120.5 | 60 | 206 | 38.5 1325 504508 [ ZD04-40.0-XP32:5P11-02_[ 165 | 60 | 251 | 40 1475 504702 | ZD05-38 5-XP32-SP11-02_|197.5| 60 | 283 | 38.5 1600 NBJ
NBJ 504150 7D02-38.0-XP32-SP11-02 | 81 | 60 | 167 | 38 1258 504304 | ZD03-39.0-XP32-SP11-02 | 122 | 60 | 206 | 39 1325 504510| ZD04-41.0-XP32-5P14-02 | 169 | 60 | 265 | 41 | ) 1700 504704 | ZD05-30.0-XP32-SP11-02 | 200 | 60 | 284 | 30 1600
NBH 504152 | 7D02-39.0-XP32-SP11-02 | 83 | 60 | 169 | 39 1258 504306| ZD03-39.5-XP32-SP11-02_[123.5 | 60 | 209 | 395 1325 504512 | ZD04-42.0-XP32-SP14-02 | 173 | 60 | 259 | 42 | ° 1700 504706 | ZD05-39.5-XP32-SP11-02__|202.5| 60 | 288 | 39.5 1600 NBH
ot 504154 | ZD02-40.0-XP32-SP11-02 85 60 171 40 1258 504308| zD03-40.0-XP32-SP11-02 125 60 211 40 1325 504514 | ZD04-43.0-XP40-SP14-02 177 65 272 43 SPMG140512 M5x10 | T20| 1700 504708 | ZD05-40.0-XP32-SP11-02 205 60 291 20 32 1600 e
52 F 504156 | ZD02-41.0-XP32-SP14-02 87 | 60 | 173 | 41 1450 504310| ZD03-41.0-XP32-SP14-02 | 128 | 60 | 214 | 41 1525 504516 | ZD04-44.0-XP40-SP14-02 181 | 65 | 276 | 44 1700 504710 | ZD05-41.0-XP32-SP14-02 | 210 | 60 | 296 | 41 1900 #Erl
E %@ 504158 | ZD02-42.0-XP32-SP14-02 89 60 175 | 42 1450 504312 | ZD03-42.0-XP32-SP14-02 131 60 | 217 | 42 1525 504518 | ZD04-45.0-XP40-SP14-02 185 | 65 [ 280 | 45 1700 504712 ZD05-42.0-XP32-SP14-02 215 | 60 | 301 e SPMG140512 | M5xI0 | T20—g0 E 'zié
504160 | ZD02-43.0-XP40-SP14-02 91 | 65 | 186 | 43 1450 504314 | ZD03-43.0-XP40-SP14-02 | 134 | 65 | 229 | 43 1525 504520 | ZD04-46.0-XP40-SP14-02 189 | 65 | 284 | 46 1900 504714 | ZD05-43.0-XP40-SP14-02 | 220 | 65 | 315 | 43 1900
504162 | ZD02-44.0-XP40-SP14-02 93 | 65 | 188 | 44 SPMG140512 | M5x10 | T20| 1450 504316 ZD03-44.0-XP40-SP14-02 | 137 | 65 | 232 | 44 SPMG140512 | M5x10 | T20[ 1525 504522 | ZD04-47.0-XP40-SP14-02 193 | 65 | 288 | 47 1900 504716 | ZD05-44.0-XP40-SP14-02 | 225 | 65 | 320 | 44 1900
TWE 504164 | 7D02-45.0-XP40-SP14-02 | 95 [ 65 | 190 | 45 1450 504318] ZD03-45.0-XP40-SP14-02 | 140 | 65 | 235 | 45 1525 504524 | ZD04-48.0-XP40-SP07-04 | 197 | 65 | 292 | 48 1900 504718 | ZD05-45.0-XP40-SP14-02 | 230 | 65 | 325 | 45 1900 TWE
RBH 504166 | ZD02-46.0-XP40-SP14-02 97 65 | 192 | 46 1638 504320| ZD03-46.0-XP40-SP14-02 | 143 65 | 238 | 46 1725 504526 | ZD04-49.0-XP40-SP07-04 201 | 65 | 296 | 49 SPMG07T308 | M2.5x6 | T8 1900 504720 | ZD05-46.0-XP40-SP14-02 235 | 65 | 330 | 46 2100 RBH
n 504168 | ZD02-47.0-XP40-SP14-02 99 | 65 | 194 | 47 1638 504322 | ZD03-47.0-XP40-SP14-02_| 146 | 65 | 241 | 47 1725 504528 | ZD04-50.0-XP40-SP07-04 205 | 65 | 300 | 50 1900 504722 | ZD05-47.0-XP40-SP14-02 | 240 | 65 | 335 | 47 2100 wh £
10 5% 504170 | zD02-48.0-XP40-SP07-04 | 101 | 65 | 196 | 48 1638 504324 ZD03-48.0-XP40-SP07-04 | 149 | 65 | 244 | 48 1725 504530 | ZD04-51.0-XP40-SP07-04 | 209 | 65 | 304 | 51 | 40 2150 504724 2D05-48.0-XP40-8P07-0a | 245 | 65 | 340 | 48 T700 #H &5
4 504172 7D02-49.0-XP40-SP07-04 | 103 [ 65 | 198 [ 49 1638 504326 ZD03-49.0-XP40-SP07-04 | 152 | 65 | 247 | 49 SPMG07T308 | M2.5x6 | Tg |_1725 504532 | ZD04-52.0-XP40-SP09-04 | 213 | 65 | 308 | 52 2150 504726 | ZD05-49.0-XP40-SP07-04 | 250 | 65 | 345 | 49 2100 R4
B0 504174 7D02-50.0-XP40-SP07-04 | 105 | 65 | 200 | 50 SPMGO7T308 | M2.5x6 | T8 |"1635 504328| ZD03-50.0-XP40-SP07-04 | 155 | 65 | 250 | 50 1725 504534 | ZD04-53.0-XP40-SP09-04 | 217 [ 65 [312 | 53 2150 504726 | ZD05-50.0-XP40-SP07-04__| 255 | 65 | 350 | 50 SPMGO7T308 | M2.5%6 | T8 | 5450
e 504176 | zD02-51.0-XP40-SP07-04 | 107 | 65 | 202 | 51 40 1853 504330] ZD03-51.0-XP40-SP07-04 | 158 | 65 | 253 | 5 1950 504536 | ZD04-54.0-XP40-SP09-04 221 | 65 |316 | 54 2150 504730 | ZD05-51.0-XP40-SP07-04 | 260 | 65 | 355 | 51 40 2300 N
%59: 504178 ZD02-52.0-XP40-SP09-04 | 109 | 65 | 204 | 52 1853 504332| ZD03-52.0-XP40-SP09-04 | 161 65 | 256 | 52 40 1950 504538 | ZD04-55.0-XP40-SP09-04 225 | 65 | 320 | 55 2150 504732 | ZD05-52.0-XP40-SP09-04 265 | 65 | 360 | 52 2300 %E‘;‘:
504180 | zD02-53.0-XP40-SP09-04 | 111 | 65 | 206 | 53 1853 504334 ZD03-53.0-XP40-SP09-04 | 164 | 65 | 259 | 53 1950 504540 | ZD04-56.0-XP40-SP09-04 229 | 65 | 324 | 56 SPMG090408 | M3.5x8 | T15] 2375 504734 | ZD05-53.0-XP40-SP09-04 | 270 | 65 | 365 | 53 2300 -
o 504182 | zD02-54.0-XP40-SP09-04 | 113 | 65 | 208 | 54 1853 504336 ZD03-54.0-XP40-SP09-04 | 167 | 65 | 262 | 54 1950 504542 | ZD04-57.0-XP40-SP09-04 233 | 65 |328 | 57 2375 504736 | ZD05-54.0-XP40-SP09-04 | 275 | 65 | 370 | 54 2300 &
w7] 504184 | ZD02-55.0-XP40-SP09-04 | 115 | 65 | 210 | 55 1853 504338| ZD03-55.0-XP40-SP09-04 | 170 | 65 | 265 | 55 1950 504544 | ZD04-58.0-XP40-SP09-04 237 | 65 |332 | 58 2375 504738 | ZD05-55.0-XP40-SP09-04 280 | 65 | 375 | 55 2300 32 7]
_— 504186 | zD02-56.0-XP40-SP09-04 | 117 | 65 | 212 | 56 SPMG090408 | M3.5%8 | T15[ 2043 504340] ZD03-56.0-XP40-SP09-04 | 173 | 65 | 268 | 56 SPMG090408 | M3.5x8 | T15/2150 504546 | ZD04-59.0-XP40-SP09-04 | 241 | 65 | 336 | 59 2575 504740 | ZD05-56.0-XP40-SP09-04 | 285 | 65 | 380 | 56 SPMG090408 | M3.5x8 | T15] 2600 e
504188 | ZD02-57.0-XP40-SP09-04 | 119 | 65 | 214 | 57 2043 504342| 7ZD03-57.0-XP40-SP09-04 | 176 | 65 | 271 | 57 2150 504548 | ZD04-60.0-XP40-SP09-04 245 | 65 | 340 | 60 2375 504742 | ZD05-57.0-XP40-SP09-04 290 | 65 | 385 | 57 2600
504190 | ZD02-58.0-XP40-SP09-04 | 121 | 65 | 216 | 58 2043 504344 ZD03-58.0-XP40-SP09-04 | 179 | 65 | 274 | 58 2150 504744 | ZD05-58.0-XP40-SP09-04 | 295 | 65 | 390 | 58 2600
504192 | ZD02-59.0-XP40-SP09-04 | 123 | 65 | 218 | 50 2043 504346 ZD03-59.0-XP40-SP09-04 | 182 | 65 | 277 | 59 2150 504746 | ZD05-59.0-XP40-SP09-04 | 300 | 65 | 395 | 50 2600
504194 | zD02-60.0-XP40-SP09-04 | 125 | 65 | 220 | 60 2043 504348] ZD03-60.0-XP40-SP09-04 | 185 | 65 | 280 | 60 2150 504748 | ZD05-60.0-XP40-SP09-04 | 305 | 65 | 400 | 60 2600




SEES RN NS

High Efficiency Drilling SO Type Fast Drilling Bit

vl v > . e A3 N .
K P F3 AfEIRIE 4L L-SOJ] B L1=4xD Fast Drill - SO Type 5{&RiE 45 L-SOJJ B L1=5xD Fast Drill - SO Type
d EZET] BS L1l2l Lol d kR By | RF | 2R EorT) BS L1lelL ol d Nk By | RF | 2R
w—[ Order Model Inserts Screw | Wrench [ Weight Order Model Inserts Screw |Wrench [ Weight
504960 | ZD04-14.0-XP20-S005-02 | 59 | 44 | 118 | 14.0 0.2 505030 ZD05-16.0-XP20-5005-02 | 63 | 44 | 142 | 16.0 SOMT050204] M2.0x5 |16 03
%E ?L 7] L2 504961 14.5-XP20-S005-02 | 61 | 44 | 120 | 145 0.2 505031 ZD05-16.5-XP20-S006-02 | 86 | 44 | 145 | 165 | 20 [Cooo o T T 03
u I 504962 15.0-XP20-S005-02 | 63 | 44 | 122 |15.0 SOMT050204| M2.0x5 |  T6 0.2 505032 17.0-XP20-S006-02 | 88 | 44 | 147 | 17.0 0.4
504963 15.5-XP20-S005-02 | 65 | 44 | 124 [15.5 | 20 0.2 505033 | ZD05-17.5-XP25-5006-02 | 91 | 56 | 162 | 17.5 0.4
504065 ZD04-16.5.XP20-000002 | 69 | 44 | 126 | 165 02 s0s035|  tnsxpzasonsoz | oo | so | 107 |1es |  |SOMTOSOZO¢|M22xs| 17 |
" R w . -16.5- - - X 505035 .5-XP25- - 96 56 | 167 : 0.4
. ”f}iér'{ffffw‘ [ ] ﬁft{]ﬁ?‘ L G;ﬁ%?ﬁ'{" £ Uf(},?wﬁ“‘q 504966 17.0-XP20-S006-02 | 71 | 44 | 130 |17.0 SOMT060204| M2.2x5 | T7 03 505036 19.0-XP25-S006-02 | 98 | 56 | 169 |19.0 05
— 504967 | ZD04-17.5-XP25-S006-02 73 56 144 17.5 0.3 505037 | ZD05-19.5-XP25-S007-02 101 56 172 19.5 0.5
P | W Steel 00 oxExeO 504968 18.0-XP25-S006-02 | 75 | 56 | 146 |18.0 . 0.3 505038 20.0-XP25-8007-02 | 103 | 56 | 174 |20.0 0.5
M | F&8 Stainless Steel ® vasBOO0 504969 18.5-XP25-5006-02 | 77 | 56 | 148 |18.5 SOMTO60204) M2.2x5 | T 0.3 505039 20.5-XP25-5007-02 | 106 | 56 | 177 |20.5 SOMT070306| M2.2x5 | T7 05
504970 19.0-XP25-S006-02 | 79 | 56 | 150 |19.0 0.4 505040 21.0-XP25-S007-02 | 108 | 56 | 179 |21.0 | 25 0.5
K| #% e hd bd AdRd 504971| ZD04-19.5-XP25-S007-02 | 81 | 56 | 152 | 19.5 0.4 505041 21.5-XP25-8007-02 | 111 | 56 | 182 [21.5 05
N | 8/4R/4/58/8B R/ KR+ Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° o 504972 20.0-XP25-S007-02 83 56 154 | 20.0 0.4 505042 22.0-XP25-8007-02 | 113 | 56 184 | 22.0 0.5
N 504973 20.5-XP25-S007-02 | 85 | 56 | 156 |20.5 0.4 505043 | ZD05-22.5-XP25-S008-02 | 116 | 56 | 187 |22.5 0.6
S | mRASMAEE Carbide/Powder Metallurgy S hd 7l 504974 21.0XP25-5007-02 | 87 | 56 | 158 | 210 | 25 |SOMTO7O0B MR T 0.4 505044 23.0-XP25-S008-02 | 118 | 56 | 192 |23.0 0.6
H | s/ RAa&/keTs Titanium/Superalloy/Carbon Fiber ° EX Y} 504975 21.5-XP25-S007-02 | 89 | 56 | 160 |21.5 0.4 505045 23.5-XP25-S008-02 | 121 | 56 | 195 |23.5 somTosTa08| vz sxs | T8 0.6
> 504976 22.0-XP25-5007-02 | 91 | 56 | 162 |22.0 0.4 505046 24.0-XP25-S008-02 | 123 | 56 | 197 |24.0 : 0.8
Sm EEEE AR MRS R~} Dimension (mm) R E JIHE ol M_A. . 504977 | ZD04-22.5-XP25-S008-02 | 93 | 56 | 164 |22.5 0.5 505047 24.5-XP25-S008-02 | 126 | 56 | 200 |24.5 0.8
I : - v EEstREREE ool mormeoner | 5 | |10 | 3o o8 ool mpemsoen | s e o 00
5} roduct Image imensionin ecification 3 Zxoooooo 50497¢ .5-] - - 56 . -25.5-. - - . .
s ‘ ‘ ’ e A 3 Ll : Toolholder |&OONNNNNNNN 504980 24.0-XP25-S008-02 | 99 | 56 | 173 |24.0 SOMTOBTS06) M2.566 ) T8 0.7 505050 26.0-XP25-S008-02 | 133 | 60 | 213 |26.0 SOMTOBTS06) M2.5x6 | T8 0.9
re SOMT 040202-DP 0.2 40 40 18 20 N B. 504981 24.5-XP25-5008-02 | 101 | 56 | 175 |24.5 0.7 505051 | ZD05-26.5-XP32-5009-02 | 136 | 60 | 216 |26.5 0.9
_ a 050204-DP 0.4 49 49 238 | 2925 N N. 504982 25.0-XP25-5008-02 | 103 | 56 | 177 |25.0 0.7 505052 27.0-XP32-S009-02 | 138 | 60 | 218 |27.0 0.9
' 060204-DP 0.4 57 57 5738 56 = B N. 504963 | ZD04-25.5-XP32-5008-02 | 105 | 60 | 185 | 25.5 SOMTO8T306] W2 546 | 18 0.7 505053 27.5-XP32-S009-02 | 141 | 60 | 221 |27.5 0.9
070306-DP 06 6.8 6.8 58 56 B N. 504984 26.0-XP25-5008-02 | 107 | 60 | 187 |26.0 0.7 505054 28.0-XP32-S009-02 | 143 | 60 | 223 |28.0 1.0
B 08T306-DP 0.6 79 79 397 285 TIH o N, 504985 | ZD04-26.5-XP32-S009-02 | 109 | 60 | 189 | 26.5 0.7 505055 28.5-XP32-S009-02 | 146 | 60 | 226 |28.5 1.0
09T308-DP 08 92 92 397 38 (Toolholder) o, 504986 27.0-XP32-5009-02 | 111 | 60 | 191 |27.0 0.7 505056 29.0-XP32-S009-02 | 148 | 60 | 229 |29.0 SOMTO09T308| M3.5x8 | T15 1.0
R 11T308-DP 08 10 10 | 397 38 KO09-K10 o o, 504987 27.5-XP32-5009-02 | 113 | 60 | 193 |27.5 0.7 505057 29.5-XP32-S009-02 | 151 | 60 | 232 |29.5 1.0
130408.DP 08 128 | 128 44 24 oy 504988 28.0-XP32-5009-02 | 115 | 60 | 195 |28.0 0.8 505058 30.0-XP32-5009-02 | 154 | 60 | 238 |30.0 1.0
150510-DP 10 150 | 150 48 54 SHoH 504989 28.5-XP32-5009-02 | 117 | 60 | 197 |28.5 0.8 505059 30.5-XP32-8009-02 | 157 | 60 | 241 |30.5 1.0 I
.l\;% EE : : : : 504990 29.0-XP32-5009-02 | 120 | 60 | 201 |29.0 SOMT09T308| M3.5x8 | T15 0.8 505060 31.0-XP32-5009-02 | 159 | 60 | 243 |31.0 1.0 'HQ If‘_
504991 29.5-XP32-5009-02 | 122 | 60 | 203 |29.5 0.8 505061 31.5-XP32-5009-02 | 162 | 60 | 246 |31.5 1.2
%E ?L 504992 30.0-XP32-5009-02 | 124 | 60 | 208 |30.0 0.9 505062 | ZD05-32.0-XP32-8011-02 | 164 | 60 | 248 |32.0 | 32 1.2 %E ?I.,
S O l] % t “ ,|\% ‘¢ $£ 9_ . . . 504993 30.5-XP32-S009-02 126 60 210 | 30.5 0.9 505063 32.5-XP32-S011-02 167 60 251 325 1.2
k 504994 31.0-XP32-5009-02 | 128 | 60 | 212 |31.0 0.9 505064 33.0-XP32-S011-02 | 169 | 60 | 253 |33.0 1.2
g:_ T T ~ S O Type F ast D r I I n g B it 504995 31.5-XP32-5009-02 | 130 | 60 | 214 |31.5 0.9 505065 33.5-XP32-5011-02 | 172 | 60 | 256 |33.5 1.2
504996 | ZD04-32.0-XP32-S011-02 | 132 | 60 | 216 [32.0 | 32 1.0 505066 34.0-XP32-5011-02 | 174 | 60 | 258 |34.0 13
o i ‘g:‘u . ) 2 | ‘§F . ) 504997 §§ g»;gsi»:gm-gg 134 | 60 | 218 ggg 1.0 505067 34.5-XP32-S011-02 | 177 | 60 | 261 |34.5 SOMTITTS08| M3.5x6 ) T15 1.3
= — = - = — = - 504998 .0-XP32-SO11- 136 | 60 | 220 ! 1.0 505068 35.0-XP32-S011-02 | 179 | 60 | 263 |35.0 1.3
2{':' HQ]‘-\'%EJ: SO]] H_ L1=2xD Fast Drill - SO Type 3{':' Rb%ﬁ* SOJ—J H- L1=3xD Fast Drill - SO Type 504999 33.5-XP32-5011-02 | 138 | 60 | 222 |33.5 1.0 505069 35.5-XP32-S011-02 | 182 | 60 | 266 |35.5 1.3
505000 34.0-XP32-5011-02 | 140 | 60 | 224 |34.0 1.1 505070 36.0-XP32-S011-02 | 184 | 60 | 268 |36.0 1.5
gﬁﬂ gll% L1 L2 L D d n H ﬂ!g_ﬁ_é' ﬁ¥ EE éﬁﬂ gj% L1 L2 L D d D F|L ﬁgﬁ ﬁ¥ EE 505001 34.5-XP32-S011-02 142 60 226 | 34.5 SOMTIT308 M3.5x8 e 1.1 505071 36.5-XP32-S011-02 187 60 271 36.5 1.5
Order Model Inserts | Screw | Wrench| Weight Order Model Inserts | Screw | Wrench| Weight 505002 35.0-XP32-S011-02 | 144 | 60 | 228 |35.0 1.1 505072 | ZD05-37.0-XP32-S013-02 | 190 | 60 | 280 |37.0 1.5
504800 | zD02-10.0-XP20-S004-02 | 23 | 44 | 82 | 10 0.2 504880 | ZD03-10.0-XP20-S004-02 | 33 | 44 | 92 | 10 0.2 505003 35.5-XP32-S011-02 | 146 | 60 | 230 | 355 1.1 505073 37.5-XP32-5013-02 | 193 | 60 | 283 |37.5 1.5
504801 10.3-XP20-S004-02 | 24 | 44 | 83 |10.3 0.2 504881 10.3-XP20-S004-02 | 34 | 44 | 93 [10.3 0.2 505004 36.0-XP32-S011-02 | 148 | 60 | 232 |36.0 1.2 505074 38.0-XP32-5013-02 | 195 | 60 | 285 |38.0 SoMT130408 M4 ox0| 15 1.6
504802 10.5-XP20-S004-02 | 24 | 44 | 83 [10.5 0.2 504882 10.5-XP20-S004-02 | 35 | 44 | 94 |10.5 0.2 505005 36.5-XP32-5011-02 | 150 | 60 | 234 |36.5 1.2 505075 38.5-XP32-S013-02 | 198 | 60 | 288 |38.5 1.6
504803 11.0-XP20-5004-02 | 25 | 44 | 84 |11.0 | 20 |SOMT040204|M1.8x4 | T6 0.2 504883 11.0-XP20-5004-02 | 36 | 44 | 95 |11.0 | 20 |SOMT040204| M1.8x4 | T6 0.2 505006 | ZD04-37.0-XP32-S013-02 | 153 | 60 | 243 |37.0 1.2 505076 39.0-XP32-S013-02 | 200 | 60 | 290 |39.0 2.1
504804 11.5-XP20-S004-02 | 26 | 44 | 85 [11.5 0.2 504884 11.5-XP20-S004-02 | 38 | 44 | 97 |11.5 0.2 505007 37.5-XP32-5013-02 | 155 | 60 | 245 |37.5 1.2 505077 39.5-XP32-S013-02 | 203 | 60 | 293 |39.5 2.1
504805 12.0-XP20-S004-02 | 27 | 44 | 86 |[12.0 0.2 504885 12.0-XP20-S004-02 | 39 | 44 | 98 |12.0 0.2 505008 38.0-XP32-5013-02 | 157 | 60 | 247 |38.0 SoMT130408 4 ox10| T15 1.3 505078 | ZD05-40.0-XP40-S013-02 | 205 | 70 | 305 | 40.0 2.2
504806 12.5-XP20-S004-02 28 44 87 12.5 0.2 504886 12.5-XP20-S004-02 41 44 100 12.5 0.2 505009 38.5-XP32-S013-02 159 60 249 | 38.5 1.3 505079 41.0-XP40-SO13-02 210 70 310 | 41.0 SOMT130408|M4.0x10| T15 2.3
504807 | ZD02-13.0-XP20-S005-02 | 29 | 44 | 88 | 13.0 0.2 504887 | ZD03-13.0-XP20-S005-02 | 42 | 44 | 101 | 13.0 0.2 505010 39.0-XP32-5013-02 | 161 | 60 | 251 |39.0 1.8 505080 42.0-XP40-5013-02 | 215 | 70 | 315 |42.0 25
504808 13.5-XP20-S005-02 | 30 | 44 | 89 |13.5 0.2 504888 13.5-XP20-§005-02 | 44 | 44 | 103 | 13.5 0.2 505011 39.5-XP32-5013-02 | 163 | 60 | 253 | 39.5 1.8 505081 43.0-XP40-S013-02 | 220 | 70 | 320 |43.0 2.6
504809 14.0-XP20-S005-02 | 31 | 44 | 90 |14.0 0.2 504889 14.0-XP20-S005-02 | 45 | 44 | 104 | 14.0 0.2 505012 | ZD04-40.0-XP40-S013-02 | 165 | 70 | 265 | 40.0 18 505082 | ZD05-44.0-XP40-SO15-02 | 225 | 70 | 325 |44.0 2.7
—_— 504810 14.5-XP20-5005-02 | 32 | 44 | 91 |145 SOMT050204| M2.0x5 |  T6 0.2 504890 14.5-XP20-5005-02 | 47 | 44 | 106 | 145 SOMT050204| M2.0x5 [  T6 0.2 505013 41.0-XP40-S013-02 | 169 | 70 | 269 |41.0 SoMT130408 w4 ox10|  T15 1.9 505083 45.0-XP40-S015-02 | 230 | 70 | 330 |45.0 | 40 2.8 N
%F %E 504811 15.0-XP20-S005-02 33 44 92 15.0 20 0.2 504891 15.0-XP20-S005-02 48 44 107 15.0 20 0.2 505014 42.0-XP40-S013-02 173 70 273 | 42.0 2.0 505084 46.0-XP40-S015-02 230 70 330 | 46.0 29 %}‘-L %E
504812 15.5-XP20-S005-02 | 34 | 44 | 93 [15.5 0.2 504892 15.5-XP20-5005-02 | 50 | 44 | 109 | 155 0.2 505015 43.0-XP40-S013-02 | 177 | 70 | 277 |43.0 2.1 505085 47.0-XP40-S015-02 | 240 | 70 | 340 |47.0 SOMT150510(M5.0x11| T20 3.0
. 504813 16.0-XP20-S005-02 | 35 | 44 | 94 |[16.0 0.2 504893 16.0-XP20-5005-02 | 51 | 44 | 110 | 16.0 0.2 505016 | ZD04-44.0-XP40-S015-02 | 181 | 70 | 281 |44.0 2.2 505086 48.0-XP40-S015-02 | 245 | 70 | 345 |48.0 3.1 .
Eil 504814 | ZD02-16.5-XP20-S006-02 | 36 | 44 | 95 |16.5 SOMT080204| M2 245 | 17 0.2 504894 | ZD03-16.5-XP20-S006-02 | 53 | 44 | 112 | 16.5 SoMT060204] M2 205 | 17 0.2 505017 45.0-XP40-S015-02 | 185 | 70 | 285 |45.0 | 40 2.3 505087 49.0-XP40-S015-02 | 250 | 70 | 350 |49.0 3.2 EL
LE Sk 504815 17.0-XP20-S006-02 | 37 | 44 | 96 |17.0 0.2 504895 17.0-XP20-5006-02 | 54 | 44 | 113 | 17.0 0.2 505018 46.0-XP40-S015-02 | 189 | 70 | 289 | 46.0 2.4 505088 50.0-XP40-S015-02 | 255 | 70 | 355 | 50.0 3.3 &bk
< 504816 | zD02-17.5-XP25-5006-02 | 36 | 56 | 109 | 17.5 03 504896 | ZD03-17.5-XP25-S006-02 | 56 | 56 | 127 | 17.5 0.3 505019 47.0-XP40-S015-02 | 193 | 70 | 293 |47.0 SOMT150510(M5.0x11| T20 2.5
504817 18.0-XP25-8006-02 | 39 | 56 | 110 |18.0 N 03 504897 18.0-XP25-S006-02 | 57 | 56 | 128 | 18.0 _ 0.3 505020 48.0-XP40-S015-02 | 197 | 70 | 297 |48.0 2.6
VMD 504818 18.5-XP25-5006-02 | 40 | 56 | 111 | 185 SOMTO60204| M2.2x5 | T7 03 504898 18.5-XP25-S006-02 | 59 | 56 | 130 | 18.5 SOMT060204| M2.2x5 | T7 0.3 505021 49.0-XP40-S015-02 | 201 | 70 | 301 |49.0 2.7 VMD
- 504819 19.0-XP25-S006-02 | 41 | 56 | 112 |19.0 03 504899 19.0-XP25-S006-02 | 60 | 56 | 131 | 19.0 0.3 505022 50.0-XP40-5015-02 | 205 | 70 | 305 | 50.0 2.8 K&l Sk
Kbk 504820 | ZD02-19.5-XP25-S007-02 | 42 | 56 | 113 | 19.5 0.3 504900 | ZD03-19.5-XP25-S007-02 | 62 | 56 | 133 | 19.5 0.3 <
_— 504821 20.0-XP25-S007-02 | 43 | 56 | 114 |20.0 03 504901 20.0-XP25-S007-02 | 63 | 56 | 134 |20.0 0.3 ] ~ X o SR ~ i
4k /7!% 504822 20.5-XP25-S007-02 | 44 | 56 | 115 |20.5 SOMT070306| M2.2x5 | T7 0.3 504902 20.5-XP25-8007-02 | 65 | 56 | 136 |20.5 SOMT070306| M2.2x5 | 17 0.4 61ﬁ & ?I_, %E 9:_ S Oj] }:|L L1=6xD Fast Drill - SO Type 1 Oﬁflh R ?L %IE %_ Sojj H L1=10xD Fast Drill - SO Type Eh 5‘%
504823 21.0-XP25-S007-02 | 45 | 56 | 116 |21.0 | 25 0.3 504903 21.0-XP25-S007-02 | 66 | 56 | 137 |21.0 | 25 0.4
e 504824 21.5-XP25-S007-02 | 46 | 56 | 117 |21.5 03 504904 21.5-XP25-S007-02 | 68 | 56 | 139 |21.5 0.4 —
=il 504825 22.0-XP25-S007-02 | 47 | 56 | 118 |22.0 0.4 504905 22.0-XP25-S007-02 | 69 | 56 | 140 |22.0 0.4 I e enier | s | e (e contorcutor|l [ieens el vty T
£ sk ggjg;s ZDoz-g.g-isig-:ggg-gz 32 gg :;Z ggg gj :gjggs ZDOS'Z‘g'iggg'zgg?gi ;; 22 122 iig gj 505130 |ZD06-19.0-SO04-YLO6| 122 | 60 | 200 | 19.0 SOMT040204| M1.8x4 | _T6 505178|ZD10-19.0-S004-YLO6| 198 | 60 | 276 | 19.0 SOMT040204] M1.8x4 | _T6 £hk
o 3 g . o 5 g . 505131 20.0-S005-YL06| 128 | 60 | 206 |20.0 505179 20.0-SO05-YLO6| 208 | 60 | 286 |20.0 [ —
- 504828 23.5-XP25-5008-02 | 50 | 56 | 124 | 235 somTosT306| M2.5x6 | T8 0.4 504908 23.5-XP25-S008-02 | 74 | 56 | 148 |23.5 somTosT306| M2 56 | T8 0.4 e e el o | e o e os SOMT050204| M2.0x5 |  T6 ST moenmal o | co s | o SOMT050204 | M2.0x5 |  T6 o
SR 504829 24.0-XP25-S008-02 | 51 | 56 | 125 |24.0 0.4 504909 24.0-XP25-S008-02 | 75 | 56 | 149 |24.0 0.4 505133 22,0-5006-YL06| 140 | 60 | 218 | 220 | e 505181 22,0-5006-YL06| 228 | 60 | 306 | 22.0 | ,, s s B
EE ﬁ: 504830 24.5-XP25-S008-02 52 56 | 126 |24.5 0.4 504910 24.5-XP25-S008-02 77 56 | 151 |24.5 0.4 505134 23.0-S006-YL06| 146 | 60 | 224 |23.0 | ° TWJ; 505182 23.0-S006-YL06| 238 | 60 | 316 |23.0 ﬂ; EE 14;
504831 25.0-XP25-S008-02 53 56 127 125.0 0.4 504911 25.0-XP25-S008-02 78 56 152 |25.0 0.4 505135 24.0-SO06-YLO6| 152 60 230 | 24.0 SOMT060204 | M2.2x5 T7 505183 24.0-SO06-YLO6| 248 60 326 | 24.0 SOMT060204 | M2.2x5 T7
_ 504832 | ZD02-25.5-XP32-S008-02 | 54 | 60 | 134 |25.5 0.6 504912 | ZD03-25.5-XP32-S008-02 | 80 | 60 | 160 | 255 R 0.6 505136 25.0-S006-YLO6| 158 | 60 | 236 |25.0 505184 25.0-S006-YL06| 258 | 60 | 336 |25.0
LBK 504833 26.0-XP25-5008-02 | 55 | 60 | 135 |26.0 SOMTOBTS06 M2.5x6 1 T8 | ¢ 504913 26.0-XP25-5008-02 | 81 | 60 | 161 | 26.0 SOMTOBTS06) M2.5x6 ) T8 | g S05137)__260-S006-YL06| 164 | 60 | 245 1360 S051a5 ___26.0-S006-YL06| 266 | 60 | 349 1260 LBK
504834 | zD02-26.5-XP32-S009-02 | 56 | 60 | 136 |26.5 0.6 504914 | ZD03-26.5-XP32-S009-02 | 83 | 60 | 163 |26.5 0.7 2 -27. 2 5 g -27.0-5006- I
BST 504835 27.0-XP32-5009-02 | 57 | 60 | 137 |27.0 0.6 504915 27.0-XP32-5009-02 | 84 | 60 | 164 |27.0 07 S05139 Frppeeayod ISTAC I It Ed 205187 ErapeMod It I I gl %ST
457 504836 27.5-XP32-5009-02 | 58 | 60 | 138 |27.5 0.6 504916 27.5-XP32-S009-02 | 86 | 60 | 166 |27.5 0.7 505141 30.0-.5006.YL08| 188 | 60 | 269 |30.0 con1060206 225 | 17 505189 30.0-5006.YLO8| 308 | 60 | 389 |30.0 cont06020¢ |1z o5 | 17 =Tl
T 504837 28.0-XP32-S009-02 | 59 | 60 | 139 |28.0 06 504917 28.0-XP32-S009-02 | 87 | 60 | 167 |28.0 0.7 505142 31.0-5006-yL08| 194 | 60 | 275 |31.0 - 505190 31.0-s006-yL08| 318 | 60 | 399 |31.0 T] 4%
504838 28.5-XP32-S009-02 60 60 | 140 |28.5 0.6 504918 28.5-XP32-S009-02 89 60 | 169 |28.5 0.7 505143 32.0-S006-YL08| 200 | 60 | 281 |32.0 YLO8 505191 32.0-S006-YL08| 328 | 60 | 409 |32.0 YLO8
_— 504839 29.0-XP32-5009-02 | 62 | 60 | 143 |29.0 SOMTO09T308| M3.5x8 | T15 07 504919 29.0-XP32-S009-02 | 91 | 60 | 172 |29.0 SOMTO09T308| M3.5x8 | T15 0.7 505144 S006-YL08| 206 | 60 | 289 |33.0 | 32 M3.5x8 505192 33.0-S006-YL08| 338 | 60 | 421 [33.0 | 32 M3.5x8
HBOR 504840 29.5-XP32-S009-02 | 63 | 60 | 144 |29.5 0.7 504920 29.5-XP32-S009-02 | 93 | 60 | 174 |29.5 0.7 505145 SO06-YLOB| 212 | 60 | 295 | 34.0 T15 505193 34.0-S006-YL0B| 348 | 60 | 431 |34.0 T15 HBOR
504841 30.0-XP32-S009-02 | 64 | 60 | 148 |30.0 0.7 504921 30.0-XP32-S009-02 | 94 | 60 | 178 | 30.0 0.7 505146 S009-YLO8| 218 | 60 | 301 |35.0 505194 35.0-S009-YLO8| 358 | 60 | 441 | 35.0
CBI 504842 30.5-XP32-5009-02 | 65 | 60 | 149 |30.5 0.7 504922 30.5-XP32-S009-02 | 96 | 60 | 180 |30.5 0.8 505147 S009-vL08| 224 | 60 | 307 | 36.0 505195 36.0-S009-YLO8| 368 | 60 | 451 | 36.0 CBI
CBH 504843 31.0-XP32-5009-02 | 66 | 60 | 150 |31.0 0.7 504923 31.0-XP32-5009:02 | 97 | 60 | 181 |31.0 0.8 282132 . 2833:&82 gig gg glg g;g SOMT09T308| M3.5x8 | T15 ggglgg g;:g:gggg:&gg ggg :g 331 g;:g SOMTO09T308| M3.5x8 | T15 CBH
I 504844 31.5-XP32-8009-02 | 67 | 60 | 151 |31.5 0.7 504924 31.5-XP32-S009-02 | 99 | 60 | 183 |31.5 0.9 505150 30.0-8000-YL08| 242 | 60 | 325 |39.0 505198 30.0.8000-YL08| 398 | 60 | 481 | 39.0 ¥ b
& 4 504845 | ZD02-32.0-XP32-S011-02 | 68 | 60 | 152 |32.0 | 32 0.8 504925 | ZD03-32.0-XP32-SO11-02 | 100 | 60 | 184 |32.0 | 32 0.9 505151 40.0-5009-YL08| 248 | 60 | 331 |40.0 505199 40.0-5000-YL08| 408 | 60 | 491 | 40.0 HiZ
AR 504846 32.5-XP32-S011-02 | 69 | 60 | 153 |325 0.8 504926 32.5-XP32-8011-02 | 102 | 60 | 186 |32.5 0.9 R4
504847 33.0-XP32-5011-02 | 70 | 60 | 154 |33.0 0.8 504927 33.0-XP32-S011-02 | 103 | 60 | 187 |33.0 0.9 2 R s _ . —_
504848 33.5-XP32-5011-02 | 71 | 60 | 155 |33.5 0.8 504928 33.5-XP32-5011-02 | 105 | 60 | 189 |33.5 0.9 8& R ?l_, %E 5‘:_ SO7J] ):|L L1=8xD Fast Drill - SO Type NBJ
NBJ 504849 34.0-XP32-5011-02 | 72 | 60 | 156 |34.0 - 0.8 504929 34.0-XP32-S011-02 | 106 | 60 | 190 |34.0 R 0.9
NBH 504850 34.5-XP32-S011-02 | 73 | 60 | 157 |34.5 SOMTITTS08| M3.5x6 ) T15 0.8 504930 34.5-XP32-S011-02 | 108 | 60 | 192 |34.5 SOMTIITI08) M3.5x8 | T15 1.0 : NBH
iy 504851 35.0-XP32-S011-02 | 74 | 60 | 158 |35.0 0.8 504931 35.0-XP32-S011-02 | 109 | 60 | 193 |35.0 1.0 Centarcuitar I nseris i s orawh [Wisnch ez
T 504852 35.5.-XP32-S011-02 | 75 | 60 | 159 |35.5 0.8 504932 35.5-XP32-5011-02 | 111 | 60 | 195 |35.5 1.0 DRt e T e ety A T =L
EoE 504853 36.0-XP32-5011-02 | 76 | 60 | 160 |36.0 0.9 504933 36.0-XP32-5011-02 | 112 | 60 | 196 |36.0 1.0 505157 20.0.8005.YL08| 168 | 60 | 248 | 20.0 Ei
504854 36.5-XP32-5011-02 77 | 60 | 161 |36.5 0.9 504934 36.5-XP32-S011-02 | 114 | 60 | 198 |36.5 1.1 505158 21.0-5005-YL06| 176 | 60 | 256 | 21.0 Vo6 SOMT050204 | M2.0x5 | T6
504855 | ZD02-37.0-XP32-5013-02 | 79 | 60 | 169 |37.0 0.9 504935 | ZD03-37.0-XP32-S013-02 | 116 | 60 | 206 | 37.0 1.1 505159 22.0-S006-YLOB| 184 | 60 | 262 [22.0 | . 3 58
TWE 504856 37.5-XP32-S013-02 80 60 170 37.5 0.9 504936 37.5-XP32-S013-02 118 60 208 | 37.5 1.1 gg:g? 23.U-§8gg-¥::gg ;gg gg g;g ggg 15 SOMT060204| M2.2x5 . TWE
504857 38.0-XP32-5013-02 | 81 | 60 | 171 |38.0 . 0.9 504937 38.0-XP32-S013-02 | 119 | 60 | 209 |38.0 . 1.1 - . -2x
RBH 504858 38.5-XP32-S013-02 | 82 | 60 | 172 |38.5 SOMTIS0408|M4.0x10) - T15 0.9 504938 38.5-XP32-S013-02 | 121 | 60 | 211 |38.5 SOMTIS0408|M4.0610) - T15 1.1 505162 SO06-YLOG| 208 | 60 | 286 | 25.0 RBE
*H 5 504859 39.0-XP32-5013-02 | 83 | 60 | 173 |39.0 1.0 504939 39.0-XP32-5013-02 | 122 | 60 | 212 | 39.0 1.2 28212: gggg'v{gg ;;2 Zg gg; gs'g bich '%ft'
Z 4 504860 39.5-XP32-S013-02 | 84 | 60 | 174 |39.5 11 504940 39.5-XP32-5013-02 | 124 | 60 | 214 |39.5 1.3 S0mes S006.YL08| 232 | 60 | 313 | 28.0 =%
b 504861 ZD02-40.0-XP40-S013-02 | 85 | 70 | 185 |40.0 13 504941 ZD03-40.0-XP40-S013-02 | 125 | 70 | 225 | 40.0 1.6 505166 0-5006.vL08| 240 | 60 | 321 | 20.0
TR 504862 41.0-XP40-8013-02 | 87 | 70 | 187 |41.0 SOMT130408 w4 0x10| T15 1.3 504942 41.0-XP40-S013-02 | 128 | 70 | 228 |41.0 SOMT130408 M4 0xt0l T15 1.7 505167 30.0-8006-YL08| 248 | 60 | 329 | 30.0 SOMT050204| M2.255 | 77 .
&5 3L 504863 42.0-XP40-S013-02 | 89 | 70 | 189 |42.0 1.4 504943 42.0-XP40-5013-02 | 131 | 70 | 231 | 42.0 1.7 505168 S006-YL08| 256 | 60 | 337 |31.0 sk
504864 43.0-XP40-SO13-02 91 70 191 43.0 1.5 504944 43.0-XP40-S013-02 134 70 234 | 43.0 1.8 505169 SO06-YLO8| 264 60 345 | 32.0 YLO8 —
. 504865 | ZD02-44.0-XP40-S015-02 | 93 | 70 | 193 | 44.0 1.6 504945 | ZD03-44.0-XP40-S015-02 | 137 | 70 | 237 | 44.0 1.8 505170 SO06-YLO8| 272 | 60 | 355 | 33.0 | 32 M3.5x8 =
7] 504866 45.0-XP40-S015-02 95 | 70 | 195 |45.0 | 40 1.7 504946 45.0-XP40-S015-02 | 140 | 70 | 240 |45.0 | 40 1.9 505171 SO06-YL08| 280 | 60 | 363 | 34.0 T15 %X 7]
504867 46.0-XP40-5015-02 | 97 | 70 | 197 |46.0 1.7 504947 46.0-XP40-5015-02 | 143 | 70 | 243 | 46.0 2.0 ggfg;i - 2833:&8? ggg gg g;g gg'g
504868 47.0-XP40-S015-02 | 99 | 70 | 199 |47.0 SOMT150510(M5.0x11| T20 1.8 504948 47.0-XP40-S015-02 | 146 | 70 | 246 | 47.0 SOMT150510|M5.0x11|  T20 2.1 e e o i e S
504869 48.0-XP40-S015-02 | 101 | 70 | 201 |48.0 1.8 504949 48.0-XP40-S015-02 | 149 | 70 | 249 |48.0 2.2 505175 38.0-5009-YL08| 312 | 60 | 395 |38.0 SOMT09T308| M3.5x8 |  T15
504870 49.0-XP40-S015-02 | 103 | 70 | 203 |49.0 1.9 504950 49.0-XP40-S015-02 | 152 | 70 | 252 |49.0 2.2 505176 39.0-5009-YL08| 320 | 60 | 203 |39.0
504871 50.0-XP40-5015-02 | 105 | 70 | 205 | 50.0 1.9 504951 50.0-XP40-5015-02 | 155 | 70 | 255 | 50.0 2.3 505177 40.0-5009-YL08| 328 | 60 | 411 | 40.0

I K09 @10



i

Ei

6 3k

VMD
Ak

EES

=il

Sk

piifes
Bc

LBK
BST
EiL
TIHR

HBOR
CB
CBH
4

NBJ
NBH
ET

X

TWE
RBH
5%
53k

7]

MZG"

SEES RN NS

High Efficiency Drilling

AfZ IR SESL-XOT] B L1=4xD Fast Drill - XO Type

XO 1R 1E 5 =k

1508 7 - ——
J d
R () w—[
‘ L1 ‘ L2
AAmI | L
TR @ BEMN @ —MUH g THREMH
Cutting Environment ble Cutting General Cutting Unstab! tting
P 4N Steel 09 WRZROO
M | TH®W Stainless Steel © vzBBOO
K | %% Iron e ¢ exx®
N | $2/4R/85/ 58/ B R/ KR4 Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° o
S | BERAS/MKAR Carbide/Powder Metallurgy ° PRPTNPS
H | /=284 &/ A Titanium/Superalloy/Carbon Fiber ] %00
>
Sm|  EaEA AR arns Rt Dimension (mm) RENH | vo_ 0 onno
S i St Ima . i Matching 83385%8&539
3 Product Image Dimensioning Specification re A B T L Toolholder &UQEﬁN&&&&&
XOMT 040204-PD 0.4 4.9 4.3 2.4 2.3 ° oo
050204-PD 0.4 54 4.8 2.4 2.3 e oo
060204-PD 0.4 6.6 5.8 25 25 = o oo
07T205-PD 0.5 7.8 6.9 2.8 2.8 T e oo
090305-PD 0.5 9.6 8.4 3.3 3.4 : e oo
11T306-PD 0.6 1.4 10.0 4.0 4.0 (Toolholder) e oo
130406-PD 0.6 13.6 11.9 4.5 45 K11-K12 ° oo
15M508-PD 08 | 159 139 50 55 o [s|e
180508-PD 0.8 18.9 16.5 5.5 6.0 ° oo
SPMT 040204-PD 0.4 4.7 4.7 24 23 ° oo
050204-PD 0.4 5.1 5.1 24 2.3 e oo
060205-PD 05 62 62 | 25 25 = SHol
07T208-PD 0.8 7.5 7.5 2.8 2.8 T o oo
090308-PD 0.8 9.2 9.2 3.3 34 : o oo
11T308-PD 0.8 11.0 11.0 4.0 4.0 (Toolholder) e oo
130410-PD 1.0 13.0 13.0 4.5 4.5 K11-K12 e oo
15M510-PD 1.0 15.2 15.2 5.0 55 ¢ oo
180510-PD 1.0 18.2 18.2 55 6.0 ¢ oo

XOB & F ]

2fZHRiESE K-XOTI K L1=2xD Fast Drill - XO Type

RISk X0 Type Fast Drilling Bit

3fERIEELK-XOTT

L1=3xD Fast Drill - XO Type

%8 e wlelolol ol 78 |B2| 8| 2n
Order Model Inserts Screw |Wrench| Price
505360 | ZD04- 13.0-XP20-X004 55 50 125 113.0

505361 13.5-XP20-X004 57 50 127 | 13.5 XOMTO040204 M2.0x4 T6
505362 14.0-XP20-X004 59 | 50 | 129 [14.0 SPMT040204|

505363 14.5-XP20-X004 61 50 131 | 14.5 20

505364 15.0-XP20-X005 63 | 50 | 133 [15.0

505365 15.5-XP20-X005 65 50 135 | 15.5 zgmlgsg;gj M2.0x4 T6
505366 16.0-XP20-X005 67 50 137 |16.0

505367 | ZD04- 16.5-XP25-X006 69 56 150 | 16.5

505368 17.0-XP25-X006 71 56 152 | 17.0

505369 17.5-XP25-X006 73 | 56 | 154 [17.5

505370 18.0-XP25-X006 75 56 156 |18.0

505371 18.5-XP25-X006 77 56 158 | 18.5 égmlggg;gz M2.2x5 T6
505372 19.0-XP25-X006 79 | 56 | 160 |19.0

505373 19.5-XP25-X006 81 56 162 | 19.5 25

505374 20.0-XP25-X006 83 | 56 | 164 |20.0

505375 20.5-XP25-X006 85 56 166 | 20.5

505376 21.0-XP25-X007 87 56 168 |21.0

505377 21.5-XP25-X007 89 | 56 | 170 [21.5

505378 22.0-XP25-X007 91 56 | 172 | 22.0 XOMTO7T205| 1 o | 1o
505379 22.5-XP25-X007 93 56 174 | 22.5 SPMT07T208

505380 23.0-XP25-X007 95 | 56 | 176 |23.0

505381 23.5-XP25-X007 97 56 178 123.5

505382 | ZD04- 24.0-XP32-X009 99 60 189 | 24.0

505383 24.5-XP32-X009 101 60 191 | 24.5

505384 25.0-XP32-X009 103 60 193 |25.0

505385 25.5-XP32-X009 105 | 60 | 195 |25.5

505386 26.0-XP32-X009 107 60 197 |26.0

505387 26.5-XP32-X009 109 60 199 | 26.5

505388 27.0-XP32-X009 11 60 201 | 27.0 XOMTO090305 M3.0x7 T8
505389 27.5-XP32-X009 13 60 203 | 27.5 SPMT090308

505390 28.0-XP32-X009 115 | 60 | 205 |28.0

505391 28.5-XP32-X009 17 60 207 | 28.5 32

505392 29.0-XP32-X009 119 60 209 | 29.0

505393 29.5-XP32-X009 121 60 211 | 29.5

505394 30.0-XP32-X009 125 60 215 | 30.0

505395 31.0-XP32-X009 129 | 60 | 219 |31.0

505396 32.0-XP32-XO11 133 60 223 | 32.0

505397 33.0-XP32-X011 137 60 227 | 33.0 XOMT11T306 M3.5x8 5
505398 34.0-XP32-X011 141 60 231 | 34.0 SPMT11T308

505399 35.0-XP32-X011 145 60 235 | 35.0

505410 | ZD04- 36.0-XP40-X0O13 149 70 254 | 36.0

505411 37.0-XP40-X013 153 70 258 | 37.0

505412 38.0-XP40-X013 157 70 262 | 38.0 . .

505413 39.0-XP40-XO13 161 | 70 | 266 |39.0 égmg;g:?g M4.0x10| T15
505414 40.0-XP40-X013 165 70 270 | 40.0

505415 41.0-XP40-X013 169 70 274 | 41.0

505416 42.0-XP40-XO13 173 | 70 | 278 | 42.0

505417 43.0-XP40-X015 177 70 282 | 43.0

505418 44.0-XP40-X015 181 70 286 | 44.0

505419 45.0-XP40-X015 185 70 290 | 45.0

505420 46.0-XP40-X015 189 70 294 | 46.0 XOMT15M508 ms.0x12| T20
505421 47.0-XP40-X015 193 70 298 | 47.0 SPMT15M510

505422 48.0-XP40-X015 197 70 302 | 48.0 40

505423 49.0-XP40-X015 201 70 306 |49.0

505424 50.0-XP40-X015 205 70 310 | 50.0

505425 51.0-XP40-XO18 209 70 314 | 51.0

505426 52.0-XP40-XO18 213 | 70 | 318 |52.0

505427 53.0-XP40-X018 217 70 322 | 53.0

505428 54.0-XP40-X018 221 70 326 | 54.0

505429 55.0-XP40-X018 225 70 330 |55.0 XOMT180508 ms.0x12| T20
505430 56.0-XP40-X018 229 70 334 | 56.0 SPMT180510

505431 57.0-XP40-X018 233 70 338 | 57.0

505432 58.0-XP40-X018 237 70 342 | 58.0

505433 59.0-XP40-X018 241 70 346 | 59.0

505434 60.0-XP40-XO18 245 | 70 | 350 |60.0

57 Bs el clol gl 78 |82 | 5s|2n @@ us Ul ool gl n8 | 82| 5z en
Order Model Inserts Screw |Wrench| Price Order Model Inserts Screw |Wrench| Price
505220 | ZD02- 13.0-XP20-XO04 29 50 99 13.0 505285 | ZD03- 13.0-XP20-X004 42 50 112 | 13.0

505221 13.5-XP20-X004 30 50 100 | 13.5 XOMT040204 M2.0x4 T6 505286 13.5-XP20-X004 44 50 114 [ 13.5 XOMT040204 M2.0x4 T6
505222 14.0-XP20-X004 31 50 101 14.0 SPMT040204 505287 14.0-XP20-X004 45 50 115 | 14.0 SPMT040204

505223 14.5-XP20-X004 32 50 102 | 14.5 20 505288 14.5-XP20-X004 47 50 17 | 145 20

505224 15.0-XP20-X005 33 50 103 |15.0 505289 15.0-XP20-X005 48 50 118 | 15.0

505225 15.5-XP20-X005 34 50 104 | 15.5 égm;ggg;gj M2.0x4 T6 505290 15.5-XP20-X005 50 50 120 | 15.5 égmig:gigj M2.0x4 T6
505226 16.0-XP20-X005 35 50 105 [16.0 505291 16.0-XP20-X005 51 50 121 [ 16.0

505227 | ZD02- 16.5-XP25-X006 36 56 117 | 16.5 505292 | ZD03- 16.5-XP25-X006 53 56 134 | 16.5

505228 17.0-XP25-X006 37 56 118 [ 17.0 505293 17.0-XP25-X006 54 56 135 | 17.0

505229 17.5-XP25-X006 38 56 119 | 17.5 505294 17.5-XP25-X006 56 56 137 | 17.5

505230 18.0-XP25-X006 39 56 120 |18.0 505295 18.0-XP25-X006 57 56 138 | 18.0

505231 18.5-XP25-X006 40 56 121 | 18.5 égmlg?g;g; M2.2x5 T6 505296 18.5-XP25-X006 59 56 140 | 18.5 égm;gig;gg M2.2x5 T6
505232 19.0-XP25-X006 41 56 122 119.0 505297 19.0-XP25-X006 60 56 141 19.0

505233 19.5-XP25-X006 42 56 123 | 19.5 25 505298 19.5-XP25-X006 62 56 143 | 19.5 25

505234 20.0-XP25-X006 43 56 124 120.0 505299 20.0-XP25-X006 63 56 144 120.0

505235 20.5-XP25-X006 44 56 125 | 20.5 505310 20.5-XP25-X006 65 56 146 | 20.5

505236 21.0-XP25-X007 45 56 126 |21.0 505311 21.0-XP25-X007 66 56 147 1 21.0

505237 21.5-XP25-X007 46 56 127 | 21.5 505312 21.5-XP25-X007 68 56 149 | 21.5

505238 22.0-XP25-X007 47 56 128 |22.0 XOMT07T205 M2.5x5 T8 505313 22.0-XP25-X007 69 56 150 | 22.0 XOMT07T205 M2.5x5 T8
505239 22.5-XP25-X007 48 56 129 | 22.5 SPMT07T208 505314 22.5-XP25-X007 7 56 152 | 22,5 SPMT07T208

505240 23.0-XP25-X007 49 56 130 |23.0 505315 23.0-XP25-X007 72 56 153 | 23.0

505241 23.5-XP25-X007 50 56 131 |23.5 505316 23.5-XP25-X007 74 56 155 | 23.5

505242 | ZD02- 24.0-XP32-X009 51 60 141 | 24.0 505317 | ZD03- 24.0-XP32-X009 75 60 165 | 24.0

505243 24.5-XP32-X009 52 60 142 | 24.5 505318 24.5-XP32-X009 7 60 167 | 24.5

505244 25.0-XP32-X009 53 60 143 125.0 505319 25.0-XP32-X009 78 60 168 | 25.0

505245 25.5-XP32-X009 54 60 144 | 25.5 505320 25.5-XP32-X009 80 60 170 | 25.5

505246 26.0-XP32-X009 55 60 145 126.0 505321 26.0-XP32-X009 81 60 171 | 26.0

505247 26.5-XP32-X009 56 60 145 | 26.5 505322 26.5-XP32-X009 83 60 173 | 26.5

505248 27.0-XP32-X009 57 60 147 127.0 XOMT090305 M3.0x7 Ts 505323 27.0-XP32-X009 84 60 174 | 27.0 XOMT090305 M3.0x7 T8
505249 27.5-XP32-X009 58 60 148 | 27.5 SPMT090308 505324 27.5-XP32-X009 86 60 176 | 27.5 SPMT090308

505250 28.0-XP32-X009 59 60 149 |28.0 505325 28.0-XP32-X009 87 60 177 | 28.0

505251 28.5-XP32-X009 60 60 150 | 28.5 32 505326 28.5-XP32-X009 89 60 179 | 28.5 32

505252 29.0-XP32-X009 61 60 151 129.0 505327 29.0-XP32-X009 90 60 180 | 29.0

505253 29.5-XP32-X009 62 60 152 | 29.5 505328 29.5-XP32-X009 92 60 182 | 29.5

505254 30.0-XP32-X009 65 60 155 130.0 505329 30.0-XP32-X009 95 60 185 | 30.0

505255 31.0-XP32-X009 67 60 157 | 31.0 505330 31.0-XP32-X009 98 60 188 | 31.0

505256 32.0-XP32-X011 69 60 159 |32.0 505331 32.0-XP32-X011 101 60 191 | 32.0

505257 33.0-XP32-X011 7 60 161 | 33.0 XOMT11T306 M3.5x8 T15 505332 33.0-XP32-X011 104 60 194 | 33.0 XOMT11T306 M3.5x8 T15
505258 34.0-XP32-X011 73 60 163 | 34.0 SPMT11T308 505333 34.0-XP32-X011 107 60 197 | 34.0 SPMT11T308

505259 35.0-XP32-X011 75 60 165 |35.0 505334 35.0-XP32-X011 110 60 200 | 35.0

505260 | ZD02- 36.0-XP40-X013 77 70 182 136.0 505335| ZD03- 36.0-XP40-XO13 13 70 218 | 36.0

505261 37.0-XP40-X013 79 70 184 | 37.0 505336 37.0-XP40-X013 116 70 221 | 37.0

505262 38.0-XP40-X013 81 70 186 | 38.0 . N 505337 38.0-XP40-X013 119 70 224 | 38.0 . .

505263 39.0-XP40-X013 83 70 188 |39.0 ;ng;g:?g M4.0x10| T15 505338 39.0-XP40-X013 122 70 227 | 39.0 égu;;;gz?g M4.0x10[ T15
505264 40.0-XP40-X013 85 70 190 |40.0 505339 40.0-XP40-X013 125 70 230 | 40.0

505265 41.0-XP40-X013 87 70 192 | 41.0 505340 41.0-XP40-X013 128 70 233 | 41.0

505266 42.0-XP40-X013 89 70 194 142.0 505341 42.0-XP40-X013 131 70 236 | 42.0

505267 43.0-XP40-X015 81 70 196 | 43.0 505342 43.0-XP40-X015 134 70 239 | 43.0

505268 44.0-XP40-X015 93 70 198 | 44.0 505343 44.0-XP40-X015 137 70 242 | 44.0

505269 45.0-XP40-X015 95 70 200 |45.0 505344 45.0-XP40-X015 140 70 245 | 45.0

505270 46.0-XP40-X015 97 70 202 | 46.0 XOMT15M508 Ms.0x12| T20 505345 46.0-XP40-X015 143 70 248 | 46.0 XOMT15M508| ms.0x12| T20
505271 47.0-XP40-X015 99 70 204 | 47.0 SPMT15M510 505346 47.0-XP40-X015 146 70 251 | 47.0 SPMT15M510

505272 48.0-XP40-X015 101 70 206 |48.0 40 505347 48.0-XP40-X015 149 70 254 | 48.0 40

505273 49.0-XP40-X015 103 70 208 | 49.0 505348 49.0-XP40-X015 152 70 257 | 49.0

505274 50.0-XP40-X015 105 70 210 |50.0 505349 50.0-XP40-X015 155 70 260 | 50.0

505275 51.0-XP40-X018 107 70 212 | 51.0 505350 51.0-XP40-X018 158 70 263 | 51.0

505276 52.0-XP40-X018 109 70 214 152.0 505351 52.0-XP40-X018 161 70 266 | 52.0

505277 53.0-XP40-X018 11 70 216 | 53.0 505352 53.0-XP40-X018 164 70 269 | 53.0

505278 54.0-XP40-X018 113 70 218 | 54.0 505353 54.0-XP40-X018 167 70 272 | 54.0

505279 55.0-XP40-X018 115 70 220 |55.0 XOMT180508 M5.0x12| T20 505354 55.0-XP40-X018 170 70 275 | 55.0 XOMT180508 M5.0x12| T20
505280 56.0-XP40-X018 17 70 222 |56.0 SPMT180510 505355 56.0-XP40-X018 173 70 278 | 56.0 SPMT180510

505281 57.0-XP40-X018 19 70 224 | 57.0 505356 57.0-XP40-X018 176 70 281 | 57.0

505282 58.0-XP40-X018 121 70 226 |58.0 505357 58.0-XP40-X018 179 70 284 | 58.0

505283 59.0-XP40-X018 123 70 228 |59.0 505358 59.0-XP40-X018 182 70 287 | 59.0

505284 60.0-XP40-X018 125 70 230 |60.0 505359 60.0-XP40-X018 185 70 290 |60.0

XO Type Fast Drilling Bit

8L

Ei

563k

VMD
REhk

S

=il

Sk

peiffcs
Be

LBK
BST
Il
TIHR

HBOR
CBI
CBH
i

Rix

NBJ
NBH
L
X

TWE
RBH
ke
53k

7]



e TG WD 1% 45k WD Type Fast Drilling Bit

WD F 1R i 4 3k A==
g

WD Type Fast Drilling Bit °

ELmIT

@ HEVH @ —MUH g TREMH
L ab

v | 75 Stamioss Steel N Pt _ lal
K | me iron o o vnxx WDX 130 13.0] D2S20 [ 29 | 4066 | D3S20 [42.0] 4275 | D4S20 |55 | 4920 | D5S20 |68.0] 5352
N | 80/ 5/ A Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o WDX 135 13.5] D2520 [ 30 | 4066 | D320 |43.5] 4275 | D4S20 |57 | 4920 | D5S20 |70.5] 5352
s | BRaemiae Carbide/Powder Metallurgy . <ol WDX 140 WDXT | M1.6x4 14.0] D2S20 | 31 | 4066 | D3S20 |45.0] 4275 | D4S20 |59 | 4920 | D5S20 | 73.0| 5352
H| smmssmas Titanium/Superalloy/Carbon Fiber o sx0e WDX 145 042004 | T6 14.5] D2S20 | 32 | 4066 | D3S20 |46.5| 4275 | D4S20 | 61 | 4920 | D5S20 | 75.5| 5352
> P WDX 150 20 |15.0] D2520 | 33 | 4066 | D3S20 |48.0| 4275 | D4S20 |63 | 4920 | D5S20 | 78.0] 5352
B FmER JUA R nEUS Ml REA | o o cacs WDX 155 15.5| D2S20 | 34 | 4160 | D3S20 [49.5| 4379 | D4S20 |65 | 5039 | D5S20 |80.5| 5471
”ﬁ Product Image Dimensioning Specification re A T T“jj‘thcg‘ggr §§§§g§§§ggg WDX 160 16.0] D2S20 | 35 | 4160 | D3S20 |51.0] 4379 | D4S20 |67 | 5039 | D5S20 |83.0] 5471
WDX 165 WDXT | V2. Ox4 16.5] D2S20 | 36 | 4160 | D320 |52.5| 4379 | D4S20 |69 | 5039 | D5S20 | 85.5| 5471
WDXT 042004-L 04 | 42 2.0 . . WDX 170 052504 | T6 17.0| D2S20 | 37 | 4160 | D3S20 |54.0| 4379 | D4S20 | 71 | 5039 | D5S20 | 88.0| 5471
- PRy ] 20 25 = R WDX 175 17.5| D2S25 | 38 | 4361 | D3S25 |55.5| 4588 | D4S25 |73 | 5278 | D5S25 |90.5| 5736
R 073506-L 06 | 75 35 T8 oo WDX 180 18.0| D2S25 | 39 | 4361 | D3S25 |57.0| 4588 | D4S25 | 75 | 5278 | D5S25 | 93.0| 5736
i 094008-L 08 98 4.0 (Toolholder) g B WDX 185 18.5] D2S25 | 40 | 4461 | D3S25 |58.5] 4689 | D4S25 | 77 | 5397 | D5S25 | 95.5| 5867
e 15| 155 o0 K13-K14 olG WDX 190 19.0| D2S25 | 41 | 4461 | D325 |60.0| 4689 | D4S25 | 79 | 5397 | D5S25 | 98.0| 5867
. ERfmT 186012-L 12 | 180 8.0 - WDX 195 19.5| D2S25 | 42 | 4461 | D325 |61.5| 4689 | D4S25 | 81 | 5397 | D5S25 |100.5 5867 iy
R 3R E— WDX 200 WDXT | M2.2x6 20.0| D2S25 | 43 | 4461 | D3S25 |63.0| 4689 | D4S25 | 83 | 5397 | D5S25 |103.0] 5867 RIE
b7 WDXT 042004-G 04 | 42 2.0 . . WDX 205 063006 | T7 20.5| D2S25 | 44 | 4461 | D3S25 | 64.5| 4689 | D4S25 | 85 | 5397 | D5S25 |105.5| 5867 7l
- s ot 20 20 = B WDX 210 o5 | 21.0| D2825 | 45 | 4461 | D3S25 [66.0| 4689 | D4S25 |87 | 5397 | D5S25 [108.0] 5867
R 073506-G 06 75 35 LT . . WDX 215 215 D2S25 | 46 | 4461 | D3S25 |67.5| 4689 | D4S25 | 89 | 5397 | D5S25 |110.5| 5867
g 0920085 08 | 28 Lo (Toolholder) B WDX 220 22.0| D2S25 | 47 | 4461 | D3S25 |69.0| 4689 | D4S25 | 91 | 5397 | D5S25 |113.0| 5867
EHEE 15 | 155 o0 K13-K14 B WDX 225 22.5| D2S25 | 48 | 4461 | D3S25 | 70.5| 4689 | D4S25 | 93 | 5397 | D5S25 |115.5] 5867
ML 186012-G 12 | 180 8.0 . . WDX 230 23.0] D2S25 | 49 | 4558 | D3S25 |72.0| 4797 | D4S25 | 95 | 5512 | D5S25 |118.0 5993
WDX 235 23.5| D2S25 | 50 | 4558 | D3S25 | 73.5| 4797 | D4S25 | 97 | 5512 | D5S25 |120.5] 5993
: WDXT 042004-H 04 | 42 2.0 . . WDX 240 24.0| D2S25 | 51 | 4558 | D3S25 | 75.0| 4797 | D4S25 | 99 | 5512 | D5S25 |123.0 5993
- w P e 20 = s WDX 245 245 D2S25 | 52 | 4558 | D3S25 |76.5] 4797 | D4S25 | 101 | 5512 | D5S25 |126.5 5993
A . j 073506-H 06 75 35 LT oo WDX 250 25.0| D2S25 | 53 | 4558 | D3S25 | 78.0| 4797 | D4S25 | 103 | 5512 | D5S25 |128.0 5993
ERte sl o008t 98 | 28 o (Toolholder) N WDX 255 WDXT | M2.5x6 25.5| D2832 | 54 | 4752 | D3S32 |79.5| 5002 | D4S32 | 105 | 5755 | D5S32 | - -
— 156012-H 12 | 152 6.0 Kis-Ki4 ollo WDX 260 073506 T8 26.0| D2S32 | 55 [ 4752 | D3S32 |81.0| 5002 | D4S32 | 107 | 5755 | D5S32 | 133 | 6254
— IS it 186012-H 12 | 180 8.0 . . WDX 265 26.5| D2S32 | 56 | 4752 | D3S32 |82.5| 5002 | D4S32 | 109 | 5755 | D5S32 | - | - TR
WDX 270 27.0| D2S32 | 57 | 4752 | D3S32 |84.0| 5002 | D4S32 | 111 | 5755 | D5S32 | 138 | 6254 -
- WDX 275 27.5| D2S32 | 58 | 4752 | D3S32 | 855 5002 | D4S32 | 113 | 5755 | D5S32 | - | -
e WDX 280 28.0| D2S32 | 59 | 4752 | D3S32 |87.0] 5002 | D4S32 | 115 | 5755 | D5S32 | 143 | 6254 et
i WDX 285 32 [285] D2532 | 60 | 4752 | D3S32 | 88.5| 5002 | D4S32 | 117 | 5755 | D5S32 | - | -
BTN i WDX 290 29.0| D2S32 | 62 | 4752 | D3S32 |91.0] 5002 | D4S32 | 120 | 5755 | D5S32 | 149 | 6254 b
%EE j_ WDX 295 29.5| D2S32 | 63 | 4752 | D3S32 |92.5] 5002 | D4S32 | 122 | 5756 | D5S32 | - | - i
s WDX 300 30.0| D2S32 |64 | - | D3S32 |940| - | D4S32 | 124 | 6400 | D5S32 | 154 | 6776
VMD WDX 310 310| D2S32 |66 | - | D3S32 |97.0| - | D4S32 | 128 | 6250 | D5S32 | 159 | 6776 VMD
KRS WDX 320 32.0| D232 [ 68 | - | D3S32 [100 | - | DA4S32 | 132 6400 | D5S32 | 164 6776 4 4fsk
AHA WDX 300 WDXT | M3.5x8 30.0| D2S40 | 64 | 5147 | D3S40 |94.0| 5423 | D4S40 | 124 | 6250 | D5S40 | 154 | 6776~
st WDX 310 094008 | T15 31.0| D2S40 | 66 | 5147 | D3S40 [97.0] 5423 | D4S40 | 128 | 6400 | D5S40 | 159 | 6776 b
WDX 320 32.0| D2S40 | 68 | 5147 | D3S40 | 100 | 5423 | D4S40 | 132 | 6250 | D5S40 | 164 | 6776
T WDX 330 33.0| D2S40 | 70 | 5147 | D3S40 | 103 | 5423 | D4S40 | 136 | 6250 | D5S40 | 169 | 6776 z= 00
EESL WDX 340 34.0| D2S40 | 72 | 5147 | D3S40 | 106 | 5423 | D4S40 | 140 | 6250 | D5S40 | 174 | 6776 g3k
L= i WDX 350 35.0] D2S40 | 74 | 5147 | D3S40 | 109 | 5423 | D4S40 | 144 | 6250 | D5S40 | 179 | 6776 ~ ————
3 WDX 360 36.0| D2S40 | 76 | 5147 | D3S40 | 112 | 5423 | D4S40 | 148 | 6250 | D5S40 | 184 | 6776 iichi
AP 1k WDX 370 37.0] D2S40 | 79 | 5941 | D3S40 | 116 | 6254 | D4S40 | 153 | 7190 | D5S40 | 190 Be
S WDX 380 38.0| D2S40 | 81 | 5941 | D3S40 | 119 | 6254 | D4S40 | 157 | 7190 | D5S40 | 195 —
LBK WDX 390 39.0| D2S40 | 83 | 5941 | D3S40 | 122 | 6254 | D4S40 | 161 | 7190 | D5S40 | 200 LBK
BST - WDX 400 WOXT | M5.0x12 40.0| D2S40 | 85 | 5941 | D3S40 | 125 | 6254 | D4S40 | 165 | 7190 | D5S40 | 205 BST
a7l WDX 410 125012 | 115 41.0| D2S40 | 87 | 5941 | D3S40 | 128 | 6254 | D4S40 | 169 | 7190 | D5S40 | 210 #Tl
Wk WDX 420 42.0| D2S40 | 89 | 5941 | D3S40 | 131 | 6254 | D4S40 | 173 | 7190 | D5S40 | 215 L
B WDX 430 43.0| D2S40 | 91 | 5941 | D3S40 | 134 | 6254 | D4S40 | 177 | 7190 | D5S40 | 220 Tp—
HBOR WDX 440 44.0| D2540 | 93 | 5941 | D3S40 |137 | 6254 | D4S40 | 181 7190 | D5S40 | 225 HBOR
CBI EUZ WDX 450 45.0| D2S40 | 95 | 5941 | D3S40 | 140 | 6254 | D4S40 | 185| 7190 | D5S40 | 230 CBI
CBH WDX 460 46.0| D2S40 | 97 | 6444 | D3S40 | 143 | 6776 | D4S40 | 189 | 7797 | D5S40 | 235 CBH
i 4 WDX 470 47.0| D2S40 | 99 | 6444 | D3S40 | 146 | 6776 | D4S40 | 193 | 7797 | D5S40 | 240 155
24 WDX 480 48.0| D2S40 | 101| 6444 | D3S40 | 149 | 6776 | D4S40 | 197 | 7797 | D5S40 | 245 D
— WDX 490 40 [49.0] D2S40 | 103 | 6444 | D3S40 |152 | 6776 | D4S40 | 201 | 7797 | D5S40 | 250
NBJ WDX 500 WDXT | M.0x15 50.0] D2540 | 105 6444 | D3540 | 155 | 6776 | D4S40 | 205 | 7797 | D5S40 | 255 NBJ
NBH i WDX 510 156012 | T15 51.0] D2S40 | 107] 6765 | D3S40 | 156 | 7115 | D4S40 | 209 | 8192 | D5S40 | 260 NBH
427 g WDX 520 52.0| D2S40 | 109| 6765 | D3S40 | 161 | 7115 | D4S40 | 213 | 8192 | D5S40 | 265 I
Ex g WDX 530 53.0| D2S40 | 111 | 6765 | D3S40 | 164 | 7115 | D4S40 | 217 | 8192 | D5S40 | 270 Bx
— X WDX 540 54.0| D2S40 | 113| 6765 | D3S40 | 167 | 7115 | D4S40 | 221 | 8192 | D5S40 | 275
TWE @ WDX 550 55.0| D2S40 | 115| 6765 | D3S40 | 170 | 7115 | D4S40 | 225 | 8192 | D5S40 | 280 TWE
RBH g WDX 560 56.0] D2540 | 120| 7611 | D340 | 176 | 8442 | D4S40 | 232 | 9642 | D5S40 RBH
tH5E X WDX 570 57.0| D2S40 | 122| 7611 | D3S40 |179 | 8442 | D4S40 | 236 | 9642 | D5S40 *E'Z%
2% 4 WDX 580 58.0| D2S40 | 124| 7611 | D3S40 | 182 | 8442 | D4S40 | 240 | 9642 | D5S40 A5
— e g WDX 590 59.0| D2S40 | 126] 7611 | D3S40 | 185 | 8442 | D4S40 | 244 | 9642 | D5S40 sk
2k WDX 600 WDXT | M6.0x15 60.0| D2S40 | 128 7611 | D3S40 |188 | 8442 | D4SA40 | 248 | 9642 | D5S40 .
T WDX 610 186012 | T15 61.0| D2S40 | 130| 7924 | D3S40 | 191 | 8807 | D4S40 | 252 | 10112| D5S40 5 7]
8 J] WDX 620 62.0] D2S40 | 132] 7924 | D3S40 | 194 | 8807 | D4S40 | 256 | 10112| D5S40 -
— WDX 630 63.0| D2S40 | 134] 7924 | D3S40 | 197 | 8807 | D4S40 | 260 | 10112| D5S40
WDX 640 64.0| D2S40 | 136] 7924 | D3S40 |200 | 8807 | DAS40 D5S40
WDX 650 65.0] D2S40 | 138] 7924 | D3S40 [203 | 8807 | D4S40 D5S40




Ef%ﬁiﬁfﬂﬁ.ﬁ 880/GP RiRX L 880/GP Type Fast Drilling Bit

% F i} &

TAF & F 20U IR R $ 5k

TAF Discard Quick Drill

ELmIT

’c}l‘%ﬂ%ﬁs: " —ﬂsi“cg]‘ﬁll 2 UK?@;’\EWEU
Cutting Environment General Cutting stable Cutting
P 4N Steel 09 WRZROO
M THW Stainless Steel O OBBBOO
K | #% Iron o 90 UExR%®
- BRI LS Ao Sopperasne s A Fasteliens L .
& V=3 arbide/Powder Metallur: S 3z = f = N = N
3 P— S rms R+t Dimension (mm) e —— TAF 12.0 [556100]S1200F20] 29 [ 1100 [556300]M1200F20] 41 [ 1320 [556500]L1200F20] 55 | 1584
;f;; i 7 o menns 3285858888 TAF 12.5[556102|S1250F20| 29 | 1100 [556302|M1250F20] 41 | 1320 [556502|L1250F20 | 55 | 1584
5 Product Image Dimensioning Specification re A B T oo, PBBELOLAAE S TAF GCMT (20) 13.0 [556104|S1300F20| 31 | 1100 [556304|M1300F20] 44 | 1320 [556504|L1300F20| 60 | 1584
_ TAF | 040204-U.. o [13.5]556106|S1350F20] 31 | 1100 |556306|M1350F20| 44 | 1320 556506 |L1350F20 | 60 | 1584
TAF 1/g |14.0 [556108|S1400F20| 33 | 1100 |556308|M1400F20] 47 | 1320 |556508|L1400F20 | 60 | 1584
TAF M2, Ox4 14.5[556110|S1450F20| 33 | 1100 [556310|M1450F20] 47 | 1320 |556510|L1450F20 | 60 | 1584
b TAF Te 15.0 [556112|S1500F20| 35 | 900 [556312|M1500F20] 50 | 1080 |556512|L1500F20| 70 | 1296
- ; : e GCMT 040204-U2 0.4 5.0 47 | 238 = .o TAF GPT 15.5 (556114 S1550F20| 35 900 |556314|M1550F20] 50 | 1080 |556514|L1650F20 | 70 | 1296
EE T R T o4 | 258 - | 238 T °K TAF 16.0 |556116|S1600F25] 38 | 900 |556316|M1600F25 54 | 1080 |556516|L1600F25 | 75 | 1296 .
R IR i 7 090304-U2 04 | 794 - | 318 (Toolholder) .o TAF 060204-1. 16.5 [556118|S1650F25| 38 | 900 [556318|M1650F25] 54 | 1080 |556518|L1650F25 | 75 | 1296 TR IR
7L ‘ 140408.05 08 %% 1 | i% e o TAF 17.0 [556120|S1700F25| 41 | 900 [556320|M1700F25] 58 | 1080 |556520|L1700F25| 75 | 1296 7L
' ' ' TAF 17.5 |556122|S1750F25] 41 | 900 [556322|M1750F25| 58 | 1080 |556522|L1750F25] 75 | 1296
TAF 18.0 [556124|S1800F25| 43 | 900 [556324|M1800F25] 61 | 1080 |556524|L1800F25| 79 | 1296
TAF 18.5 [556126|S1850F25| 43 | 900 [556326|M1850F25] 61 | 1080 |556526|L1850F25 | 79 | 1296
TAF 19.0 [556128|S1900F25| 46 | 900 [556328|M1900F25] 65 | 1080 |556528|L1900F25 | 84 | 1296
TAF 19.5 [556130|S1950F25| 46 | 900 [556330|M1950F25] 65 | 1080 |556530|L1950F25 | 84 | 1296
TAF GPMT | M2.5x6 |(25)|20.0 556132 S2000F25| 48 | 900 |556332|M2000F25| 68 | 1080 |556532|L2000F25 | 88 | 1296
TAF 070204-U..| T8 pT |20.5|556134] S2050F25| 48 | 1000 |556334|M2050F25] 68 | 1200 |556534|L2050F25 | 88 | 1440
TAF 1/ [21.0]556136]S2100F25] 50 | 1000 [556336|M2100F25] 71 | 1200 |556536[L2100F25] 92 | 1440
TAF 21.5|556138]S2150F25| 50 | 1000 |556338|M2150F25| 71 | 1200 |556538|L2150F25 | 92 | 1440
TAF 22.0 |556140[S2200F25| 53 | 1000 |556340|M2200F25| 75 | 1200 |556540|L2200F25 | 97 | 1440
TAF 22.5|556142|S2250F25| 53 | 1000 |556342|M2250F25| 75 | 1200 |556542|L2250F25 | 97 | 1440 - |
TAF 23.0 |556144]S2300F25| 55 | 1000 |556344|M2300F25| 78 | 1200 |556544|L2300F25 | 101 | 1440 -
TAF 23.5|556146|S2350F25| 55 | 1000 |556346|M2350F25| 78 | 1200 |556546|L2350F25 | 101 | 1440 _—
TAF 24.0 |556148|S2400F25| 58 | 1000 |556348|M2400F25| 82 | 1200 |556548|L2400F25 | 106 | 1440 Grgk
TAF 24.5|556150(S2450F25| 58 | 1000 |556350|M2450F25] 82 | 1200 |556550|L2450F25 | 106 | 1440 —_
FE il TAF 25.0 |556152| S2500F32] 60 | 1000 |556352|M2500F32| 85 | 1200 |556552|L2500F32 | 110 | 1440 TE 10
$hk (f-lli f LTJ ):IL TAF 09‘§§0“2TU__ M?gxs 25.5 |556154] S2550F32] 60 | 1000 |556354|M2550F32| 85 | 1200 |556554|L2550F32 | 110 | 1440 EES
VMD WS o BEMN ¢ —mUM g TREDN TAF 26.0 |556156|S2600F32| 62 | 1200 |556356|M2600F32| 88 | 1440 |556556|L2600F32 | 114 | 1728 VMD
v Gutting Environment Stablo Cuting @ _GeneraiGutting _*°_Unstable Cuting ~ TAF ] 26.5 |556158| S2650F32] 62 | 1200 |556358|M2650F32| 88 | 1440 |556558|L2650F32 | 114 | 1728 K&k Sk
HIE Steel o0 vxxxrve TAF (32) [ 27.0|556160|S2700F32| 65 | 1200 |556360M2700F32] 92 | 1440 |556560|L2700F32 | 119 | 1728 ===
gk M | TR SlalnlessiSteol © 088800 TAF PT |27.5(556162|S2750F32| 65 | 1200 |556362|M2750F32 92 | 1440 [556562|L2750F32 | 119 | 1728 £has
K| 5 \ ron - v ° v ozww TAF 1/8 | 28.0 [556164|S2800F32| 67 | 1200 [556364|M2800F32] 95 | 1440 [556564|L2800F32 | 123 | 1728 .
s bt T AEERE TAF 28,5 |556166| S2850F32| 67 | 1200 |556366|M2850F32] 95 | 1440 |556566|L2850F32 | 123 | 1728 =i
sk N B N i S uperaliog Carbon Fiber . BB TAF 29.0 |556168] S2900F32] 70 | 1200 [556368|M2900F32| 99 | 1440 |556568|L2900F32 | 128 | 1728 RS
s = . - TAF V1406 29.5|556170(S2950F32| 70 | 1200 |556370|M2950F32| 99 | 1440 |556570|L2950F32 | 128 | 1728 B
fle  cm| FREA LT R < M S e REM | xo,_gcenog _ TAF | 11$3PO'\EA3TU DX 30.0[556172[S3000F40] 82 | 1200 [556372|M3000F40] 102 | 1440 |556572|L3000F40 | 132 | 1728 D {5
S| productimage Dimensioning Specification re A B T L a Jaenne GBEES8I AR RS TAF U T15 31.0 |556174|S3100F40| 74 | 1300 |556374|M3100F40| 105 | 1560 |556574|L3100F40 | 136 | 1872 e
LBK TAF 32.0 |556176|S3200F40| 77 | 1300 |556376|M3200F40, 109 | 1560 |556576|L3200F40 | 141 | 1872 LBK
BST _ 880 880-01 880- O10203HCAM | 03 | 480 ) - 22 - - o o TAF 33.0 |556178| S3300F40| 79 | 1300 |556378|M3300F40| 112 | 1560 |556578|L3300F40 | 145 | 1872 BST
L . 030305H-CLM | 05 570 - 26 - S = P TAF 34.0 |556180| S3400F40| 82 | 1300 |556380|M3400F40| 116 | 1560 |556580|L3400F40 | 150 | 1872 #EIL
J1H ] 040305H-C-LM | 05 680 - 2.8 - R ol TAF 35.0 |556182| S3500F40| 84 | 1300 |556382|M3500F40| 119 | 1560 |556582|L3500F40 | 150 | 1872 L]
CRoR o SoodoonoIM | DR B 32 o | (Tootnolden N Iﬁi 36.0[556184] S3600F40| 86 | 1500 |556384|M3BO0OF40] 122 | 1800 |556584|L3600F40 | 154 | 2160 °, o~ o"
ol : O70408HCAM | 06 1235 - 40 - - oo 37.0 |556186|S3700F40| 89 | 1500 |556386|M3700F40| 126 | 1800 |556586|L3700F40 | 158 | 2160 CBI
CBH T T gggggg:gtm 82 légg - 2 g - : o o TAF 38.0 |556188| S3800F40| 91 | 1500 [556388|M3800F40] 129 | 1800 |556588|L3800F40 | 162 | 2160 CBH
Pt ' of° TAF 39.0 |556190| S3900F40| 94 | 1500 |556390|M3900F40| 133 | 1800 |556590|L3900F40 | 166 | 2160 Yo b
gﬁﬁ U T » TAF 40.0 [556192| S4000F40| 96 | 1500 |556392|M4000F40| 136 | 1800 |556592|L4000F40 | 170 | 2160 24
gyl Iy g e - - ofc TAF GPMT | M5.5x12 41.0[556194|S4100F40| 98 | 1800 |556394|M4100F40| 139 | 2160 |556594|L4100F40 | 174 | 2592 _
NBJ o 040305H-C-GM | 05 680 - 2.8 - .| = o TAF 140408-U..| 120 (40) | 42:0{556196| S4200F40] 101 | 1800 [556396|M4200F40] 143 | 2160 |556596]L4200F40 | 178 | 2592 NBJ
NBH S gggzgg:ggm 08 | 840 | - i - : m‘;mm” A TAF pr | 43.0 556198 S4300F40] 103 | 1800 [556398|M4300F40] 146 | 2160 |556598|L4300F40 | 182 | 2592 NBH
7, iT o7oansticiom | oe | 1235 | - 40 . I P TAF 1/4 | 44.0|556200] S4400F40| 106 | 1800 |556400|M4400F40] 150 | 2160 |556600|L4400F40 | 186 | 2592 ’%.%ftt
Bx I 080508H-C-GM 0.8 | 1485 - 4.5 - - o o _TAF | 45.0 [556202| S4500F40| 108 | 1800 |556402|M4500F40| 153 | 2160 [556602|L4500F40 | 190 | 2592 =35
T 090808H-C-GM | 08 | 17.90 | - 55 OjC TAF 46.0 | 556204 | S4600F40| 110 | 2000 |556404 M4600F40| 156 | 2400 |556604|L4600F40 | 194 | 2880 TWE
TRVE\;/E TAF 47.0 [556206| S4700F40| 113 | 2000 |556406 |M4700F40| 160 | 2400 |556606|L4700F40 | 198 | 2880 RBH
o 880-01 880- gggggi:ggs 03 | 480 | - 22 : : 2 B TAF 48.0 |556208| S4800F40| 115 | 2000 |556408|M4800F40| 163 | 2400 |556608 |L4800F40 | 202 | 2880 e
Y i 0o0o0ehooR | o8 | 530 | - oe - A - N N TAF 49.0 |556210| S4900F40| 118 | 2000 |556410|M4900F40| 167 | 2400 |556610|L4900F40 | 206 | 2880 S
5 040305H-C-GR | 05 680 - 2.8 - - | e o o TAF 50.0 |556212| S5000F40| 120 | 2000 |556412|M5000F40| 170 | 2400 |556612|L5000F40 | 210 | 2880 —
&3k n [ gggigg:ggs gg 1804200 - gg - © | (Toolholder) " TAF 51.0 [556214| S5100F40| 122 | 2500 |556414|M5100F40] 173 | 3000 |556614|L5100F40 | 214 | 3600 3k
— T @ i N o70406H.G.GR | 06 | 1235 | - 40 K15 P TAF GPMT | M3.0x8 52.0 |556216| S5200F40| 125 | 2500 |556416|M5200F40| 177 | 3000 |556616|L5200F40 | 218 | 3600 v
®7] i S 080508H-C-GR | 08 1485 - 45 o o TAF 090304-U.| 18 53.0 |556218| S5300F40| 127 | 2500 |556418|M5300F40| 180 | 3000 |556618|L5300F40 | 222 | 3600 %7
- Deep-feed ! ! el ©8 |70 - | 55 i TAF 54.0 |556220| S5400F40]| 128 | 2500 |556420|M5400F40] 182 | 3000 [556620|L5400F40 | 226 | 3600
B0 R BRI AER TAF 55.0 | 556222| S5500F40| 130 | 3000 |556422|M5500F40| 185 | 3600 |556622|L5500F40 | 230 | 4320
880 series quick drill stock please contact customer service! TAF 56.0 |556224| S5600F40| 132 | 3000 |556424|M5600F40| 188 | 3600 |556624|L5600F40 | 234 | 4320

K15 K16



SEES R

High Efficiency Drilling

BRAE ST

R 4 5 T 4T

=R
3D E 14 5 M 4%

R §7 54 7] #F

78 ARFLIMI

3D Steel Side Fixing Toolholder

Shovel drilling
Deep hole processing

3DEEMIE# 3D Straight Groove Side Fixing Carbide Toolholder 3DE K W MI% 3D Steel Morse Toolholder
- 1 ﬁMTA..
= — ]
| 9 - 0
1 [¥) L1 L2 |
v ! |
Order #15 Model L L1 | L2 D D1 |#2% screw |§Flexh| Price Order #1 5 Model L L1 | L2 D D1 [#2% screw |§fexh | Price
500100|SDT03-11.0-11.9-H-XP20 | 112 | 36 | 48 | 11.0-11.9 | 20 | M1.8*45| T6 501100| SDS03-09.5-11.0-MT2 181] 36 | 80 | 9.5-11.0 |[MT2| M2'5 | T6 [7281
500102|SDT03-12.0-12.9-H-xP20 | 116 | 39 | 48 | 12.0-12.9 | 20 v2's | 16 501102] SDS03-11.1-12.9-MT2 187 | 42 | 80 | 11.1-12.9 [MT2| M2*5 | T6 | 7281
500104 SDT0313.043.9-0xP20 | 118 | 22 |28 | 130139 | 20 IR 501104| SDS03-13.0-15.0-MT2 193] 48 | 80 | 13.0-15.0 [ MT2 | M2.5*6 | T8 [7281
Cen e - 501106| SDS03-15.1-17.5-MT2 200 | 55 | 80 | 15.1-17.5 | MT2 | M2.5*6 | T8 |7500
500106|SDT03-14.0-14.9-H-XP20 | 122 | 45 | 48 | 14.0-14.9 | 20 M2'5 | T6 501108] SDS03-17.6-19.5-MT3 226 | 61 | 99 | 17.6-19.5 [MT3 | M3*8 | TIo | 8250
500108 |SDT03-15.0-15.9-H-XP20 | 126 | 48 | 48 | 15.0-15.9 | 20 M2*5 | T6 501110| SDS03-19.6-21.5-MT3 232 | 67 | 99 | 19.6-21.5 |MT3 | M:3*8 | TI0o |8250
500110 |SDT03-16.0-16.9-H-XP20 | 130 | 51 | 48 | 16.016.9 | 20 | M2.56 | T8 501112 SDS03-21.6-24.4-MT3 241] 76 | 99 | 21.6-24.4 |[MT3 | M3*8 [T10 |8250
500112 [SDT03 7 /070, mxP20 | 132 | 54 | 28 | 17.0.17.9 | 20 | mz57 | T8 501114 | SDS03-24.5-26.5-MT4 284 | 82 | 124 | 24.5-26.5 | MT4 | M3.5*10 | T15 | 9156
- 501116 | SDS03-26.6-28.5-MT4 290 | 88 [ 124 | 26.6-28.5 | MT4 | M3.5*10 | T15 | 9156
500114 [SBIO3SIS OSIOSOINEXR2SM 150 | 57 | 56 | 18.0-18.9 | 25 M3'7.5 | T10 501118 | SDS03-28.6-30.5-MT4 296 | 94 | 124 | 28.6-30.5 | MT4 | M3.5*10 | T15 | 9500
500116|8DT03-20.0-21.9-H-XP25 | 156 | 66 | 56 | 20.0-21.9 | 25 | M3'7.5 | T10 501120 SDS03-30.6-32.5-MT4 302 | 100 | 124 | 30.6-32.5 | MT4 | M3.5*10 | T15 | 9500
500118 |SDT03-22.0-23.9-H-XP25 | 162 | 72 | 56 | 22.0-23.9 | 25 M3*9 | T10 501122| SDS03-32.6-34.9 MT4 309 [ 107 [ 124 | 32.6-34.9 | MT4 | M3.5*10 | T15 | 9500
500120 |SDT03-24.0-25.9-H-XP25 | 168 | 78 | 56 | 24.0-25.9 | 25 w3 | T10 501124| SDS03-35.0-37.9-MT5 360 | 11 | 156 | 35.0-37.9 | MT5 | M3.5*10 | T15 | 10594
500122 [EDT0T2eToeoYi el 186 | 87 | 60 | 26.028.9 | 32 | ma1o |15 501126| SDS03-38.0-40.9-MT5 369 | 125|156 | 38.0-40.9 | MT5 | M3.5*10 | T15 | 10594
501128| SDS03-41.0-43.9-MT5 378 | 134|156 | 41.0-43.9 | MT5 | M3.5*10 | T15 | 11000
500124|SDT03-29.0-31.9-H-XP32 | 195| 96 | 60 | 29.0-31.9 | 32 | M4*10 | T15 501130| SDS03-44.0-47.9-MT5 | 390 | 146 | 156 | 44.0-47.9 | MT5 | M3.5710 | T15 | 11469
500126|SDT03-32.0-35.0-H-XP32 | 205 | 105| 60 | 32.0-35.0 | 32 M4*10 | T15 501132| SDS03-48.0-51.9-MT5 402 | 158 | 156 | 48.0-51.9 | MT5 | M5*15 | T20 | 12031
501134| SDS03-52.0-55.9-MT5 414 [ 170|156 | 52.0-55.9 | MT5 | M5*15 | T20 | 12656
W g 501136] SDS03-56.0-59.9-MT5 426 | 182156 | 56.0-59.9 | MT5 | M5*15 |T20 | 13281
'HE ]EE 501138| SDS03-60.0-65.0-MT5 442 (198|156 | 60.0-65.0 | Mt5 | M5*15 | T20 | 13875
7L . I . = 2 Lr 4
5DE#M[E4 5D Straight Groove Side Fixing Carbide Toolholder 5DE X 47 4 ML A% 5D Steel Morse Toolholder
1 \Q-mﬂf ﬁMTA..
Hj g | b  p—— b— S —— .
o o ] L1 | L2
u \ L
Order # 2 Model L | L1|L2 D D1 |#8% screw |§Fleh| Price Order # 5 Model L | L1 |L2 D D1 |#8% screw |fififect | Price
500200| SDT05-11.0-11.9-H-XP20 | 136 | 60 | 48 | 11.0-11.9 | 20 | M1.8°4.5 | T6 501200 1SDS0520952Ml0=MTTi2 205 | 56 | 80 | 9.5-11.0 [MT2 | M25 | T6 18063
500202 [EEToYTYTYo ool 122 | 65 | a8 | 12.042.9 | 20 vzs |16 501202| SDS05-11.1-12.9-MT2 213 | 68 | 80 | 11.1-12.9 |MT2| M2*5 | T6 |8063
501204 | SDS05-13.0-15.0-MT2 223 | 78 | 80 | 13.0-15.0 | MT2 | M2.5*6 | T8 |8063
500204) SDT05-13.0-13.9-H-XP20 | 146 | 70 | 48 | 13.0-13.9 | 20 | M2'5 | T6 501206| SDS05-15.1-17.5-MT2 235 90 | 80 | 15.1-17.5 [MT2 | M2.5'6 | T8 |8313
500206 | SDT05-14.0-14.9-H-XP20 | 152 | 75 | 48 | 14.0-14.9 | 20 M2*5 | T6 501208| SDS05-17.6-19.5-MT3 265 | 100 | 99 | 17.6-19.5 | MT3 | M3*8 | T10 | 9094
500208 | SDT05-15.0-15.9-H-XP20 | 158 | 80 | 48 | 15.0-15.9 | 20 M2*5 T6 501210| SDS05-19.6-21.5-MT3 275 | 110 | 99 | 19.6-21.5 | MT3 M3*8 T10 | 9094
iR 500210 |[EbT05 T eTonieToe2ol| 162 | 85 | 48 | 16.0-16.9 | 20 | M25% | T8 501212] SDS05-21.6-24 4-MT3 290 | 125] 99 | 21.6-24.4 |MT3| M3*8 | T10 | 9094
v 200212 5070517 047 9m1xP20 T170 90 28 T17079 | 20 | was7 | 1s 501214 | SDS05-24.5-26.5-MT4 337 | 135|124 | 24.5-26.5 | MT4 | M3.5*10 | T15 | 10031
- 2ot Ane - - 501216| SDS05-26.6-28.5-MT4 347 | 145 | 124 | 26.6-28.5 | MT4 | M3.5*10 | T15 | 10031
500214 | SDT05-19.0-19.9-H-XP25 | 190 | 100 | 56 | 18.0-19.9 | 25 | M3'7.5 | T10 501218| SDS05-28.6-30.5-MT4 357 | 155 | 124 | 28.6-30.5 | MT4 | M3.5*10 | T15 | 10438
500216 | SDT05-20.0-21.9-H-XP25 | 200 | 110 | 56 | 20.0-21.9 | 25 | M3*7.5 |T10 501220| SDS05-30.6-32.5-MT4 367 | 165 | 124 | 30.6-32.5 | MT4 | M3.5*10 | T15 | 10438
RS 500218| SDT05-22.0-23.9-H-XP25 | 210 | 120 | 56 | 22.0.23.0 | 25 M3*9 | T10 501222| SDS05-32.6-34.9-MT4 380 | 178 | 124 | 32.6-34.9 | MT4 | M3.5*10 | T15 | 10438
1N - - - | - -
TE \\L 500220 [EDTO o oel 220 | 130 | 56 | 24.025.9 | 25 was 710 501224| SDS05-35.0-37.9-MT5 436 | 192 | 156 | 35.0-37.9 | MT5 | M3.5*10 | T15 | 11594
ghsk 501226| SDS05-38.0-40.9-MT5 452 | 208 | 156 | 38.0-40.9 | MT5 | M3.5*10 | T15 | 11594
500222|{SD05:26.0-26.9:H:-XP32 | 245 | 145| 60 | 26.0-28.9 | 32 | M4%10 |T15 501228] SDS05-41.0-43.9-MT5 566 | 222 | 156 | 41.0-43.9 | MT5 | M3.5*10 | T15 | 12063
VMD 500224) $DT05-29.0-31.9-H-XP32 | 259 | 160 | 60 | 29.0-31.9 | 32 | M4*10 |T15 501230| SDS05-44.0-47.9-MT5 486 | 242 | 156 | 44.0-47.9 | MT5 | M3.5*10 | T15 | 12625
j( %E 9: 500226| SDT05-32.0-35.0-H-XP32 | 275 | 175| 60 | 32.0-35.0 | 32 M4*10 | T15 501232| SDS05-48.0-51.9-MT5 506 | 262 | 156 | 48.0-51.9 | MT5 | M5*15 | T20 |13281
501234 | SDS05-52.0-55.9-MT5 526 | 282 | 156 | 52.0-55.9 | MT5 | M5*15 | T20 | 13969
PI 501236 | SDS05-56.0-59.9-MT5 546 | 302 | 156 | 56.0-59.9 | MT5 | M5*15 | T20 | 14688
x~ 501238| SDS05 60.0-65.0 MT5 572 | 328 | 156 | 60.0-65.0 | MT5 | M5*15 | T20 | 15406
— "
Zz3 ’L\ 7D 3 |'|
EEsL 7DEEME#5 7D Straight Groove Side Fixing Carbide Toolholder KRR A 7D Steel Morse Toolholder
<
- ) g L—MTA.
il Q l E DE C f o1 c ‘F o€ \QﬂﬂT
Fic 14 | o = | L1 ‘ L2 |
| c | |
LBK - = ;
BST Order # 5 Model L | L1 |L2 D D1 |#2% screw |§FHenh| Price Order # 5 Model L [L1]L2 D D1 |#B# screw || Price
7l 500300| SDT07-11.0-11.9-H-XP20 | 160 | 84 | 48 | 11.0-11.9 | 20 | M1.6%45 | T6 501300| SDS07-09.5-11.0-MT2 225| 80 | 80 | 9.5-11.0 |MT2| M2*5 | T6 |9625
= 11 119 oo " B
HiE 500302 BT XYY o0l 165 | 91 | 48 | 12.0-12.9 | 20 vzs | 16 501302| SDS07-11.1-12.9-MT2 238 93 | 80 | 11.1-12.9 [MT2 | M2*5 | T6 |9625
501304 | SDS07-13.0-15.0-MT2 253|108 ] 80 | 13.0-15.0 | MT2 | M2.5*6 | T8 | 9625
500304] SDT07-13.0-13.9-H-XP20 | 174 | 98 | 48 | 13.0-13.9 | 20 | M2'5 | T6 501306| SDS07-15.1-17.5-MT2 270 | 125] 80 | 15.1-17.5 | MT2 | M2.5'6 | T8 | 9906
HBOR 500306| SDT07-14.0-14.9-H-XP20 | 182 | 105| 48 | 14.0-14.9 | 20 M2*5 T6 501308| SDS07-17.6-19.5-MT3 304 | 139] 99 | 17.6-19.5 | MT3 | M3*8 TIO | 10750
CB' 500308| SDT07-15.0-15.9-H-XP20 190 | 112 | 48 15.0-15.9 20 M2*5 T6 501310| SDS07-19.6-21.5-MT3 318 | 153 ] 99 19.6-21.5 | MT3 M:3*8 TIO 10750
CBH 500310| SDT07-16.0-16.9-H-XP20 | 198 | 119 | 48 | 16.0-16.9 | 20 | M2.5%6 | T8 501312| SDS07-21.6-24.4-MT3 338 | 173] 99 | 21.6-24.4 |MT3 | M3*8 | T10 | 10750
i 501314] SDS07-24.5-26.5-MT4 390 | 188 ] 124 | 24.5-26.5 | MT4 | M3.5*10 | T15 | 11750
e = - H. . *
'H 'Z% 500312 ISDIOTENT0NTO2-XE20M 206 | 126 48 | 17.0-17.9 | 20 M2.57 | T8 501316| SDS07-26.6-28.5-MT4 404 | 202 | 124 | 26.6-28.5 | MT4 | M3.5*10 | T15 | 11750
Rig 500314| SDT07-18.0-19.9-H-XP25 | 230 | 140| 56 | 18.0-19.9 | 25 | M3'7.5 | TIO 501318| SDS07-28.6-30.5-MT4 418 | 216 | 124 | 28.6-30.5 | MT4 | M3.5*10 | T15 | 12281
500316 | SDT07-20.0-21.9-H-XP25 | 244 | 154 | 56 | 20.0-21.9 | 25 | M3*7.5 | TI0 501320| SDS07-30.6-32.5-MT4 432 | 230 ] 124 | 30.6-32.5 | MT4 | M3.5*10 | T15 | 12281
NBJ 500318| SDT07-22.0-23.9-H-XP25 | 258 | 168 | 56 | 22.0-23.9 | 25 M3*9 | TI0 501322] SDS07-32.6-34.9 MT4 449 | 247124 | 32.6-34.9 | MT4 | M3.5*10 | T15 | 12281
NBH 500320| SDT07-24.0-25.9-H-XP25 | 272 | 182 | 56 | 24.0-25.9 | 25 M3*9 | TIO 501324| SDS07-35.0-37.9-MT5 512 | 268 | 156 | 35.0-37.9 | MT5 | M3.5*10 | T15 | 13500
47 500322 570726 028 0-xPaa 1305 1205 00 1250250 22 [ a0 71 501326| SDS07-38.0-40.9-MT5 533 | 289 | 156 | 38.0-40.9 | MT5 | M3.5*10 | T15 | 13500
= SDII07:260:28 9:H:XRS 0-28. 501328| SDS07-41.0-43.9-MT5 554 | 310 | 156 | 41.0-43.9 | MT5 | M3.5°10 | T15 | 14094
500324) $DT07-29.0-31.9-H-XP32 | 323 | 224 | 60 | 29.0-31.9 | 32 | M4*10 | T15 501330| SDS07-44.0-47.9-MT5 582 | 338 | 156 | 44.0-47.9 | MT5 | M3.5*10 | T15 | 14781
TWE 500326 | SDT07-32.0-35.0-H-XP32 | 345 | 245| 60 | 32.0-35.0 | 32 | M4*10 |T15 501332| SDS07-48.0-51.9-MT5 610 | 366 | 156 | 48.0-51.9 | MT5 | M5*15 | T20 | 15594
501334 | SDS07-52.0-55.9-MT5 638 | 394 | 156 | 52.0-55.9 | MT5 | M5*15 | T20 | 16469
RBH 501336| SDS07-56.0-59.9-MT5 666 | 422 | 156 | 56.0-59.9 | MT5 | M5*15 | T20 | 17344
10 5% 501338] SDS07-60.0-65.0-MT5 702 | 458 | 156 | 60.0-65.0 | Mt5 | M5%15 | T20 | 18250
/Z.ééj—'ﬁ R A NR R o N . N B Tips: Using of spade Drill
_— — FHREGRESOFRBRT S, W&Fﬁ?iﬂl&&é&%ﬁﬁ?ﬁ&%i, Marts. BEHEF. 1 .spade Drill. an upgraded replacement product of traditional twist Drill, can be applied to CNC and a variety of
%59_ = #%ﬁﬂﬁﬁﬁﬁﬁﬁﬁ%ﬂ%ﬁ%ﬂﬁﬂﬁﬁ, FREMTITHLRTEN. TEEHK. conventional equipment. such as vertical Drill. radial Drill etc
~ =, M EBHELEFEEASERIR. EFRNERABERASIE. MIKRERIK, MMz, 2.The material of spade Drill inserts include carbide and HSS, which are mounted on different holder and can not be interchanged
— BRA, RBERBREETIAHET]. 3.Recmmandation of HSS inserts for vertical Drilland radial dr-. carbide inserts are likely to cause jump edge
7] W, RAFENFERLEKIL, EERBERASESARNSINE, EHERKMIERTIHN  duetolowspeed. poor rigidity and large gap

ERES, BEMEFTFHE.
A RATIRYAGBERT, HROKBYANERE.

N HHIRRBERLCE, RINRHTRN, FUEEITRIL. KEHLESREUAE.

HocE AR (UE) , TIRERALRE BHEENEIERTS.

£ ERANREABE, REBX, HENGELT, FHETU—TER, FTHEEERHES.

4.All spade dr-holders have center water hole with reconmendation of higtrpressure and high-flow coolant.which
w111 greatly e Xtend insert life and accelerate chip evacuation
5.All inserts and designed for chip breaker and the out of tho filing are small debris

6.spade dr--inserts with self-centering. double synmetric uniform stress are suitable for deep hole Drilling. The length to diameter

ratio within 5*D.we suggest preferred shallow hole dr/ll(u Drill) for saving tool costMore than 5*D we recommend spade Drill
7.under enough coolant pressure and flow.and smooth chip evacuation, spade Drill can be used for one shot Drilling

Order ﬂ':'q Model L L1]|L2 D D1 ﬂ?ﬁ screw ﬁ*Wmnch Price
502100 SDS03-09.5-11 0-P20 106 | 36 | 48 | 9.5-11.0 | 20 M2*5 | T6 [5375
502102 SDS03-11.1-12.9-P20 112 | 42 [ 48 [ 11.1-12.9 | 20 M2*5 | T6 [5375
502104 SDS03-13.0-15.0-P20 118 | 48 [ 48 | 13.0-15.0 | 20 | M2.5"6 | T8 [5375
502106 SDS03-15.1-17.5-P20 125 | 55 | 48 | 15.1-17.5 | 20 | M2.5"6 | T8 [ 5563
502108 SDS03-17.6-19.5-P25 140 | 61 [ 56 | 17.6-19.5 | 25 M3*8 [ T10 [ 5781
502110 SDS03-19.6-21.5-P25 146 | 67 | 56 | 19.6-21.5 | 25 M3*8 | T10 | 5781
502112] SDS03-21.6-24 4-P25 155 | 76 | 56 | 21.6-24.4 | 25 M3*8 | T10 | 5781
502114] SDS03-24.5-26.5-P32 170 | 82 | 60 | 24.5-26.5 | 32 | M3.5*10 | T15 | 5969
502116] SDS03-26.6-28.5-P32 176 | 88 | 60 | 26.6-28.5 | 32 | M3.5*10 | T15 | 5969
502118 SDS03-28.6-30.5-P32 182 | 94 | 60 | 28.6-30.5 | 32 | M3.5*10 | T15 [ 6313
502120] SDS03-30.6-32.5-P32 188 | 100 | 60 | 30.6-32.5 | 32 | M3.5*10 | T15 [ 6313
502122 SDS03-32.6-34.9-P32 195 | 107 | 60 | 32.6-34.9 | 32 | M3.5*10 | T15 | 6313
502124 SDS03-35.0-37.9-P32 206 | 116 | 60 | 35.0-37.9 | 32 | M3.5*10 | T15 | 6656
502126 SDS03-38.0-40.9-P32 215 | 125 | 60 | 38.0-40.9 | 32 | M3.5*10 | T15 | 6656
502128 SDS03-41.0-43.9-P40 232|134 | 65 | 41.0-43.9 | 40 | M3.5*10 | T15 | 7094
502130 SDS03-44.0-47.9-P40 244|146 | 65 | 44.0-47.9 | 40 | M3.5*10 | T15 | 7563
502132 SDS03-48.0-51.9-P40 256 | 158 | 65 | 48.0-51.9 | 40 | M5*15 |T20 | 8125 'H&J‘E
502134 SDS03-52.0-55.9-P40 268 [ 170 | 65 | 52.0-55.9 | 40 | M5*15 |T20 | 8719
502136 SDS03-56.0-59.9-P40 280 | 182 | 65 | 56.0-59.9 | 40 | M5*15 | T20 | 9344 £h }'L
502138 SDS03 60.0-65.0-P40 296 | 198 | 65 | 60.0-65.0 | 40 | M5*15 | T20 | 9969
5D Il [E #& 4745 48 5D Steel Side Fixing Toolholder
‘b Di Eﬂ — ]m
I C
Order A S Model L | L1]|L2 D D1 [$2% screw fiFe | Price
502200 SDS05-09.5-11 0-P20 128 | 58 | 48 | 9.5-11.0 | 20 M2*5 | T6 |6156
502202 SDS05-11.1-12.9-P20 138 | 68 | 48 | 11.1-12.9 | 20 M2*5 | T6 |6156
502204 SDS05-13.0-15.0-P20 148 | 78 | 48 | 13.0-15.0 | 20 | mM2.5"6 | T8 [6156 I
502206 SDS05-15.1-17.5-P20 160 | 90 | 48 [ 15.1-17.5 | 20 | M2.5*6 | T8 [6406 3
502208 SDS05-17.6-19.5-P25 179 [ 100] 56 | 17.6-19.5 | 25 M3*8 | T10 [6625 &h 3L
502210 SDS05-19.6-21.5-P25 189 | 110 | 56 | 19.6-21.5 | 25 M3*8 | T10 [6625 . I
502212 SDS05-21.6-24 4-P25 204 [ 125 56 | 21.6-24.4 | 25 M3*8 | T10 [6625 %}"‘ %IJJ_]] Hﬂ*g -
502214 SDS05-24.5-26.5-P32 223 ] 135 60 | 24.5-26.5 | 32 | M3.5*10 | T15 |6875 —
502216 SDS05-26.6-28.5-P32 233|145 60 | 26.6-28.5 | 32 | M3.5*10 | T15 |6875 BRASTIEHMB Carbide Insert s\.; Eil
502218 SDS05-28.6-30.5-P32 243 155| 60 | 28.6-30.5 | 32 | M3.5*10 | T15 |7281 £k sl
soz22]_spotsnesesvss | so0| tos o0 [s002s | 2o (Moo [1os (o1 | [TECEASSH pomomasom poomenomuoent o femon)
502222 SDS05-32.6-34.9-P32 266 | 178 | 60 | 32.6-34.9 | 32 | M3.5"10 | T15 |7281 2000.G12-A [20.50.G12-A [21.00-G12A |21.50-G12:A |2200-G12-A [22.50-G12A | 23.0-G12:A_|2350-G12:A [24.00.G12-A VMD
502224 SDS05-35.0-37.9-P32 282 | 192 | 60 | 35.0-37.9 | 32 | M3.5*10 | T15 |7656 2450-G12-A [25.00-G12-A |25.50-G12-A [26.00-G12-A |26.50-G12-A [27.00-G12-A | 27.5-G12-A |28.00-G12-A |28.50-G12-A K&k sk
502226 SDS05-38.0-40.9-P32 298 | 208 | 60 | 38.0-40.9 | 32 | M3.5*10 | T15 |7656 29.00-G12-A |29.50-G12-A_|30.00-G12-A |30.50-G12-A |31.00-G12-A |31.60-G12-A | 32.0-G12-A_|32.50-G12-A |33.00-G12-A
502228 SDS05-41.0-43.9-P40 320 | 222 | 65 | 41.0-43.9 | 40 | M3.5*10 | T15 [8156 33.50-G12-A |34.00-G12-A |4.50-G12:A |35.00-G12-A gkl
502230 SDS05-44.0-47.9-P40 332 | 242 | 65 | 44.0-47.9 | 40 | M3.5*10 | T15 |8688
502232 SDS05-48.0-51.9-P40 352 | 262 | 65 | 48.0-51.9 | 40 | M5*15 | T20 |9344 EIRMTIE A& HSSInsert =00
502234 SDS05-52.0-55.9-P40 372 | 282 | 65 52.0-55.9 40 M5*15 T20 |10031 9.00-M42-A | 9.50-M42-A | 10.00-M42-A | 10.50-M42-A | 11.50-M42-A | 11.50-M42-A | 12.00-M42-A | 12.50-M42-A | 13.00-M42-A %Ey_
502236 SDS05-56.0-59.9-P40 392 | 302 | 65 | 56.0-59.9 | 40 M5*15 | T20 |10750 13.50-M42-A | 14.00-M42-A [ 14.50-M42-A | 15.00-M42-A [ 15.50-M42-A | 16.00-M42-A | 16.50-M42-A [ 17.00-M42-A [ 17.50-M42-A >
502238 SDS05 60.0-65.0-P40 426 13251 65 1 600650 | 20 | M5°15 | 120 |11469 18.00-M42-A | 18.50-MA2-A | 18.00-M42-A | 19.50-M42-A | 20,00-42-A [20.50-M42-A | 21.00-M42-A | 21.50-M42-A | 22.00-M42-A Faror |
22.50-M42-A | 22.50-M42-A | 23.50-M42-A | 24.00-M42-A | 24.50-M42-A | 25.00-M42-A | 25.50-M42-A | 26.00-M42-A | 26.50-M42-A /Hﬂ Etu
33 H ivi 27.00-M42-A | 27.00-M42-A | 28.00-M42-A | 28.50-M42-A | 29.00-M42-A |29.50-M42-A | 30.00-M42-A | 30.50-M42-A | 31.00-M42-A
7D wl\IJ @ *ﬁ%f- %5 *Jrll'*g 7D St66| Slde FIXIng Toolholder 31.50-M42-A | 31.50-M42-A | 32.50-M42-A | 33.00-M42-A | 33.50-M42-A | 34.00-M42-A | 34.50-M42-A | 35.00-M42-A | 35.50-M42-A EE 14;
36.00-M42-A | 36.00-M42-A | 37.00-M42-A | 37.50-M42-A | 38.00-M42-A | 38.50-M42-A | 39.00-M42-A | 39.50-M42-A | 40.00-M42-A
\ . 1 40.50-M42-A | 40.50-M42-A | 41.50-M42-A | 42.00-M42-A | 42.50-M42-A |43.00-M42-A | 43.50-M42-A | 44.00-M42-A | 44.50-M42-A LBK
‘b DI [m 45.00-M42-A | 45.00-M42-A | 46.00-M42-A | 46.50-M42-A | 47.00-M42-A |47.50-M42-A | 48.00-M42-A | 48.50-M42-A | 49.00-M42-A BST
a\.—_.__z —M “T( 49,50-M42-A | 49.50-M42-A | 50.50-M42-A| 51.00-M42-A | 51.50-M42-A | 52.00-MA42-A | 52.50-M42-A | 53.00-M42-A | 53.50-Ma2-A w7
‘ ! 54.00-M42-A | 54.00-M42-A | 55.00-M42-A | 55.50-M42-A | 56.00-M42-A |56.50-M42-A | 57.00-M42-A | 57.50-M42-A | 58.00-M42-A j_J *ﬁ
58.50-M42-A | 58.50-M42-A | 59.50-M42-A | 60.00-M42-A | 60.50-M42-A |61.00-M42-A | 62.50-M42-A | 63.00-M42-A | 63.50-M42-A
64.00-M42-A | 64.00-M42-A | 65.00-M42-A _—
Order S Model L | L1|L2 D D1 [$2% screw |fiFen | Price HBOR
502300 SDS07-09.5-11 0-P20 150 | 80 | 48 | 9.5-11.0 | 20 M2*5 T6 |7688 TIR @ BMM  Inserts naming rules TIR®E  Insert Material CBl
502302 SDS07-11.1-12.9-P20 163 | 93 [ 48 | 11.1-12.9 | 20 M2*5 | T6 |7688 1100 — G12 — A : T CBH
502304 SDS07-13.0-15.0-P20 178 | 108 ] 48 | 13.0-15.0 | 20 | mM2.5*6 | T8 [7688 -1 - - No Coating RER bk
502306 SDS07-15.1-17.5-P20 195 | 125| 48 | 15.1-17.5 | 20 | M2.5'6 | T8 |7969 SERT T-TIN A ?ﬁé'i
502308 SDS07-17.6-19.5-P25 218 | 139 | 56 | 17.6-195 | 25 | M3'8 | T10 |8281 weariamensons| | TVRAAE || TIRBRR C-TIALN R AL R4
502310] SDS07-19.6-21.5-P25 232|153 56 | 19.6-21.5 | 25 M3*8 | T10 [8281 :% 00| | el | neeriGoatne A-TIALN ARBEHK NBJ
502312 SDS07-21.6-24 4-P25 252|173 56 | 21.6-24.4 | 25 M3*8 | T10 |8281
502314 SDS07-24.5-26.5-P32 276 | 188 | 60 | 24.5-26.5 | 32 | M3.5"10 | T15 |8594 TIEME  Insert Material NMBH
502316] SDS07-26.6-28.5-P32 290 | 202 | 60 | 26.6-28.5 | 32 | M3.5"10 | T15 |8594 MA-HSS Ma P a ﬂ,
502318 SDS07-28.6-30.5-P32 304 [ 216 | 60 | 28.6-30.5 | 32 M3.5:10 T15 |9094 M42-HSS M42 A EREEER Ex
5023200 SDS07-30.6-32.5-P32 318 [ 230 | 60 | 30.6-32.5 | 32 | M3.5*10 | T15 9094 S40-SKH40 BEReEEY —_—
502322 SDS07-32.6-34.9-P32 335|247 | 60 | 32.6-34.9 | 32 | M3.510 | T15 |9094 G12-G12XE BRES TWE
502324 SDS07-35.0-37.9-P32 358 | 268 | 60 | 35.0-37.9 | 32 | M3.5"10 | T15 9594 RBH
502326] SDS07-38.0-40.9-P32 379 | 289 60 | 38.0-40.9 | 32 | M3.5*10 | T15 |9594 - ~ sy Lk
502328 SDS07-41.043.9-P40 [ 408 [ 310] 65 [ 410439 | 40 [ masrio [Tis [rotes] o A @ERR Nomenclature of drill shank igz%
502330 SDS07-44.0-47.9-P40 436 | 338 | 65 | 44.0-47.9 40 M3.5*10 | T15 {10875 SD N s — 03 — 13.0-13.9 — XP N 20 —
502332 SDS07-48.0-51.9-P40 364 | 366 | 65 | 48.0-51.9 | 40 | M5'15 |T20 |11688 -1 -1 T — T I T &k 3L
502334 SDS07-52.0-55.9-P40 492|394 | 65 | 52.0-55.9 | 40 | M5*15 |T20 |12531 am TGS KB TREE R EEET _
502336 SDS07-56.0-59.9-P40 520 | 422 65 | 56.0-59.9 | 40 | M5*15 |T20 [13438 — RE=S 03, 05, | |3 13.0mm K] B R~ (mm) 7]
502338 SDS07 60.0-65.0-P40 556 | 458 | 65 | 60.0-65.0 | 40 | M5*15 |T20 |14344 SD |#% | [TTg=R 07 Bl | -13.9mm XP| BT 20, 25, 32




® SMESFLMT — s s Centering Drilling bit
M ZG I-Eﬁ%ffilclencf/ Dj?'ll:llllng AU %ljj J:/VM Dk %E 7’: VI?/lnDeBr:SgDriHinlggbitl

VMD/)\ 7] 3% - W VMDT] ¥ i K $ Sk K i@ 42 = 0 TR

SPAIT TE 1L IR 15 $h 2k
SP Type Centering Fast Drilling Bit

Order i) 5 A 7] 971 NH N% ﬂgiﬁ R F| price
506100 | 45-50 VNC-045050 VMC-045050 1125
WC..030204 | 2 M2.5x5
b 506102 | 50-55 VNC-050055 VMC-050055 T8 [1125 S R =
506104 | 55-60 VNC-055060 VMC-055060 WC..040204 | 2 M2.5x6 1125 Iz ITZdRE #iR #% MIME [BAHK
506106 | 60-65 VNC-060065 VMC-060065 T10 |1250 s D60 80 16 1hE105%
. . > N . . 506108 | 65-70 VNC-065070 VMC-065070T | WC..050308 | 2 M3.0x7 1250 = HETE @mEn— 200 30 409 | 15094
65 R IREL -SSP K L1=6xD Centering Fast Drill - SP Type 8{ERiRELN -SSP K/ L1=8xD Centering Fast Drill - SP Type 506110 7075 VNC-070075N | _VMGC-070075T 1250 TR 200 30 som
506112 | 75-80 VNC-075080N VMC-075080T 1563 HIZ VMDE L ABEO105 | 280 45 185w | 189
R B e T | B2 | RE [RO# B2H R B e TH | e | B R0 Bn AT R T T 51 WY TR = s 1TO105mARSS0m. #1H4ZCrMo, HB 220
= L1lL2|l LD | d RE2 = L1l{L2l L D] d RZ2 506116 | 85-90 VNC-085090 VMC-085090T | WC..06T308 | 2 M3.5x8 T15 [ 156 o
Order Model Inserts | Screw |Wrench |Drill Bit Price Order Model Inserts | Screw | Wrench| Drill Bit| Price 506118 | 90-95 VNC-090095! VMC-090095 156
505435 | ZDO6- 18.0-XP25-SPO5H06 | 112 | 56 | 198 [18.0 505460 | ZD08- 18.0-XP25-SPO5H06 | 149 | 56 | 235 | 18.0 506120 | 95-100 VNC-095100 VMC-095100 187 _ vex1000 VoS 100mimin ERM. BT SNATL S, K7L TAREEE, &E
505436 18.5-XP25-SP05H06 | 115 | 56 | 201(18.5 sPMG |\l 16 505461 18.5-XP25-SPO5H06 | 153 | 56 | 239 [18.5 SPMG | ool 16 5061221 100-1 VNC-100105 VMC-100105T | WC..050308 | S M3.0x7 110 | 1878 = nxbe ety VMDA % fi1 K Sk 4 7T A MR RO SR F I0 L9 . VMDA 3 ik 3k
505437 19.0-XP25-SPO5H06 | 118 | 56 | 204 [19.0 0502 505462 19.0-XP25-SPO5H06 | 157 | 56 | 243 19.0 0502 S s e e R - L ESSE
P " ~ o n kS 0 - IS - kS LHl: UHLER 0100H61.
505438 19.5-XP25-SP05H06 | 121 | 56 | 207 [19.5 505463 19.5-XP25-SPO5H06 | 161 | 56 | 247 [19.5 SocTos 115 NG 50N V15120 57 1000 S, BRENEOHE, WTRIEALL
505439 20.0-XP25-SPO6H06 | 124 | 56 | 210 20.0 505464 20.0-XP25-SPO6H06 | 165 | 56 | 251 |20.0 5067301 120- VNG-120125 VMG-120725T | WC..06T308 | 3 M3.5x8 187 8= Sraxios =318revimin d
505440 20.5-XP25-SP06H06 | 127 | 56 | 213|20.5 505465 20.5-XP25-SPO6H06 | 169 | 56 | 255 (20.5 506132 | 125- VNC-125130 VMC-125130 187 -
505441 21.0-XP25-SP06H06 | 130 | 56 | 216 |21.0 oLD. 505466 21.0-XP25-SP06H06 | 173 | 56 | 259 |21.0 bl 506134 | 130-135 VNC-130135 VMC-130135 T15 [ 187 e E{ggj}i%iﬁg%?ﬁggigmggh
505442 21.5-XP25-SP06H06 | 133 | 56 |219|21.5| 25 505467 21.5-XP25-SPO6H06 | 177 | 56 | 263 |21.5| 25 506136 | 135-140 VNC-135140 VMC-135140 0 HBRE =
505443 22.0-XP25-SPO6H06 | 136 | 56 | 222 |22.0 . 0620TIN 505468 22.0-XP25-SP06H06 | 181 | 56 | 267 |22.0 chue 0620TIN 506136 [NM40E(50M|  VNC-140150 VMC-140150 00 V=it .
505444 22.5-XP25-SPO6HO6 | 139 | 56 | 225 |22.5 M2.2x5 | T6 505469 22.5-XP25-SPO6HO6 | 185 | 56 | 271|22.5 M2.2x5 | T6 506140 | 150-160 | VNC-150160 YME-150160T | ¢ 080408 | 3 M4.0x10 00 Vi=Frxs Frig it A %, #sk TR A IXAE0-5mm m}:iﬁ
i o 0602 0602 506142 | 160-170 VNC-160170 VMC-160170 - 125 Seot B
505445 23.0-XP25-SPO6H06 | 142 | 56 | 228 |23.0 505470 23.0-XP25-SPO6H06 | 189 | 56 | 175 (23.0 506124 | 170-180 VNG-170180 VMO-170180 3195 = BEsREN. MITFALNEE. REsE
ooue| | sz |4z 5 |51 s soot| msemsronms |51 5 | 75| ns s
505 .0-XP25- 56 | 23 . 505 .0-XP25- 97 | 5 3 |24. N 0.15mmirev.
505448 24.5-XP25-SP06H06 | 151 | 56 | 237 |24.5 505473 24.5-XP25-SP06H06 | 201 | 56 | 287 |24.5 VMDj( %IE’}L =5 Vi=0.15X318=47.7mm/min $£%ETH$*§¥M SETIA, KT
505449 25.0-XP25-SP06H06 | 154 | 56 | 240 | 25.0 505474 25.0-XP25-SPO6H06 | 205 | 56 | 291 [25.0 _ — : : .
505450 | ZD06- 25.5-XP32-SPO7H08 | 157 | 60 | 252 [25.5 505475 | ZD08- 25.5-XP32-SPO7H08 | 200 | 60 | 304 |25.5 ’ : _ GRS ETAE, ARENERNTLS, 7
505451 26.0-XP32-SPO7H08 | 160 | 60 | 255 |26.0 505476 26.0-XP32-SPO7H08 | 213 | 60 | 308 |26.0 / W a8 AT e =7,
505452 26.5-XP32-SP07H08 | 163 | 60 | 258 |26.5 505477 26.5-XP32-SP07H08 | 217 | 60 | 312|265 s » 10 re=lx60  Te(s)mT #Eiﬁ]#ﬂ&ﬁ@k.,. RAERGRESHAK
,|‘ \5'5 505453 27.0-XP32-SPO7HO08 | 166 | 60 | 261 |27.0 505478 27.0-XP32-SPO7HO08 | 221 | 60 | 316 |27.0 D od v vi H=ALBM T RE MHRKES ll‘;% ‘*
R 5 i Py
505454 27.5-XP32-SPO7H08 | 169 | 60 | 264 |27.5 SPMG PLD- 505479 27.5-XP32-SPO7H08 | 225 | 60 | 320 |27.5 SPMG PLD- s ni . Eas 3 M=K
Sl BUESKEE 010008, LMIRE 71, T SEBRBRIIERE, MEKXE
%E ?L 505455 28.0-XP32-SPO7HO8 | 172 | 60 | 267 |28.0 2 | o77a. |MZ2OC| T8\ oosnn 505480 28.0-XP32-SPO7H08 | 229 | 60 | 324 |28.0| %2 | o713 |MZOE| TE oo L R g Rize * %E ?L
505456 28.5-XP32-SPO7H08 | 175 | 60 | 270 |28.5 505481 28.5-XP32-SPO7H08 | 233 | 60 | 328 |28.5
100X60
505457 29.0-XP32-SPO7H08 | 178 | 60 | 273 (29.0 505482 29.0-XP32-SPO7H08 | 237 | 60 | 332 |29.0 Order D15 D2 ERJIE 8% i3 Price Tos— = =126(s)
505458 29.5-XP32-SPO7H08 | 181 | 60 | 276 (29.5 505483 29.5-XP32-SPO7H08 | 241 | 60 | 336 |29.5 VMD- PLS-1035 Y »
505459 30.0-XP32-SPO7H08 | 184 | 60 | 279 |30.0 505484 30.0-XP32-SPO7H08 | 245 | 60 | 340 |30.0 VMD- 30 |__TiN-H Vi WCMX030208 | ) ey
2| VMD- v WCNIX040208
D- LS gee = WCMX050308| 13,047 i ;
VMD- TiN-H [V NCMX05 1 Machining ¢ 105m depth 550mm,material 42Crmo,HB220
2 & D 45 g In the oil,coal and other machine industries,as oversize hole machining becomes more and more
4 [ VMD- PLS-1645 VI WCMX06T308| M3.5x8 common,the application of VMD indexable Drill can greatly improve the machining efficiency.
L so| TIN-H = The bright spot ofVMD indexable Drill
Vi Vi 1 Using the structure of center guide Drill with better centering effect to make sure hole site a good
VMD-100 5 V WCMX050308 | M3.0x7 straightness
IE = s J— - . 9
J y 1] > I N > BN 105 58 | PLS-2045 - 2 Internal and External cutter edge is applied to the structure of replaceable clamp tool.In practical
S o VMD-110 TiN-H v ! ¢ 9
[ 506228 [ VI 2 Y using,the most vulnerable is external edge clamp.Replacing clamp can avoid the Drill scrapped to save
. T . D 5 d Vi 104 v
WC Type Centering Fast Drilling Bit > N— S - 70 u WoMNKOTI08 | W5 the tool cost.
4 | VMD- VM 3 Adjusting external clamp,the dimension of Drill machining can vary within 0-5 mm
‘ L1 L2 s ,32 ¥ E: ¥ 4 Cutter head and shank are modular structure.Only change different length shank during processing the
N ‘ (506240 [ VI D PLS-2556 V different depth of the hole R
1t % L 42 [ VI TiN-H v 5 Drill with center water hole can cool insert better,extend insert life and accelerate chip evacuation. ']%]E
= 24TV Vi >
N 4 80 116 . N 6 Using indexable carbide insert cutting with high speed and feed,surface finish has greatly improved =
i Vi 16 [V WCMX080408 | H4.0x10 N
48[ VI 65-170 v o ) - 7 In the process,security is greatly improved as chip is breaker not slender twining of traditional twist
—_— Vi 70-175 v Drill
. oy _ ) ) _ . ) 2 VMD-175180 | 175760 v " 7
% %E 5{ H& %59— WCﬂ)ﬁL L1=5xD Centerlng Fast Drill - WC Type 6 5'{'\" 'l;% %E;— WCJ]):[L L1=6.5xD Centermg Fast Drill - WC Type MDE; *:F 8 In the process,automatic continuous feed,and don't need tool back offto chip,and efficiency is greatly %ﬁ%lﬁ
£ / improved.
Eore BE TR | 8B4 | |/F |[ELH BN Eoiz] B TR | B4 | |/F Bl 2N
Order Model L1jL2| L | b|d Inserts | Screw |Wrench|Drill Bit Price Order Model L1jL2| LD |d Inserts | Screw | Wrench| Drill Bit| Price
505485 | ZD05- 25.0-XP32-WCO3HO06 | 150 | 60 | 240 | 25.0 WCMX03.. | M2.5x5 | 18 505521 | ZD6.5-25.0-XP32-WCO03H06 | 185 | 60 | 275 | 25.0 WCMXO03.. | M2.56x5 | 18
505486 | ZD05- 26.0-XP32-WC04H06 | 150 | 60 | 240 |26.0 505522 | ZD6.5-26.0-XP32-WCO04H06 | 185 | 60 | 275 |26.0
VMD 505487 27.0-XP32-WCO04H06 | 150 | 60 | 240 |27.0 505523 27.0-XP32-WC04H06 | 185 | 60 | 275 |27.0 o
- 505488 28.0-XP32-WC04H06 | 150 | 60 | 240 |28.0 wenxoa. | w2 s | Ts PLD- 505524 28.0-XP32-WC04H06 | 185 | 60 | 275 |28.0 wemxoa. | w2 sxs | Ts PLD- um w %E ,‘z_r:t §IJ
j(%EJ— 505489 29.0-XP32-WC04H06 | 150 | 60 | 240 {29.0 0620TIN 505525 29.0-XP32-WC04H06 | 185 | 60 | 275(29.0 7 0620TIN f I i
505490 30.0-XP32-WC04H06 | 150 | 60 | 240 [30.0 505526 30.0-XP32-WC04H06 | 185 | 60 | 275 |30.0 1 T .
fh o 505491 31.0-XP32-WC04H06 | 175 | 60 | 265 [31.0 505527 31.0-XP32-WC04H06 | 218 | 60 | 308 |31.0 =
505492 | ZDO5- 32.0-XP32-WCO05H08 | 175 | 60 | 265 [32.0 32 505528 | ZD6.5-32.0-XP32-WCO5H08 | 218 | 60 | 308 |32.0| 32 =
- 505493 33.0-XP32-WC05H08 | 175 | 60 | 265 |33.0 505529 33.0-XP32-WC05H08 | 218 | 60 | 308 |33.0 . ot
=il 505494 34.0-XP32-WC05H08 | 175 | 60 | 265 |34.0 505530 34.0-XP32-WC05H08 | 218 | 60 | 308 |34.0 : -
&b 3L 505495 35.0-XP32-WC05H08 | 175 | 60 | 265 [35.0 olD. 505531 35.0-XP32-WCO05H08 | 218 | 60 | 308 |35.0 PLD- Order D D1 D2 L L1 M ERERE | Price
= 505496 36.0-XP32-WC05H08 | 200 | 60 | 290 |36.0 WCMXO05.. | M3.0x7 | T10 i 505532 36.0-XP32-WCO05H08 | 250 | 60 | 340 |36.0 WCMXO05.. | M3.0x7 | T10 i 506300 DX2-3016100 30 16 32 100 75 M10X1 2188
505497 37.0-XP32-WCO5H08 | 200 | 60 | 290 [37.0 0825TIN 505533 37.0-XP32-WCO05H08 | 250 | 60 | 340 |37.0 0825TIN 506302 | DX2-3013150 30 16 32 150 | 75 M10X1 2188
SH B 505498 38.0-XP32-WC05H08 | 200 | 60 | 290 |38.0 505534 38.0-XP32-WCO05H08 | 250 | 60 | 340 |38.0 506304 DX2-3016200 30 16 32 200 75 M10X1 545-055 2500
EE,{&F 505499 39.0-XP32-WC05H08 | 200 | 60 | 290 |39.0 505535 39.0-XP32-WC05H08 | 250 | 60 | 340 [39.0 506306 DX2-3016250 30 16 32 250 75 M10X1 2800
505520 40.0-XP32-WC05H08 | 200 | 60 | 290 | 40.0 505536 40.0-XP32-WC05H08 | 250 | 60 | 340 [40.0 506308 DX2-8016300) 30 16 32 300 1 75 MI10X1 3100
506310 DX2-3016400 30 16 32 400 75 M10X1 3400
506312 DX2-4525100 45 25 40 100 75 M10X1 2500
o . N
LBK =z 5k & S — L1=8xD Centering Fast Drill - WC Type 506314]  DX2-4525150 | 45 | 25 a0 | 150 [ 75 M10X1 2500
BST 81 r;%k_%ﬁ* WCJ] ):'L 9 yp 506316 DX2-4525200 45 25 40 200 75 M10X1 260-380 2813
0 s 506318 DX2-4525250 45 25 40 250 75 M10X1 - 3125
%ﬁ ;L YREg EiUR=] Lzl Lol 4 k5 2 | IRFE [ELE BH 506320 DX2-4525300 45 25 40 300 75 M10X1 3438
jj %ﬁ Order Model Inserts | Screw |Wrench |Drill Bit Price 506322 DX2-4525400 45 25 40 400 75 M10X1 3750
505557 | ZD0B- 25.0-XP32-WC03H06 | 220 | 60 | 310 | 25.0 WCMX03.. [ M2.6x5| T8 506324 DX2-5030100 = 30 40 100 | 75 mi2x1 3125
506326 DX2-5030150 50 30 40 150 75 M12X1 3125 | EEEES SRS
505538 | ZD08- 26.0-XP32-WC04H06 | 220 | 60 | 310 |26.0 506328 DX2-5030200 50 30 20 200 | 75 MT2X1 285.095 3438 L BEEERRNILEMEE ZE HBOR
HBOR 505539 27.0-XP32-WC04H06 | 220 | 60 | 310 |27.0 506330 DX2-5030250 50 30 40 250 75 M12X1 3750 1.Coolant oil fluid supoly \sied(hrough an oil pressure head between the outside of the Drill tube and the hole wall
505540 28.0-XP32-WC04H06 | 220 | 60 | 310 |28.0 PLD- 506332 DX2-5030300 50 30 40 300 75 M12X1 3750 .
5 2. Bz 3
CBI 505541 29.0-XP32-WC04H06 | 220 | 60 | 310 |29.0 WOMX04. | M25x6 | T8 | orotin 506334 DX2-5030400 50 30 40 400 75 M12X1 3950 LHRER2ZEAEHEE CBI
CBH EREEEE S EeaGe 20l RET BBl BT 506336 DX2-5832100 58 32 %0 100 75 M12X1 3750 2Asea\be\ween\heworkp\eceand!heDHH bush is necessary. CBH
uz,%,u; 505543 31.0-XP32-WC04H06 | 260 | 60 | 350 |31.0 506338 DX2-5832150 58 32 40 150 75 M12X1 3750 3RS (WEEBTA) MEEAEBEHMEE ”zi-‘#
GRE 506340 DX2-5832200 58 32 40 200 75 M12X1 4063
gﬁ ijt 505544 | ZD08- 32.0-XP32-WC05H08 | 260 | 60 | 350 |32.0| 32 ‘30?:’342 DX2-5832250 ;8 32 %0 250 7; M12%1 2100-2110 “7)5 3.Double the coolant pressure and quantity are required than with the Ejector system g Qf—t
e, oy 5063 : 375
= 505645 33.0-XP32-WC05H08 | 260 | 60 ) 350 | 33.0 506344 DX2-5832300 58 32 40 300 75 M12X1 4600 4 EAKYBHEMT, WRGEH. ERAMAARSNHES
505546 34.0-XP32-WC05H08 | 260 | 60 | 350 |34.0 5346 2900 1 = ’ - .
506346 DX2-5832400 58 32 40 400 75 M12X1 4900
N B 505547 35.0-XP32-WCO05H08 | 260 | 60 | 350 |35.0 oLD. 506348 DX2-7040100 ‘70 ;30 50 100 8‘0 MA2X1 5000 4 .Preferably used for materials with long chip formation,such as stainless steel,low carbon steel and materials with an N BJ
J 505548 36.0-XP32-WC05H08 | 300 | 60 | 390 |36.0 WCMXO05... | M3.0x7 | T10 N 506350 DX2-7040150 70 20 50 150 80 MA12X1 5000 uneven structure
NBH 505549 37.0-XP32-WC05H08 | 300 | 60 | 390 |37.0 0825TIN 506352  DX2-7040200 70 40 50 200 | 80 M12X1 B115-2135 | 8625 5 AMTBRIAMBAILL, BHEREIAMS NBH
505550 38.0-XP32-WCO05H08 | 300 | 60 | 390 | 38.0 506554 DX2:7040250 70 40 50 250 80 Mi2X1 5625 5.Single thbe system is more advantageous for extremely long workpieces and for workpieces with large holes 4{* ?L
27 505551 39.0-XP32-WC05H08 | 300 | 60 | 390 |39.0 506356 DX2-7040300 70 40 50 300 80 M12X1 6250 ¢ ° : : ° ! ¢ L
E i 505552 40.0-XP32-WC05H08 | 300 | 60 | 390 |40.0 506358 DX2-7040400 70 40 50 400 80 M12X1 7500 Ei
- - 506360 DX2-8050100 80 50 50 100 80 M12X1 6250
506362 DX2-8050150 80 50 50 150 80 M12X1 6250
506364 DX2-8050200 80 50 50 200 80 M12X1 6875 e e TWE
TWE 506366 | DX2-8050250 80 50 50 | 250 | 80 Mi2x1 | @140-8195 7500 m  I# e gy YEIRAD %ﬁ‘if‘ BHEH  UEE
RBH 506368 | DX2-8050300 80 50 50 300 | 80 M12x1 8125 Chuck  Workpiece  Steady rest Seal mietfor piltbe AR BRE RBH
cutting fluid suppor oolant seal  Chip box
48 506370 DX2-8050400 80 50 50 400 80 M12X1 9375 ) P 9f #8 %m
= \ | = ’ /
Rix Fibh %5 \ \/ =
%Eg‘ Order 7 = D L Price %E%L
L <
506401 PLD-0620 TIN 6 30 600
= ‘ 506403 PLD-0825TIN 8 35 600 7S
7] 506400 PLD-V1035 TIN-H 0 35 769 w7l
506402] PLD-V1238 TIN-H 2 38 988
Db 506404| PLD-V1645 TIN-H 6 45 1125
506406 PLD-2045TIN-H 20 1625 N J ]
1 506408]  PLD-2556 TIN-H 25 56 2100 ik HE EFRR R BE BENR LR
506410] PLD-3068 TIN-H 30 68 2800 brillhead Drillbushing ~ Pressure head  Drill tube Drill slide




SEES RN NS

High Efficiency Drilling

EHWAHARRAR

New self-locking clamping method

AR IE B R 7] Sk

No set-up time for changing cutting head

R AN K FL R T] 4

Toolholders with coolant

B =¥,
sylindrical face
&

. "W
\

T MHLRBUT JIE, AT 75 {8
TREEMAEHL PR EE 7]k

hoHEh

QD...S #rifES K

Standard Cutting Head

High Efficiency Hole Processing

of Drill Point and Drill Pipe

| @ N o
\ endace The cutting head can be changer in
—, the machine tool, WAL AR, T SLHEIRAREER S, T1k TSRS RS DALLS TTMERAD R~ TTM4RAD R~t VARCS TTNa4RAG R~+ WARLS
Eﬂ‘?aﬁ NO need to take the toolholder out & 4 P Ordernumber| Dimensions(mm) |  tool holders Ordernumber| Dimensions(mm) | tool holders Ordernumber| Dimensions(mm) | tool holders Ordernumber| Dimensions(mm) | tool holders
v J _ EHEK VIBESFHE.
from the spindle ) ) ) D t o D t o D t e D t e
Coolant makes cutting head life much longer and also high il il il il
pressure cooling liquid pushes chips to evacuate quickly QD080S | 8.0 QD110S 11.0 QD140S | 14.0 QD170S 17.0
QD081S | 8.1 QD111S 1.1 QD141S | 14.1 QD171S | 17.1
TIk. TIHEEHERSRIEROE 5E SRR b T i =TIk AR E QD082S | 8.2 QD112s | 11.2 QD142S | 14.2 QD172s | 17.2
i indri i Three Different Cutting Head Avaiabl
LS g e e
TR O3 TS A T) KRN JS R AT [l 45 T B 49t AT 3 5 R 8] R R B0 RO, EIR, 0TIk qposss| 8.5 4 089D'12' api1ss 115 Of 119D'16' ap14ss 145 O 14%'16' ap17ss| 175 °° 17%‘20'
The cutting head can beseif-locked with toolholder while Standerd, flat and self-centering ' QD086S | 8.6 T QD116S  11.6 e QD146S 14.6 e QD176S 17.6 e
inserted due to its cutting heads are available ‘J"lé' QD087S | 8.7 QD117S  11.7 QD147S | 14.7 QD177S | 17.7
ke QD088S | 8.8 QD118S  11.8 QD148S  14.8 QD178S  17.8
3 T 7 2 A ) e — QD089S | 8.9 QD119s| 11.9 QD149S | 14.9 QD179S| 17.9
Axial Drill fore is transferred to toolholder by end faces W . QD090S | 9.0 QD120S | 12.0 QD150S | 15.0 QD180S | 18.0
WETIHEHEE RYIBESSHH . ‘ ‘ QD091S 9.1 QD121S 12.1 QD151S  15.1 QD181S  18.1
W RE A S EI AR Toolholder Flutes Polished Let Chips Evacate Easily QD092S 9.2 QD122s | 12.2 QD152S | 15.2 QD182S  18.2
Drill torque is transferred to toolholder by stop faces S 2 - QD093S| 9.3 QD123S| 12.3 QD153S8| 15.3 QD183S| 18.3
- QD094S | 9.4 QD090- QD124S  12.4 QD120- QD154S  15.4 QD150- QD184S  18.4 QD180-
i 3 . - apogss| 9.5 04 0991 api2ss| 125 | [0 12916 ap1sss| 155 | 07 199-20- ap1sss 185 05 189-25-
Y 1818 BR 55 Resharpening Service SRR EHEEY Interchangeability and Flexibility QD096S 9.6 ..D-.. QD1265 126 ..D-.. QD156S 156 ..D-.. QD186S| 186 ..D-..
%'E?L %L?]A QD097S| 9.7 QD127S| 12.7 QD157S| 15.7 QD187S| 18.7
RATISE B S, RI—TRA SRR Tk, AR TSR, : Cogss o8 a0128s 28 ap1s8s 18 aplses 188
HR P — R TR SRR A TS TR S B QDo%9s | 3. aD1298 | 12. ap1598 1 15. Qp188s| 18.
¢ s QD100S  10.0 QD130S  13.0 QD160S  16.0 QD190S  19.0
Supply resharpening cutting head service for customerto cut cast Different cutting diameter heads can be fixed QD101S| 10.1 QD131S| 13.1 QD161S | 16.1 QD191S 19.1
into one toolholder so as to reduce the % QD102S| 10.2 QD132S| 13.2 QD162S | 16.2 QD192S| 19.2
number of toolholder,and cutting heads and ©D QD103S | 10.3 QD133S | 13.3 QD163S | 16.3 QD193S | 19.3
QD100- QD130- QD160- QD190-
toolholders are interchangeable totally o - QD104S| 104, oot QD134s| 134 | o QD164S| 164 | S0 QD194S| 19.4 | 0D
s ns QD105S| 10.5 : 5 QD135S| 13.5 : b QD165S | 16.5 : b QD195S| 19.5 : b
%715 How To Attach Cutting Head QD106S | 10.6 T QD136S | 13.6 T QD166S | 16.6 T QD196S| 19.6 T
B #E 3Tk How To Attach Cutting Heads QD107S  10.7 QD1378  13.7 QD167S  16.7 QD197S  19.7
5 QD108S  10.8 QD138S 13.8 QD168S  16.8 QD198S  19.8
4 o
1 %ggﬁ%@jﬁﬁtﬁﬁ RS 3 STIKHATIE T 4 5 BRI S R QD109S | 10.9 QD139S | 13.9 QD169S | 16.9 QD199S  19.9
_— Sk, BUER R TIk BRI L G EF BRI
y Remove dust using air ut a cutting head into — \, N N N N 1y >
:]\;%]‘E ::\xDr‘\tHho\fderubnarbor 4 blast ¢ Erl‘“holz‘eﬁcwi‘m‘/es S‘em‘ovedustusmga\r QD...S *ITIE%EJ: QD...F SFFE_,%E* QD...C E’U%Ilj?j: 'l;&]ﬁ
N or cutting,fix arbor on . Y as . . . . N
sk the maching o Sean ¢ framany cangory / Standard Cutting Head Flat Cutting Head Centering Cutting Head 3k
$ 54 5 s 6 EICESONGES T SRR TR, 8 - 5 #h
EREERRT Make sure the wrench L ™ e SR ‘ 7 5
/’i it Setthe wrench properly L‘I‘;V‘fg‘r’"igwsn’ﬁad s Ak = 7 /':TE i
%E N ;urn:he w‘reu(‘;h‘\‘nat‘:\m:kv\‘use ‘ Complete . 2 . %‘59_
=~ — 40 5 FH White paseing srf-tocked face. < /K N
VMD t ‘ ‘ ' ‘ ‘ VMD
K4k &ERETISE How To Detach Cutting Heads R Hhk
e —sxzam T TMeR RS 74 MR RS 7% UMEE RS 74 iTMsR R kTS
Fﬁsjféﬁfl':—‘t % F HOARFEAN KA BFEET) kK 3 (iﬁl%g Ordernumber| Dimensions(mm) tool holders Ordernumber| Dimensions(mm) tool holders Ordernumber| Dimensions(mm) tool holders Ordernumber| Dimensions(mm) tool holders
&% S X T (BEFE PUEI) - - ~ -~ —_
HIRE BT HHRF PUET) D t <& D t <& D t <& D t <& 20
romauting Setthe Fit the wrench Turn the Onee ihe self st ueegioven QD200S | 20.0 QD230S | 23.0 QDOBOF| 80 40  QDOSO- QD080C| 8.0 5.4  QDOSO- Sk
head using ) e to cuttinghead wrench Carefully turn to protect QD201S | 20.1 QD231S | 23.1 QDO85F 85 | 4.0 | 089-12-. QD085C 8.5 | 54 | 089-12-. —
air blast 4 roperly (] slo ' clockwise e plade Yo o QD202S  20.2 QD232 23.2 QDO90OF| 9.0 4.2 = QD090- QD090C| 9.0 = 58  QD090- JH B
QD203S  20.3 aD200- QD233S  23.3 aD230- QDO095F 9.5 | 4.2 | 099-12-.. QD095C 9.5 = 5.8 | 099-12-. fic &
SESLEHBFIMTATE  Indication of Cutting Head Wear QD204S 204 | . o oo QD234S 234 | . o o QD100F | 10.0 4.4 QD100- QD100C| 10.0 6.2 QD100- Saa—
LBK QD205S | 20.5 : 5 QD235S| 23.5 : 5 QD105F 105 4.4 | 109-16-.. QD105C 10.5 | 6.2 | 109-16-.. LBK
QD206S  20.6 ) QD236S  23.6 : QD110F | 11.0 4.5 QD110- QD110C| 11.0 6.6 QD110- BST
BMST 7 0.2-0.3mm Pi) px1.25 @) (1)#i%hsk  New cutting head QD207S | 20.7 QD237S| 23.7 QD115F | 11.5 | 4.5 | 119-16-.. QD115C| 11.5 | 6.6 | 119-16-.. o
=7 (2)BE 1R 46 SLEE FT 46 L K 25% QD208S  20.8 QD238S| 23.8 QD120F  12.0 4.8 QD120- QD120C| 12.0 7.0 QD120- AL
T8 Inerease 25% for wore-out cuttin QD209S | 20.9 QD239S | 23.9 QD125F 125 4.8 | 129-16-. QD125C 125 7.0 | 129-16-.. TR
head 0 ¢ h QD210S  21.0 QD240S  24.0 QD130F | 13.0 5.1 QD130- QD130C 13.0 | 7.6 QD130- —
HBOR N QD211S  21.1 QD241S  24.1 QD135F 135 | 51 | 139-16-.. QD135C 135 7.6 | 139-16-.. HBOR
c a)E R AR IR b)Ih#E CFLETMK dEEERRITE e)RENEE 2R EA QD212S | 21.2 QD242S | 24.2 QD140F  14.0 | 55 QD140- QD140C 14.0 8.2 QD140- CBI
Bl Wear Limit Power Restriction Diameter Change Surface Finish 5 V\tbrallwlor‘lNowse QD213S 21.3 Qap210 QD243S 24.3 QD240 QD145F  14.5 55 149-16-.. QD145C| 14.5 8.2 149-16- CBH
CBE Desterioration rastically Inereases QD214s 214, SO0 QD244S | 24.4 o SO0 QD150F | 15.0 | 5.9 | QD150- QD150C| 15.0 8.7  QD150- s,
G 2 e B Application QD215S 215 : 5 QD245S 24.5 : 5 QD155F 155 | 5.9 | 159-20-.. QD155C 15.5 8.7 | 159-20-.. pa
R4 0 1 g/ HeFEE R R T QD216S | 21.6 T QD246S | 24.6 T QD160F  16.0 6.3 QD160- QD160C| 16.0 9.3 QD160- R4
E—— Coolant A EDRIHL R WENA THERS THEFER A TERES QD217S | 21.7 QD247S | 24.7 QD165F  16.5 | 6.3 169-20-.. QD165C 16.5 9.3 169-20-.. =S
NBJ [ Application Work Application Work QD218S  21.8 QD248S  24.3 QD170F| 17.0 6.6 & QD170- QD170C| 17.0 9.9  QD170- NBJ
NBH Recommend ation Environment  NotRecommendation _Environment QD219S  21.9 QD249S  24.9 QD175F 17.5 | 6.6 | 179-20-.. QD175C 17.5 9.9 | 179-20-.. NBH
s 2 ERAHHERT o : =7 QD220S | 22.0 QD250S | 25.0 QD180F | 18.0 @ 6.9 QD180- QD180C| 18.0 | 10.5 = QD180- e
=4 A I = = 2
%ift “ 21 hHI A XT3 FEARS 2L Ril QD221S  22.1 QD251S8  25.1 QD185F  18.5 | 6.9 | 189-25-. QD185C 18.5  10.5 | 189-25-. %ﬂ
X L o atrace ol Expansion QD222S | 22.2 QD252S | 25.2 QD190F  19.0 | 7.2 QD190- QD190C| 19.0 | 11.0  QD190- %
—_— QD223S| 22.3 aD220- QD253S | 25.3 AD250- QD195F 195 7.2 | 199-25-. QD195C| 19.5 11.0 @ 199-25-
TWE RERER 3 T ) SRzl EEMETH HE7 2H QD224S| 224 o0 QD254S| 254 | oo QD200F 200 | 82 | QD200- QD200C  20.0 | 11.6  QD200- TWE
) = QD225S 22.5 : QD2558  25.5 : QD205F  20.5 | 8.2 | 209-25-. QD205C  20.5  11.6 | 209-25-.. RBH
RBH Usage Precautions Overlapping reinforcement Slanted Surface D- D-
¥A 4 9d B of laminated holes Not Recommended QD226S 22.6 T QD256S  25.6 B QD210F  21.0 | 8.6 QD210- QD210C| 21.0 122 | QD210- A 4
22% core deviation savailable QD227S | 22.7 QD257S | 25.7 QD215F 215 | 8.6 | 219-25-. QD215C 215 122 219-25-. Z 5
£k o oo Surace hole reduces ‘ flalf Cylindrical ‘ QD230F 23.0 | 9.3 QD230- QD230C  23.0 | 13.3 | QD230- 3k
— @ - feed by half available QD235F  23.5 9.3 239-32-.. QD235C 23.5  13.3 239-32- N
7] Max.0.02mm _ E®:> QD240F 24.0 | 9.7 QD240- QD240C 24.0  13.9  QD240- w7
For Turning For Drilling 7| LA A B 2 QD245F | 245 9.7 | 249-32-. QD245C | 24.5 13.9  249-32-. E—
TH 55K RO ETRAF0.028K HUERERI TR, TN RO ERAF0.028 %K Pipe Materal Cored Hole QD250F 25.0 | 10.1 | QD250- QD250C 25.0 | 14.5 | QD250-
Set Deviation Amout Under0.02mm Do not use any arbor with a deformed attachment surface Recommended Not Recommend ed QD255F | 25.5 | 10.1 259-32- QD255C 255 145 259-32-
between the workpiece and the Drill Center of arbor deviation must be within 0.02mm QD260F  26.0  10.1 ..D-.. QD260C | 26.0 @ 14.5 ..D-..




® SMERENFILMT = : High Efficiency Hole Processing
MZG I-E;Efficiency Drilling I'EIE ,l\+1'E|57|: 5[¥L 7]” 1 of Drill Point and Drill Pipe

QD..-1. 5D-C # A HK LR T 1k QD..-1. 5D-N J P4 &k FL B $ 71 4 QD..-5D-C & P& 21K £L B 5 7] 4 QD..-8D-C & P& ANk FL R $5 7] ¢

"QuickDrill" Toolholders with Coolant "QuickDrill" Toolholders without Coolant " QuickDrill" Toolholders with Coolant "QuickDrill" Toolholders with Coolant

DT d |p3 DT d |p3 —] l — I: —]
b o [os > o [oe
| —— S T — | = (- = = == o =
L2 Ls L2 Ls L2 Ls L2 Ls
TR MRS CESIER R REE T miaRe CESE Rt RE® TR MRS RETIk R+t REB T MRS RE Ik R R
Order D Dimensions(mm) Puller Order D Dimensions(mm Puller Order Model D Dimensions(mm) Puller Order Model D Dimensions(mm) Puller
@ d D3 L1 L2LSs D © . @ d D3 L1 L2 Ls D @ P~ @ d D3 L1/ L2/LS D & P~ @ d D3 L1 L2Ls D B
505553 | QD080-089-16-1.5D-C | 8.0~8.9 | 12 | 16 | 12 |27.9| 45 | 8 505571 | QD080-089-16-1.5D-N | 8.0~8.9 | 12 | 16 | 12 |27.9]| 45 | 8 505649 | QD080-084-16-5D-C | 8.0~8.4 | 12 | 16 | 40 |55.4| 45 | 8 505674 | QD080-084-16-5D-C | 8.0~8.4 | 12 | 16 | 64 |79.4| 45 | 8
505554 | QD090-099-16-1.5D-C | 9.0~9.9 | 12 | 16 | 14 29.3| 45 | 9 505572 | QD090-099-16-1.5D-N | 9.0~9.9 | 12 | 16 | 14 29.3| 45 | 9 505650 QD085-089-16-5D-C = 8.5~8.9 | 12 16 | 43 57.9 45 8 505675 QD085-089-16-5D-C = 8.5-8.9 | 12 16 68 844 45 8
505555 | QD100-109-20-1.5D-C | 10.0~10.9| 16 | 20 | 15 |31.2| 48 | 10 8-12 505573 | QD100-109-20-1.5D-N | 10.0~10.9| 16 | 20 | 15 |31.2| 48 | 10 8-12 505651 | QD090-094-16-5D-C | 9.0~9.4 | 12 | 16 | 45 60.8| 45 | 9 505676 | QD090-094-16-5D-C | 9.0~9.4 | 12 | 16 | 72 |87.8| 45 | 9
505556 | QD110-119-20-1.5D-C | 11.0~11.9| 16 | 20 | 17 |33.1| 48 | 11 505574 | QD110-119-20-1.5D-N | 11.0~11.9 | 16 | 20 | 17 |33.1| 48 | 11 505652  QD095-099-16-5D-C | 9.5-9.9 12 16 48 63.3 45 9 505677 QD095-099-16-5D-C | 9.5-9.9 12 16 76 927 45 9
505557 | QD120-129-20-1.5D-C | 12.0~12.9| 16 | 20 | 18 |35.0| 48 | 12 505575 | QD120-129-20-1.5D-N | 12.0~12.9| 16 | 20 | 18 |35.0| 48 | 12 505653 | QD100-104-20-5D-C | 10.0~10.4 | 16 | 20 | 50 |66.2| 48 | 10 812 505678 | QD100-104-20-5D-C | 10.0~10.4| 16 | 20 | 80 | 96.2| 48 | 10 8-12
505558 | QD130-139-20-1.5D-C | 13.0~13.9| 16 | 20 | 20 |37.1| 48 | 13 505576 | QD130-139-20-1.5D-N | 13.0~13.9| 16 | 20 | 20 |37.1| 48 | 13 505654 = QD105-109-20-5D-C | 10.5~10.9 | 16 | 20 @ 53 |68.7 48 | 10 505679  QD105-109-20-5D-C | 10.5~10.9| 16 20 | 84 100.2 48 | 10
505559 | QD140-149-20-1.5D-C | 14.0~14.9| 16 | 20 | 21 |41.1| 48 | 14 | 12-17 505577 | QD140-149-20-1.5D-N | 14.0~14.9| 16 | 20 | 21 |41.1| 48 | 14 | 12-17 505655 | QD110-114-20-5D-C | 11.0~11.4 | 16 | 20 | 55 |71.6| 48 | 11 505680 | QD110-114-20-5D-C | 11.0~11.4 | 16 | 20 | 88 [104.6 48 | 11
505560 | QD150-159-25-1.5D-C | 15.0~15.9| 20 | 25 | 23 |46.2| 50 | 15 505578 | QD150-159-25-1.5D-N | 15.0~15.9| 20 | 25 | 23 |46.2| 50 | 15 505656 = QD115-119-20-5D-C | 11.5~11.9 16 | 20 58 |74.1 48 11 505681 QD115-119-20-5D-C | 11.5~11.9 16 | 20 @ 92 [108.6 48 11
505561 | QD160-169-25-1.5D-C | 16.0~16.9| 20 | 25 | 24 |49.3| 50 | 16 505579 | QD160-169-25-1.5D-N | 16.0~16.9| 20 | 25 | 24 |49.3| 50 | 16 505657 | QD120-124-20-5D-C | 12.0~12.4 | 16 | 20 | 60 |77.0| 48 | 12 505682 | QD120-124-20-5D-C | 12.0~12.4| 16 | 20 | 96 |113.0, 48 | 12
505562 | QD170-179-25-1.5D-C | 17.0~17.9| 20 | 25 | 26 |52.4| 50 | 17 505580 | QD170-179-25-1.5D-N | 17.0~17.9| 20 | 25 | 26 |52.4| 50 | 17 505658 = QD125-129-20-5D-C | 12.5~12.9| 16 | 20 62 |79.5 48 | 12 505683 QD125-129-20-5D-C | 12.5-12.9| 16 20 100 117.0 48 | 12
505563 | QD180-189-32-1.5D-C | 18.0~18.9| 25 | 32 | 27 |55.5| 56 | 18 505581 | QD180-189-32-1.5D-N | 18.0~18.9| 25 | 32 | 27 |55.5| 56 | 18 505659 | QD130-134-20-5D-C | 13.0~13.4| 16 | 20 | 65 |82.6| 48 | 13 505684 | QD130-134-20-5D-C | 13.0~13.4| 16 | 20 | 104 |121.6 48 | 13
3R 505564 | QD190-199-32-1.5D-C | 19.0~19.9| 25 | 32 | 29 |58.5 56 | 19 | 17-21 505582 | QD190-199-32-1.5D-N | 19.0~19.9| 25 | 32 | 29 |58.5 56 | 19 | 17-21 505660 | QD135-139-20-5D-C  13.5~13.9 16 | 20 | 68 |85.1| 48 13 | . . 505685 | QD135-139-20-5D-C | 13.5~13.9 16 | 20 108/125.5 48 13 | .
505565 | QD200-209-32-1.5D-C | 20.0~20.9| 25 | 32 | 30 |61.6| 56 | 20 505583 | QD200-209-32-1.5D-N | 20.0~20.9| 25 | 32 | 30 |61.6| 56 | 20 505661 | QD140-144-20-5D-C | 14.0~14.4| 16 | 20 | 70 |90.2| 48 | 14 505686 | QD140-144-20-5D-C | 14.0~14.4| 16 | 20 | 112 |[132.1 48 | 14
7L 505566 | QD210-219-32-1.5D-C | 21.0~21.9| 25 | 32 | 32 |64.7| 56 | 21 505584 | QD210-219-32-1.5D-N | 21.0~21.9| 25 | 32 | 32 |64.7| 56 | 21 505662 QD145-149-20-5D-C | 14.5~14.9 | 16 = 20 73 92.7 48 | 14 505687 QD145-149-20-5D-C | 14.5~14.9 16 20 116 136.2 48 | 14
505567 | QD220-229-32-1.5D-C | 22.0~22.9| 25 | 32 | 33 |67.8| 56 | 22 505585 | QD220-229-32-1.5D-N | 22.0~22.9| 25 | 32 | 33 |67.8| 56 | 22 505663 | QD150-159-25-5D-C | 15.0~15.9 | 20 | 25 | 75 |98.7| 50 | 15 505688 | QD150-159-25-5D-C | 15.0~15.9| 20 | 25 | 120 |143.7 50 | 15
505568 | QD230-239-42-1.5D-C | 23.0~23.9| 32 | 42 | 35 [70.9| 60 | 23 21-26 505586 | QD230-239-42-1.5D-N | 23.0~23.9| 32 | 42 | 35 [70.9| 60 | 23 21-26 505664 | QD160-169-25-5D-C | 16.0~16.9| 20 | 25 | 80 |105.3 50 | 16 505689 | QD160-169-25-5D-C | 16.0~16.9| 20 | 25 | 128 |153.3 50 | 16
505569 | QD240-249-42-1.5D-C | 24.0~24.9| 32 | 42 | 36 |74.0| 60 | 24 505587 | QD240-249-42-1.5D-N | 24.0~24.9| 32 | 42 | 36 |74.0| 60 | 24 505665 | QD170-179-25-5D-C | 17.0~17.9| 20 | 25 | 85 |111.9] 50 | 17 505690 | QD170-179-25-5D-C | 17.0~17.9| 20 | 25 | 136 [162.9 50 | 17
505570 | QD250-259-42-1.5D-C | 25.0~26.0| 32 | 42 | 38 | 77.0| 60 | 25 505588 | QD250-259-42-1.5D-N | 25.0~26.0| 32 | 42 | 38 |77.0| 60 | 25 505666 QD180-189-32-5D-C |18.0~18.9| 25 | 32 | 90 1185 56 | 18 . . 505691 QD180-189-32-5D-C | 18.0~18.9| 25 32 | 144 172.5 56 | 18
505667 | QD190-199-32-5D-C | 19.0~19.9 | 25 | 32 | 95 [125.0 56 | 19 -2 505692 | QD190-199-32-5D-C | 19.0~19.9| 25 | 32 | 152 [182.0 56 | 19 | '7-21
505668 = QD200-209-32-5D-C | 20.0~20.9 | 25 = 32 100 |131.6 56 | 20 505693  QD200-209-32-5D-C | 20.0~20.9| 25 32 | 160 191.6 56 | 20
505669 | QD210-219-32-5D-C | 21.0~21.9| 25 | 32 | 105 [138.2 56 | 21 505694 | QD210-219-32-5D-C | 21.0~21.9| 25 | 32 | 168 [201.2 56 | 21
505670 = QD220-229-32-5D-C | 22.0~22.9 | 25 | 32 | 110 144.8 56 | 22 505695 QD220-229-32-5D-C | 22.0~22.9| 25 32 176 210.8 56 | 22
505671 | QD230-239-42-5D-C | 23.0~23.9 | 32 | 42 | 115 [151.4 60 | 23 | 21-26 505696 | QD230-239-42-5D-C | 23.0~23.9| 32 | 42 | 184 220.4 60 | 23 | 21-26
505672  QD240-249-42-5D-C | 24.0~24.9 | 32 | 42 | 120 |158.0 60 | 24 505697  QD240-249-42-5D-C | 24.0~24.9| 32 42 | 192 230.0 60 | 24
505673 | QD250-259-42-5D-C | 25.0~26.0 | 32 | 42 | 125 164.5 60 | 25 505698 | QD250-259-42-5D-C | 25.0~26.0 | 32 | 42 | 200 239.5 60 | 25
£E3L £k
————  QD..-3D-C & A2 ENKFLIREE T 44 QD..-3D-N F M4 Z0 7k 7L 1% $4 77 44 QD..-12D-C & R4 AN 7K FL IR 56 T 5 P
%TL%E "QuickDrill" Toolholders with Coolant "QuickDrill" Toolholders without Coolant "QuickDrill" Toolholders with Coolant a
Ei Zi
& 3L $hk
VM D DT d |Dp3 DT d |D3 — — - -_1,/'-_'-'
Kk e S — t===——71_ P
—_— L2 Ls L2 Ls —
=il
£k
R TTT4RRD HigRS BETIX R~ RENRR TTE4RRD MRE S B ETk R~ RENRR TI4RRD MRE S BETIk R~ RENR 3 &%
7Hﬂ E% Order D Dimensions(mm) Puller Order Model D Dimensions(mm) Puller Order Model D Dimensions(mm) Puller /Hﬂ ED
Bic 14 @ d D3 L1 12 L1s D B 2 @ d D3 L1 L2 L1s D @ P @ d D3 L1 L2 Ls D & Ao #+
LBK 505589 | QD080-084-16-3D-C | 8.0~8.4 | 12 | 16 | 24 |39.4| 45 | 8 505624 | QD080-084-16-3D-N | 8.0~8.4 | 12 | 16 | 24 |39.4| 45 | 8 505700 | QD120-124-20-12D-C | 12.0~12.4 | 16 | 20 | 144 | 161 | 48 | 12 LBK
505590 | QD085-089-16-3D-C | 8.5~8.9 | 12 | 16 | 26 40.9| 45 | 8 505625 | QD085-089-16-3D-N | 8.5~8.9 | 12 | 16 | 26 40.9| 45 | 8 505701  QD125-129-20-12D-C | 12.5~12.9 | 16 = 20 150 167 48 | 12
BST 505591 | QD090-094-16-3D-C | 9.0~9.4 | 12 | 16 | 27 |42.8| 45 | 9 505626 | QD090-094-16-3D-N | 9.0~9.4 | 12 | 16 | 27 |42.8| 45 | 9 505702 | QD130-134-20-12D-C | 13.0~13.9 | 16 | 20 | 156 | 173 | 48 | 13 BST
gz 505592 | QD095-099-16-3D-C | 9.5~9.9 | 12 | 16 | 29 44.3| 45 | 9 o1 505627 | QD095-099-16-3D-N | 9.5~9.9 | 12 | 16 | 29 44.3| 45 | 9 612 505703 QD135-138-20-12D-C | 13.56~13.9| 16 20 | 162 179 48 | 13 . .. 27
T4 505593 | QD100-104-20-3D-C | 10.0~10.4| 16 | 20 | 30 |46.2| 48 | 10 505628 | QD100-104-20-3D-N | 10.0~10.4| 16 | 20 | 30 |46.2| 48 | 10 505704 | QD140-144-20-12D-C | 14.0~14.4| 16 | 20 | 168 | 188 | 48 | 14 TR
505594 | QD105-109-20-3D-C | 10.5~10.9| 16 | 20 | 32 |47.7| 48 | 10 505629 | QD105-109-20-3D-N | 10.5~10.9| 16 | 20 | 32 |47.7| 48 | 10 505705  QD145-149-20-12D-C | 14.5~14.9 | 16 = 20 174 | 194 48 | 14
i 505595 | QD110-114-20-3D-C | 11.0~11.4 | 16 | 20 | 33 |49.6| 48 | 11 505630 | QD110-114-20-3D-N | 11.0~11.4 | 16 | 20 | 33 |49.6| 48 | 11 505706 | QD150-159-25-12D-C | 15.0~15.9| 20 | 25 | 180 | 210 | 50 | 15
HBOR 505596 | QD115-119-20-3D-C | 11.5~11.9| 16 | 20 | 35 |51.1| 48 | 11 505631 | QD115-119-20-3D-N | 11.5~11.9| 16 | 20 | 35 |51.1| 48 | 11 505707  QD160-169-25-12D-C | 16.0~16.9 | 20 = 25 192 224 50 | 16 HBOR
CBI 505597 | QD120-124-20-3D-C | 12.0~12.4| 16 | 20 | 36 |53.0| 48 | 12 505632 | QD120-124-20-3D-N | 12.0~12.4| 16 | 20 | 36 |53.0| 48 | 12 505708 | QD170-179-25-12D-C | 17.0~17.9 | 20 | 25 | 204 | 238 | 50 | 17 CBI
CBH 505598 | QD125-129-20-3D-C | 12.5~12.9| 16 | 20 | 37 |54.5 48 | 12 505633 | QD125-129-20-3D-N | 12.5~12.9| 16 | 20 | 37 |54.5| 48 | 12 505709 | QD180-189-32-12D-C  18.0-18.9 25 32 216 252 56 18 . . CBH
) 505599 | QD130-134-20-3D-C | 13.0~13.4| 16 | 20 | 39 |56.6| 48 | 13 505634 | QD130-134-20-3D-N | 13.0~13.4| 16 | 20 | 39 |56.6| 48 | 13 505710 | QD190-199-32-12D-C | 19.0~19.9| 25 | 32 | 228 | 266 | 56 | 19 ¥
e 5 505610 | QD135-139-20-3D-C | 13.5~13.9| 16 | 20 | 41 |58.1| 48 | 13 505635 | QD135-139-20-3D-N | 13.5~13.9| 16 | 20 | 41 |58.1| 48 | 13 505711  QD200-209-32-12D-C | 20.0~20.9 | 25 & 32 | 240 | 280 56 | 20 =
A% 505611 | QD140-144-20-3D-C | 14.0~14.4| 16 | 20 | 42 |62.1| 48 | 14 | 27 505636 | QD140-144-20-3D-N | 14.0-14.4| 16 | 20 | 42 |62.1| 48 | 14 | 2717 505712 | QD210-219-32-12D-C | 21.0~219| 25 | 32 | 252 | 294 56 | 21 | ,. R
_ 505612 | QD145-149-20-3D-C | 14.5~14.9| 16 | 20 | 44 |63.6| 48 | 14 505637 | QD145-149-20-3D-N | 14.5~14.9| 16 | 20 | 44 |63.6| 48 | 14 505713 | QD220-229-32-12D-C | 22.0~23.0 | 25 | 32 | 264 | 308 56 | 22
NBJ 505613 | QD150-159-25-3D-C | 15.0~15.9| 20 | 25 | 45 |68.7| 50 | 15 505638 | QD150-159-25-3D-N | 15.0~15.9| 20 | 25 | 45 |68.7| 50 | 15 NBJ
NBH 505614 | QD160-169-25-3D-C | 16.0~16.9| 20 | 25 | 48 |73.3| 50 | 16 505639 | QD160-169-25-3D-N | 16.0~16.9| 20 | 25 | 48 |73.3| 50 | 16 NBH
" 505615 | QD170-179-25-3D-C | 17.0~17.9| 20 | 25 | 51 | 77.9] 50 | 17 505640 | QD170-179-25-3D-N | 17.0~17.9| 20 | 25 | 51 |77.9] 50 | 17 oy
27 505616 | QD180-189-32-3D-C | 18.0~18.9 25 | 32 ' 54 |82.5) 56 | 18 | . . 505641 | QD180-189-32-3D-N | 18.0~18.9| 25 | 32 | 54 |82.5| 56 | 18 # ftL
Ei 505617 | QD190-199-32-3D-C | 19.0~19.9| 25 | 32 | 57 |87.0| 56 | 19 - 505642 | QD190-199-32-3D-N | 19.0~19.9| 25 | 32 | 57 |87.0| 56 | 19 | ' Ex
e 505618 | QD200-209-32-3D-C | 20.0~20.9| 25 | 32 | 60 | 91.6| 56 | 20 505643 | QD200-209-32-3D-N | 20.0~20.9| 25 | 32 | 60 |91.6| 56 | 20 _
TWE 505619 | QD210-219-32-3D-C | 21.0~21.9| 25 | 32 | 63 |96.2| 56 | 21 505644 | QD210-219-32-3D-N | 21.0~21.9| 25 | 32 | 63 |96.2| 56 | 21 TWE
505620 | QD220-229-32-3D-C | 22.0~22.9| 25 | 32 | 66 [100.8 56 | 22 505645 | QD220-229-32-3D-N | 22.0~22.9| 25 | 32 | 66 |100.8 56 | 22 RBH
RBH 505621 | QD230-239-42-3D-C | 23.0~23.9| 32 | 42 | 69 [105.4 60 | 23 | 21-26 505646 | QD230-239-42-3D-N | 23.0~23.9| 32 | 42 | 69 [105.4 60 | 23 | 21-26 o
bk 505622 | QD240-249-42-3D-C | 24.0~24.9| 32 | 42 | 72 [109.9 60 | 24 505647 | QD240-249-42-3D-N | 24.0~24.9| 32 | 42 | 72 [109.9 60 | 24 1H 5=
A% 505623 | QD250-259-42-3D-C | 25.0~26.0| 32 | 42 | 75 |114.5 60 | 25 505648 | QD250-259-42-3D-N | 25.0~26.0| 32 | 42 | 75 |114.5 60 | 25 A
83k ke
#7) 87



MZG® SEIESE I Hollow drill / Oil Way

High Efficiency Drilling Tool Holder Accessories
[ 2 FE

. ZINEEEL#F  Multifunction drill pipe SHEETIWE o Toolhold Fixed seat
= =X 1R 1R Bt £ SR popcsn ' e
N E L‘ 1ZEH], HHI, HITVAE, EA—FIFMT HgEAER

Py P L Traditional way sl

Side solid fast hollow bit v o

1. Turning, boring as ctions, using a kind

he tool u

installation tin
#H

HhH

oriling
- Order B = d|L [ B [c D [LOJLI[H [L3][Prce

v ' 505400 BT40-OSL32-155 | 32 | 155| 60/65 | 53 |90 | 50 | 60 | 156 | 15

SRS 505402 BT40-OSL40-155 | 40 | 155| 60/65 | 70 |90 |50 | 70 | 19 | 18

Solid material drilling (. g . 3 505404 | BT50-0OSL32-160 32 160 | 80/82 54 100 | 50 60 15 15

#A

Boring

(o

505406 | BT50-OSL40-160 40 160 | 80/82 64 |100 50 70 19 18

E 3 ivaii)

New application

Itk

Grooving

RRBRETEE BTHRZZREE

Installation diagram of MTA BT installation diagram

AR
- KBHESTHE

s
¥ - KHE R RS I~
'l‘ ]33 « T1H PRI E T 44 R e |;% JE‘.
%E ?L « KARHE M THI TR ) S %E ?L
4z s N N . 4Z o N . <N NLRE R R
WEA0mm= L85 L-WCT] R WES0mm= L5 k-WCT] | _—
. . . . . . . — Order . D D1 L L1 Price
Hollow drill with handle diameter of 40mm WC Insert Hollow drill with handle diameter of 50mm WC Insert = = 05500 DINZZSg—ES 3125MTA4 - o o o Ti30
[ - -\ N 1 — = _B-32-
I8 | BS Model | HwREB | B S Model | #mAE | E S Model R | R | B ES | BE vodel | WG| BES Model | HES | B Model R | MR | B E T~ t! T u ™ = 505502| DIN228-B-40-MTA4 40 64 204 124 1438
Order | H&# L=50mm | Order | 3 #&L=100mm | Order | H&&L=150mm D d Parts Order | %4 L=50mm | Order | H%4L=100mm| Order | F¥&L=150mm D d Parts "L i 505504 DIN228-B-32-MTA5 32 64 204 156 1563
505714 ] C40- 50WC05-50L | 505735 | C40- 50WC05-100L | 505756 | C40- 50WC05-150L 50 505777 | C50- 50WC05-50L | 505798 | C50- 50WC05-100L | 505819 | C50- 50WC05-150L 50 505506  DIN228-B-40-MTA5 40 64 204 156 1563
505715 53WC05-50L | 505736 53WC05-100L | 505757 53WC05-150L | 53 505778 53WC05-50L | 505799 53WC05-100L | 505820 53WC05-150L | 53 = ERTIE 42 44 RE | oo 505508  DIN228-B-32-MTA6 32 64 303 218 1875
505716 55WC05-50L | 505737 55WC05-100L | 505758 55WC05-150L 55 505779 55WC05-50L | 505800 55WC05-100L | 505821 55WC05-150L 55 @Iy B S Model D|d L1 L " (Oinsert | screw Wy | FE® 505510]  DIN228-B-40-MTA6 40 64 303 218 1875
505717 60WC05-50L | 505738 60WC05-100L | 505759 60WC05-150L | 60 505780 60WC05-50L | 505801 60WC05-100L | 505822 60WC05-150L | 60 = 505512| DIN228-B-50-MTA6 50 72 303 218 2188
505718 62WC05-50L | 505739 62WC05-100L | 505760 62WC05-150L | 62 505781 62WC05-50L | 505802 62WC05-100L | 505823 62WC05-150L | 62 2221 gg Ig:z'ggst'z‘gg: Z 12 ;‘; 2; igm g‘; g; g: M:\Aixz 5 12 12:2 -
505719 64WC05-50L | 505740 64WC05-100L | 505761 64WCO5-150L | 64 505782 64WC05-50L | 505803 64WC05-100L | 505824 64WCO5-150L | 64 . -3 < e i
505720 66WC05-50L | 505741 66WC05-100L | 505762 66WC05-150L 66 505783 66WC05-50L | 505804 66WC05-100L | 505825 66WC05-150L 66 505104 | TCAP-10R/L-3.0DN 10 | 12 | 30 | 85 XCMT 050204 M2x5 T6 1875 1 1
505721 68WCO5-50L | 505742 68WC05-100L | 505763 68WCO5-150L | 68 WCMX 505784 68WC05-50L | 505805 68WC05-100L | 505826 68WCO5-150L | 68 WCMX 505106 | TCAP-11R/L-3.0DN 11 | 16 ] 33 ] 92 XCMT 060204 M2.2x5 T6 1875 g ad | | ] !
505722 7OWC05-50L | 505743 7OWC05-100L | 505764 70WC05-150L | 70 0503.. 505785 70WC05-50L | 505806 70WC05-100L | 505827 70WC05-150L | 70 0503 505108 | TCAP-12R/L-3.0DN 12 | 16 | 36 | 95 XCMT 06 02 04 M2.2X5 T6 1875 | |
505723 73WC05-50L | 505744 73WC05-100L | 505765 73WC05-150L | 73 505786 73WC05-50L | 505807 73WC05-100L | 505828 73WC05-150L | 73 505110 | TCAP-13R/L-3.0DN 13 | 16 | 39 [100 | xCMT070304 M2.5%6.5 T8 1875 T }
505724 75WC05-50L | 505745 75WC05-100L | 505766 75WC05-150L 75 40mm | M3.0x7 505787 75WC05-50L | 505808 75WC05-100L | 505829 75WC05-150L 75 50mm | M3.0x7 505112 | TCAP-14R/L-3.0DN 14 | 16 | 42 | 101 XCMT 07 03 04 M2.5%6.5 Ts 1875 —_—
i 505725 78WCO5-50L | 505746 78WC05-100L | 505767 78WC05-150L | 78 505788 78WC05-50L | 505809 78WC05-100L | 505830 78WC05-150L | 78 505114 | TCAP-0BR/L-2.25DN s T 15 oo XCMT 040104 M1.8X3.5 Te 1875 e R 5
IR 505726 80WCO5-50L | 505747 80WC05-100L | 505768 80WCO5-150L | 80 T10 505789 80WC05-50L | 505810 80WC05-100L | 505831 80WC05-150L | 80 T10 505116 ICAP O RIP2 250N o T2 T205l 76 oM 050200 Voo e 575 = - i 3o
g sk 505727 82WC05-50L | 505748 82WC05-100L | 505769 82WC05-150L | 82 505790 82WC05-50L | 505811 82WC05-100L | 505832 82WC05-150L | 82 505115 AP ORI 2I250N T Ton el 78 VT 050508 Vs o T Order # 5 D D1 D2 L L1 L2 L3 | Price <
505728 85WCO5-50L | 505749 85WC05-100L | 505770 85WCO5-150L | 85 505791 85WC05-50L | 505812 85WC05-100L | 505833 85WC05-150L | 85 2 - 5056001  MT5-YLDB-32 30 55 92 127 15 18 60 5000 _—
505120 | TCAP-11R/L-2.25DN 1 | 16 | 25| 84 XCMT 06 02 04 M2.2X5 T6 1875 .
N 505729 87WC05-50L | 505750 87WC05-100L | 505771 87WCO5-150L | 87 505792 87WC05-50L | 505813 87WC05-100L | 505834 87WC05-150L | 87 2 505602]  MT5-YLDB-40 40 60 98 127 15 18 65 5313 gkt
555 505730 90WC05-50L | 505751 90WC05-100L | 505772 90WCO5-150L | 90 505793 90WCO05-50L | 505814 90WC05-100L | 505835 90WCO5-150L | 90 505122] TCAP-12R/L-2.25DN | 12 | 16 | 27 | 86 | XCMT060204 M2.2x5 T6 1875 505604 MT6-YLDB-32 32 55 92 127 15 18 50 15625
505731 92WC05-50L | 505752 92WC05-100L | 505773 92WC05-150L 92 505794 92WC05-50L | 505815 92WC05-100L | 505836 92WC05-150L 92 505124 | TCAP-13R/L-2.25DN 13 | 16 | 29.5| 91 XCMT 07 03 04 M2.5%6.5 T8 1875 505606 MT6-YLDB-40 70 50 98 157 5 8 55 5625
== 8 505732 95WC05-50L | 505753 95WC05-100L | 505774 95WCO5-150L | 95 505795 95WC05-50L | 505816 95WC05-100L | 505837 95WC05-150L | 95 505126 | TCAP-14R/L-2.25DN 14 | 16 [31.5] 91 XCMT 070304 M2.5%6.5 8 1875 505608 | MT6-YLDBE-50 =0 -5 108 57 T 5 =0 =935 E
&L 505733 97TWC05-50L | 505754 97WC05-100L | 505775 97WCO05-150L | 97 505796 97WC05-50L | 505817 97WCO05-100L | 505838 97WCO05-150L | 97 1 /X = = S
£h sk 505734 100WC05-50L | 505755 100WC05-100L| 505776 100WC05-150L] 100 505797 100WC05-50L | 505818 100WC05-100L| 505839 100WC05-150L] 100 g ? A T 2= 45| Sk
I T SEATIERTIES
e
j\(/(,f\./lgg— ] T JIE 249 Product %] 4% Z= 5K Drawings [1 [ explain j\:/,’;/lﬂi%-
~ BT50Z 14 3k-WC w e TR, Eif. A=A -
_ —_ e . AAEAT —_—
e it < S4B ke . ’
s oy 44 7k B o E— ffﬁ;&—?ﬂ]]tﬁ, - b
S0
i i Central water supply type .
Hollow drill with BT50- WC Insert PPy typ N\ Thres processboring, —
— i : & BN N chamfer,counterbore =i
r U c40=04 concentrates in one tool >
i, £hk
- e s R(mm) Bce caiom FTOR 53 5 1 7] ek 4
" T
s B i &S Model EaE ] &S Model SME | IR | 8% | RF D D1 D2 L L1 s i
/H I Order AW KL=200mm Order B KL=250mm D |inserts | Screw |Wrench 505200 BJT-322062 20 49 32 62 5 500 o WIRRTHE
Bic 14 505840 | BT50- 55WC05-200L 505681 | BT50- 55WC05-250L 55 505202 BJT-322562 25 49 32 62 5 500 N After boring, through clamp
:g:zz; 58W205»200L :g:g§§ 58W805-250L 22 505204 BJT-402065 20 58 40 65 6 625 "l L‘wfggzi:‘:‘”ga‘xz;“’e LBK
60WC05-200L 60WC05-250L : . 2
LBK 505843 62WC05-200L 505884 62WC05-250L 62 505206 BIT=202565) 25 58 40 65 6 625 N o BST
BST 505844 65WC05-200L 505885 65WC05-250L 65 505208 BJT-403265 32 58 40 65 6 625 . er3r008 X EVU'JH%E, fE2 B S
2 505845 68WC05200L | 505886 68WC05-250L 68 505210 BJT-502572 25 65 50 70 6 750 BIR, BERNTIRMEE i
= R+t -
505846 70WC05-200L 505887 70WC05-250L 70 505212 BJT-503272 32 o5 50 70 5 750 o L .
1A 505847 75WC05-200L 505888 75WC05-250L 75 S05014 BUTE0A072 0 o5 = 70 5 750 7=l ) Optimizing insert angle to play L]
— 505848 78WC05-200L 505889 78WC05-250L 78 EF ’t.‘ N 7k Gl E Ej] ﬁ 7] ﬁlzj. - <5 K overlay baard then clamp S
- . L =g inishing boring dimension
HBOR oo soweos200L | 505891 sowoosasor | 55 | |usoer| o o - RbE HEOR
CBI =05EeH TWETREa0 S350 SOWC05 2200 | 0508 Automatic tool change for central water supply 155 E?g %E,ﬁﬁ%ﬁﬁ? CBI
S . / S s 1 o e , AT
505852 90WC05-200L 505893 90WC05-250L 90 T "N CHET = 4 CBH
CBH I th, BERRELME
e 505853 93WC05-200L 505894 93WC05-250L 93 4 and ok s
& 4 505854 96WC05-200L 505895 96WC05-250L 96 M LR R &Jﬁ;ii‘éi?é’f?;;ﬁl?ﬁg” & '%‘1
A% 505855 98WC05-200L 505896 98WC05-250L 98 I Emeen With Morse shank,and work in R4
- 505856 100WC05-200L | 505897 100WC05-250L 100 e vertical Drill tailstock etc —_
505857 103WC05-200L | 505898 103WC05-250L 103 RA% BRI % AT, 4 NBJ
NBJ 505858 105WC05-200L | 505899 105WC05-250L 105 — HHUBIE, MEWTIT], st
NBH 505859 108WC05-200L | 505900 108WC05-250L. 108 PEARALIRIT, 42CrMo, HB280 NBH
prd 505860 110WC05-200L | 505901 110WC05-250L 110 floo?ﬂééggo, i3 = s 7
5= 505861 115WC05-200L | 505902 115WC05-250L 115 _ — — — ] all i, ER £
ey 505862 | BT50- 120WC06-200L | 505003 | BT50- 120WC06-250L 120 Sl mE R>f(mm) . MIER . Fil & i [ Wind power be Ei
505863 125WC06-200L | 505904 125WC06-250L 125 = |gD1[eD2[@D] L [ L1]L2]L3 | AEEEA| AREE NN Sy holder,special
o e
05005 1a8weos.200L | 505906 jaoweosasoL | 195 S0S300| 2025-43 |20 | 25 [41 |47 | 6 L 11|63 | +04:02 | +02:015 1250 TWE
TWE 505 g 505 g 505302| 2532-48 | 25 | 32 | 49 | 60 | 6 | 11 | 45 | +0.4-0.2 +0.2-0.15 | 1250 S
505866 140WC06-200L | 505907 140WC06-250L 140 3 1) RBH
RBH 505867 i | St e S SHER TR B 505304| 3240-53 | 32 | 40 | 58 | 65 | 6 | 11 | 50 | +0.4-02 | +0.2-015 | 1563 — [ ————————. e
*H 5 505868 150WC06-200L | 505909 150WC06-250L 150 Toolholder type of oil wa 505306 4050-63 | 40 | 50 | 68 | 76 | 6 | 11 | 61 +0.6-0.2 +0.2-0.2 1750 ; B R, WKSEH, & H5E
Z g 505869 155WC06-200L | 505910 155WC06-250L 155 yp y - | BRIBERER R4
R 505870 160WC06-200L | 505911 160WC06-250L 160 b 3 N k—w Dedicated boring for yacht FRP,
e 505871 165WC06-200L | 505912 1eswcos-250L | 165 [N {vasxe| Tis R 128 §h Sk {8 /3 IR 3 Special material, designed in N
gk 3 505872 170WC06-200L 505913 170WC06-250L 170 ick bit ch feri . e ?;usti:nb\‘\?Wn%rg:fffrf‘arﬂs;S‘D” £k \7[:
505873 175WC06-200L | 505914 175WC06-250L 175 Quick bit chamfering ring "
. 505874 180WC06-200L | 505915 180WC06-250L 180 T AR RN EARGH, KAEER -—
£ = 5
7] 505875 185WC06-200L | 505916 185WC06-250L 185 g O] SEE | IR B | wmF § SONANNAN TEsh, ARNILMEART] %)4 7]
505876 190WC06-200L | 505917 190WC06-250L 190 @ Order Model Range |Inserts | Screw | Wrench " 2 g 8] 88
505877 195WC06-200L | 505918 195WC06-250L 195 505922 | ACH 31 32-60 : R \ Modular structure match twish Drill
505878 200WC06-200L | 505919 200WC06-250L 200 505923 42 4480 | TOMT | o] L8 N to the problem of compound tool of
505879 210WC06-200L | 505920 210WC06-250L 210 505924 58 63-90 | 16T3.. : : s keyhole
505880 220WC06-200L | 505921 220WC06-250L 220 505925 72| 83-200 VB RARIIEATIR, MR BT,

BTK25 K26



SEES RN NS

& Cutting Parameters
of Fast Drilling Bit

IR R £ Sk Y HI &

QDZ&FIIR IR $h K HEF R YIHI S H

O 5 th 1& o (mm/rev)

Feed rete(mm/rev)

MZG"

RIEFh LB E S
ZD 03
| | | |

High Efficiency Drilling

i % AL
30.0 XP 32

-

QD.. Type Technical Information

TIEXA | KAWL | 7IFER || JEXH TIRR% TIAERRK| | TIHEf ﬂﬁféi
= .~ + = .~ ) ° . y]
RS % 02,03, % 14.0600 | RS %83 || WLRTmMm) W) o [1C] T |Igs 5 FAEM  <025%C BA Anncaled 420 | 125 | 80~140
B ’ ~ W 3 o Unalloyed
ZD |i%Fl.%h 16mm-58mm| |XP | &l F &4 20,25,32,40 S| O lg 1? 03 | 28 } steel 5=0.25%C Bk Annealed 650 190 | 80~130  0.12 | 0.15 0.18 0.20| 0.25 0.25
. - Bk o BAFER ~
AEERE (L/min) 8; ‘51-2 BR o <osoc BXMBER 850 250 80~20 0.17 | 0.21 0.24 0.27 0.35 0.35
s : >=0.55%C IR X Annealed 750 220 70~110 0.22 0.28| 0.30| 0.35 0.45 | 0.45
06 | 6.5 ] 6.35 ZYIHIR BAFARE
30| 08 8 4 8 - O Free Cutting Steel A;nealed ;né\Tempering 1000 300 50~90
A 09 | - 19925 JBA Annealed 600 200 | 70~120
! o
B 2 - 127 fmasm 0.12 | 0.14 0.16 0.18 0.23|0.25
2> . . 930 275 70~110
g HWERMS B KA R 0.18 | 0.21| 0.24 0.26 0.31] 0.35
%m‘ 1% Fs) Annealed And Tempering 1000 300 50~90 0.25 0.28 0.32 0.35 0.40 0.45
Cast Iron (alloy . . . . . .
Compostion<5%) 1200 350 40~70
i b e 8 K Annealed 680 200 50~90 012 | 0.12 0.15 0.18 0.20  0.22
= High Alloy Steel , Cast Iron AR
RN F0 ~
7L o TR Tool Steel A 1100 | 325 | 40~80 0.16 | 0.17 020 0.23 0.25| 0.27
F— S BEE SRE 680 =~ 200 | 40~70 | 0.20 0.22| 0.25 0.28 0.30|0.33
] L : k= i 820 240 40~70 0.10 0.12] 0.14| 0.16 0.16 4 0.18
)\Ju IIJJ$E5K gfseilr;reosns Steel Ok Martensite
BR{E Austenitic 600 180 30~70 0.12 0.15, 0.17 | 0.20 0.21  0.24
< s o fi /rev/| =0.13
E 16 fn ( mm/rev/rev)=0.13 § ¢ n (mmirevire) TREER (o0) SREME Ferritic 160 90~160
- ~5 f Irevirev)=0.10
g fn ( mmirevirev)=0.10 % f"imm/f”/’evi o Gray Cast Iron Bk Poarlitic 250 | 80~140 | 0.15 | 0.18 0.20 0.24 0.26 | 0.30
iy 4 n ( mm/rev/rev)=0.
& 12 ‘ —© __ fn(mm/rev/rev)=0.07 ° RB S HREIR Ferritic 180 90~180 0.15 0.20 0.25 0.30 0.35 ] 0.34
= 10 — 3
= b L1} Nodular Sglron BRILIR Pearlitic 260 80~140 1
3R IEI:E . - , 0.22 0.27| 0.32| 0.37 0.45  0.37 '|‘9{]$_
k= . S—— SEME Ferritic 130 | 90~160 | 0.30 = 0.35 0.40| 0.45 0.55 | 0.60 ke
_— 1 o) X3
§E4k = : — i Malleable Cast Iron stk Pearlitic 230 80~140 555
Py — E il
Eib 20 20 20 20 0 50 10 20 30 40 50 60 & i S 60 90~220 =
3k . HALEE (mm) HAEE (mm) ?;?/’iﬁmumnw AR Bt Unsoldification o0 50220 3k
Ef£ Solidfication ~
o BRIEEE LB SIS £ & R 4 B O 5 845
K k3L e TR A7 N <=12%Si F Bl Unsolidification 75 90~220 0.20 025 0.30! 0.35| 0.40  0.45 K&k
g RHER M R| 351E | 2D¥IHEIE | 3DFIEDLE | 4DYIEIE SDYJEIER iR g Vex1000 Ve(m/min) £ i Cast B4 Solidfication 90 90~220 0.27 0.32 0.37  0.42 0.50 | 0.57 £k
Diameter |Materiall RPM 2XD Feeding 3XD Feeding 4XD Feeding 5XD Feeding Mateil ~ mxDc S(Cr(en:/;nm)uﬁéﬁ ﬁ:ll:)m'mum o o -E]hman&t‘fg 130 80~1 60
EEI:\ 14-17 2500-2300 kﬁ:;:ﬁg%%g;o k/‘aat:gl:jgfé%ﬂgo ﬁgi:ﬁgmgio kf;:ﬁ;sgfaggio § %@%3‘2120 - %5;-3?. s20mm stsssem. S=1201000 _ 1900 rou/min v <12%Si High Temperature Treatment 0.35 0.40 0.45 0.50 0.60 | 0.70 %‘E;\L\
S £ m/min, LER mm, % P S=E Lo = . <
B | e e o o e s | — T ek >1%Pb HH  Free Cutting 110 | 90~220
- - - X T 2! A4 SH B
e (2128  fontan SO0 L e croocs00 vasine crs0.170 | isemne F1s0-70| | R has R Copper 90 | 90~220 i
fic 4 Lathe F0.10-0.12_|Lathe F0.10-0.12 | Lathe F0.09-011 | Lathe F0.08-009 | & Vf= Fres HERE i opper Aoy
24-26 & 1800-1700) machine F170-200 | Machine F170-200 | Machine F160-190 | Machine F150-180 ® = Frx g:immm‘;‘))ﬁﬁ%f%i B Cathode Copper 100 90~220 ok
i Lathe F0.10-0.13 |Lathe F0.10-0.13 |Lathe F0.10-0.12 | Lathe F0.09-0.11
LBK 27-29 | g 16004500 1o rine F150-200 | Machine F160-200 | Machine F160-180 | Machine F140-160| S S(rev/min): Hi4% & B9y T 4 - BST
BST » Lathe F0.10-0.13 |Lathe F0.10-0.13 |Lathe F0.10-0.12 | Lathe F0.08-0.11 | 3 355&15%12}31900 revimin, & % i 4 i 0. 1mm/rev, #E 4 B : V=Frx$=1900X0.1=190 mm/min FHER HEFHE Plastic Fiber o
457 30-32 | = |1500-1400) piachine F150-180 | Machine F150-180 | Machine F140-170 | Machine F130-150| & Non-metalic Material g 1 s AL
T 4% ° Lathe F0.10-0.13_|Lathe F0.10-0.13 |Lathe F0.10-0.12 | Lathe F0.10-0.12 | 52 7,0 T ) % Hard Rubber ik
33-35 14001300 | tachine F130-160 | Machine F140-170 | Machine F130-160 | Machine F130-160] o, _ " zm )
HBOR [sess| w5 | | TO S0 Stvmini ke L, e, awsseseoninn BX foncalee 50760 | 0.06 1 0.08 0.101 0.12 0.12 1014 ypoR
e F120 e F19 ne F120- ne PN E * H(mm):4k 7L 3% 40.11mm, e G o _
OBl avan|  [mosmlnis 2 o e ot PO i Ti . BEL B sowmen 200 | 2050 | 008 040 0.1z 015 o046 01g OBl
N N X X [ rev/min . . s .
geew o a2-aa| (om0 tas | 195 120 | achne Fo0ito | & — Hgh e JBA Annealed 280 | 20~50 011 | 013 0.15 0.18 0.20 0.22 gf
45 Lathe F0.11-0.14 |Lathe F0.10-0.13 |Lathe F0.10-0.12 | Lathe F0.09-0.11 | S BEfLEER TR T S : o R 4Gt
PE - sar] L0080 oo i 0 5 bind substate mension mstcton 2 AN AT Mo BER B Soldrcaton 250 | 20~50 | 0.06 = 0.08 0.10 0.12 0.14 0.16
NBJ 48-50 950-900 |1 me. 7». acl me. 7-. achine 7- achine 7-. % L] KRB Ea l r i -~ NBJ
NBH  [arsal | ons |26 F0TT00 Jrare 00 s fiae 00 s [aneroosotr || [WcHowass | osomm Govot sase Cast 350 | 20~50 = 0.09 0.11 0.14 0.16 0.18 | 0.20 NB L
L, B 3 Machine F95-110 |Machine F80-100 |Machine F80-100 | Machine F70-85 e.\° LN 1 WCMX040208 0.60mm alr,
%?L 5456 450800 Lathe F0.11-0.14 |Lathe F0.10-0.13 [Lathe F0.10-0.12 | Lathe F0.09-0.11 | & < N xgmigggggg g-ggmm ik 320 20-50 0.12 015 018 0.20 0.2210.25 %ﬂ
B a Machine F85-105 |Machine F75-95 Machine F75-95 Machine F65-80 R N -9omm Titanium,
- 57-60 §00750 Lathe FO.71-0.14 Laatf]e;eo.mfo.ﬁ Lathe FO.70-0.12 | Lathe F0.08:0.1 WCMX080412_[ 1.25mm titamuum Alloys a-BEEWN a+B aloys 20~50 0.06 0.08/ 0.10| 0.12 0.14 | 0.16
TWE - Machine F80-100 |Machine F70-90 Machine F70-90 Machine F60-75 S— . TWE
BB wcﬁfoi?os aif;-"l:a L:E,Taiazst | 7R Harden 55HRC | 20~50 0.09 0.1 0.14 | 0.16 0.18 # 0.20 ?ﬁiﬂ
*ﬁi’é‘ SPMG050204 ) ar ee 5 7 . q ;
i EARERG SN wowxeso208 | o } %8 Harden 60HRC | 20~30 0.12 | 0.15| 0.18| 0.20 0.22  0.25 =i
ind substrate dimension instruction WCMX040208 /q‘ﬁﬁiﬁi% B Cast 400
sk PR R % | [‘semoosozos | ©-20M™ MR RN A T KT Chiled Cast Iron 4 3k
Y e 1 WCMX050308 S .
- TAAE | RRBEa =TS 177 | SPMG070308 | °-70™™ [ éﬁa%t Iron % Harden 55HRC —
7] SPMG050204 | 0.30mm £ WCMX050808 | o 7]
SPMG060204 0.40mm SPMG090408 )
..... SoMGo0a08 T 0 Somm SPviG T10igs | 0-00mm * n SRk TS E MR T2 AN K FLEY T IE PR R VT B R B Rt 4R
SPuGO110408 | 0.80mm B * Lower cutting speed and feed rate should be used for tool holders of 8D or 12D and sithout coolant




MR T NBH/BST$% fL. JJ# = NBH/BST Boring Tool Holder

High Efficiency Boring

#H%¥ Rough boring $##4hE Boring Outer Circle K $% Reverse boring NBH2084 %ﬁ%‘:ﬂ*ﬁ CIET) 8BS Rt Size (mm) | & i
TWE W7IMES TWE %4 RBHXRIMEE RBHAMSE TBLERIIFF TBCHEII& CBH-M#sNE  CBRESNH HBORR £ 3k NBH2084 Boring Cutter Toolholder Order Model D L RMB
' [ 511000 BT30-NBH2084 35 55 600
! | 511002 BT40-NBH2084 35 45 476
| [ 511004 BT50-NBH2084 35 55 950
| nEE ek | IEEE BsT | nEER ok 511006 NT30-NBH2084 35 55 600
| |[E7L e Zodmn) AL B <ren I B 511008 NT40-NBH2084(5/8) | 35 25 600
| | & b 511010 NT40-NBH2084 35 25 600
T = T e ol . 511012 NT50-NBH2084 35 25 1200
i 4% Rough boring Reverse boring 511014 SK40-NBH2084 35 55 600
"""""""""" " . T 2200~1200mm1@20~204mm 511016 SK50-NBH2084 35 55 1200
o %iz__f'ne_tloﬂﬂg__ 511018 BBT40-NBH2084 35 45 | 2501
r  2200-1250mm | @2-203mm, MR i v BN _ "= 511020 BBT50-NBH2084 35 55 3500
! 511022 CAT40-NBH2084 35 55 750
| 511024 CAT50-NBH2084 35 55 1500
It TT TS 511026 HSK63A-NBH2084 35 85 2501
Lo 511028 HSK100A-NBH2084 | 35 90 3500
o 511030 1SO40-NBH2084 35 45 750
L 511032 1SO50-NBH2084 35 55 1500
Pl 511034 C20-NBH2084 35 15 1001
| | 511036 R8-NBH2084 35 15 600
Lo 511038 BT40-NBH2084-100L | 35 100 | 1001
o 511040 BT40-NBH2084-150L | 35 150 | 1500
Lo 511042 BT40-NBH2084-200L | 35 200 | 2000
o 511044 BT40-NBH2084-250L | 35 250 | 2501
Ly 511046 BT50-NBH2084-100L | 35 100 | 1200
P 511048 BT50-NBH2084-150L | 35 150 | 1500
Lo ~ L - 511050 BT50-NBH2084-200L | 35 200 | 2000
Lo 511052 BT50-NBH2084-250L | 35 250 | 2501
B 2 - S | | R T - R ey ey | m— = 511054 BT50-NBH2084-300L | 35 300 | 3000
Lo T 511056 MT3-NBH2084 35 15 701
P a 511058 MT4-NBH2084 35 15 701
—_— Lo I 511060 MT5-NBH2084 35 15 851 P |
TR IR by ] — 511062 MT6-NBH2084 35 15 1100 s
3k Lo - 511064 MTB3-NBH2084 35 15 701 #h 5k
! - LB
s Loy 511066 MTB4-NBH2084 35 15 701 gk
— Pl 511068 MTB5-NBH2084 35 15 851 —
E Lo 511070 MTB6-NBH2084 35 15 1100 E il
4L L s 5k
o ! BST$23L 71 431G BE Rt size(mm) | #4
TBS..30° TBS..45° TBS..90° BS..30° BS..45° BS..90° . s
ji%g% : : e K467H1TC KAGHHC K46ﬂTc KBDCC Ksz‘lhc K6ﬂcc BST Borlng CUtterTOOIhOIder Order MOdeI D L RMB j(%ls%
o | a4 | . 511072 BT40-BST-70 50 70 1100 chk
P! Rough boring . - 511074 BT40-BST-100 50 100 | 1100
=il : ! TR 30° TR 45° THEME 90° TR 30° TR 45° TIHEME 90° e P 511076 BT40-BST-150 50 150 1301 =il
$hk (- L3 20-190mm| 8718 H20~190mm| 8713820~ 100mm| 8L 3 B20~190mm| 87138 H20-190mm | 7L 38 M20-190mm 511078 BT40-BST-200 50 200 1400 $h sk
— o e Aunt HEAT R A 511080 BT50-BST-100 50 100 | 1100 ETR
fﬁ%% : : K45 K45 K45 K45 K46 71} K46 71} K46  TIATP 511082 BT50-BST-150 50 150 1301 §E15T:
= 27 7 & N_ \ . uees | gmesere | | x|
| " _BST-
Lo "/ v ) 511088 BT50-BST-300 50 300 | 2000
L 7Aoo 17 B S0 17098 M-S0 167 o S| 170 fe RS0 10 e S0 S0rm 511090 BT50-BST-350 50 350 | 2250
I 1 zgﬁ fHEmT HEMT AEMT HEMT MEMT AEMT HEmT ‘ 51 1 092 BTSO_BST_400 50 400 2501
— Pl A s e - - . o s 511094 BT50-BST-450 50 450 | 3251 —
HBOR 1 | Fineboring g flAaemaa e L e el ”*"’*”} rE— M 511096 BT50-BST-500 50 500 | 4001 e
gBBlg CrTTTTTmTmmmmmmmmmmmmm T = 2 ﬂ .gﬁ% @‘4 i ] 511098 SK40-BST-100 50 100 | 1500 CBH
¥ b | k /g b = D 511100 SK40-BST-150 50 150 | 2000 i
R4 ! 7;;%%1: oK %ﬁu ok | mmnm or | nmEm ek | mminh NEED A | 7D 6 :dj” 1 clllile Shless Ul 2l U jel %éﬁ
—_— : . . A0 160mm| BEEE2-160mm | FEEEE2-10mm S E20-203mm| i E2o S E20-42mm | $7LIEE10-50mm ﬁ_ 511104 SK50-BST-150 50 150 2000 —_—
NBJ I INFLIBERESE FRTLAH0.002mm | HATLINIE0.002mm | FREEFLIIH0.002mm | HEMTLAHHO0OTnn | ST FTLH0.01nm HHEMT 511106 SK50-BST-200 50 200 2501 NBJ
NBH | Small hole fine boring and suit Tl CET s TR T O e 511108 SK50-BST-250 50 250 | 3000 NBH
I e o pers T E—— s 511110 SK50-BST-300 50 300 | 3500 %ﬂ
X % %m . / -, 511112 NT50-BST-100 50 100 | 1500
TWE W Ty w juns égﬁf ol 511114 NT50-BST-150 50 150 | 2000 TWE
. ; i P BSTHBEEFL I L EMFRT (3EFLSEE>0200) : RBH
%Bz: Z%%%%E;{T Z%%%%;;E‘: *;%%g??;im 1;%%%{;%;”71 x;%%%%%?ﬂ zg;%é?ézg?mm iﬁ%}i}finwm BST Basic Holder For Roug hﬂﬁecs And Precision Boring Bar(boring Range> @200) Ogﬁig g! 'Fj_l R TJ- Size (mm) iﬁ? gz%
_R% - - - e R ‘ rder Model D L | RMB s
g3 BST 7]1#  NBH20847]# BT-LBKJI# SK-LBKJJ# HSK-LBKJI#& HE#LBKJ]# MT-LBKJ]# LBKERIEKFF LBKEIRAT] i?LJ]?& 511116 MT4-BST-100 50 100 1000 £E L
LR~ , | K3 2 K32 K47 K47 511118 MT5-BST-100 50 100 | 1000 —
% ’ % A , / ’ 511120 MT6-BST-100 50 100 | 1333 #7]
= = 511122 MT6-BST-150 50 150 | 1667 -
RSk B 3 TR N ) I e I e W 511124 MT6-BST-200 50 200 2000
st BN B 775 D N5 N 7200 S O I 511126 MT6-BST-250 50 250 | 2333




BE AL T NBH/BST$# L 7J48 = NBH/BST Boring Tool Holder

High Efficiency Boring

BT-LBK 4% 3L 7] #% SK-LBK % J1#% C20/25/32-LBK 71 4% MT-DCK # 1% P ——
~ i C20/25/32-LBK Boring Cutter Toolholder MT-DCK Boring Cutter Toolholder Eitoctve maching cepth
BT-LBK Boring Cutter Toolholder SK-LBK Boring Cutter Toolholder .

L
L Co] < [1 <
o [ o1}] «f D1I of |
T ~ L1
' *ﬁ TT Yn 5 A= R 7 Size (mm) WBee | BN EEi) 2=
7 B oo D1|D | d|L1|L
- Order Model SCREW| RMB Order Model
I B Hr= ' b
v
M — i 511490 | C20- LBK1-75 20 19 11 | 1075| 75 SM4 1000 511620 | MTA3- DCK1-47 19 11 47 SM4 600
‘ 511492 LBK2-70 20 | 24 14 | 1055| 70 SM5 1000 511622 DCK2-67.5 24 14 675 | SM5 600
511494 LBK2-120 | 20 | 24 14 | 1555| 120 | SM5 1000 511624 DCK3-64 31 18 64 SM6 600
)= 25 () 511496 LBK3-70 20 | 31 18 110 | 70 SM6 1000 511626 DCK5-48 50 | 28 48 | sM10 600
- %5 BS R st Size (mm) iger | B 511498 LBK3-120 | 20 | 31 18 160 | 120 | SM6 1000 511628 | MTA4- DCK1-51.5 19 11 515 | SM4 750
511500 LBK4-60 20 | 39 | 22 17 | 60 SMm8 1000 511630 DCK2-74 24 14 74 SM5 750
B | o Rt si AR Order Model D | d | L1 L |scReEw RvB 511502 LBK4-110 | 20 | 39 | 22 | 157 | 110 | sms | 1000 511632 DCK3-65.5 31 | 18 655 | SM6 | 750
g 8BS S Sl (i) RES I 511504 LBK5-60 20 | 50 | 28 17 | 60 | SM10 | 1500 511634 DCK4-59.5 39 | 22 595 | SM8 750
Order Model D | d | L1 L |scREW RMB /) SKa0 LBKI-T08 2 | 14 | 663 16 | Sws | oo 511508 Lke:60 | 20 | 64 | 3 | 131 | 60 | Swi2 | 160  _ siioe DCKo0s | o1 | s0s | Swi2 | 750
511364 LBK3-125 31 18 8 | 125 | swme 600 511510 LBK6-120 | 20 | 64 36 191 | 120 | SM12 | 1500 511640 | MTA5- DCK1-78.5 19 11 785 | SM4 1000
511200 | BT30 LBK1-70 19 1 | 505| 75 350 511366 LBK4-130 39 | 22 10 | 130 | Swm8 600 511512 | C25- LBK1-75 25 19 1| 1075] 75 SM4 1000 511642 DCK2-74 24 14 74 SM5 1000
511202 LBK1-105 19 1 | 505|105 | SM4 350 511368 LBK5-125 50 | 28 13 | 125 | SM10 600 511514 LBK2-70 25 | 24 14 | 1055| 70 SM5 1000 511644 DCK3-95.5 31 18 955 | SMé 1000
511204 LBK2-80 24 M| 505|130 [ o 475 511370 LBK6-65 64 | 36 16 | 65 | SM12 600 511516 LBK2-120 | 25 | 24 14 | 1555| 120 | SM5 1000 511646 DCK4-85.5 39 | 22 855 | SM8 1000
511206 LBK2-115 24 1 | 505| 165 600 511372 | SK50 LBK1-105 19 11 | 505| 105 | SM4 1500 511518 LBK3-70 25 | 31 18 110 | 70 SM6 1000 511648 DCK5-74.5 50 | 28 745 | SM10 | 1000
511208 LBK3-80 31 11 | 505| 195 1000 511374 LBK2-115 24 14 | 662 | 115 | SM5 1500 511520 LBK3-120 | 25 | 31 18 160 | 120 | SM6 1000 511650 DCK6-60.5 64 | 36 60.5 | SM12 | 1000
511210 LBK3-110 31 28 | 662 75 SMme 350 511376 LBK3-125 31 18 8 | 125 | sMme 1500 511522 LBK4-60 25 | 39 | 22 117 | 60 SM8 1000 511652 | MTA6- LBK6-95 64 | 36 95 | SM12 | 1200
511212 LBK4-70 39 | 28 | 662|125 | oo 350 511378 LBK4-130 39 | 22 10 | 130 | SMm8 1500 511524 LBK4-110 | 25 | 39 | 22 157 | 110 | SM8 1000 511654 LBK6-170 64 | 36 170 | SM12 | 1750
511214 LBK4-115 39 | 28 | 662 175 475 511380 LBK4-170 39 | 22 10 | 170 | SM8 2000 511526 LBK5-60 25 | 50 | 28 117 | 60 | SM10 | 1500 511656 LBK6-230 64 | 36 230 | SM12 | 2250
511216 LBK5-70 50 | 28 | 662 | 235 600 511382 LBK5-125 50 | 28 13 | 125 | SM10 | 1500 511528 LBK5-120 | 25 | 50 | 28 177 | 120 | SM10 | 1500 511658 LBK6-290 64 | 36 290 | sm12 | 2750
SM10
511218 LBK5-130 50 14 13 | 110 1000 511384 LBK5-180 50 | 28 13 | 180 | SM10 | 2000 511530 LBK6-60 25 | 64 36 131 | 60 | SM12 | 1500 42 T It
511220 LBK6-60 64 14 13 | 140 [T guo 350 511386 LBK5-240 50 | 28 13 | 240 | SM10 | 2750 gnggi - tg&?-;go gg %1 ?16 1109715 1725? Ss“()f 1888 LBKZFE R LK IEH L 4
511222 LBL6-125 64 14 13 | 175 350 511388 LBK6-115 64 | 36 16 | 115 | SM12 | 1500 - - . ) ) =
511224 BT40 LBK1-75 19 1 13 T 235 500 511390 LBK6-170 64 36 16 | 170 SM12 2000 511536 LBK2-70 32 24 14 | 1055| 70 SM5 1000 LBK Extension Toolholder of the same diameter I
511226 LBK1-105 19 11 | 505| 85 1000 511392 LBK6-230 64 | 36 16 | 230 | SM12 | 2750 511538 LBK2-120 | 32 | 24 14 | 1555| 120 | SM5 1000 7 T
511228 LBK1-130 19 1 | 505| 15 | swa 900 511394 LBK6-290 64 | 36 16 | 290 | SM12 | 3750 511540 LBK3-70 32 | 31 18 10 | 70 SM6 1000 w Y _1p
511230 LBK1-165 19 14 | 662 | 150 1000 511542 LBK3-120 | 32 | 31 18 160 | 120 | SM6 1000 d1
511232 LBK1-195 19 14 | 662 | 175 1100 511544 LBK4-60 32 | 39 | 22 17 | 60 SM8 1000 l
511234 LBK2-85 24 | 18 8 | 220 1820 HSK-LBK %’é‘ j] ﬁ 511546 LBK4-110 | 32 | 39 | 22 | 157 | 110 | sms | 1000 —
511236 LBK2-115 24 18 8 95 350 ) 511548 LBK5-60 32 50 28 17 | 60 SM10 1500
511238 LBK2-130 24 22 10 | 125 SM5 600 HSK-LBK Boring Cutter Toolholder L 511550 LBK5-120 | 32 50 28 177 | 120 | SM10 | 1500 1) =2 ~1 Size (mm 44
511240 LBK2-165 24 | 22 10 | 155 350 1T 511552 LBK6-60 32 | 64 36 131 | 60 | SM12 | 1500 %5 s Rt (i) B4 | B
511242 LBK2-200 24 28 13 210 600 511554 LBK6-120 32 64 36 191 | 120 SM12 1500 Order Model D d1 d2 L |SCREW| RMB
511244 LBK3-95 31 28 13 | 70 350 —
3R 511246 LBK3-125 31 | 36 | 16 | 105 | gy | 600 N ,:qo NT-LBK £ JJ# (22 il 2F) PRIR
v 511248 LBK3-155 31 | 36 | 16 | 80 350 D NT-LBK Boring Cutter Toolholder(Metric) 511660 | LBK1- 1-30 o mo | Mo 80 | SMa 175 Bk
N 511250 LBK3-210 31 14 | 662 | 115 600 - L 511662 1-45 19 11 1 45 SM4 200 L=
. 511252 LBK4-85 39 14 662 | 80 350 s ! | B oaeeniis / 511664 1-60 19 1 1 60 SM4 200 stgk
555 511254 LBK4-115 39 14 | 662 | 110 600 R / 7 AT 511666 | LBK2- 2-30 24 14 14 | 30 SM5 175 T
— 511256 LBK4-150 39 14 | 662 | 70 sMm8 350 y ( ol > = g D 511668 2-45 24 14 14 | 45 SM5 200 —
=i 511258 LBK4-175 3 | 14 | 662| 118 600 @ R U“\JW sero | 260 2 | 14 | 14 | &0 | s | 20 Fib
R 511260 LBK4-220 39 | 22 10 | 70 350 = : 51167 - 3- L
ik 511262 LBK5-75 50 | 22 | 10| 130 350 4R g Bs R~} Size(mm) | 8222 | B stiers 345 39| 18| 18 | 45 | Swe | 25 ke
511264 LBK5-125 50 | 22 10 | 60 475 ; -
VMD 511266 LBK5-175 50 | 22 | 10 | 125 | SM10 | g0o Order Model D | d ]| LT L |SCREW RMB Eh) 8= R <1 Size (mm) w242 | B 511678 3-95 31 | 18 | 18 | 95 | swe 500 j\Q/QAEDJ—
jq %E 9: 511268 LBK5-235 50 22 10 85 1000 511680 LBK4- 4-45 39 22 22 45 SM8 200 <
N 511270 LBK6-65 64 | 18 | 8 | 115 350 511306 | HSK50A LBKA1-70 19 | 11 | 505| 70 | sm4 | 3750 Order jModel D|d L |SCREW| RMB oy 4-60 V|2 2% M 27 e
ETRIN 511272 LBK6-115 64 | 18 | 8 | 130 350 511398 LBK2-80 24 | 14 | 662| 80 | SM5 | 3750 s1es 4-100 39 500 ghoe
511274 LBK6-165 64 | 18 8 | 165 | smi2 | 600 511400 LBK3-80 31 | 18 8 | 80 | SM6 | 3750 511556 | NT40- LBK1-75 19 | 1 75 | sw4 600 gﬂggg LBKS- ggg gg gg §§ gg gmg ggg
—_— 511276 LBK6-200 64 18 8 | 200 1000 - n - o
mp o gEe | mexs o ) o)X o T pate | 2| 2| o) | e | g e | tmas e m e e S | S o (2|2 || S| w2
&h sk 511280 | BT50 LBK1-115 19 | 3 | 16 | 115 350 511406 LBK6-90 64 | 36 | 16 | 90 | swi2 | 3750 511562 LBK4-85 3972 2 | sme 600 511692 | LBK6- 6-60 64 | 36 | 36 | 60 | SM12 | 325 £hk
_— 511282 LBK1-145 19136 | 16| 165 | 600 511408 | HSK63A LBK1-75 19 | 11 | 505 75 2250 511564 LBK5-75 50 | 28 75 | SM6 600 51]232 g']gg SZ‘ gg gg ]gg gmg 388 S
3 28 e s I O 20 1000 511410 LBK1-105 19 | 11 | 505|105 | o, | 2250 511566 LBK6-65 64 | 36 65 | sms | 600 5 = S 3 2%
- 511412 LBK1-135 19 1 | 505| 135 2500 511568 LBK6-65(5/8) 64 36 65 SMm8 600 =74 < f3E e 14
Fie ¢+ 511288 LBK2-110 24 " 505 | 115 900 511414 LBK1-165 19 1 5.05 | 165 2750 511570 NT50- LBK1-105 19 1 105 SM4 1200 LBKT#{IE‘{K}RM
o120 EBK2Z140 24| 15051 145 gy, | 1000 511416 LBK2-85 24 | 14 | 662 85 2250 511572 LBK2-110 24 | 14 10 | SM5 | 1200 LBK Extension Toolholder with different diameter
511292 LBK2-175 24 | 1 | 505 175 1100 511418 LBK2-115 24 | 14 | 662| 115 | o | 2250 511574 LBK3-125 31 | 18 125 | SM6 | 1200 .
511294 LBK2-235 24 " 5.05 | 200 1350 511420 LBK2-130 24 14 | 662 | 130 2500 511576 LBK4-115 39 22 115 SM8 1200
511296 LBK3-125 3t | 28 | 13 ] 105 900 511422 LBK2-165 24 | 14 | 662 | 165 2750 511578 LBK5-105 50 | 28 105 | SM10 | 1200
Silli298 EBRSZISS S 3 0 65D 1000 511424 LBK3-95 31 | 18 8 | 9 2250 511580 LBK6-95 64 | 36 95 | SM12 | 1200
511300 LBK3-185 ST 28 | 13 240 1100 511426 LBK3-125 | 31 | 18 | 8 | 125 | SM6 | 2250 511582 LBK6-170 64 | 36 170 | SM12 | 2000
—_— gnggi tgﬁgg;g g] gg lg ggg SM6 ]ggg 511428 LBK3-155 31 | 18 8 | 155 2500 511584 LBK6-230 64 | 36 230 | SM12 | 2750 . m
HBOR - 511430 LBK4-85 39 | 22 10 | 85 2250 511586 LBK6-290 64 | 36 290 | SM12 | 3750
511306 LBL3-290 31 18 8 | 125 1820 511432 LBK4-130 39 | 22 10 | 130 | SM8 | 2500 ) = <+ Size (mm 44 CBI
ggﬂ{ 511308 LBK3-350 31 | 18 | 8 | 155 2500 511434 e T Tz e o CKE 12 IE K 14K g | BS R~ (mm) w242 | B4 oo
e o LBKa-115 S A B (e o0 511436 LBK5-75 50 | 28 | 13| 75 2250 : : L Order | Model |[D1|D2| d1|d2| L1| L |SCREW RMB e
i 45 511312 LBK4-145 39 18 8 | 215 1100 511438 LBK5-125 50 28 13 | 125 | sm10 2250 CK Extension Toaolholder of the same diameter - Lt tg'%;
47 511314 LBK4-175 39 18 8 | 255 1260 511440 LBK5-175 50 | 28 13 | 175 2750 — A4
A% 511316 LBK4-205 39 18 8 | 290 SM8 1820 511442 LBK6-65 64 36 16 | 65 2250 e — [ 511698 | LBK2-1-36 | 11 19 14 - 30 36 SM5 500 _
511318 LBK4-255 39 18 8 | 350 2500 511444 LBK6-115 64 36 16 | 115 | SM12 | 2250 . - I D 511700 | LBK3-1-41 | 11 19 18 L 30 41 SM6 500 NBJ
NBJ 511320 LBK4-305 39 | 22 | 10 | 115 900 511446 LBK6-165 | 64 | 36 | 16 | 165 2750 ] a1 511702 237 | 14 | 24 | 18 | 31 | 25 | 37 | sme | 500
NBH 511322 LBK4-355 39 | 22 10 | 145 1000 511448 | HSK100A LBK1-115 19 MO[E05] M5 [ g 3500 ; l 511704 | LBK4-1-58 | 11 19 | 22 | 37 [ 40 58 SM8 580 NBH
47 5“232 tEE?Té’S’ 58 23 18 ;(7)2 ggg 511450 LBK1-145 19 | 11 | 505| 145 3500 g 7 511706 2-50 | 14 | 24 | 22 gg 36 | 50 | swm8 580 27
; 5 = 5 511452 LBK2-110 24 14 | 662 | 110 3500 511708 3-50 | 18 | 31 22 37 50 Sm8 580 BES
A+
X gnggg tgﬁg-ﬁ?gg gg gg 18 ggg SM10 124218 511454 LBK2-140 24 | 14 | 662| 140 | SM5 | 3500 =R = JR ~F Size (mm) R4y | By 511710 | LBK5-1-60 | 11 [ 19 | 28 [ 27|40 | 60 | SMi0 | 650 ki
[ = 511456 LBK2-175 24 14 | 662 | 175 4000 511712 2-54 | 14 | 24 | 28 35 | 54 | SM10 650
TWE 511332 LBK5-350 50 | 22 | 10 | 355 2500 511458 LBK3-125 31 | 18 8 | 125 3500 Order Model D | d1|d2| L [SCREW| RMB 511714 274 | 14 | 24 | 28 | 0 | 55 | 74 | swmi0 | 650 TWE
RBH 511334 LBK6-95 64 36 16 | 95 900 511460 LBK3-155 31 18 8 | 15 | gue 3500 511716 347 | 18 | 31 28 | %0 29 | 47 | sm10 650 RBH
e e 511336 LBK6-140 64 36 16 | 140 1100 511462 LBK3-185 31 18 8 | 185 4000 511588 | CK1- 1-30 19 1 1 30 Sm4 400 511718 3-72 | 18 31 28 50 54 72 SM10 650 4g ik
1H £2 TH 2
E s 511338 LBK6-170 64 36 16 | 170 1100 511464 LBK3-215 31 18 8 | 215 5000 511590 | CK2- 2-30 24 14 14 30 SM5 400 511720 4-42 | 22 39 28 50 25 42 SM10 650 Z 5
R4 511340 LBK6-230 64 36 16 | 230 1260 511466 LBK4-115 39 22 10 | 115 3500 511592 2-45 24 14 14 | 45 SM5 400 511722 4-67 | 22 39 28 50 50 67 | SM10 650 T
— 511342 LBK6-290 64 | 36 16 | 290 1820 511468 LBK4-160 39 | 22 10 | 160 | SM8 | 4000 511594 | CK3- 3-30 31 18 | 18 | 30 SM6 400 511724 | LBK6-1-70 | 11 19 | 36 | & [ 40 | 70 | smi2 750 Tor o |
g sk 511344 LBK6-350 64 36 16 | 350 2500 511470 LBK4-205 39 | 22 10 | 205 5000 511596 3-45 31 18 18 | 45 SM6 400 511726 2-63 | 14 | 24 36 | 84 | 45 | 63 | sm12 750 sk
e 511346 LBK6-400 64 36 16 | 400 | sMm12 3000 511472 LBK5-105 50 28 13 | 105 3500 511598 | CK4- 4-45 39 22 22 45 SM8 400 511728 2-93 | 14 24 36 64 75 93 | SMm12 900 _—
7] 511348 LBK6-450 64 36 16 | 450 3500 511474 LBK5-180 50 28 13 | 180 | SM10 | 4000 511600 4-60 39 22 22 60 SM8 450 511730 3-56 | 18 31 36 64 39 56 | SM12 750 ® 7]
B 511350 LBK6-500 64 36 16 | 500 4000 511476 LBK5-240 50 28 13 | 240 5000 511602 | CK5- 5-60 50 28 28 | 60 SM10 500 511732 3-96 | 18 31 36 64 79 96 | SM12 900
511352 LBK6-550 64 36 16 | 550 4500 511478 LBK6-95 64 36 16 | 95 3500 511604 5-90 50 28 28 | 90 SM10 600 511734 4-51 | 22 39 36 64 35 51 SM12 750
511354 LBK6-600 64 36 16 | 600 5000 511480 LBK6-170 64 36 16 | 170 | oo | 4000 511606 | CK6- 6-60 64 36 36 | 60 SM12 500 511736 4-101| 22 39 36 64 85 | 101 | SMm12 900
511356 LBK6-650 64 36 16 | 650 5500 511482 LBK6-230 64 36 16 | 230 5000 511608 6-100 64 36 36 | 100 | SM12 600 511738 5-41 | 28 50 36 64 25 41 SM12 750
511358 LBK6-700 64 36 16 | 700 6000 511484 LBK6-290 64 36 16 | 290 6000 511610 6-120 64 36 36 | 120 | sSm12 750 511740 5-91 | 28 50 36 64 75 91 SM12 900




HBOR Precision

® SELESEl) I FE 4 ‘
MZG II-?g;&EfficiencyBoring HBOR *ﬁ j'?;?l'?’\‘gﬁ Boring Cutter System

Qi A1) ek € PN
HBOR % 24 fx 1B #5 #& 7L 7] £ HBOR25 1R 4 B ¥E 7L R 4
HBOR Micro-Finishing Cutter Fine Boring System 8 HBORZ25 Micro-Finishing Cutter Fine Boring System
Y L ﬂ W BE Rt Size(mm) | E8 | #f
N 1 T Order Model L1 Weight RMB
¥ x T I 3 CHwe 511790 | BT30-HBOR25P | 35 0.63
e Q0o ';3 ( -~ 0 w0 511792 | BT40-HBOR25P | 40 1.22
P, T l i - i 511794 | SK30-HBOR25P 30 0.58
L = 511796 | SK40-HBOR25P 30 0.72
511798 | HSK63-HBOR25P | 40 0.92
= ; : AR5 NEE T]
4515 ilR=3 $EFLIEE R ~F Size (mm) ¢H 14 Assembly E By Carbide small boring cutter
b g
Order Model Boring Range| D L |EtkBody| MA MB 71 K EE Toolholder | Weight RMB — 0s TR ] T osmn
»\ L1 |._14mm
511750 HBOR25M 29-38 25 50 HBOR25 M5x12 SRTP2938 0.16 8000 = —
511752 HBOR32M 36-52 32 63 | HBOR32 | M6x12 SRTP3652 0.37 | 8000 %55 e SEE (R sizem) ZEE | B
511754 HBOR40M 44-68 40 63 HBOR40 | M6x12 SRTP4468 0.53 9000 Order Model Range | L1 | @d |Weight RMB
511756 HBOR50BM 57-90 | 50 80 | HBOR50 | BM8x20 SRTP5790 1.05 | 9000 511810 | CA0602-09T | 232 | 9 | 2 | 001 | 400 1
511758 HBOR63BM1 | 70-110 | 63 80 | HBORG3 | BM8x20 | M8x14 SRTP70110 1.65 | 11000 511812 | cA0603-16T | 342 | 16 | 3 | o1 | 400 . 2 C 3
511760 HBOR63BM2 110-150 63 80 HBOR63 | BM8x20 M8x14 SRTP110150 1.76 11000 511814 | CA0604-22T 5-5.2 22 4 0.02 400 c
, . 511816 | CA0605-27T | 5-6.2 | 27 5 0.02 400 l £ 00 1mm { © 1 5
HBOR *&gﬂiﬁﬁlﬁ*ﬁ%ﬂ,ﬂ_&% E 511818 | CA0606-32T | 6-7.2 | 32 6 0.02 400 } Z @) s
. - . . . [ & ©
HBOR Micro-Finishing Cutter for Revers Fine Boring Head 8 £B 4 B 1 T1#F ¥ 5 S
8 Carbide anti vibration Toolholder Nl J [ ZFREH WA R %I E 3
i@Gmm Vice Graduation Adjust the Graduation
N | L1 |14mm | Max 1mm ~——— Max 1mm
x TT s BB | WS | umE |[FE| K | Bz [5F =28 | 26
8 a -? :@¢MA ] Order Model Range L1 Insert Screw |Wrench|Weight RMB o o 0o 0o 0o o o) o o o
T l T Uz Uz Uz Lz eddeig) |20 |2
v 511830 | CB06050-21 5-6 21 0.008 | 800 S e e e Hemariellel |g] |2
L 511832 | CB06055-26 |5.5-6.5| 26 |cc..03.| M1.6x3| T6 | 0-010 | 800 2 bz I S e 2t atiel 12] |2
— £ ; 511834 | CB06060-26 6-7 26 0.011 | 800 I R B - e e T ~ LT ]9%7?
e ~ - D+HBOR 511836 | CB06065-31 | 6.5-7.5 | 31 0.015 | 800 A O R
ghk TII@: bz 511838 | CB06070-31 7-8 | 31 [CC.04.| M2.0x4| T6 | 0.016 | 800 VRV ghk
N ) = u i = PN PN i
4 D BE 48 7| 36 @l Rt Size (mm) 48 ¢ Assembly EE | 2 HBORS32 1R A M B I FL R % HBORA40 1R A M B L R % ik
b Order Model Boring Range] M3 | M2 | D |ZE{KBody] MA MB 7] F EE Toolholder |Weight RMB HBOR32 Micro-Finishing Cutter Fine Boring System HBOR40 Micro-Finishing Cutter Fine Boring System Eib
3 = " = = . = £k
ik 511770 HBOR25 MK 29-38 50 | 42 | 25 | HBOR25 | M5x12 FKTP2938 0.16 | 10825 Ym g S R} Size(mm) | &2 | #1) Y15 S Rt Size(mm) | =& | & L=
VMD 511772 HBOR32 MK 36-52 63 [52.5| 32 | HBOR32 M6x12 FKTP3652 0.37 12925 Order Model L1 Weight RMB Order Model L1 Weight RMB VMD
PN 511774 HBOR40 MK 44-68 63 | 53 | 40 [ HBOR40 | M6x12 FKTP4468 0.53 | 13475 511850 | BT30.HBOR32P e o6 511670 | BT30.HBOR4OP . 0o Ak
? 511776 HBOR50 BMK 57-90 80 [64.5| 50 | HBOR50 | BM8x20 FKTP5790 1.05 12000 511852 | BT40-HBOR32P 20 135 511872 | BT40-HBORA4OP 40 134 gt
x 511778 HBOR63BMK1 | 70-110 | 80 |62.5| 63 | HBORG3 | BM8x20 | M8x14 FKTP70110 1.65 | 13000 511854 | SK30-HBOR32P | 35 0.71 511874 | SK30-HBOR4OP | 35 09
2500 511780 HBOR63 BMK2 110-150 80 [62.5| 63 | HBOR63 | BM8x20 M8x14 FKTP110150 1.76 13000 511856 | SK40-HBOR32P 35 1.30 511876 | SK40-HBOR40P 35 1.29 2=
EESL 511858 | HSK63-HBOR32P | 40 1.32 511878 | HSK63-HBOR40P | 45 0.92 £h 3L
~ .z HBORB3+BM140 fRABOAME L+ ER S B SMNET] Era
§E1$ HBOR50+BM140 Micro-Finishing Cutter Fine Boring + outer circle system Carbide small boring cutter n H [iTyR ==
W e f__ L1 | imm LBK
BST Y 15 RS wE |RY seewm| B8 | B EE;L
8 ] [ wze Order | Model | Range | L1 | @d |weight | RMB Lt
TR == J
_ | : h — 511890 | CA0802-09T | 2-3.2 9 2 0.03 600
/e ,’F‘ 1 o0t © £ 511892 | CA0803-16T | 3-42 | 16 | 3 | 0.03 | 600
ey ; g 511894 | CA0804-22T | 5-52 | 22 4 0.03 600
\"’ ? D ROk s 511896 | CA0805-27T | 5-6.2 | 27 5 0.04 600
% S 511898 | CA0806-32T | 6-7.2 | 32 6 0.04 600 J MZG
s SEUEF AR R 511900 | CA0807-37T | 7-8.2 | 37 7 0.04 600 N 2
———— / 1y —— Vice Graduation Adjust the Graduation 511902 CA0808-42T 8-9.2 42 8 0.05 600 { @ w c
NBJ A ,[ Max 4mm ~—— Max 4mm %%gﬂ Bﬁiﬂﬁnﬁ: ' — %EO.Wmm § NNS;
$2 7 h [] BMB Carbide anti vibration Toolholder D!-I l Do @ b =L
E%@ (7% ‘ ‘ L1 ‘ 14mm ‘ 05 HBOR32/40 E’Zié
{5 -] ) [
— | T I 3 3 2 = SEUER #B R % B EF
TWE \ BM140 20mm gﬁﬁg i_q _;'EE /*JE HH T\?— ﬁqﬁ EE Vice Graduation Adjust the Graduation TWE
RBH - S Y O B Order Model Range L1 Insert Screw | Wrench| Weight Max 2 Max 2 RBH
e ax 2mm ~———— Max2mm W s
iy % ex14cAP [] Q M8x20CAP 511910 | CB08070-31 | 7-8 | 31 0.020 | 800 %ﬁj%
A5 4 SRTP2938 SRTP3652  SRTP4468 SRTP110150 511912 | CB08075-36 | 7.5-8.5 | 36 0.025 | 800 s
N s - ~ ™ Ty AT 511914 | CB08080-36 8-9 36 0.030 | 800 R
sk BM1404& #& 7] #F iz FH FHBORG63 7] #F m % = - //‘\g 511916 | CB08085-41 |8.5-9.5 | 41 0.035 | 800 ik
% 7] BM140%5 #E 35 59150~280mm Q Q Q SRTP70110 511918 | CB08090-41 9-10 | 41 |CC..04..| M2.0x4 | T6 | 0.040 | 800 g % % % % % % § ;-f % g % é g g g %71
_Ww 511920 | CB08095-41 [9.5-10.5| 41 0.040 | 800 ce e e e e Hemamemeellel 2] g |2 ———
. . : _ MEXTZCAP MOXTZCAR — MOXT2CAP A 511922 | CB08100-41 | 10-11 | 41 0.040 | 800 -z 4z s S Us s s dEHEUSWEE]|E] (3] 13| |2
BM140 Micro boring holder matches with HBOR63 boring head. Q 511924 | CB08105-41 [0.5-11.4 41 0.040 800 S
The boring range of BM140 boring system is from 150-280mm. M8x20CAP 511926 | CB08110-41 11-12 | 41 0.040 | 800

w
o



HBOR Precision
Boring Cutter System

S EEFLMT

HBOR f5iEfL &R %

CBHIRRA$ETI &R
CBH Modular Boring Tool

MZG"

HBORS50 tR A AR EFL R 4t

HBORS50 Micro-Finishing Cutter Fine Boring System

High Efficiency Boring

SEE, Bh, #ESE-EENEEZESR

4 F5 BS SeE EE | 2
Order Model Range L1 |weight RMB HIGH PRECISION,BIG POWERAND EASY OPERATION-THE BEST CONNECTION STYLE
511930 | BT30-HBOR50-14P 06-90 70 5.84 19000 A B = v g T 4 J SE 7 Asp |
511932 | BT40-HBOR50-14P 06-90 75 6.42 19000 N st *'Zlﬁdg; | Ext L‘bdfﬁﬁ L&LSt | B}’:TJ.J::F/wi Enﬂtﬂqii
511934 | BT50-HBOIR50-14P 06-90 90 9.07 20000 %Te_H*S;\:Viﬁh; andar yle xtension Using Style Prevent interpose style Complex Machinning Style
511936 | SK30-HBOR50-14P 06-90 55 5.97 19000
511938 | SK40-HBOR50-14P 06-90 50 6.39 19000
511940 | SK50-HBOR50-14P 06-90 50 8.62 20000
511942 | HSK63-HBOR50-14P [ 06-90 50 6.13 21000 \\w//
#HRIRL
TAPER SCREW
| MZG
! ] | | \ ]
- s ] s
L_ i 18 0 R
l 1 001 { (©) \ £ END FACE CLOSED
B . < KR FER RN EfT
‘ \@O ° Extension Bar Switch Bar ( Big To Small) Chamfering Cutter
Q 05 HBOR50
[ 0 sZuEH @ MR 2B 1ARESOE R IR 2L, MEENERBMEN N, FETEESAFREWKE. (ﬁulA)
Vice Graduation Adjust the Graduation 2BHRNR, JUBERRENTIEERMARMIRE, KA. #EREL (KB BNTIREER, BIATABERNME, XATURBLETFS,
Max 2mm Max 2mm ?‘EEA@%%Témﬂéﬁk?—nﬁﬂ’]#mﬂ% (a0[EB) o
LTI SEEXSXRGNEREEEESHURTNELRMET], TRBRFIHEE, BRETERE, BIRESHAK.
1. Depending on the 30 degree tapered screw, the tightening force is converted into axial tension, so that the end face of the boring cutter and the
@ @ @ o o @ @ o end face of the main body are closely connected. (as shown in figure a)
> > > > > > > > 2. Modular design, free to set machining diameter and effective machining depth, matching. The change-over joint (large joint and small joint) reduces
3 3 > I I > 5 R the tool diameter, which ensures the rigidity,It can also prevent interference, and can be freely combined into the most suitable boring tool
SHBL SIS (8] |8 (& |8 (as shown in Fig. b) with the chamferer
s & 3. Because the connection precision between boring head and body is very high, itis necessary to seal the boring head separately, which can reduce iR
H%]r‘ A A A the labor intensity, improve the working efficiency and reduce the comprehensive cost. S
K L&l 4 3k
sk SRTP SRTP  SRTP -
—_— 2938 3652 4468 o ST
" [} (o 3
Rl HBORG63 R A VA HEFL R % g CBH =R EEIP MBI 1K B 4
N 2 il Vel 1/ RE t . . BEigs Bladeb Block s
Eib HBORGS Micro Finiehing Cutter Fine Boring S The Name Of The Main Part Of Products With CBH Fixed Sorew Eil
&h s icro-Finishing Cutter Fine Boring System &Sk
o | &E Be s6 B8 | B . 15 P I 5 /\ D
4. _Order |  Model Range | L1 |Weiht | RMB Sequence of use N Kk
= - CBHEE
718 511950 | NT40-HBOR63-15P 06-150 65 7.2 21250 _E' CHB Stem /// gh o
ke 511952 | NT50-HBOR63-15P | 06-150 | 95 | 9.8 | 22250 ESBER, BTHIFE-IRFEE L
z=0) 511954 | BT40-HBOR63-15P 06-150 65 7.2 21250 Please Operate The Following Step(1- 5)accord|ng To The Diagram Figured =il
&bk 511956 | BT50-HBOR63-15P | 06-150 | 95 9.8 22250 3k
[ — 511958 | SK40-HBOR63-15P 06-150 65 7.2 21250 1*’&%@,"@@?& _—
SR 511960 | SK50-HBOR63-15P | 06-150 | 95 9.0 | 22250 2 3R IGRT 5T 75 [ hEdE B RES, ﬁnulaféiﬂgjc, BEEHAZIE AD0. 01mm, ik
B 14 511962 | HSK63-HBOR63-15P | 06-150 | 65 7.0 | 23500 i & 3. ¥E RS 5 s RS, 1§j]uIE_{_;ZE)}§2/j\f ‘ e
— o 4 EERS ML, R B, LR R A A P
LBK = 5. MEEMERTH, AEUENHENSEEEIEL. " LBK
BST g CBHAXH BST
sy s 7| TIAF LR 4 _ 1. Loosen the fixing screw Mirco Adjusting Knob CBH Head 27
TR S = !_I. l @16mm 2. Turn the knob clockwise to increase the machining diameter, and adjust the knob scale to @0.01mm. TR
Cutting Insert Toolholder &2 3. Turn the knob anticlockwise to reduce the machining diameter. E—
| L1 | 14mm | 4. When adjusting the dimension processing, please make fine adjustment in the same direction to ensure the precision of fine adjustment.
5. When fine tuning to the required size, please lock the fixing screw with proper torque.
%8B | me | wmE |RE| 0K | 8z [5F) 58 | 26 z6 EREEEER
Order Model Range L1 Insert Screw |Wrench|Weight RMB —l' 5 1 Notices of the user
NBJ 511970 | BR1606-21 6-9 21 |WB..06..| M2.0x4 | T6 0.04 | = 1.5FEREMIEERN. NBJ
NBH gﬂg;i g';g?g'gg 180'1113 gg TB..06..| M2.0x4 | T6 8'82 4 *63 2HBEREECHEARST, B2ELFERE, TN SEEEINMBMIT. NBH
EIL o | PG TR T 0.06 T & e 3.8 Jezlilm lﬁﬁ}ﬁ%}ﬂ?&% UEHANRBRUZEEEL. IEHESBEABM, TN *ﬁ)i*i TR el
- = . B R T % B 4 = E!
BX 511978 | BR1614-50 | 14-17 | 50 |TP.09..| M2.5x6 | T8 | 0.07 Adjust the Graduation 477 R Elzfef“ﬁé’i\% BETI K S BEEE, ERARAREABHNE, HELRE, #HEUTER Ex
e 511980 | BR1616-60 16-20 | 60 0.09 | Maxdmm . g @gﬂgamﬂgfﬁﬁ e
511982 | BR1620-65 | 20-24 | 65 0.11 = el gk R0L N # RBH
RBH 511984 | BR1624-68 | 2428 | 68 | -1 | M3.0x8 ) T8 | 445 @ @ Q@ HdE iR BRI, < F BRI e
i s (] 4
52 511986 | BM5 ; 60+ - - | 0.25 e e e e e T e e . . £ -
4 511938 | SRTP2938 e || 0.01 20 12) 1B) 1B) R) B) 1B) |3 HMM_A 1. Please use in the processing range. R4
_— 511990 | SRTP3652 36-52 +12 | TP.09. | M2.5x6 | T8 0'02 2 2 2 < 2 2 2 2 SRTP110150 2. When the sliding seat is locked, do not rotate the adjustment knob, otherwise the adjustment mechanism will be damaged. —_—
g3 - ..09.. .5x . 2lle e N I I S b L 3. For the fixation of sliding seat, please use a special spanner to ensure that the fixing screw is locked with proper torque. Over locking will lead to displacement fhsk
) 511992 | SRTP4468 44-68 | +12 003 I S e\ T Al et A I SRTP70110 T of seat body, and over loosening will lead to poor accuracy. —
=) 511994 | BM8 - - - - 0.03 4. This product is made of precision screw and moving blade seat to rotate the adjusting knob. If the resistance is very large or it cannot be moved, please stop %]
| Eabdel 511995 | SRTP5790 57-90 | +20 0.10 A adjusting and ensure the following items:
511996 | SRTP70110 70-110 | +20 | TP..11..| M3.0x8 | T8 0.10 S;gg‘ 532;; i%; tms ‘\1‘ Whether the fixing screw is loosened
511997 | SRTP110150 |[110-150| +20 0.21 Q M5 2) Whether the adjustment range is exceeded
511998 | BM140 - 20+ - - - 0.50 ) 3@ When the adjustment knob is rotated excessively, the interior of the body will be damaged




® SR T gk L3 : CBH Precision
M Z G II-?g;: Efficiency Boring CBH % ?L /2% ng: Boring Cutter System

CBH Micro Boring Head - L2 L3

L | .
CBHNO. N ) 5 CBH-M External boring cutter
S] 2
o w 2 2 © ©)
a) e < I &) o) _ =
L RS H KL = N~ 5 Es NS N T ] ’
B P AL, IR ALK T N THE R 2 £ = TR
AR EMT, XM mE. “ £ L4 @
P « l m " Balance Block
Cold water outlet hole in the center belt. H g N © FiFuE
Dynamic balance structure, high speed can also achieve reliable machining accuracy. —y — = KRALER 2 L4+ (REMIERE/2) o Scope
Canreverse boring processing, increase added value. Diameter Of The Smallest B “‘ _
- [
- Al E4 Boring & % Reverse Boring ¢ Assembly EE | up
4R
order | Model |1 | L | BE | Ll o] | BB | @ [ @k | nHE [ K | B4 | 5F | Weight o — =
Range Range Holder Head Toolholder | Insert Screw |Wrench RMB
512000 | CBH20-1 29.5 | 325 20-26 10 10.5 19 - LBK1 CBH20 CBH1-1 0.07 1440 %6&%&
512002 | CBH20-2 29.5 | 32.5 25-31 10 10.5 19 30-31 LBK1 CBH20 CBH1-2 0.07 1440 b Foundation Frame au 3 PR
512004 | CBH20-3 29.5 | 32.5 30-36 10 10.5 19 30-36 LBKA1 CBH20 CBH1-3 0.07 1440 EA 7]
512006 | CBH25-1 325 | 355 | 2533 | 125 | 115 | 21 5 LBK2 CBH25 | CBH2-1 012 | 1600 Boring Head Toolholder
512008 | CBH25-2 325 | 355 32-40 12.5 1.5 21 36-40 LBK2 CBH25 CBH2-2 | TP..0802.. |M2.2x6| T6 0.12 1600 ©
512010 | CBH25-3 B2A5H IS SES) 39-47 12.5 11.5 21 39-47 LBK2 CBH25 CBH2-3 0.12 1600 o gﬂﬁ: Assembly
512012 | CBH32-1 35 | 40 | 3242 | 16 | 10 | 25 - LBK3 | CBH32 | CBH31 021 | 1734 ETLT] S b NE & Py e Py e | @z | 5F B
512014 | CBH32-2 35 40 41-51 16 10 25 LBK3 CBH32 CBH3-2 0.21 1734 EKE Order Model Range | ooiholder |Foundation Frame Heaé insert | Serew |Wrench| RMB
512016 | CBH32-3 35 40 50-60 16 10 25 50-60 LBK3 CBH32 CBH3-3 0.21 1734 I
512018 | CBH41-1 43 47 41-54 20 14 29 LBK4 CBH41 CBH4-1 0.40 1940 —
512020 | CBH41-2 43 | 47 | 5063 | 20 | 14 | 29 | 5363 | LBKk4 | CBH41 | CBH4-2 0.40 | 1940 0 512100 | CBH-M23-33 28-33 | CBHS-3 | oyg 535142 o778
512022 | CBH41-3 43 | a7 | 6174 | 20 | 14 | 29 LBk4 | CBH41 | CBH4-3 0.40 | 1940 Sl ADYIECB M3 252 82:42 | CBH3-2 | 3 v o m=114mm /172
512024 | CBH53-1 53 | 57 | 53-70 | 255 | 19 | 34 | 62-70 LBK5 CBH53 | CBH5-1 110 | 2160 512104 | CBH-M41-51 41-51 | CBH3-1 | 5778
512026 | CBH53-2 53 | 57 | 6582 [255 | 19 | 34 LBK5 | CBH53 | CBH5-2 110 | 2160 CBHARE TR ML LHIFRAEMT SR RCBLEMSCoi 51-61 1 CBH3-3 | ore.5179-42 6667
512028 | CBH53-3 53 | 57 | 78-95 [255 | 19 | 34 | 78-95 LBK5 CBH53 | CBH5-3 | o oo |1 e ol 1g 1.10 | 2160 mITE ©116-0200 512108 | CBH-M60-71 60-71 | CBH3-2 | o 14omm | CBH32 |TP.0802.|M2.2x6) T6 | 6667
512030 | CBH68-1 672 | 71 | 68-100 | 325 | 22 | 45.2 LBK6 CBH68 | CBH6-1 1102, [M2.5x T.47 | 2540 ot s et . 512110_{ CBH-M69-79 69-79 | CBH3-1 | 6667
512032 | CBH68-2 672 | 71 | 94126 | 325 | 22 | 452 | 94-126 | LBK6 | CBH68 | CBH6-2 1.47 | 2540 CBH large diamater baring cutter can be 512112 | CBH-M79-89 79-89 | CBHS-3 | 1y6.79107-42 s
512034 | CBH68-3 67.2 | 71 | 118-150 | 32.5 | 22 | 45.2 LBK6 | CBH68 | CBH6-3 1.47 | 2540 Processing range @ 116 - 200 o122 RCBH MBS0 8898 1| CBH3-2 | %3555 m=170mm AL
512036 | CBH100-1 67.2 | 71 | 100-153 | 455 | 22 | 452 | 112-153 | LBK6 | CBH100 | CBH6-1 2.46 | 3000 512116 | CBH-M97-107 | 97-107 | CBH3-1 7778
512038 | CBH100-2 67.2 | 71 |126-179 | 455 | 22 | 45.2 LBK6 CBH100 | CBH6-2 2.46 3000
512040 | CBH100-3 67.2 71 150-203 | 45.5 22 45.2 | 150-203 LBK6 CBH100 CBH6-3 2.46 3000
2 aln O s=B 1 —
—— CBH ABAZRMARTEX(RER) —
1R . . .. . . S
5 CBH Large diameter space aluminum fine tuning precision boring head (reducing heavy) A g = L &h 3L
#3k CBR20,CBR304H & R §#41 B 4 4 (42 7L 56 B 05-252mm) EES
4k ' ? S CBR20, CBR30 combined cylindrical bore components (bore range is 5- 52mm) 5 #h
i il
&h s ‘ sk
VMD o L VMD
Kk ‘ \ KEh ‘7’:
_— m
IS 1 &h s
FH : L N 5
:':;_‘ill:\ C 2 1 E’?‘:’\l‘.}
sk #FL3EED200-@910mm Boring Range @200-@910mm 3k
—_— q 40 < <
s - me EF$¥ Boring A1  Assembly 8 | g ‘y 3 g%
B ¢ i e c | L | B | RE | EEER| FER | 0@ | #@% | JIAE | 7K | BZ | RF | Weight z » = Be
_— Range | Flange |Extension Slide|Balance weight| —Holder Head Toolholder | Insert Screw |Wrench| RMB —_—
LBK LBK
T si 4] T si 4]
BST 512050 | CBH200-310 190 | 80 |200-310 |BR200| RST200 4.1 6250 EE | s | mEA| s R‘-r Size (mm) {HF  Assembly B I | e |wEA| smaT R‘T Slzellhn) 4t Assembly i BST
o : ) il | RE | WEB| IR | 8B4 | ®/F Wil | RE|WE| TIH | B2 | ®F L
%:. ;{L 512052 | CBH300-410 290 80 300-410 |BR200 | RST300 4.9 6667 R R %:: ?L
e Order | Head Elef Flange E z @D Insert | Screw |Wrench| RMB Order | Head Elnefz Flange E z @D Insert | Screw |Wrench| RMB
7] *ﬁ 512054 | CBH400-510 390 80 400-510 | BR200 | RST400 5.9 8111 7] *ﬁ
RBN200 BST CBH41-1 CBH4-1 | TC..1102.. |M2.5x6| T8
512056 | CBH500-610 490 | 80 |500-610 [BR200| RST500 6.9 | 8556 512120 | BE36A | 514 1500 512160 | BE38A | 514 1500 —
512058 | CBH600-950 590 | 80 |600-950 [BR600| RST300 7.9 10778 512122 | BE34A | 7-16 1500 512162 | BE34A | 7-16 1500
512060 | CBH900-1250 690 80 [900-1250|BR900 | RST300 10.0 14922 512124 | BE32A 9-18 1500 512164 | BE32A 9-18 1500
512126 | BE30A | 11-20 1500 512166 | BE30A | 11-20 1500
- . s 512128 | BE28A | 13-22 | C16-CBR20 | 20 | 27 | 16 |TP.0802..[M2.2x6| T6 | 1500 512168 | BE28A | 13-22 | C20-CBR20 | 20 | 27 | 20 |TP.0802.. |M2.2x6| T6 | 1500
- < w 512130 | BE26A | 15-24 1500 512170 | BE26A | 15-24 1500
FC= 1ZIS 'E_r% ’f’lﬂ ii ¥L 7] FF w5 B R~} Size (mm) %ﬁ‘é’éﬁi‘; #EFLSEE 2 | B/ 512132 | BE24A | 17-26 1500 512172 | BE24A | 17-26 1500
: : ombine h ) 512134 | BE22A | 19-28 1500 512174 | BE22A | 19-28 1500
FC integral tungsten steel boring bar Order Model @D | L | L1 | boringhead | BOring range |Weight RMB 512136 | BE2OA | 21-30 1500 512176 | BE20A | 21-30 1500
NBJ 512138 | BE18A | 23-32 1500 512178 [ BE18A | 23-32 1500 NBJ
512070 FC19-LBK1-150 19 [182.5| 150 0.8 1700 512140 | BE36A | 25-34 1800 512180 | BE36A | 25-34 1800 NBH
NBH 512072 FC19-LBK1-200 19 [232.5| 200 1.0 1875 512142 | BE34A | 27-36 1800 512182 | BE34A | 27-36 1800
‘{*?L 512074 | FC19-LBK1-250 19 |282.5!| 250 CBH20 20-26 12 2325 512144 | BE32A | 29-38 1800 512184 | BE32A | 29-38 1800 =L
e : - : 512146 | BE30A | 31-40 1800 512186 | BE30A | 31-40 1800 Ex
512076 | FC19-LBK1-300 19 |332.5| 300 1.35 2875 512148 | BE28A | 33-42 | C16-CBR30 | 30 | 27 | 16 |TP.0802.|M2.2x6| T6 | 1800 512188 | BE28A | 33-42 | C20-CBR30 | 30 | 27 | 20 |TP.0802..|M2.2x6| T6 | 1800 _
TWE 512078 | FC24-LBK2-200 24 |235.5| 200 1.35 2625 512150 | BE26A | 35-44 1800 512190 | BE26A | 35-44 1800 TWE
512152 | BE24A | 37-46 1800 512192 | BE24A | 37-46 1800
RBH 512080 FC24-LBK2-250 24 1285.5| 250 CBH25 25-33 1.9 3188 e B s s eTeEE e e e RBH
i 512082 | FC24-LBK2-300 24 |335.5| 300 2.5 3750 512156 | BE20A | 41-50 1800 512196 | BE20A | 41-50 1800 *H%A
i{%;%t 512084 | FC32-LBK3-200 | 32 | 240 | 200 2.2 | 4400 512158 | BE18A | 43.52 1800 512198 | BE18A | 43.52 1800 54
= 512086 FC32-LBK3-250 32 290 250 2.8 5008 . N o = -
ey ] . 512088 | FC32-LBK3-300 32 | 340 | 300 CBH32 32-42 3.5 5900 %C16-CBR20 , CBR30 y CBR16IEFL 234 R #EINREI A 4 C16-CBR20, CBR30 for CBR16 lining hole to lined cylindrical component %E%‘-
< ‘ 1 ‘ 512090 | FC32-LBK3-350 | 32 | 400 | 350 42 | 7700 %C20-CBR20 , CBR30 Jy CBR2084 7.2 £ AEINEIH Y C20-CBR20, CBR30 CBR2084 for lining lining hole cylindrical component 5
55 7] 512092 FC32-LBK3-400 32 450 | 400 4.9 8800 7]
_— 1 BERLEEHIETT ERSTNER SIS REm A, S 1. The boring bar made of superhard tungsten carbide is made of high cutting edge formula. It is tough and durable. It can achieve high
SHEE. SN, SREM, TRET8FELMI (10D). hardness, high rigidity and high seismic resistance. It can be used for ultra deep hole processing (10d).
2.2 TR BAEAKIL, RAMINHBRAANYRERF . 2. All kinds of specifications have internal water holes, and the chip removal and cooling effect are good during deep hole processing.
3EWSEH, MIFETKRMIARBITHE. 3. The straight handle structure and processing depth can be adjusted according to the processing requirements.

U Ks7 @k3s



® SMEREAMT 4 Wk £ ; CBI Precision
MZG ITgﬁEfficiencyBoring CBI 'J\ é*ﬁ :%?L/z%gﬁ Boring Cutter System

qup R EoET] BS Se HEEL Rt Size (mm) B
CBIIJ\?:IZ’_ﬁ%ﬂlJE.I?E&*En/%ﬁIJ(*E?L;EQB-Qsomm) ST*}IE*E}%M)}** Order Mo;I Range | Modular Boring M gD | L RMB

CBIl diameter micro adjusting boring cutter series (bore range @3- @50mm) ST Shockproof tungsten steel pole

512270 (ST 08-W5-100 9-13 | BE09,BE10.5 M5 8 100| 900

512272 08-W5-145 9-13 | BE09,BE10.5 M5 8 145| 1125
512274 10-W6-120 12-15 BE12 M6 10 120 900
512276 10-W6-160 12-15 BE12 M6 10 160 1040
512278 12-W6-120 14-17 BE14,BE16 M6 12 120| 1040

512280 12-W6-160 14-17 BE14,BE16 M6 12 160| 1300

1.CBUNRIBETIA=ZMiEE, @A Te3-050mm/NFLERER, MEASBSWMNRIETIF
A MIs3-14emm/hFlL.

2 AEZEAERESES, SRIBAERTAHER 01mm, SERIRTEERMEZIHZ,
JFTERBLMNTASM, FZUEl, BER, £5F¥0W, BE5AMERE, BEMA.

512282 14-W6-160 16-20 BE16 M6 14 160| 1625
L 512284 14-W6-200 | 16-20 BE16 M6 14 | 200| 2250
1. There are three options for CBI small-diameter fine lining knife, which is generally used for the use of ¢ 3 - ¢ 50mm small hole. For example, if the full tungsten steel L‘ L‘mj 512286 16-W10-160| 18-42 BE18-BE40 M10 16 160| 2000
small-diameter lining knife rod is used, the ¢ 3-14 @ mm small hole can be processed. D M
2. Adjust the scale to 50 equal parts of the circumference, adjust the size of each grid to 0.01mm diameter, and adjust the auxiliary ruler more precisely. ! = * 012283 16-W10-200| 18-42 BE18-BE40 Bl & 200] 2375
3. The precision path screw is located in the interior, not affected by cutting, abrasion, rust, etc., with internal lubrication and durable finish. %E?L,ﬂ?fﬁ?ﬁﬁﬂﬂﬂ *ﬁg_@_ E’g ﬁ{gﬁj?ﬁ%?ﬂ%ﬁﬂo
When the boring depth is less than six times of the shank diameter, the anti-seismic effect is better.
BESEY No.
WkNo, \
wE | RS | #O | BE | #08 R} Size (mm) BEE | 2 BE A& 3\ 52 3k oy #e Rt Size (mm) e | we | mE | an
. Order | Model | LBK No | Range |Finetuning| @d @D L |Weight RMB BE Combined boring head Grder Model | @d| H | L | M | insert | screw |wrench| RMB
t 7 512200 | CBl4 | LBK4 8-24 0-2.0 10 39 32 0.4 4300 512700 | BEO9A 9 7 | 18 | M5 250
512202 CBI5 LBK5 8-27 0-3.5 12 50 40 0.8 2900 3 512702 | BE10.5A |10.5 7 18 M5 250
512204 | NBJ16 | LBK6 | 8-50 | 0-6.0 16 64 50 1.2 2000 512704 | BE12A 12 | 8 | 23 | M6 250
512706 | BE14A 14 | 10 | 23 | M6 250
4R ffy 37w 1R ,
CBI/NE 15 #E T +LBKT]# (MAS 403 BT)+/N 2 B T]#FBJ R 5 v § 512708 | BE16A | 16 | 10 | 23 | M6 250
. . : . . . . . ¢ ! 512710 | BE18A 18 | 14 | 27 |M10 250
CBIl small diameter fine tuning fine boring tool + LBK Toolholder (MAS 403 BT) + small diameter boring bar BJ series k. & € 512712 | BE20A 20 | 12 | 27 |m10 250
0 512714 | BE22A 22 | 14 | 27 |M10 250
_— ", 512716 | BE24A | 24 | 14 | 27 |m1o | TP-08-|M2.2X50T7 | 550
L 'E 512718 | BE26A 26 | 14 | 27 |M10 250
—,i?/-—/ 512720 | BE28A 28 | 14 | 27 |M10 250
| 8 512722 | BE30A 30 14 27 |M10 350
i 512724 | BE32A 32 | 14 | 27 |M10 350
= 512726 | BE34A 34 | 14 | 27 |M10 350
I [ 1 H I M lf : 512728 | BE36A 36 | 14 | 27 |M10 500
e 11 L1 . ; BE'R st = 512730 | BE3BA | 38 | 14 | 27 |M10 500
I i E 512732 | BE40A 40 | 14 | 27 |M10 500
1R o e e
£k i U E=ME G AC£ELCBI4,. CBI5, CBI6. NBJ16. NBH20841¢ f . LSk
— rd —_—
§ 5k 555
? - w2 4 Boring &% Reverse Boring 4B Assembl B |an =
wWiE | RE | #O SEE WL sk T | Weight R 4% = - 3
RS Order Model F | z |Bkno | L | LT [9D1] Ronge Holder Head | Toolholder RMB CBI/NBJ/NBH THEZRZE & BS R Size(mm) | 24 | S5
VMD CBI/NBJ/NBH Special Conversion Collet Order Model @d |@D| L | RMB VMD
St 512210 | BT30-CBI4-BJ10-6PCS 0-2.0 | 45 4 77 45 39 8-24 BT30-LBK4-45 CBI4 BJ10-5PCS | 1.9 7200 s - K4k
< 512212 | BT30-CBI5-BJ12-6PCS 0-3.5| 65 5 105 | 65 50 8-27 BT30-LBK5-65 CBI5 BJ12-5PCS | 2.3 5300 . Ymhg S R} Size (mm) Bt 512754 | NBJ 16-4 4 16 | 37 | 250 <
. 512214 | BT40-CBI4-BJ10-6PCS 0-2.0| 50 4 82 50 39 8-24 BT40-LBK4-50 CBI4 BJ10-5PCS | 2.4 7200 o el od |@D| L | RMB 512756 16-6 6 16 | 37 250 £p s
o 512216 | BT40-CBI5-BJ12-6PCS 0-3.5| 75 5 90 75 50 8-27 BT40-LBK5-75 CBI5 BJ12-5PCS | 2.8 5300 512758 16-8 8 16 | 37 250 -~
—_— 512218 | BT50-CBI4-BJ10-6PCS 0-2.0| 115 4 147 | 115 | 39 8-24 BT50-LBK4-115 CBl4 BJ10-5PCS | 5.4 7500 512740 | CBI10-4 4 10 | 35 250 512760 16-10 10 16 | 37 250 =
Zi 512220 | BT50-CBI5-BJ12-6PCS 0-3.5| 90 5 130 | 90 50 8-27 BT50-LBK5-90 CBI5 BJ12-5PCS | 6.0 5600 512742 10-6 6 10 | 35 250 512762 16-12 12 16 | 37 250 %‘Ej_
sk 512744 10-8 8 10 | 35 250 512764 16-14 14 16 | 37 250 b
B 512746 | CBl12-4 4 12 | 35 250 512766 | NBH 2084-8 8 20 | 37 250 i B8
e 512748 12-6 6 12 35 250 512768 2084-10 10 20 37 250
-~ ol e 4
Aot CB4EZH/NREFLTIFT BJIE ((EFLITEED8-F24mm) 512750 12-8 8 | 12|35 | 250 512770 2084-12| 12 | 20 | 37 | 250
LBK CBI4 special small diameter boring bar BJ type (boring range @ 8-@ 24mm) 21272 12:10 10 112 1351 25 512772 2084-16] 16 |20 | 37 | 250 EES”;
BST : = =
w7 R Hg S R=} Size (mm) Vil 72 R F Er | E2 | BN =L
1A Order Model gd |@D| L | L2 | Insert | Screw | Wrench Fig |Weight RMB TIHR
512230 | BJ1006-24 6-9 10 | 64 | 24 |[WB..06.| oo 0 T6 ] 0.020 200
INEHESL 512232 | BJ1008-32 | 8-10 | 10 | 64 | 32 |TB..06.. ) 0.025 | 200
Small Diometer Boring 512234 | BJ1010-40 | 10-12 | 10 | 72 | 40 0.035 200
512236 | BJ1012-45 | 12-16 | 10 | 77 | 45 0.045 200
TP..09.. | M2.5x6 T8 2
512238 | BJ1016-45 | 16-20 | 10 | 77 | 22 X 0.045 200
—_— o 512240 BJ1020-45 20-25 10 77 25 0.045 200 —_—
NBJ L o . NBJ
" ) s 4
e CBISZ A /MZEFLTIFF BJIE (EFLSEED8-027mm) e " e
= . . . . =3
g CBI5 special small diameter boring bar BJ type (boring range @ 8-@ 27mm) CBIRFIE R /NRBNETFLT] =
= . - . . . . . . L== 1
e = Py e Rt Size (mm) TR iy R Bx | 22 | &4 CBI Series special small diameter carbide boring cutter TWE
. ~ .
RBH <00~ Order Model @d |@D| L | L2 | Insert | Screw | Wrench Fig  |Weight RMB Y HD TR R<f Size (mm) 2735 E  Boring Range g8 | B2n RBH
A 4 ; ; 18 52
i{%% 512250 | BJ1206-24 | 69 | 12 | 64 | 24 |WB.O6.| o | 1p ; 0.020 | 200  e——— ) Order Model |@D| L | L1 |@dmin| CBl4 | CBIS | CBI6 |weigt | RMB Z
o by 512252 | BJ1208-32 8-10 | 12 | 64 | 32 |TB..06.. ) 0.025 200 _
sk 512254 | BJ1210-40 | 10-12 | 12 | 72 | 40 0.035 200 512780 | CBI0403-15 | 4 | 50 | 15 3 7 10 13 0.015 510 e
< 512256 BJ1212-45 12-16 12 77 45 P 09 | M2 5x6 8 ) 0.045 200 L ) 512782 | CBI10404-20 4 50 20 4 8 11 14 0.015 540 L= |
“&n 512258 | BJ1216-45 | 16-20 | 12 | 77 | 22 | TF--09-| M2. 0045 | 200 B —Lt— 512784 | CBI0605-25 | 6 | 60 | 25 | 5 9 12 15 | 0.020 | 600 % 7]
L ¥ 512260 BJ1220-45 20-25 12 77 25 0.045 200 DA __,c 512786 | CBI0606-30 6 60 30 6 10 13 16 0.020 600
- ™ P o A = 7% = v /e v =) 512788 | CBI0808-35 8 75 35 8 12 15 18 0.055 750
X PIEIM IR, MNERETIFLUSEERMEENE. 512790 | CBI1010-40 | 10 | 75 | 40 | 10 14 17 20 | 0.060 | 900

X% When machining path of boring bar with 3 times the diameter of stickout is preferred.



NBJ16/NBH2084

= 7L T L7 2
I e A NBJ16/NBH208432FLE %R = goring Tool Set

NBJ-16fAEEEZR LA  NBJ-16 Fine tuning fine boring set combination NBH2084 fHi*5 %2 E %A & NBH2084 Fine tuning fine boring set combination
R
Fine tuning accuracy
::250.01mm

WA E

Fine tuning accuracy

:i @0.01mm

t
I * 3 sk
l NBJ16
@I
e e B L] 2= BH Boring Toolholder ZIER
Order Model RMB Order Model RMB
dadndndadsdaBaE
512800 | NT30-NBJ16-8P 2000 512820 | HSK63A-NBJ16-8P | 2800 I S - = - I Y A g
512802 | NT40-NBJ16-8P 2000 512822 | HSK100A-NBJ16-8P | 3400 s B R IFL ] 18 ] 18 7
512804 | NT50-NBJ16-8P 2200 512824 | CAT40-NBJ16-8P 2200 7\
512806 | BT30-NBJ16-8P 2000 512826 | CAT50-NBJ16-8P 2400 S VA 26mm Nerzozon
512808 | BT40-NBJ16-8P 2000 512828 | C32-BSJ16-8P 2000 - me g8 | By Boring Toolholder ‘;»
512810 | BT50-NBJ16-8P 2200 512830 | MT4-NBJ16-8P 2200 = =
512812 | SK40-NBJ16-8P 2000 512832 | MT5-NBJ16-8P 2300 a Order Model Weight | RMB
512814 | SK50-NBJ16-8P 2200 512834 | MT6-NBJ16-8P 2400 8 g z N 3 z z S
512816 | R8-NBJ16-8P 2000 512836 | C20-NBJ16-8P 2200 = 512500 | R8-NBH2084-8P 10.0 | 2000 § § z § é 0|2 §
512502 | NT30-NBH2084-8P | 8.4 | 2000 g 2 2 s &8 =8 g
512504 | NT40-NBH2084-8P 9.3 2000 ./ — = T ]
512506 | NT50-NBH2084-8P | 10.8 | 2200 I I I
512508 | BT40-NBH2084-8P | 9.5 | 2000 A
512510 | BT50-NBH2084-8P | 12.0 | 2200 [ P
A
4
/o\
O
sk
§ 5k
Fils 4 AL AL, -+
£ NBH20% I /NE42 7L 7T# NBHE (7l 35 El@8-0280mm)
VMD NBJ']G'—!-?FH /J\?éﬁﬁﬂ,j]ﬂ: NBJﬁ! (%.;H':;'E @8-@50mm) NBH20 special small diameter boring bar NBH type (boring range @ 8-& 280mm)
S =] i g —. =
& NBJ16 special small diameter boring bar NBJ type (boring range @ 8-@ 50mm) & BS i ) Nk — RF | ER == Sl
s Order Model gd |@D| L | L2 | Insert | Screw | Wrench | Fig |Weight RMB
p— = gs Rt Size (mm) E | B2 RF | ET | ER | B 512520| NBH2008-32 8-11 | 20 | 80 | 32 0.095 | 200
:"—'\\l—'\ Order Model ad @D | L | L2 | Insert Screw | Wrench Fig  |Weight RMB 512522 | NBH2008-90 8-11 20 | 140 | 90 0.135 300
7%7‘: 512840 | NBJ1606-24 | 6-9 | 16 | 62 | 24 |WB..06 0.077 | 200 512524 NBH2010-40 10-13 | 20 | 87 | 40 | T2-00-) M2OKE) 7O " | 0095 | 200
3 B 512842 | NBJ1608-32 | 8-11 | 16 | 80 | 32 T 0.077 | 200 512526) NBH2010-90 10-13 /120 1140 90 0.139) 300
' 512528 | NBH2012-53 12-17 | 20 | 98 | 53 012 | 200
fic 4 512844 | NBJ1608-90 | 8-11 | 16 | 138 | 90 M2.0x4 | T6 1 0.100 | 300 —_——
L= 212846 | NB11610.40 | 10-13 | 16 | 87 | 40 | TB--06- 0082 | 200 o oo 512530 | NBH2012-90 12-17 | 20 | 140 | 90 0.175 | 300
LBK 219848 | NB11610.90 | 1013 | 16 | 138 | 90 0110 | 300 k2 512532 | NBH2016-68 16-21 | 20 | 110 | 68 | TP..09..| M2.5x6 | T8 1 0.16 | 200
BST . Re— 212850 | NBI1612.83 | 1215 | 16 | 98 | 53 0095 | 200 512534 | NBH2016-100 16-21 | 20 | 150 | 100 0.24 | 300
=L 512852 | NBJ1612-90 | 12-15 | 16 | 138 | 90 0.130 | 300 - . . 512536 NBH2016-150 16-21 1 20 ) 200 1 150 0.31 400
T4 » 512854 | NBJ1614-60 | 14-17 | 16 | 108 | 60 0.110 | 200 T — 512538 NBH2020-83 20-130 | 20 | 123 83 0.22 200
— 512856 | NBJ1614-100 | 14-17 | 16 | 148 | 100 0.155 | 300 - o E} 512540) NBH2020-125 20-130 ) 20 | 175 1 125 0.31 300
HBOR - . : 212858 | NBI1616.68 | 16.21 | 16 | 110 | 68 | TP-09..| M2.5x6 | T8 1 0125 | 200 | 3 512542 | NBH2020-150 20-130 | 20 | 200 | 150 0.40 | 400
CBI e r 512860 | NBJ1616-100 | 16-21 | 16 | 148 | 100 0.210 | 300 dae 512544 NBH2020-200 20-130 20 1 250 | 200 0-50 1 500
CBH B fig———] m.’ 512862 | NBJ1616-120 | 16-21 | 16 | 168 | 120 0.260 | 400 512546) NBH2020-250 20-130) 20 1 300 1 250 0.60 | 600
15 A oo 512864 | NBJ1616-150 | 16-21 | 16 | 198 | 150 0.290 | 500 L 512548 NBH2025-96 25-1351 20 | 137 ) 96 0-34 | 200
gﬁé% 212866 | NBJ1620.83 | 2026 | 16 | 125 | 83 0203 | 200 o - 512550 | NBH2025-150 25-135 | 20 | 200 | 150 0.55 | 400
s i ‘ 219868 | NB11620.150 | 2026 | 16 | 198 | 150 0300 | 200 512552 | NBH2025-200 25-135 | 20 | 250 | 200 | TP..11..| M3.0x8 | T8 2 | 065 500
512870 | NBJ1620-200 | 20-26 | 16 | 248 | 200 0.390 | 500 X S 212554| NBH2025-250 | 25-135 | 20 ) 300 | 250 Clii
212872 | NB11625.90 | 2531 | 16 | 128 | 90 0975 | 200 i . 512556| NBH2030-115 30-140| 20 | 152 | 115 0.54 | 200
- —_] 512874 | NBJ1625-150 | 25-31 | 16 | 198 | 150 0.300 | 400 8 7'7D - ( J i 512558 NBH2030-150 30-140) 20 | 200 ) 150 0.72 400
I ‘ 219876 | NB11622.200 | 2531 | 16 | 248 | 200 0510 | 500 5 L] 512560 | NBH2030-200 30-140 | 20 | 250 | 200 0.91 500
—_— ez i————JD 7777777 () ]+ 512878 |NBJ1630-90 | 30-36 | 16 | 128 | 90 | TP.11..|M3.0x8 | T8 2 | 0275 | 200 212562\ NBH2030-250 | 30-140 | 20 } 300} 250 1091 600 ]
TWE e ' 512880 |NBJ1630-150 | 30-36 | 16 198|150 | | 0.415 | 400 212564 NBH2020-L 120-2001 20 | 100 ) 16 0.23 | 200 TWE
RBH ' [ 212882 | NBI1630.200 | 30.36 | 16 | 248 | 200 0520 | 500 512566 | NBH2020L20-150 |160-280| 20 | 150 | 20 0.34 | 400 RBH
48 42 512884 | NBJ1635-90 | 35-41 | 16 | 128 | 90 0.283 | 300 512568| NBH20201.20-200 |280-330] 20 | 200 ] 20 041 | 500 18 58
A5 512886 | NBJ1640-90 | 40-46 | 16 | 128 | 90 0.286 300 X1 2RI BAELEERIRK % 1.The black mark specification is the common specification of the set, Ry
— 512888 | NBJ1645-90 | 45-51 | 16 | 128 | 90 0.310 300 2EIMIET, NRBEBIIFLUSEERBEERNE. 2.When machining path of boring bar with 3 times the diameter of stickout is preferred. ﬂ
ke X1 B2 UBAELERIK % 1.The black mark specification is the common specification of the set, L=
7] 2B ITR, NERETFLUSMEERBEERE. 2.When machining path of boring bar with 3 times the diameter of stickout is preferred. %871

BK41 @42



=R EE W £al TWE /RBH Double Ed
MZG® mgﬁ%i?enf}gjfri TWE/RBH RXD]*E%E ?L Rough Boringou © 9¢

TWE#E 53X W 7148 £ 3k (hn 38 El20-204mm) RBH X 7] 48 %% 3k (i L3 E20-204mm)
TWE Saw tooth type double edge rough boring head RBH double edge rough boring head (Boring Range 20-204mm)

Boring Range 20-204mm

LY

#0O ‘
Connect ~— L —

11
|

1D mE 0 Rt Size (mm) wrwE | 1A 98 24 T =8 | B1H g Bs #A Rt Size (mm) @rlel® | TR L §23 TR EE | A
Order Model Connect| Fig | C | L BoringRange | Insert | Screw | Wrench |Weight RMB Order Model Comnect| Fig | C | L BoringRange | Insert | Screw | Wrench |Weight RMB
512640 | RBH1926-C LBK1 A 19 50 19-26 0.1 325
512600 | TWE2026-C LBKA1 A 19 30 20-26 0.1 857
512602 | TWE2533-C | LBK2 | A | 24 | 40 25.33 | ©C-0002..) M2.5x6 e 0.2 914 Sl aEL S MNCIC N e U 2633 | CC-0002 ) M2O@ " ik D2
512604 | TWE3242-C LBK3 A 31 50 32-42 0.3 980 512644 | RBH3242-C LBK3 A 31 55 32-42 0.3 375
512606 | TWE4054-C LBK4 | A | 39 | 60 40-54 | CC..09T3..| M4.0x8 T15 0.5 1029 Sl SEL Dl e 40-55 | oo 09T3..| M4.0x8 T15 Ll Sl
512608 | TWE5270-C | LBK5 | A | 50 | 70 52-70 0.8 1429 512648 | RBH5270-C | LBKS | A | 50 | 75 52-70 0.8 800
512610 | TWE6895-C LBK6 A 64 90 68-95 16 1571 512650 | RBH6892-C LBK6 A 64 85 68-92 1.6 1000
512652 | RBH90122-C LBK6 A 95 100 90-122 2.8 1438
512612 | TWE90122-C LBK6 A 95 100 90-122 2.8 1556 CC..1204..| M5.0x12 T20
512614 | TWE120164-C | BST | B | 95 | 120 120-164 | CC-1204..| M5.0x127) 720 3.0 2667 L e - B e AUEOD, 30 1785
512616 | TWE160204-C | BST | B | 95 | 150 160-204 3.8 3556 512656 | RBH160204-C | BST | B | 95 | 95 160-204 3.8 2125
% i /Feature / . =
PR immenmi, RNSARSEEEIL. SABE. LBKHER20-122, BSTHHER120-910, RBH A2 X 7140 #2 3 (fin L3e El200-1200mm) 35
- 2HBEEIBERT, MIMBEAZHN-NMEAHWMBEERE, EERGWRIMMTIE S, ERERSNEFLIEL. RBH Large diameter double edae rough boring head (Boring Range 200-800mm N
Gier SAKBRREMIAR, BREBET), REEROBSHOMT. NTRETEALKFERBKE. g geroug g (Boring Rang ) & 45
ARBENNLZE, WHERERZAEIMENILEEE. —
T‘E(D SERESBEHFONRERLEEER, AUTBES] SAKERNTILE. TETNANINBEHRIEERSEILEE. _ - L
& sk 6BEMER I, FORBETIITRA. _—— 9] ik
D TERFE120LERFLEHET), ERAERENF, SARERNEE. e VMD
PN 1. Itis suitable for single edge boring, double edge boring and high and low-level boring. Boring range: LBK split type 20-122, BST split type 120-910. Q00 ©Q© K Ehk
2. The new serrated sliding seat design, when machining, the two forces on the sliding seat offset each other, has good rigidity and cutting force, and ’ L
gk is suitable for all kinds of boring operations. g
3. The boring cutter can be adjusted easily according to different processing requirements to complete a small number of diverse processing quickly. { }
230, The machining depth can be matched with the extension rod to the required length. =il
£E3 4. Precise side scale helps users easily adjust to the required aperture range. ] [ J gh 3L
N 5. Itis suitable for use with all kinds of cutting center machines or boring machines, and can be installed with blades of the same specification from all - c - .
SH B manufacturers. It can save machining time and improve boring efficiency. SH &
§E1$ 6. High and low break difference design, both flat blade and high and low blade can be used. YR g EilE= 0O R ~t Size (mm) EFLSEE TE WE 44 RF = B i) e 14
7.Large bore boring cutter with diameter more than 120, using direct components, simple structure and strong rigidity. . .
Bk Order Model Connect C L Boring Range Insert Screw | Wrench | Weight RMB LBK
BST 4R —— o5 £0 QU 7] 4[ % 3] [ F 1) =+ 512660 | RBH200-310 BST 180 130 200-310 9.7 3000 BST
%% TWEj( ‘f:l:j(:l:.%lil ilj]*ﬂ'ét:t *(/}&Ei) HDI,E 200 800mm 512662 RBH300-410 BST 280 130 300-410 1.7 5938 %%
TWE Large diameter space aluminum double edge rough boring head (reduced heavy) Boring Range 200-800mm 512664 | RBH400-510 BST 380 130 400-510 1 o 4o0u (W5 0012 T20 13.7 7188
HBOR 512666 RBH500-610 BST 480 130 500-610 h a ' 15.7 7500 HBOR
CBI 512668 RBH600-950 BST 580 130 600-950 17.7 14063 CBI
CBH 5 — 512670 RBH900-1200 BST 680 130 900-1200 19.7 17188 CBH
K v K
'H IE G
L
NBJ F NBJ
[ . .
?%B;T ——— SCT EI'LJETJ%E]]FF SCT adjustable boring bar ’,;‘ﬁ%'i
% c % B RS Rt Size (mm) #IEE 242 Sorew W | 25 EE =
= Order Model L L1 L2 | @D | dmin | dimax) A B C Parts | RMB
s | ms #O | Rsweom | wizm | ok | e | 5F | 2 | an siaoso| scro | 100 | 70 | o0 | 0 | r0 | vz | o e | ot o g | 10
Order Model Connect C L Boring Range Insert Screw Wrench | Weight RMB 512684 | SCT-15 110 60 50 16 15 20 M4xé M5x12 M4xé M2_|LZX6 1100
512686 SCT-20 120 60 60 20 20 25 | M4x10 M5x16.5 M4x8 1100 N
3k 512620 | TWE200-310 BST 190 80 200-310 3.7 3429 512688 | SCT-25 | 140 | 70 | 70 | 25 | 25 | 30 | M5x14 | M6x20 | M5x11 1300 3k
= 512622 |  TWE300-410 BST 290 80 300-410 4.7 6786 512690 | SCT-30 | 160 | 70 | 90 | 25 | 30 | 35 |M5x16 | M6x25 [M5x13.5/CC..09..| 1300 Com o |
] 512624 TWE400-510 BST 390 80 400-510 CC. 1204. |M5.0x12 T20 5.7 8214 512692 SCT-35 170 70 100 32 35 40 |M6x18.5{ M8x30 | M6x16 | M4.0x8 1300 ®7]
512626 TWES500-610 BST 490 80 500-610 N N X 7.0 8571 512694 SCT-40 190 70 120 32 40 45 | M6x21 | M8x35 | M6x18 T15 1300
512628 TWE600-710 BST 590 80 600-710 8.0 16071 512696 | SCT-45 220 | 70 150 40 45 50 | M6x24 | M8x40 | M6x21 1300
512630 TWE700-810 BST 690 80 700-810 9.5 19643




MZG"

SEES LN

High Efficiency Boring

BSA/BSB #HsEfLJ] B

BSA/BSB
Rough Boring Tool

BS Al #HEFL TR

BS Adjustable rough boring toolholder

MEEFL

T ETFBEALREFMI Boring Rough boring cutter, suitable for through hole and blind hole machining

1RSI NFIT

1. The chute is parallel to the blade

REEIL

HET), ETE, bATARRE.

Coarse boring cutter is suitable for through hole and reverse boring.

_
“\

TBS-30° & F N EFLIIHF

TBS-90° & F N EFLTIHF

24T BMEN 2. Boring head ordered separately
3 DS /NRTEL,L1,L2 3. Pay attention to the minimum dimension of D and 1.11.12
Eore] Bs I R} Size (mm) B Eatz] S #EIEE Rt Size (mm) B
Order Model Dmin) | Dmax) | L M1 | C1 | C2 E | OW | RMB Order Model Dmin) | Dmax) | L M1 | C1 | C2 OW | RMB
512300 | BT30-BSA 20-105 20 30 105 85 17 19 6 512400 | BT30-BSB 20-105 20 30 105 85 17 19 6
512302 25-120 25 38 120 100 20 24 1 8 512402 25-120 25 38 120 100 20 24 8
512304 25-160 25 38 160 140 20 24 1 8 512404 25-160 25 38 160 140 20 24 8
512306 30-150 30 42 | 150 130 | 24 28 1.6 8 512406 30-150 30 42 150 130 | 24 28 8
512308 30-180 30 42 | 180 160 | 24 28 1.6 8 512408 30-165 30 42 180 160 | 24 28 8
512310 30-210 30 42 | 210 190 | 24 28 1.6 8 512410 30-210 30 42 | 210 190 | 24 28 8
512312 38-165 38 52 | 165 145| 30 36 2.6 10 512412 38-165 38 52 165 145| 30 36 10
512314 50-165 50 65 | 165 145 | 40 48 3 13 512414 50-165 50 65 165 145 | 40 48 13
512316 50-210 50 65 210 190 40 48 3 13 512416 50-210 50 65 210 190 40 48 13
512318 | BT40-BSA 25-135 25 38 135 110 20 24 1 8 512418 | BT40-BSB 25-135 25 38 135 110 20 24 8
512320 30-150 30 42 | 150 125 | 24 28 1.6 8 512420 38-165 38 52 165 140 | 30 36 10
512322 38-165 38 52 | 165 140 | 30 36 2.6 10 512422 50-165 50 65 165 140 | 40 48 13
512324 50-165 50 65 | 165 140 | 40 48 3 13 512424 50-210 50 65 | 210 185 | 40 48 13
";{]‘E 512326 50-210 50 65 | 210 185 | 40 48 3 13 512426 62-165 62 90 165 140 | 50 54 16
%E ‘\\ 512328 62-165 62 90 165 140 | 50 48 2 16 512428 62-225 62 90 | 225 200 | 50 56 16
— 512330 62-225 62 90 225 200 50 58 2 16 512430 72-165 72 110 | 165 140 60 60 19
%F %IJ_'I— 512332 72-165 72 110 | 165 140 60 60 2.4 19 512432 72-225 72 110 | 225 200 60 60 19
512334 72-225 72 110 | 225 200 | 60 60 24 19 512434 90-165 90 125 | 165 140 | 75 75 19
| 512336 90-165 90 125| 165 140 | 75 62 4 19 512436 90-210 90 125| 210 185| 75 64 19
E L 512338 90-210 90 125 | 210 185 | 75 62 4 19 512438 | BT50-BSB 25-135 25 38 135 100 | 20 24 8
%E%‘; 512340 | BT50-BSA 25-135 25 38 | 135 100 | 20 24 1 8 512440 38-180 38 52 180 145| 30 38 10
J— 512342 30-165 30 42 | 165 130 | 24 28 1.6 8 512442 38-230 38 52 | 230 195| 30 38 10
VMD 512344 38-180 38 52 180 145 30 36 2.6 10 512444 42-210 42 56 210 175 34 38 10
- 512346 38-230 38 52 230 195 30 36 2.6 10 512446 42-240 42 56 240 205 34 38 10
j(%E 9: 512348 42-210 42 56 | 210 175 | 34 38 2 10 512448 50-180 50 65 180 145 | 40 48 13
S 512350 42-240 42 56 | 240 205 | 34 38 2 10 512450 50-240 50 65 | 240 205 | 40 48 13
%Eljlt\ 512352 50-180 50 65 | 180 145 | 40 48 3 13 512452 50-270 50 65 | 270 235 | 40 48 13
512354 50-240 50 65 | 240 205 | 40 48 3 13 512454 50-300 50 65 | 300 265 | 40 48 13
oo 'l\_;\ 512356 50-270 50 65 | 270 235 | 40 48 3 13 512456 62-195 62 90 195 160 | 50 58 16
o N 512358 50-300 50 65 300 265 40 48 3 i3 512458 62-240 62 90 240 205 50 58 16
%\57‘: 512360 62-195 62 90 195 160 50 58 2 16 512460 62-270 62 90 270 235 50 58 16
— 512362 62-240 62 90 | 240 205 | 50 58 2 16 512462 62-300 62 90 | 300 265 | 50 58 16
fﬁﬂ E% 512364 62-270 62 90 | 270 235 | 50 58 2 16 512464 62-330 72 110 | 195 160 | 60 68 19
EE 1ﬁF 512366 62-300 62 90 | 300 265 | 50 58 2 16 512466 72-195 72 110 | 240 205 | 60 68 19
512368 72-195 72 110 | 195 160 | 60 68 2.4 19 512468 72-240 72 110 | 285 250 | 60 68 19
512370 72-240 72 110 | 240 205 | 60 68 2.4 19 512470 72-285 72 110 | 320 285 | 60 68 19
LBK 512372 72-285 72 110 | 285 250 60 68 2.4 19 512472 90-210 90 125 | 210 175 75 80 19
BST 512374 72-320 72 110 | 320 285 60 68 2.4 19 512474 90-250 90 125 | 250 215 75 80 19
%::.:“ ?L 512376 90-210 90 125| 210 175 | 75 74 4 19 512476 90-300 90 125| 300 265 | 75 80 19
jj ﬂ:}\j 512378 90-250 90 125 | 250 215 75 76 4 19 512478 105-195| 105 160 | 195 160 | 90 = 25
512380 90-300 90 125| 300 265 | 75 76 4 19 512480 105-285| 105 160 | 285 250 | 90 94 25
[ 512382 105-195| 105 160 | 195 160 | 90 76 3 25
HBOR 512384 105-285| 105 | 160| 285 | 250 | 90 | 76 | 3 | 25
CBI
CBH BSA o &y 1) BSB oy 1)
s 45° pFR 9081 g B
%ijt BSA45° Bevel Angle BSB 90° Bevel Angle
e 2D1
NBJ 45°
NBH “
=1 - 7@—
£% |I
‘ Setscrew
L
EoRT] BS #HILEE R~} Size (mm) BEEigy | B ELz] BE EILEE R=F Size (mm) BlEigL | BN
Order Model Dmin) | Dmax) | L D1 | D2 OW | setscrew | RMB Order Model Dmin) | Dmany | L D1 | D2 OW | setscrew | RMB
%5 9: 513300 | BSA 25-LBK2 25 38 35 24 24 8 M6x1 400 513320 | BSB 25-LBK2 26 52 45 24 20 8 M6x1 400
513302 30-LBK2 30 42 40 24 24 8 M6x1 400 513322 38-LBK3 38 70 55 31 30 10 M8x1.25 425
. 513304 38-LBK3 38 52 60 31 60 10 M8x1.25 425 513324 50-LBK4 50 90 60 42 40 13 M10x1.5 500
ij—" 513306 50-LBK4 50 65 70 42 40 13 M10x1.5 500 513326 62-LBK5 62 115 70 55 50 15 | M12x1.75 630
513308 62-LBK5 | 65 | 90 | 85 | 55 | 50 16 | M12x1.75 | 630 513328 72-LBK6 | 72 | 135 | 85 | 63 | 60 19 | M12x1.75| 765
513310 72-LBK6 | 72 | 110 | 98 63 | 60 19 |M12x1.75| 765 513330 90-LBK6 | 90 | 150 | 100 | 80 | 75 19 | M12x1.75 | 1450
513312 90-LBK6 | 90 | 125 | 100 | 80 | 75 19 |M12x1.75 | 1450 513332 105-LBK6| 105 | 190 | 100 | 90 | 90 25 | M12x1.75| 2000
513314 105-LBK6| 105 | 160 100 91 90 25 | M12x1.75 | 2000 513334

TBS-30° Machine clamp boring tool bar DI TBS-90° Machine clamp boring tool bar
- 'l
Ea1z] BS #FEE |[R<fsize(mm)| 71K By | ]RFE | BN
Order Model Dy | Dinan | L D Insert | Screw |Wrench| RMB — L ——
513340 | TBS 306-20L 20 | 30 | 20 | 6 300 904
513342 308-25L 25 | 42 | 25 | 8 |TC.0902.[M2.2x6| T6 300 T T
513344 310-36L 38 | 50 | 36 | 10 300 D |TBS. . L D |TBS. . R
513346 313-48L 50 | 70 | 48 | 13 [TC.1102..|M2.5x6] T8 300 ' '
513348 316-60L 70 | 90 | 60 | 16 400 90°
513350 319-90L 90 | 135 | 90 | 19 |TC..16T3.|M4.0x9| T15 | 500 L —=
513352 325-135L 140 | 190 | 135 | 25 600
o 25 = L = )
TBS-45° £ F N EFLIIHT 1 TG BE @7 |[Rdseemm| 78 | 82 | 53 | &2n
TBS-45° Machine clamp boring tool bar D‘ Order Model Dmin) | Dmany | L D Insert | Screw |Wrench| RMB
3 - s 513380 | TBS 906-20L/R 20 [ 30 | 20 | 6 200
” — L — 513382 908-25L/R 25 | 42 | 25 | 8 200
TC..0902..|M2.2x6| T6
= Wil P —— w 513384 910-36L/R 38 | 50 | 36 | 10 200
X &5 ABE \R¥See(mm) 7K | B £F | B 513386 910-45L/R 50 | 70 | 45 | 10 200
Order Model Dmin) | Dmaxy | L D Insert Screw |Wrench| RMB 513388 913-48L/R 50 70 48 13 200
513360 | TBS 406-20L 20 | 30 | 20 | 6 300 513390 913-65L/R 70 | 90 | 65 | 13 [TC-1102.M2.5x6) T8 | 50
513362 408-25L 25 | 42 | 25 | 8 |1c 0002 |M22x6| T 300 513392 916-60L/R 62 | 90 | 60 | 16 200
513364 410-45L 38 | 52 | 45 | 10 200 513394 916-80L/R 90 | 115 | 80 | 16 200
513366 410-50L 42 | 56 | 50 | 10 200 513396 919-70L/R 72 | 105 | 70 | 19 300
513368 413-60L 50 | 65 | 60 | 13 [TC..1102..[M2.5x6] T8 300 513398 919-85L/R 105 | 115 | 85 | 19 |tc. 1673, |M4.0x9| T15 | 300
513370 416-75L 62 | 90 | 75 | 16 300 513400 919-90L/R 90 | 135 | 90 | 19 300
513372 419-90L 72 | 110 | 90 | 19 400 513402 919-105L/R | 105 | 150 | 105 | 19 400
513374 419-115L 00 | 125 | 115 | 1g |TC-16T3-MA.0x0p T15 | g5 513404 925-100L/R | 115 | 140 | 100 | 25 500
513376 425-130L 105 | 160 | 130 | 25 600 513406 925-135L/R | 140 | 190 | 135 | 25 600
o A Px i o A Zx g L
CBS-30° & FNE#EFLIIHF CBS-90° & F N FLIIHF
CBS-30° Machine clamp boring tool bar ‘ CBS-90° Machine clamp boring tool bar @E
—
il N ®w
L
i 25 #FEE |Rfsize(mm)| 71K 2y | /FE | BN
Order Model Dmin) | Dimaxy [ L D Insert Screw |Wrench| RMB
513410 | CBS 306-20L 20 | 30 | 20 | s 300 L |
513412 308-25L 25 | 42 | 25 | 8 |CC..0602.|M2.5x6| T8 300 goj/"
513414 310-36L 38 | 50 | 36 | 10 300 T T ©
513416 313-48L 50 | 70 | 48 | 13 s e . 300 D, ((\\ D, ‘ (([/ =
513418 316-60L 70 | 90 | eo | 16 |CC-09T3 0x9] 15 1 400 N 53R
513420 319-90L 90 | 135 | 90 | 19 500 90° ‘ £h 3L
513422 325-135L 140 | 190 | 135 | 25 |CC-1204.M5.0x12) T20 | 440 ! -
N e F
CBS-45° & F N EFLIIHF i
CBS-45° Machine clamp boring tool bar 43 BS #FLEE R sizemm)| JIH gy | mFE | B =i
= Order Model Dmin) | Dimaxy | L D Insert Screw |Wrench| RMB &k
o ‘ « 45° 513450 | CBS 906-20L/R 20 [ 30 | 20 | 6 200 b
513452 908-23L/R 25 | 38 | 23 | 8 200
L 513454 908-30L/R 32 | 52 | 30 | 8 |CC..0602.|M2.5x6| T8 200 j\:/’%leDJ—
= Sl w 513456 910-36L/R 38 | 50 | 36 | 10 200 sk
s a5 oG] S, A By | mF | BH 513458 910-45L/R 50 | 70 | 45 | 10 200 —_—
Order Model Dwin) | Dimaxy | L D Insert Screw |Wrench| RMB 513460 913-48L/R 50 70 48 13 200 %Eé‘%
513430 | CBS 406-20L 20 | 30 | 20 | s 300 513462 913-65L/R 70 | 90 | 65 | 18 | ool oo 200
513432 408-30L 25 | 38 | 30 | 8 300 513464 916-60L/R 62 | 90 | 60 | 16 i i T15 | 200 ——
513434 408-35L 30 | 42 | 35 | 8 |CC..0602.|M2.5x6| T8 200 513466 916-80L/R 90 | 115 | 80 | 16 200 =i
513436 410-45L 38 | 52 | 45 | 10 200 513468 919-70L/R 72 | 105 | 70 | 19 300 £hsk
513438 410-50L 42 | 56 | 50 | 10 300 513470 919-90L/R 105 | 135 | 90 | 19 300 N
513440 413-60L 50 | 65 | 60 | 13 300 513472 919-85L/R 90 | 115 | 85 | 19 300 3 B
513442 413-75L 62 | 90 | 75 | 13 |CC09T3.|MAOXO) TI5 |0, 513474 919-105L/R | 115 | 150 | 105 | 1g |CC-1204-MS0XI21 720 | 450 fﬁa 1&
513444 419-115L 90 [ 125 | 115 | 19 [5C 1004 IMs.oxi2l T20 | 590 513476 925-100L/R | 105 | 140 | 100 | 25 500
513446 425-130L 105 | 160 | 130 | 25 ) 1 600 513478 925-135L/R__ | 140 | 190 | 135 | 25 600 7LBK
° 25— £l Ny, BST
SBS-30° £ F A EFLTIF - SBS-90° £ F X EFLTIHT w7
° : : ° . . )
SBS-30° Machine clamp boring tool bar o, SBS-90° Machine clamp boring tool bar T4
T L 30
S— —— Y 1
Eaz) S #FEE |Rfsize(mm)| 71K By | ]RFE | BN . CBI
Order Model D) | Diman | L D Insert | Screw |Wrench| RMB — | — CBH
513480 | SBS 306-20L 20 30 20 6 300 907 ¥4
513482 308-25L 25 | 42 | 25 | 8 |TP.0902..[M2.5x6| T8 300 T 1 Z
513484 310-36L 38 | 50 | 36 | 10 300 D |TBS. . L D |TBS. . R R
513486 313-48L 50 | 70 | 48 | 13 [TP.1103.|M3.0x8] T10 | 300 ' '
513488 316-60L 70 | 90 | 60 | 16 400 900\4 NBJ
513490 319-90L 90 | 135 | 90 | 19 |TP.1603..|M4.0x9| T15 | 500 /= NBH
513492 325-135L 140 | 190 | 135 | 25 600 ez
=3
° o = : K
SBS-45° & HF X FLTIHF - B S @7l |Rfseemm| 78 | 82 | 5% | & =i
SBS-45° Machine clamp boring tool bar D‘ Order Model Dimin) | Dmany | L D Insert | Screw |Wrench| RMB —]
! - 45 513520 | SBS 906-20L/R 20 | 30 | 20 | 6 200
— L — 513522 908-25L/R 25 | 42 | 25 | 8 200
TP..0902..[M2.5x6| T8
= P — w 513524 910-36L/R 38 | 50 | 36 | 10 200
¥ &5 il JRNEoin,  Jik By | mF | B4 513526 910-45L/R 50 | 70 | 45 | 10 200
Order Model Dwin) | Dimaxy | L D Insert Screw |Wrench| RMB 513528 913-48L/R 50 70 48 13 200
513500 | SBS 406-20L 20 | 30 | 20 | 6 300 513530 913-65L/R 70 | 90 | 65 | 13 |TP-1103..1M3.0x8) T10 | g —_—
513502 408-25L 25 | 42 | 25 | 8 |1p 0902 |M2.5x6| T8 300 513532 916-60L/R 62 | 90 | 60 | 16 200 &3Sk
513504 410-45L 38 | 52 | 45 | 10 200 513534 916-80L/R 90 | 115 | 80 | 16 200 e
513506 410-50L 42 | 56 | 50 | 10 200 513536 919-70L/R 72 | 105 | 70 | 19 300 &5 7]
513508 413-60L 50 | 65 | 60 | 13 [TP.1103..[M3.0x8] T10 | 300 513538 919-85L/R 105 | 115 | 85 | 19 |T1p 1603, |M4.0x9| T15 | 300
513510 416-75L 62 | 90 | 75 | 16 300 513540 919-90L/R 90 | 135 | 90 | 19 300
513512 419-90L 72 | 110 | 90 | 19 400 513542 919-105L/R | 105 | 150 | 105 | 19 400
513514 419-115L 00 | 125 | 115 | 1g | TP-1603\MA.0x0p T15 | g5 513544 925-100L/R | 115 | 140 | 100 | 25 500
513516 425-130L 105 | 160 | 130 | 25 600 513546 925-135L/R__ | 140 | 190 | 135 | 25 600




SN EEFLMIT N = T Fixed rough boring /
II-?g;&Efficiency Boring IE AE :_Et *E- %E/1§J % jj Chamferigg cutterg

LBK {2l £ 7] “lk o —1

LBK Chamfering cutter [
NIITER D ‘

TBL Fixed double edge rough boring bar TBC Fixed double edge rough boring head

E@ TBL Bl 2 X 714 % T 4F TBC [ 5t 3 714 5

AKMIER Dimen ‘ A ‘ L
gt e #IEE |®E|(#O0| DK | 20 gtz #E Rt Size (mm) NHE | Bf
Order Model Diwin) | Diman | H | LBK| Insert | RMB Order Model L A B a | Insert | RMB
513121 7C1-35 20 | 35 | 13 |LBK1 513130 ZM1-45 235 | 4 9 | 45° |CK1-CK4 ‘
513122 |  zC2-42 25 | 42 | 15 |LBK2|ZM1-45 513131 ZM2-45 43 | 8 20 | 45° |CK5-CK6 ‘ d
513123 |  ZC3-49 32 | 49 | 15 |LBK3|ZM1-30 513132 ZM1-30 275 | 4 9 | 30° |CK1-CK4
513124 |  ZC4-57 41 | 57 | 15 |LBK4 513133 |  ZM2-30 52 | 8 20 | 30° |CK5-CK6
513125 | ZC5-90 53 | 90 | 25 |LBK5
513126 | ZC6-104 68 | 104 | 25 |LBK6|ZM2-45 L
513127 |  zC7-138 98 | 138 | 25 |LBK6|ZM2-30
513128 |  ZC8-160 120 | 160 | 25 |LBK6
B ‘ T g e Rfsizemm) |71%| 71K | 8% | &#F | &M HEg &S Ritsizemm) | 7% | 71K | 8% | &F | 27
Order Model D d | L1 | L |Edge| Insert Screw |Wrench| RMB Order Model D d H Edge Insert Screw |Wrench| RMB
S
VA —— 513600 | TBL 8-130-C16 77|16 | 35 [130] 1 400 513760 | TBC 22-45 447 22 | 50 | 2 1150
H - - -
- [O_Of e A B P B ) v S o I I P SR O R
r—
. Dem | — 513606 11-130-C16  [10.7| 16 | 55 | 130 | 1 400 513766 22-60 59.7 | 22 | 50 2 1150
513608 12-130-C16 [11.7| 16 | 60 | 130 1 400 513768 | TBC 27-60 59.7 | 27 | 50 2 1150
513610 13-130-C16 [12.7| 16 | 65 | 130 1 250 513770 27-65 64.7 | 27 | 50 2 1275
= EE | & = 3 Si 5 14-130- 13.7| 16 | 70 | 130 1 250 51377 - 7] 27 | 5 75
Eo B2 IR E | #0| Nk | R4 L] # R~} size(mm) | #{f 13612 4-130-C16 0 13772 27-70 69 2 0] 2 12
@ Order Model D |Dwen| H | LBK| Insert |Parts  order Model A B T | RMB 513614 15-110-C16 [14.7| 16 | 60 | 110 | 2 250 513774 27-75 747 | 27 | 50 | 2 1275
513616 15-150-C16  [14.7| 16 | 80 | 150 | 2 250 513776 27-80 79.7| 27 | 50 | 2 |CC..09T3..[M4.0x9| T15 | 1275
513140 | LBK2-C0525 5 | 25 | 25 |LBK2|CW1206A|M2/T6 513150 CW1206A 6.35 | 12.7 | 2.7 513618 16-110-C16 [15.7| 16 | 60 | 110 | 2 250 513778 27-85 84.7| 27 | 50 | 2 1275
513141 | LBK4-C1040 | 10 | 40 | 35 |LBK4|CW1909A|M3/T8 513151 CW1909A 9.525| 4.5 | 45 513620 16-160-C16 |15.7| 16 | 80 | 160| 2 250 513780 27-90 89.7 | 27 | 50 2 1500 )
513142 | LBK5-C3060 | 30 | 60 | 40 |LBK5|CW1909A|M3/T8 513152 CW3115A 15.875| 7.0 | 7.0 513622 16-240-C16 [15.7| 16 | 160|240 | 2 750 513782 27-95 94.7 | 27 | 50 2 1500
513143 | LBK5-C50100 | 50 | 100 | 65 |LBK6|CW3115A[M5/T20 513624 17-110-C16 |16.7| 16 | 40 | 110| 2 250 513784 27-100 99.7 | 27 | 50 2 1500
513626 17-160-C16 [16.7| 16 | 40 | 160 | 2 250 513786 | TBC 32-105 104.7| 32 | 63 | 2 1500
513628 17-240-C16  [16.7| 16 | 40 |240| 2 750 513788 32-110 109.7| 32 | 63 | 2 1750
-I%EK’JJ@ Cutter Toolholder STFPR Kr=90° 513630 18-110-C16  [17.7| 16 | 40 | 110 | 2 250 513790 32-115 114.7| 32 | 63 2 | 0973 |ma.oxe| T15 | 1750
513632 18-160-C16 |17.7| 16 | 40 | 160| 2 250 513792 32-120 119.7| 32 | 63 2 * 1750
SCFCR Kr 513634 18-240-C16 [17.7| 16 | 40 |240| 2 750 513794 32-125 124.7| 32 63 2 1750
(\ 513636 19-110-C16  [18.7| 16 | 40 | 110 | 2 | gooo (1o sol 14 250 513796 32-130 129.7] 32 | 63 2 1750
513638 19-160-C16 [18.7| 16 | 40 | 160 | 2 ' ' 250
513640 19-240-C16 |18.7| 16 | 40 |240| 2 750 ERFEFALMIIIE
513642 20-110-C16 [19.7| 16 | 40 [110| 2 250 Nonstandard tool for bori RS
. 513644 20-160-C16 |19.7| 16 | 40 | 160| 2 250 onstandard tool tor boring I g
’ = ; = ; 3
RIR L] 25 [ e () Nk B2 £ L] s Sl (SIz2l(nim) £ 513646 20-240-C16  [19.7| 16 | 40 |240| 2 750 RiE
%ﬁ\\ Order Model L1 | L8| F H |Dm Insert Screw |Wrench| RMB Order Model L1 | L8| F H |Dm Insert Screw |Wrench| RMB 513648 21-120-C20 [20.7| 20 | 40 [120| 2 300
= 513200 | STFCR- 08CA-06 | 32 | 15 | 10 | 8 | 25 [CC..0602..|M2.5x6| T8 | 500 513218 | STFPR- 08CA-09 | 32 | 15 | 10 | 8 | 25 [TP..0902..|M2.5x6| T8 | 500 513650 21-180-C20 |20.7| 20 | 40 | 180| 2 300
§r4h 513202 10CA-09 | 50 | 30 | 14 | 10 | 40 |CC..09T3..[M4.0x9| T15 | 500 513220 10CA-11 50 | 30 | 14 | 10 | 40 |TP..1103..|M3.0x8| T10 | 500 513652 21-260-C20 |20.7| 20 | 40 | 260| 2 1000
513222 12CA-16 | 55 | 35 | 20 | 12 | 50 | TP.1603..|M4.0x9] T15 | 500 513654 22-120-C20 |21.7| 20 | 40 | 120| 2 300
=il 513656 22-180-C20 (21.7| 20 | 40 [180| 2 300
£ SRSCR STGCL 513658 22-260-C20 |21.7| 20 | 40 [260| 2 1000
£k Kr=120° Kr=90° 513660 23-120-C20 |22.7| 20 | 40 [120| 2 300
s 513662 23-160-C20 |22.7| 20 | 40 [160| 2 300 e Py -
K |
VMD T x | 513664 23-260-C20 |22.7| 20 | 40 [260| 2 1000 HIFRE A7) R VMD
K4k Sk (’ 513666 24-120-C20 |23.7| 20 | 40 [120| 2 300 Compound boring cutter Fixed size drill K &L Sk
- 513668 24-180-C20 (23.7| 20 | 40 [180| 2 300 _
N 513670 24-260-C20 [23.7| 20 | 40 [260| 2 1000 . . e A b o b
FH 513672 25120-C20 |24.7| 20 | 40 120 2 300 1.@EE: —BTEATUE—RHELFEXZIFMI. =~
. YRS Be R 5 Size (mm) B o #e Rt size (mm) ®E | Bpn 513674 25-180-C20 |24.7| 20 | 40 180 2 300 250 : ATRESES, TETUEMNIEREGITREENHEED. ?
Zin 513676 25-260-C20  |24.7) 20 | 40 | 260 2 1250 BBRIE: ARRBRKEBALERHFHRERNITIEMERTES . '
BESL Order Model L1 ‘ L8 ‘ F ‘ H {Dm Insert | Screw |Wrench| RMB Order Model L1 ‘ L8 ‘ F ‘ H {Dm Insert | Screw |Wrench| RMB 513678 26-120-C20 |25.7| 20 | 40 [ 120 2 400 z = L
= 513208 | SRSCR- 10CA-10_| 50 | 30 | 14 | 10 | 40 |RC..10T3.]M3.5x8] T15 | 500 513224 | STGCL 12CA-16 | 32 | 35 | 20 | 12 | 75 |TC..16T3../M4.0x9] T15 | 500 513680 26-180-C20 |25.7| 20 | 40 [180| 2 400 1. High efficiency: one tool can complete multi process processing in one feed
h Bk 513682 26-260-C20 [25.7| 20 | 40 [260]| 2 1250 2. Highrigidity: because itis customized, the cutting tool can be designed into the highest 3 7%
JH 3R 513684 27-120-C20 |26.7| 20 | 40 [120] 2 400 rigidity structure according to the processing requirements s
Eaﬁl SSSPR STSPR Kr=45° 513686 27-200-C20 |[26.7| 20 | 40 |200]| 2 400 3.Superﬂex@b|e:both super long and super large cutters and special shaped cutters can EEH;
_— P 513688 27-280-C20 |26.7| 20 | 40 | 280 2 1250 be customized for you. _—
LBK 513690 28-120-C20 |27.7| 20 | 40 [120| 2 400 LBK
BST N 513692 28-200-C20 |27.7| 20 | 40 [200]| 2 400 ¥ EHIERTIEM—REE. BST
3. 513694 28-280-C20 |27.7| 20 | 40 [280| 2 1250 . s
27 513696 29-200-025 |28.7| 25 | 40 | 200| 2 400 Custom non-standard tool of the general steps: i iL
n%ﬁ 513698 29-280-C25 (28.7| 25 | 40 |280| 2 1250 E—, BHMTHEMTES, FiEmImEEmIi . J11R
% 2 4 4 NERNRTERRIHNHER. BE.
— Eite) ey RT]'Size(mm) 2o Eits) s RT]'Size(mm) 21 518700 30-160-C25 29.7] 25 | 40 | 160 2 400 sle;:provwdmg workpiece dr‘awmqs a;d de?:\\ed processing of specifying a location } .

HBOR Order Model L1|L8 | F H |Dm| Insert | Screw |Wrench| RMB Order Model L1|L8 | F H |Dm| Insert | Screw |Wrench| RMB g}g;gi gg'ggg'ggg gg; ;g jg ggg 2 1420500 of the size requirements and the workpiece material, hardness HBOR
CBI 513210 | SSSPR- 10CA-09 | 50 | 30 | 14 | 10 | 40 |SP..0903..|M3.5x8| T15 | 500 513230 | STSPR- 08CA-09 | 28 | 11 | 10 | 8 | 25 |TP.0902..|M2.5x6| T8 | 500 513706 31-200-025 |30.7| 25 | 40 | 200| 2 500 Fo%: BENAWPHER, TUIBTEFEFXEHE, BTULETFRIMNY TR CBI
CBH 513232 10CA-11 | 44 | 24 | 14 | 10 | 40 | TP..1103..[M3.0x8| T10 | 500 513708 31-280-G25 |30.7| 25 | 40 |280| 2 1500 FERMIHEEEMERANED. CBH
g £aln 513234 12CA-16 47 27 20 12 50 [TP..1603..[M4.0x9| T15 500 513710 32-160-C25 31.7| 25 | 40 | 160]| 2 500 step2: Specify the type of tool shank, which can be integral spindle handle BT, etc. may also be a ‘:3;,%,;4:;
'H %i 513712 32.210-C25 31‘7 25 | 40 | 210 2 500 leveling out or raked flat shank straight shank handle, etc. or any other form of interface ﬁé.i
R4 . 513714 32.280-025 |31.7| 25 | 40 | 280| 2 1500 B RABFANREHTARAAMUBRKRNAGESEFNRTEERTKRNIIA. Rg

—_— STFCR Kr=90 STSCR Kr=45° 513716 33.220-032  |32.7] 32 | 40 | 220 2 500 step3: to provide the following information as detailed as possible so that we can
NBJ Kr += Kre 513718 34.220-032  |33.7] 32 | 40 |220| 2 |cc..09T3.|M4.0x0| T15 500 provide you customized tool that best meets your needs. NBJ

NBH s ~ 513720 35-160-C32  |34.7| 32 | 40 | 160 | 2 500 MBRE Machine Type NBH
su7 513722 35-250-C32 |34.7| 32 | 40 [250| 2 550 - ’ w7
Lo 513724 36-250-C32  |35.7| 32 | 40 |250| 2 sso  URIME (KW)Machine power (KW) ey
Ex 513726 37-160-C32 (36.7| 32 | 40 |160]| 2 550 wmAH¥®E (RPM)Maximum Speed (RPM)________________ =

1 513728 7-250-C32 [36.7| 32 | 40 |250| 2 550 & KSR E i
P me R+ size (mm) TIH B RE #e R size (mm) B 2 1ava 37-250-C3 o BAXRERES Maximum Coolant Pressure________________
38-250-C32 | 37.7| 32 250 2 550 45 SLHE4% Rotary Drill [ T #%HE%: Workpiece rotation [J
Order Model L1|L8 | F H |Dm Insert Screw |Wrench| RMB Order Model L1|L8 | F H | Dm Insert Screw |Wrench| RMB 513732 39-250-C32 |38.7| 32 | 40 | 250 2 550 2 £ 8] Vertioal Drill O K EEH] The | | of drilling O
ertica ritimn e elevel o rifin
513212 | SSSPR- 08CA-09 | 32 | 15 | 10 | 8 | 25 [TC..0902..|M2.2x5] T6 | 500 513236 | STSCR- 08CA-09 | 28 | 11 | 10 | 8 | 25 |TC..0902..|M2.2x5| T6 | 500 DIEES 40-160-C32  |39.7| 32 | 40 160 | 2 L 9 . - ¢
513214 10CA-11 | 50 | 30 | 14 | 10 | 40 |TC..1102..|M25x6| T8 | 500 513238 10CA-11 | 44 | 24 | 14 | 10 | 40 |TC..1102..|M2.5x6| T8 | 500 glg;gg 40-250-C32  [39.7( 32 jg 250 | 2 600 X#7FR Cooling M% Cooled O $h¥% External cooling O
513216 12CA-16 | 55 | 35 | 20 | 12 | 50 |TC..16T3..|M4.0x9]| T15 | 500 513240 12CA-16 | 47 | 27 | 20 | 12 | 50 |TC..16T3..|M4.0x9]| T15 | 500 plndsd :;:ggg:ggg 2?:; gg pis ggg ; ggg HLARRIE Machine rigidity & High O —# Common O %= Low O
£kl e % % BHE%E 2 513742 43-250-C32 |42.7| 32 | 40 |250| 2 600 1TMREGEELEERIUTTFHNIERTIREEE, BARRETNEBRRMNRATUREMT . &5 3L
. . _ . 1 | 513744 44-250-C32 43.7| 32 | 40 |250| 2 600 1.If you already have designed non-standard drawing tools, then we can only provide tools that you are -
. Axial mounting Radial mounting HI* A1 Xp=L1-Dm2 513746 45-250-C32  |44.7| 32 | 40 | 250 2 800 drawing processing 7]
#J] D1=2JH4@@xa) T Axial adjust=+0.5mm £ 513748 46-250-C32  [45.7| 32 | 40 |250| 2 800 2. RWHHMMREHEFTEERTIEMNERAEN, BHEIEA, THNIIABEEH. -
_Dmi o F Radial adjust=£1mm 9 513750 47-250-C32 [46.7| 32 | 40 |250| 2 800 2.Much detail as possible you need to customize the tool to provide relevantinformation, data more
Xa= 2 D2=2 513752 48-250-C32 47.7| 32 | 40 |250| 2 800 detailed, customized tool will be more shared
= 2 2 + N . /s O ([
Axial adjust=timm | R H+(L3(2)x0) ) 49-250-C32  |48.7| 32 | 40 250 2 950 3 MREEARCERFEZSRNMIRITAE.
Radial adjust=+0.5mm 513756 50-250-C32 49.7] 32 | 40 1250] 2 950 3.1f you have other requirements please communicate directly with our engineers

K47 Tkas



SEFLMLT

High-speed steel drill

= 1R 3 3 Sk

Straight shank lengthening drill bit

High Efficiency Drilling

BERmnic st sk Straight shank lengthening drill bit Bt sk 3 e R

BEWFREMRTEEESL  straight Shank Dril

FEERERES: 525...

R~ BHARM) R~ B AR R~ EXNONET?) 7E | K| 2K Rt BHARM) R~ BHARM
R~ B AR DEEBEIESS DEABEIESS DERIBEIESS 7.2 | 100 | 200 [ 120 | 150 NE | K| &K NE | K| &K
TR | K | &K ﬁ 1.0 35 75 | 10 | 13 4.0 75 | 150 | 46 | 58 5.6 | 100 | 150 | 69 | 86 120 | 250 | 152 | 190 9.3 | 100 | 200 | 162 | 203 1.6 | 120 | 250 | 315 | 394
0.2 3 19 | 72 % 40 | 100 | 15 | 19 100 | 200 | 57 | 71 100 | 200 | 95 | 119 150 | 300 | 250 | 313 120 | 250 | 220 | 275 150 | 300 | 371 | 464
03 | 35 | 20 | 59 ﬁlj 11 35 75 | 10 | 13 120 | 250 | 76 | 95 120 | 250 | 125 | 156 7.3 | 100 | 200 [ 120 | 150 150 | 300 | 285 | 356 1.7 | 120 | 250 | 315 | 394
04 | 55 | 24 | 547 4 40 | 100 | 15 | 19 120 | 300 | 100 | 125 150 | 300 | 155 | 194 120 | 250 | 152 | 190 9.4 | 100 | 200 [ 162 | 203 150 | 300 | 371 | 464
05 | 75 | 27 7 9 3’: 1.2 35 75 | 10 | 13 4.1 75 | 150 | 49 | 61 180 | 400 | 220 | 275 150 | 300 | 250 | 313 120 | 250 | 220 | 275 1.8 | 120 | 250 | 315 | 394
06 | 85 | 30 7 9 40 | 100 | 15 | 19 100 | 200 | 67 | 84 180 | 500 | 315 | 394 7.4 | 100 | 200 [ 120 | 150 150 | 300 | 285 | 356 150 | 300 | 371 | 464
0.7 10 32 7 9 1.3 35 75 | 10 | 13 120 | 250 | 86 | 108 57 | 100 | 150 | 69 | 86 120 | 250 | 152 | 190 9.5 | 100 | 200 [ 162 | 203 1.9 | 120 | 250 | 315 | 394
0.8 11 34 7 9 Rt BHART 40 | 100 | 15 | 19 120 | 300 | 109 | 136 100 | 200 [ 95 | 119 150 | 300 | 250 | 313 120 | 250 | 220 | 275 150 | 300 | 371 | 464
0.9 13 36 7 9 77 | K | &K 1.4 35 75 10 | 13 4.2 75 150 | 49 61 120 | 250 | 125 | 156 7.5 100 | 200 | 120 | 150 150 | 300 | 285 | 356 12.0 | 120 | 250 | 315 | 394
1.0 18 40 7 9 7.5 78 | 111 | 47 | 59 40 | 100 | 15 | 19 100 | 200 | 67 | 84 150 | 300 | 155 | 194 120 | 250 | 152 | 190 200 | 400 | 410 | 513 150 | 300 | 371 | 464
1.1 20 42 7 9 7.6 78 | 111 | 55 | 69 1.5 35 75 | 10 | 13 120 | 250 | 86 | 108 180 | 400 | 220 | 275 150 | 300 | 250 | 313 200 | 500 | 560 | 700 200 | 400 | 550 | 688
1.2 20 42 7 9 7.7 81 | 114 | 55 | 69 40 | 100 | 15 | 19 120 | 300 | 109 | 136 180 | 500 | 315 | 394 200 | 400 | 325 | 406 200 | 600 | 730 | 913 250 | 500 | 710 | 888
1.3 22 45 7 9 7.8 81 | 114 | 55 | 69 1.6 35 75 | 10 | 13 4.3 75 | 150 | 49 | 61 58 | 100 | 150 | 69 | 86 200 | 500 | 390 | 488 9.6 | 100 | 200 [ 171 | 214 300 | 600 | 930 | 1163
1.4 23 48 7 9 7.9 81 | 114 | 55 | 69 40 | 100 | 15 | 19 100 | 200 | 67 | 84 100 | 200 [ 95 | 119 200 | 600 | 560 | 700 120 | 250 | 238 | 298 121 | 120 | 250 | 330 | 413
1.5 23 48 7 9 8.0 81 | 114 | 55 | 69 1.7 35 75 | 10 | 13 120 | 250 | 86 | 108 120 | 250 | 125 | 156 7.6 | 100 | 200 | 130 | 163 150 | 300 | 295 | 369 150 | 300 | 410 | 513
1.6 25 50 8 10 8.1 84 | 117 | 69 | 86 40 | 100 | 15 | 19 120 | 300 | 109 | 136 150 | 300 | 155 | 194 120 | 250 | 165 | 206 9.7 | 100 | 200 [ 171 | 214 12.2 | 120 | 250 | 330 | 413
1.7 25 50 8 10 8.2 84 | 117 | 69 | 86 1.8 35 75 | 10 | 13 4.4 75 | 150 | 49 | 61 180 | 400 | 220 | 275 150 | 300 | 220 | 275 120 | 250 | 238 | 298 150 | 300 | 410 | 513
1.8 28 52 8 10 8.3 84 | 117 | 69 | 86 40 | 100 | 15 | 19 100 | 200 | 67 | 84 180 | 500 | 315 | 394 7.7 | 100 | 200 [ 130 | 163 150 | 300 | 295 | 369 12.3 | 120 | 250 | 330 | 413
1.9 28 52 8 10 8.4 87 | 121 | 69 | 86 1.9 35 75 | 10 | 13 120 | 250 | 86 | 108 59 | 100 | 150 | 69 | 86 120 | 250 | 165 | 206 9.8 | 100 | 200 [ 171 | 214 150 | 300 | 410 | 513
2.0 29 55 8 10 8.5 87 | 121 | 69 | 86 40 | 100 | 15 | 19 120 | 300 | 109 | 136 100 | 200 | 95 | 119 150 | 300 | 220 | 275 120 | 250 | 238 | 298 12.4 | 120 | 250 | 330 | 413
2.1 29 55 | 85 | 11 8.6 87 | 121 | 76 | 95 2.0 40 | 100 | 10 | 13 4.5 75 | 150 | 49 | 61 120 | 250 | 125 | 156 7.8 | 100 | 200 | 130 | 163 150 | 300 | 295 | 369 150 | 300 | 410 | 513
2.2 33 58 | 85 | 11 8.7 87 | 121 | 76 | 95 60 | 150 | 15 | 19 100 | 200 | 67 | 84 150 | 300 | 155 | 194 120 | 250 | 165 | 206 9.9 | 100 | 200 [ 171 | 214 12.5 | 120 | 250 | 330 | 413
2.3 33 58 | 85 | 11 8.8 89 | 124 | 76 | 95 2.1 40 | 100 | 10 | 13 120 | 250 | 86 | 108 180 | 400 | 220 | 275 150 | 300 | 220 | 275 120 | 250 | 238 | 298 150 | 300 | 410 | 513
2.4 35 61 | 85 | 11 8.9 89 | 124 | 76 | 95 60 | 150 | 15 | 19 120 | 300 | 109 | 136 180 | 500 | 315 | 394 7.9 | 100 | 200 [ 130 | 163 150 | 300 | 295 | 369 120 | 400 | 570 | 713
2.5 35 61 | 85 | 11 9.0 89 | 124 | 76 | 95 2.2 40 | 100 | 10 | 13 4.6 75 | 150 | 57 | 71 6.0 | 100 | 150 | 69 | 86 120 | 250 | 165 | 206 10.0 | 100 | 200 [ 171 | 214 150 | 500 | 760 | 950
2.6 37 64 | 10 | 13 9.1 89 | 124 | 83 | 104 60 | 150 | 15 | 19 100 | 200 | 76 | 95 100 | 200 | 95 | 119 150 | 300 | 220 | 275 120 | 250 | 238 | 298 200 | 600 | 995 | 1244
N 2.7 37 64 | 10 | 13 9.2 92 | 127 | 83 | 104 2.3 40 | 100 | 10 | 13 120 | 250 | 100 | 125 120 | 250 | 125 | 156 8.0 | 100 | 200 | 130 | 163 150 | 300 | 295 | 369 12.6 | 120 | 250 | 350 | 438 3
£h sk 2.8 39 67 | 10 | 13 9.3 92 | 127 | 83 | 104 60 | 150 | 15 | 19 130 | 300 | 119 | 149 150 | 300 | 155 | 194 120 | 250 | 165 | 206 200 | 400 | 430 | 538 150 | 300 | 465 | 581 Sk
2.9 42 71 10 | 13 9.4 92 | 127 | 83 | 104 2.4 40 | 100 | 10 | 13 150 | 400 | 150 | 188 180 | 400 | 220 | 275 150 | 300 | 220 | 275 250 | 500 | 570 | 713 12.7 | 120 | 250 | 350 | 438
3.0 42 71 10 | 13 9.5 92 | 127 | 83 | 104 60 | 150 | 15 | 19 4.7 75 | 150 | 57 | 71 180 | 500 | 315 | 394 200 | 400 | 330 | 413 300 | 600 | 760 | 950 150 | 300 | 465 | 581
3.1 42 71 1 | 14 9.6 95 | 130 | 93 | 116 2.5 50 | 100 | 10 | 13 100 | 200 | 76 | 95 200 | 600 | 500 | 625 200 | 500 | 435 | 544 10.1 | 100 | 200 | 185 | 231 12.8 | 120 | 250 | 350 | 438 ——
PRI 3.2 42 71 1 | 14 9.7 95 | 130 | 93 | 116 60 | 150 | 33 | 41 120 | 250 | 100 | 125 6.1 100 | 150 | 69 | 86 200 | 600 | 620 | 775 120 | 250 | 252 | 315 150 | 300 | 465 | 581 H%E
sk 3.3 45 73 | 11 | 14 9.8 95 | 130 | 93 | 116 100 | 200 | 48 | 60 130 | 300 | 119 | 149 100 | 200 [ 95 | 119 81 | 100 | 200 | 145 | 181 150 | 300 | 305 | 381 12.9 | 120 | 250 | 350 | 438 3k
P 3.4 45 73 | 11 | 14 9.9 95 | 130 | 93 | 116 2.6 50 | 100 | 10 | 13 150 | 400 | 150 | 188 120 | 250 | 125 | 156 120 | 250 | 185 | 231 10.2 | 100 | 200 | 185 | 231 150 | 300 | 465 | 581 sk
3.5 45 73 | 11 | 14 100 | 95 | 130 | 93 | 116 75 | 150 | 33 | 41 4.8 75 | 150 | 57 | 71 150 | 300 | 155 | 194 150 | 300 | 238 | 298 120 | 250 | 252 | 315 13.0 | 120 | 250 | 350 | 438
iy 3.6 48 76 | 13 | 16 101 | 98 | 133 | 105 | 131 100 | 200 | 48 | 60 100 | 200 | 76 | 95 62 | 100 | 150 | 69 | 86 8.2 | 100 | 200 | 145 | 181 150 | 300 | 305 | 381 150 | 300 | 465 | 581 F il
EE3L 3.7 48 76 | 13 | 16 102 | 98 | 133 | 105 | 131 2.7 50 | 100 | 10 | 13 120 | 250 | 100 | 125 100 | 200 | 95 | 119 120 | 250 | 185 | 231 10.3 | 100 | 200 | 185 | 231 200 | 400 | 635 | 794 &b
3.8 48 76 | 13 | 16 103 | 98 | 133 | 105 | 131 75 | 150 | 33 | 41 130 | 300 | 119 | 149 120 | 250 | 125 | 156 150 | 300 | 238 | 298 120 | 250 | 252 | 315 250 | 500 | 830 | 1038 _—
VMD 3.9 51 79 | 13 | 16 104 | 98 | 133 | 105 | 131 100 | 200 | 48 | 60 150 | 400 | 150 | 188 150 | 300 | 155 | 194 8.3 | 100 | 200 | 145 | 181 150 | 300 | 305 | 381 300 | 600 | 1050 | 1310 VMD
K5 Sk 40 | 54 | 83 | 13 | 16 10.5 | 100 | 137 [ 105 | 131 28 | 50 | 100 | 10 | 13 49 | 75 | 150 | 57 | 71 6.3 | 100 | 150 | 69 | 86 120 | 250 [ 185 | 231 10.4 | 100 | 200 | 185 | 231 REhk
_— 4.1 54 83 | 17 | 21 10.6 | 100 | 137 | 113 | 141 75 | 150 | 33 | 41 100 | 200 | 76 | 95 100 | 200 | 95 | 119 150 | 300 | 238 | 298 120 | 250 | 252 | 315 TN
R 4.2 54 83 | 17 | 21 10.7 | 100 | 137 | 113 | 141 100 | 200 | 48 | 60 120 | 250 | 100 | 125 120 | 250 | 125 | 156 8.4 | 100 | 200 | 145 | 181 150 | 300 | 305 | 381 EES
— 4.3 54 83 | 18 | 23 10.8 | 103 | 140 | 113 | 141 2.9 50 | 100 | 10 | 13 130 | 300 | 119 | 149 150 | 300 | 155 | 194 120 | 250 | 185 | 231 10.5 | 120 | 250 | 252 | 315 = .
%‘Eb_ 4.4 56 86 | 18 | 23 10.9 | 103 | 140 | 113 | 141 75 | 150 | 33 | 41 150 | 400 | 150 | 188 6.4 | 100 | 150 | 69 | 86 150 | 300 | 238 | 298 150 | 300 | 305 | 381 %ng-
5 4.5 56 86 | 18 | 23 11.0 | 103 | 140 | 113 | 141 100 | 200 | 48 | 60 5.0 75 | 150 | 57 | 71 100 | 200 | 95 | 119 8.5 | 100 | 200 | 145 | 181 200 | 400 | 465 | 581 N
h & 4.6 56 86 | 20 | 25 1.1 | 103 | 140 | 125 | 156 3.0 50 | 100 | 10 | 13 100 | 200 | 76 | 95 120 | 250 | 125 | 156 120 | 250 | 185 | 231 250 | 500 | 600 | 750 g
i3 4 4.7 59 89 |20 | 25 1.2 | 106 | 143 | 125 | 156 75 | 150 | 33 | 41 120 | 250 | 100 | 125 150 | 300 | 155 | 194 150 | 300 | 238 | 298 300 | 600 | 800 | 1000 i 1tk
4.8 59 89 | 20 | 25 1.3 | 106 | 143 | 125 | 156 100 | 200 | 48 | 60 130 | 300 | 119 | 149 6.5 | 100 | 200 | 105 | 131 200 | 400 | 370 | 463 10.6 | 120 | 250 | 280 | 350 —_—
LBK 4.9 62 92 | 20 | 25 1.4 | 106 | 143 | 125 | 156 3.1 75 | 150 | 36 | 45 150 | 400 [ 150 | 188 120 | 250 | 150 | 188 200 | 500 | 475 | 594 150 | 300 | 335 | 419 LBK
BST 5.0 62 92 | 20 | 25 1.5 | 106 | 143 | 125 | 156 100 | 200 | 48 | 60 5.1 75 | 150 | 62 | 78 150 | 300 | 175 | 219 200 | 600 | 665 | 831 10.7 | 120 | 250 | 280 | 350 BST
w7 5.1 62 92 | 24 | 30 11.6 | 109 | 146 | 136 | 170 3.2 75 | 150 | 36 | 45 100 | 200 | 81 | 101 200 | 400 | 285 | 356 8.6 | 100 | 200 [ 152 | 190 150 | 300 | 335 | 419 =L
TR 5.2 64 95 | 24 | 30 1.7 | 109 | 146 | 136 | 170 100 | 200 | 48 | 60 120 | 250 | 115 | 144 200 | 500 | 370 | 463 120 | 250 | 195 | 244 10.8 | 120 | 250 | 280 | 350 JIHA
5.3 64 95 | 26 | 33 11.8 | 109 | 146 | 136 | 170 3.3 75 | 150 | 36 | 45 130 | 300 | 135 | 169 200 | 600 | 495 | 619 150 | 300 | 266 | 333 150 | 300 | 335 | 419 —
HBOR 5.4 64 95 | 26 | 33 11.9 | 109 | 146 | 136 | 170 100 | 200 | 48 | 60 150 | 400 | 165 | 206 6.6 | 100 | 200 | 105 | 131 8.7 | 100 | 200 [ 152 | 190 10.9 | 120 | 250 | 280 | 350 HBOR
CBI 5.5 64 95 | 26 | 33 12.0 | 111 | 149 | 136 | 170 3.4 75 | 150 | 36 | 45 5.2 75 | 150 | 62 | 78 120 | 250 | 150 | 188 120 | 250 | 195 | 244 150 | 300 | 335 | 419 CBI
CBH 5.6 67 98 | 29 | 36 124 | 111 | 149 | 150 | 188 100 | 200 | 48 | 60 100 | 200 | 81 | 101 150 | 300 | 175 | 219 150 | 300 | 266 | 333 1.0 | 120 | 250 | 280 | 350 Cfﬂ
13 57 | 67 | 98 |29 | 36 122 | 111 | 149 |'450"| 188 35 | 75 | 150 | 36 | 45 120 | 250 | 115 | 144 67 | 100 | 200 | 105 | 131 88 | 100 | 200 | 152 | 190 150 | 300 | 335 | 419 1 =
B 5.8 67 98 | 29 | 36 12.3 | 111 | 149 | 150 | 188 100 | 200 | 48 | 60 130 | 300 | 135 | 169 120 | 250 | 150 | 188 120 | 250 | 195 | 244 200 | 400 | 495 | 619 2%
NBJ 5.9 67 98 | 29 | 36 12.4 | 114 | 152 | 150 | 188 3.6 75 | 150 | 46 | 58 150 | 400 | 165 | 206 150 | 300 | 175 | 219 150 | 300 | 266 | 333 250 | 500 | 635 | 794 NBJ
e 6.0 70 | 102 | 29 | 36 125 | 114 | 152 | 150 | 188 100 | 200 | 57 | 71 5.3 75 | 150 | 62 | 78 6.8 | 100 | 200 | 105 | 131 8.9 | 100 | 200 [ 152 | 190 300 | 600 | 830 | 1038 NBH
7 6.1 70 | 102 [733 | 41 12.6 | 114 | 152 | 160 | 200 120 | 250 | 76 | 95 100 | 200 | 81 | 101 120 | 250 | 150 | 188 120 | 250 | 195 | 244 1.1 | 120 | 250 | 295 | 369 a7
& i 6.2 70 | 102 | 33 | 41 127 | 114 | 152 | 160 | 200 120 | 300 | 100 | 125 120 | 250 | 115 | 144 150 | 300 | 175 | 219 150 | 300 | 266 | 333 150 | 300 | 352 | 440 4
6.3 70 | 102 | 33 | 41 12.8 | 114 | 152 | 160 | 200 3.7 75 | 150 | 46 | 58 130 | 300 | 135 | 169 6.9 | 100 | 200 [ 105 | 131 9.0 | 100 | 200 | 152 | 190 1.2 | 120 | 250 | 295 | 369
TWE 6.4 73 | 105 | 33 | 41 12.9 | 114 | 152 | 160 | 200 100 | 200 | 57 | 71 150 | 400 | 165 | 206 120 | 250 | 150 | 188 120 | 250 | 195 | 244 150 | 300 | 352 | 440 TWE
RBH 6.5 73 | 105 | 33 | 41 13.0 | 114 | 152 | 160 | 200 120 | 250 | 76 | 95 5.4 75 | 150 | 62 | 78 150 | 300 | 175 | 219 150 | 300 | 266 | 333 1.3 | 120 | 250 | 295 | 369 RBH
Y 4 6.6 73 | 105 | 39 | 49 13.5 | 122 | 168 | 195 | 244 120 | 300 | 100 | 125 100 | 200 | 81 | 101 7.0 | 100 | 200 | 105 | 131 200 | 400 | 399 | 499 150 | 300 | 352 | 440 ik
A% 6.7 73 | 105 | 39 | 49 14.0 | 122 | 168 | 245 | 306 3.8 75 | 150 | 46 | 58 120 | 250 | 115 | 144 120 | 250 | 150 | 188 200 | 500 | 505 | 631 1.4 | 120 | 250 | 295 | 369 RY
—— 6.8 73 | 105 | 39 | 49 145 | 122 | 168 | 308 | 385 100 | 200 | 57 | 71 130 | 300 | 135 | 169 150 | 300 | 175 | 219 200 | 600 | 695 | 869 150 | 300 | 352 | 440 ]
- 6.9 73 | 105 | 39 | 49 15.0 | 132 | 181 | 370 | 463 120 | 250 | 76 | 95 150 | 400 | 165 | 206 200 | 400 | 285 | 356 9.1 | 100 | 200 | 162 | 208 1.5 | 120 | 250 | 295 | 369 -
e 7.0 73 | 105 | 39 | 49 15.5 | 132 | 181 | 423 | 529 120 | 300 | 100 | 125 5.5 75 | 150 | 62 | 78 200 | 500 | 370 | 463 120 | 250 | 220 | 275 150 | 300 | 352 | 440 e
#w 7] 7.1 75 | 108 | 47 | 59 16.0 | 132 | 181 | 440 | 550 3.9 75 | 150 | 46 | 58 100 | 200 | 81 | 101 200 | 600 | 495 | 619 150 | 300 | 285 | 356 200 | 400 | 500 | 625 #J)
7.2 75 108 47 59 16.5 132 181 485 | 606 100 200 57 71 120 250 115 144 71 100 200 105 131 9.2 100 200 162 | 203 250 500 685 | 856
7.3 75 | 108 |47 | 59 17.0 | 143 | 194 | 530 | 663 120 | 250 | 76 | 95 130 | 300 | 135 | 169 120 | 250 | 150 | 188 120 | 250 | 220 | 275 300 | 600 | 885 | 1106
7.4 78 | 111 | 47 | 59 17.5 | 143 | 194 | 550 | 688 120 | 300 | 100 | 125 150 | 400 | 165 | 206 150 | 300 | 175 | 219 150 | 300 [ 285 | 356




MZG

#HEEE Sk oblique Shank Dril

SEFLMLT

High Efficiency Drilling

FHRTh K

[

FHR N K

=1 1R §¥ £h =k

High-speed steel drill

M DIN345 BAR  FTRE: 527..

R~ BHART RsF BHARM) R~ B AR R~t EXNONZAD)
71 | 71K | £1K [vtNo 71E | 7] | £1K |wtNo T2 | 71K | £ [uTNo T2 | 71K | £ [vwTNo
7.0 75 | 155 | 1 | 120 | 170 14.3 | 122 | 222 | 2 | 151 | 230 216 | 160 | 260 | 2 | 315 | 640 28.9 | 180 | 300 | 3 | 644 | 1270
7.1 78 | 158 | 1 | 120 | 170 14.4 | 122 | 222 | 2 | 151 | 230 21.7 | 160 | 260 | 2 | 315 | 640 29.0 | 180 | 300 | 3 | 644 | 1270
7.2 78 | 158 | 1 | 120 | 170 145 | 122 | 222 | 2 | 151 | 230 21.8 | 160 | 260 | 2 | 315 | 640 29.1 | 185 | 305 | 3 | 644 | 1270
7.3 78 | 158 | 1 | 120 | 170 146 | 125 | 225 | 2 | 151 | 260 21.9 | 160 | 260 | 2 | 315 | 640 29.2 | 185 | 305 | 3 | 644 | 1270
7.4 78 | 158 | 1 | 120 | 170 14.7 | 125 | 225 | 2 | 151 | 260 22.0 | 160 | 260 | 2 | 315 | 640 29.3 | 185 | 305 | 3 | 644 | 1270
7.5 78 | 158 | 1 | 120 | 170 14.8 | 125 | 225 | 2 | 151 | 260 221 | 165 | 265 | 2 | 315 | 640 29.4 | 185 | 305 | 3 | 644 | 1270
7.6 82 | 162 | 1 | 120 | 170 14.9 | 125 | 225 | 2 | 151 | 260 222 | 165 | 265 | 2 | 315 | 640 29.5 | 185 | 305 | 3 | 644 | 1270
7.7 82 | 162 | 1 | 120 | 170 15.0 | 125 | 225 | 2 | 151 | 260 223 | 165 | 265 | 2 | 315 | 640 29.6 | 185 | 305 | 3 | 754 | 1430
7.8 82 | 162 | 1 | 120 | 170 15.1 | 128 | 228 | 2 | 151 | 260 224 | 165 | 265 | 2 | 315 | 640 29.7 | 185 | 305 | 3 | 754 | 1430
7.9 82 | 162 | 1 | 120 | 170 15.2 | 128 | 228 | 2 | 151 | 260 225 | 165 | 265 | 2 | 315 | 640 29.8 | 185 | 305 | 3 | 754 | 1430
8.0 82 | 162 | 1 | 120 | 170 15.3 | 128 | 228 | 2 | 151 | 260 226 | 165 | 265 | 2 | 356 | 730 29.9 | 185 | 305 | 3 | 754 | 1430
8.1 85 | 168 | 1 | 120 | 170 15.4 | 128 | 228 | 2 | 151 | 260 227 | 165 | 265 | 2 | 356 | 730 30.0 | 185 | 305 | 3 | 754 | 1430
8.2 85 | 168 | 1 | 120 | 170 15.5 | 128 | 228 | 2 | 151 | 260 228 | 165 | 265 | 2 | 356 | 730 30.1 | 190 | 310 | 3 | 754 | 1430
8.3 85 | 168 | 1 | 120 | 170 15.6 | 130 | 230 | 2 | 164 | 290 229 | 165 | 265 | 2 | 356 | 730 30.2 | 190 | 310 | 3 | 754 | 1430
8.4 85 | 168 | 1 | 120 | 170 15.7 | 130 | 230 | 2 | 164 | 290 23.0 | 165 | 265 | 2 | 356 | 730 30.3 | 190 | 310 | 3 | 754 | 1430
8.5 85 168 | 1 | 120 | 170 15.8 | 130 | 230 | 2 | 164 | 290 231 | 165 | 285 | 3 | 411 | 730 30.4 | 190 | 310 | 3 | 754 | 1430
8.6 88 | 172 | 1 | 120 | 170 15.9 | 130 | 230 | 2 | 164 | 290 232 | 165 | 285 | 3 | 411 | 730 30.5 | 190 | 310 | 3 | 754 | 1430
8.7 88 172 | 1 | 120 | 170 16.0 | 130 | 230 | 2 | 164 | 290 23.3 | 165 | 285 | 3 | 411 | 730 30.6 | 190 | 310 | 3 | 850 | 1560
8.8 88 | 172 | 1 | 120 | 170 16.1 | 132 | 232 | 2 | 178 | 290 234 | 165 | 285 | 3 | 411 | 730 30.7 | 190 | 310 | 3 | 850 | 1560
8.9 88 | 172 | 1 | 120 | 170 16.2 | 132 | 232 | 2 | 178 | 290 235 | 165 | 285 | 3 | 411 | 800 30.8 | 190 | 310 | 3 | 850 | 1560
9.0 88 | 172 | 1 | 120 | 170 16.3 | 132 | 232 | 2 | 178 | 290 236 | 165 | 285 | 3 | 411 | 800 30.9 | 190 | 310 | 3 | 850 | 1560
9.1 92 | 175 | 1 | 120 | 170 16.4 | 132 | 232 | 2 | 178 | 290 237 | 165 | 285 | 3 | 411 | 800 31.0 | 190 | 310 | 3 | 850 | 1560
9.2 92 | 175 | 1 | 120 | 170 16.5 | 132 | 232 | 2 | 178 | 290 23.8 | 165 | 285 | 3 | 411 | 800 31.1 | 195 | 315 | 3 | 850 | 1560
9.3 92 | 175 | 1 | 120 | 170 16.6 | 135 | 235 | 2 | 192 | 330 239 | 165 | 285 | 3 | 411 | 800 31.2 | 195 | 315 | 3 | 850 | 1560
9.4 92 | 175 | 1 | 120 | 170 16.7 | 135 | 235 | 2 | 192 | 330 24.0 | 165 | 285 | 3 | 411 | 800 31.3 | 195 | 315 | 3 | 850 | 1560
9.5 92 | 175 | 1 | 120 | 170 16.8 | 135 | 235 | 2 | 192 | 330 241 | 165 | 285 | 3 | 411 | 800 31.4 | 195 | 315 | 3 | 850 | 1560
9.6 95 | 178 | 1 | 120 | 170 16.9 | 135 | 235 | 2 | 192 | 330 242 | 165 | 285 | 3 | 411 | 800 31.5 | 195 | 315 | 3 | 850 | 1560
9.7 95 | 178 | 1 | 120 | 170 17.0 | 135 | 235 | 2 | 192 | 330 243 | 165 | 285 | 3 | 411 | 800 31.6 | 195 | 315 | 3 | 960 | 1810
9.8 95 | 178 | 1 | 120 | 170 17.1 | 140 | 240 | 2 | 192 | 330 24.4 | 165 | 285 | 3 | 411 | 800 317 | 195 | 315 | 3 | 960 | 1810
9.9 95 | 178 | 1 | 120 | 170 17.2 | 140 | 240 | 2 | 192 | 330 245 | 165 | 285 | 3 | 411 | 800 31.8 | 195 | 315 | 3 | 960 | 1810
100 | 95 | 178 | 1 [ 120 | 170 17.3 | 140 | 240 | 2 | 192 | 330 246 | 165 | 285 | 3 | 425 | 880 31.9 | 195 | 315 | 3 | 960 | 1810
10.1 98 | 182 | 1 | 120 | 170 17.4 | 140 | 240 | 2 | 192 | 330 247 | 165 | 285 | 3 | 425 | 880 32.0 | 195 | 315 | 3 | 960 |1810
102 | 98 | 182 | 1 | 120 | 170 17.5 | 140 | 240 | 2 | 192 | 330 248 | 165 | 285 | 3 | 425 | 880 325 | 200 | 345 | 4 | 1000|1930
10.3 | 98 | 182 | 1 | 120 | 170 17.6 | 140 | 240 | 2 | 206 | 370 249 | 165 | 285 | 3 | 425 | 880 33.0 | 200 | 345 | 4 | 1070 | 1930
10.4 | 98 | 182 | 1 [ 120 | 170 17.7 | 140 | 240 | 2 | 206 | 370 25.0 | 165 | 285 | 3 | 425 | 880 33.5 | 205 | 350 | 4 | 1110 | 1980
105 | 98 | 182 | 1 | 120 | 170 17.8 | 140 | 240 | 2 | 206 | 370 25.1 | 165 | 285 | 3 | 425 | 880 34.0 | 205 | 350 | 4 | 1110 | 1980
10.6 | 102 | 185 | 1 [ 120 | 170 17.9 | 140 | 240 | 2 | 206 | 370 252 | 165 | 285 | 3 | 425 | 880 34.5 | 205 | 350 | 4 | 1180 | 1980
10.7 | 102 | 185 | 1 | 120 | 170 18.0 | 140 | 240 | 2 | 206 | 370 25.3 | 165 | 285 | 3 | 425 | 880 35.0 | 205 | 350 | 4 | 1220|2140
10.8 | 102 | 185 | 1 | 120 | 170 18.1 | 145 | 245 | 2 | 206 | 370 25.4 | 165 | 285 | 3 | 425 | 880 355 | 210 | 355 | 4 | 1300 | 2140
10.9 | 102 | 185 | 1 | 120 | 170 18.2 | 145 | 245 | 2 | 206 | 370 255 | 165 | 285 | 3 | 425 | 880 36.0 | 210 | 355 | 4 | 1330|2310
11.0 | 102 | 185 | 1 | 120 | 170 18.3 | 145 | 245 | 2 | 206 | 370 256 | 165 | 285 | 3 | 521 | 950 36.5 | 210 | 355 | 4 | 1410|2310
11.1 | 105 | 188 | 1 | 120 | 170 18.4 | 145 | 245 | 2 | 206 | 370 25.7 | 165 | 285 | 3 | 521 | 950 37.0 | 210 | 355 | 4 | 1630 | 2500
1.2 | 105 | 188 | 1 | 120 | 170 18.5 | 145 | 245 | 2 | 206 | 370 25.8 | 165 | 285 | 3 | 521 | 950 37.5 | 215 | 360 | 4 | 1640 | 2500
11.3 | 105 | 188 | 1 | 120 | 170 18.6 | 145 | 245 | 2 | 219 | 420 259 | 165 | 285 | 3 | 521 | 950 38.0 | 215 | 360 | 4 | 1650 | 2760
1.4 | 105 | 188 | 1 | 120 | 170 18.7 | 145 | 245 | 2 | 219 | 420 26.0 | 165 | 285 | 3 | 521 | 950 38.5 | 215 | 360 | 4 | 1680 | 2760
11.5 | 105 | 188 | 1 | 120 | 170 18.8 | 145 | 245 | 2 | 219 | 420 26.1 | 170 | 290 | 3 | 521 | 950 39.0 | 215 | 360 | 4 | 1690 | 2940
1.6 | 108 | 192 | 1 | 120 | 170 18.9 | 145 | 245 | 2 | 219 | 420 26.2 | 170 | 290 | 3 | 521 | 950 39.5 | 220 | 365 | 4 | 1700 | 2940
11.7 | 108 | 192 | 1 | 120 | 170 19.0 | 145 | 245 | 2 | 219 | 420 26.3 | 170 | 290 | 3 | 521 | 950 40.0 | 220 | 365 | 4 | 1710 | 3050
11.8 | 108 | 192 | 1 | 120 | 170 19.1 | 150 | 250 | 2 | 219 | 420 26.4 | 170 | 290 | 3 | 521 | 950 40.5 | 220 | 365 | 4 | 1720 | 3050
11.9 | 108 | 192 | 1 | 120 | 170 19.2 | 150 | 250 | 2 | 219 | 420 26.5 | 170 | 290 | 3 | 521 | 950 41.0 | 220 | 365 | 4 | 1730|3160
12.0 | 108 | 192 | 1 | 121 | 190 19.3 | 150 | 250 | 2 | 219 | 420 26.6 | 170 | 290 | 3 | 534 | 1020 415 | 225 | 370 | 4 | 1750 | 3160
121 | 112 | 195 | 1 | 121 | 190 19.4 | 150 | 250 | 2 | 219 | 420 26.7 | 170 | 290 | 3 | 534 | 1020 42.0 | 225 | 370 | 4 | 1790 | 3230
122 | 112 | 195 [ 1 | 121 | 190 19.5 | 150 | 250 | 2 | 219 | 420 26.8 | 170 | 290 | 3 | 534 | 1020 42.5 | 225 | 370 | 4 | 1790 | 3230
12.3 | 112 | 195 | 1 | 121 | 190 19.6 | 150 | 250 | 2 | 260 | 460 26.9 | 170 | 290 | 3 | 534 | 1020 43.0 | 225 | 370 | 4 | 1790 | 3400
124 | 112 | 195 [ 1 | 121 | 190 19.7 | 150 | 250 | 2 | 260 | 460 27.0 | 170 | 290 | 3 | 534 | 1020 43.5 | 230 | 375 | 4 | 1790 | 3400
125 | 112 | 195 | 1 | 121 | 190 19.8 | 150 | 250 | 2 | 260 | 460 27.1 | 175 | 295 | 3 | 534 | 1020 44.0 | 230 | 375 | 4 |2000 | 3560
126 | 115 | 198 | 1 | 135 | 210 19.9 | 150 | 250 | 2 | 260 | 460 27.2 | 175 | 295 | 3 | 534 | 1020 44.5 | 230 | 375 | 4 | 2000 | 3560
127 | 115 | 198 | 1 | 135 | 210 20.0 | 150 | 250 | 2 | 260 | 460 27.3 | 175 | 295 | 3 | 534 | 1020 45.0 | 230 | 375 | 4 |2290 | 4040
12.8 | 115 | 198 | 1 | 135 | 210 20.1 | 155 | 255 | 2 | 260 | 460 27.4 | 175 | 295 | 3 | 534 | 1020 455 | 235 | 380 | 4 |2290 | 4040
12.9 | 115 | 198 | 1 | 185 | 210 20.2 | 155 | 255 | 2 | 260 | 460 27.5 | 175 | 295 | 3 | 534 | 1020 46.0 | 235 | 380 | 4 | 2290 | 4240
13.0 | 115 | 198 | 1 | 135 | 210 20.3 | 155 | 255 | 2 | 260 | 460 27.6 | 175 | 295 | 3 | 562 | 1100 46.5 | 235 | 380 | 4 | 2580|4240
13.1 118 | 202 | 1 | 135 | 210 20.4 | 155 | 255 | 2 | 260 | 460 27.7 | 175 | 295 | 3 | 562 | 1100 47.0 | 235 | 380 | 4 | 2580 | 4790
13.2 | 118 | 202 | 1 | 135 | 210 20.5 | 155 | 255 | 2 | 260 | 460 27.8 | 175 | 295 | 3 | 562 | 1100 47.5 | 240 | 385 | 4 |2580 | 4790
13.3 | 118 | 202 | 1 | 135 | 210 20.6 | 155 | 255 | 2 | 301 | 560 27.9 | 175 | 295 | 3 | 562 | 1100 48.0 | 240 | 385 | 4 | 2580 | 4900
13.4 | 118 | 202 | 1 | 135 | 210 20.7 | 155 | 255 | 2 | 301 | 560 28.0 | 175 | 295 | 3 | 562 | 1100 48.5 | 240 | 385 | 4 |2580 | 4900
135 | 118 | 202 | 1 | 185 | 210 20.8 | 155 | 255 | 2 | 301 | 560 28.1 | 180 | 300 | 3 | 562 | 1100 49.0 | 240 | 385 | 4 |2580 | 5010
136 | 122 | 205 | 1 | 151 | 230 20.9 | 155 | 255 | 2 | 301 | 560 28.2 | 180 | 300 | 3 | 562 | 1100 49.5 | 245 | 390 | 4 |2580 5010
13.7 | 122 | 205 | 1 | 151 | 230 21.0 | 155 | 255 | 2 | 301 | 560 28.3 | 180 | 300 | 3 | 562 | 1100 50.0 | 245 | 390 | 4 |2840 | 5140
13.8 | 122 | 205 | 1 | 151 | 230 21.1 | 160 | 260 | 2 | 301 | 560 28.4 | 180 | 300 | 3 | 562 | 1100 51.0 | 245 | 425 | 5 | 3110 | 5830
13.9 | 122 | 205 | 1 | 151 | 230 21.2 | 160 | 260 | 2 | 301 | 560 28.5 | 180 | 300 | 3 | 562 | 1100 52.0 | 250 | 430 | 5 | 3110 | 6030
14.0 | 122 | 205 | 1 | 151 | 230 21.3 | 160 | 260 | 2 | 301 | 560 28.6 | 180 | 300 | 3 | 644 | 1270 53.0 | 250 | 430 | 5 |3110 | 6210
14.1 | 122 | 222 | 2 | 151 | 230 21.4 | 160 | 260 | 2 | 301 | 560 28.7 | 180 | 300 | 3 | 644 | 1270 54.0 | 250 | 435 | 5 | 3370 | 6520
14.2 | 122 | 222 | 2 | 151 | 230 21.5 | 160 | 260 | 2 | 301 | 560 28.8 | 180 | 300 | 3 | 644 | 1270 55.0 | 250 | 435 | 5 | 3370|6810

_ _ ‘ . ~ S~ x PR T e ——
Oblique Shank Drill Oblique shank extension drill T ==, e
M DIN345 & & MR DIN345 @A TR 528,
R~ 24 R~ 2| TE | 2K | 7K |vno R~ 2| TE | £K | 7K o
712 | 7] | &1 |vmno 7] | 24 | 714 [wno 205 | 325 | 200 | 2 | 660 _ZJIfR | &4 | JIiK [utno 41.0 | 425 | 250 | 4 [2520
56.0 | 260 | 440 | 5 [3850  10.5 | 250 | 150 | 1 | 480 375 | 250 | 2 | 710 285 | 350 | 200 | 3 | 1290 475 | 300 | 4 | 2940
57.0 | 260 | 440 | 5 | 3850 300 | 200 | 1 | 619 425 | 275 | 2 | 870 400 | 250 | 3 | 1370 525 | 350 | 4 [3470
58.0 | 265 | 445 | 5 [4070 350 | 225 | 1 | 818 475 | 325 | 2 | 920 450 | 300 | 3 | 1630 625 | 450 | 4 [4100
59.0 | 265 | 445 | 5 [4070 110 | 250 | 150 | 1 [ 480  21.0 | 325 | 200 | 2 | 660 500 | 350 | 3 [1890  42.0 | 425 | 250 | 4 |2780
60.0 | 270 | 450 | 5 [4070 300 | 200 | 1 | 619 375 | 250 | 2 | 710 600 | 400 | 3 [1940 475 | 300 | 4 | 3470
61.0 | 270 | 450 | 5 |5740 350 | 225 | 1 | 818 425 | 275 | 2 | 870  29.0 | 350 | 200 | 3 | 1290 525 | 350 | 4 [3830
62.0 | 275 | 455 | 5 [5740 115 | 250 | 150 | 1 | 494 475 | 325 | 2 | 920 400 | 250 | 3 | 1370 625 | 450 | 4 | 4360
63.0 | 275 | 455 | 5 |5740 300 | 200 | 1 | 621 215 | 325 | 200 | 2 | 710 450 | 300 | 3 | 1630 43.0 | 425 | 250 | 4 | 2780
64.0 | 280 | 460 | 5 [6120 350 | 225 | 1 | 829 375 | 250 | 2 | 770 500 | 350 | 3 [1890 475 | 300 | 4 | 3470
65.0 | 280 | 460 | 5 [6120 12.0 | 250 | 150 | 1 | 498 425 | 275 | 2 | 870 600 | 400 | 3 [1940 525 | 350 | 4 [3830
66.0 | 285 | 465 | 5 |6930 300 | 200 | 1 | 635 475 | 325 | 2 |1080 295 | 350 | 200 | 3 [ 1420 625 | 450 | 4 [4410
67.0 | 285 | 465 | 5 [6930 350 | 225 | 1 | 834 220 | 325 | 200 | 2 | 770 400 | 250 | 3 | 1780  44.0 | 425 | 250 | 4 | 2940
68.0 | 290 | 470 | 5 [7140 125 | 250 | 150 | 1 | 508 375 | 250 | 2 | 820 450 | 300 | 3 | 1890 475 | 300 | 4 | 3680
69.0 | 290 | 470 | 5 | 7140 300 | 200 | 1 | 646 425 | 275 | 2 | 950 500 | 350 | 3 [2050 525 | 350 | 4 |4100
70.0 | 295 | 475 | 5 7140 350 | 225 | 1 | 843 475 | 325 | 2 | 1050 600 | 400 | 3 [2310 625 | 450 | 4 [4730
71.0 | 295 | 475 | 5 (7520  13.0 | 250 | 150 | 1 [ 516 225 | 325 | 200 | 2 | 770  30.0 | 350 | 200 | 3 | 1420  45.0 | 425 | 250 | 4 | 3050
72.0 | 300 | 480 | 5 |7920 300 | 200 | 1 | 531 375 | 250 | 2 | 820 400 | 250 | 3 | 1730 475 | 300 | 4 | 3780
73.0 | 300 | 480 | 5 |7920 350 | 225 | 1 | 855 425 | 275 | 2 | 950 450 | 300 | 3 | 1890 525 | 350 | 4 [4310
74.0 | 305 | 485 | 57920 135 | 250 | 150 | 1 | 516 475 | 325 | 2 | 1050 500 | 350 | 3 [=2050 625 | 450 | 4 |4730
75.0 | 305 | 485 | 5 |7920 300 | 200 | 1 | 658 23.0 | 325 | 200 | 2 | 770 600 | 400 | 3 |2310 46.0 | 475 | 300 | 4 |3780
76.0 | 310 | 490 | 5 [11740 350 | 225 | 1 | 863 375 | 250 | 2 | 820 305 | 350 | 200 | 3 | 1580 525 | 350 | 4 [4310
77.0 | 315 | 560 | 6 [18520 14.0 | 250 | 150 | 1 | 470 425 | 275 | 2 | 950 400 | 250 | 3 | 1790 625 | 450 | 4 4940
78.0 | 315 | 560 | 6 [13750 300 | 200 | 1 | s80 475 | 325 | 2 | 1050 450 | 300 | 3 | 2000 47.0 | 475 | 300 | 4 | 3990
79.0 | 315 | 560 | 6 [14000 350 | 225 | 1 | 660 235 | 350 | 200 | 3 | 780 500 | 350 | 3 [2310 525 | 350 | 4 4940
80.0 | 315 | 560 | 6 [14330 14.5 | 325 | 200 | 2 | 470 400 | 250 | 3 | 1050 600 | 400 | 3 [2520 625 | 450 | 4 [s5150
81.0 | 325 | 570 | 6 [15440 375 | 250 | 2 | 580 450 | 300 | 3 | 1160  31.0 | 350 | 200 | 3 | 1580 48.0 | 475 | 300 | 4 | 4520 S
82.0 | 325 | 570 | 6 [15730 425 | 275 | 2 | 680 500 | 350 | 3 [1310 400 | 250 | 3 | 1790 525 | 350 | 4 5460 Sk
83.0 | 325 | 570 | 6 [15950 475 | 325 | 2 | 860 600 | 400 | 3 [1630 450 | 300 | 3 | 2000 625 | 450 | 4 |[5780
84.0 | 325 | 570 | 6 (16190 150 | 325 | 200 | 2 [ 470  24.0 | 350 | 200 | 3 | 780 500 | 350 | 3 2310  49.0 | 475 | 300 | 4 [4730
85.0 | 325 | 570 | 6 [16480 375 | 250 | 2 | 580 400 | 250 | 3 | 1050 600 | 400 | 3 |2520 525 | 350 | 4 5460 e
86.0 | 335 | 580 | 6 [17620 425 | 275 | 2 | 680 450 | 300 | 3 | 1160 315 | 350 | 200 | 3 [ 1630 625 | 450 | 4 [5990 H%E
87.0 | 335 | 580 | 6 [17880 475 | 325 | 2 | 860 500 | 350 | 3 [1310 400 | 250 | 3 | 1890 50.0 | 475 | 300 | 4 |5150 ks
88.0 | 335 | 580 | 6 (18170 155 | 325 | 200 | 2 | 470 600 | 400 | 3 [1630 450 | 300 | 3 | 2150 525 | 350 | 4 |5780 sk
89.0 | 335 | 580 | 6 [18450 375 | 250 | 2 | 580 245 | 350 | 200 | 3 | 780 500 | 350 | 3 [2360 625 | 450 | 4 |e090
90.0 | 335 | 580 | 6 [18770 425 | 275 | 2 | 680 400 | 250 | 3 | 1050 600 | 400 | 3 [2730 sax N =y
91.0 | 345 | 590 | 6 [19960 475 | 325 | 2 | 860 450 | 300 | 3 | 1160  32.0 | 350 | 200 | 3 | 1630 ESDEEEM%-E* %;IT:
92.0 | 345 | 590 | 6 |20260 16.0 | 325 | 200 | 2 | 470 500 | 350 | 3 [1310 400 | 250 | 5 | 1890 A 529 L=
93.0 | 345 | 590 | 6 [20550 375 | 250 | 2 | 580 600 | 400 | 3 | 1630 450 | 300 | 3 |2150 “ = VMD
94.0 | 345 | 590 | 6 [20820 425 | 275 | 2 [ 680  25.0 | 350 | 200 | 3 | 780 500 | 350 | 3 |2360 KEhsk
05.0 | 345 | 590 | 6 [21110 475 | 325 | 2 | 860 400 | 250 | 3 | 1050 600 | 400 | 3 2730 THEm . egpy—
96.0 | 355 | 600 | 6 |22280  16.5 | 325 | 200 | 2 | 470 450 | 300 | 3 [1210 33.0 | 425 | 250 | 4 |2100 = HSS BAE WiE=1/2 EES
97.0 | 355 | 600 | 6 [22590 375 | 250 | 2 | 580 500 | 350 | 3 [1470 475 | 300 | 4 | 2310 Rt s =10
08.0 | 355 | 600 | 6 [22890 425 | 275 | 2 | 680 600 | 400 | 3 [1630 525 | 350 | 4 2650 [ gif& | ;K| 2K %E—H_
99.0 | 355 | 600 | 6 [23210 475 | 325 | 2 | 860 25.5 | 350 | 200 | 3 | 900 625 | 450 | 4 |2940 135 | 74 | 134 | 93 | 50
100.0| 355 | 600 | 6 |23510  17.0 | 325 | 200 | 2 | 580 400 | 250 | 3 | 1140  34.0 | 425 | 250 | 4 [2100 14 74 | 134 | 99 | 50 SR
375 | 250 | 2 | 610 450 | 300 | 3 | 1310 475 | 300 | 4 |2310 145 | 74 | 134 | 110 53 B &
FHE 04 E5 Sk 425 | 275 | 2 | 710 500 | 350 | 3 [1630 525 | 350 | 4 |2650 15 | 74 | 134 | 112 | 55 _
Oblique shank extension drill 475 | 325 | 2 | 820 600 | 400 | 3 [ 1730 625 | 450 | 4 |2940 155 | 74 | 134 | 115 57 LBK
HE . 17.5 | 325 | 200 | 2 | 580 26.0 | 350 | 200 | 3 | 900 35.0 | 425 | 250 | 4 |2150 16 74 | 134 [ 130 | 58 BST
nss DIN345 8 M & 375 | 250 | 2 | 610 400 | 250 | 3 [ 1140 475 | 300 | 4 |2420 165 | 74 | 134 | 140| 62 =L
R~ EXN 425 | 275 | 2 | 710 450 | 300 | 3 [1310 525 | 350 | 4 |2780 17 | 74 | 134 [ 150 | 63 J1H8
7)#E | £1 | J1K |vtno 475 | 325 | 2 | 820 500 | 350 | 3 | 1630 625 | 450 | 4 | 3260 17.5 | 74 | 134 | 160 | 65 —_—
7.0 | 250 | 150 | 1 | 530 18.0 | 325 | 200 | 2 | 610 600 | 400 | 3 | 1780  36.0 | 425 | 250 | 4 |2260 18 | 74 | 134 | 170 | 70 HBOR
300 | 200 | 1 | 669 375 | 250 | 2 | 660 26.5 | 350 | 200 | 3 | 1020 475 | 300 | 4 |2420 185 | 74 | 134 | 180 | 77 CBI
350 | 225 | 1 | 910 425 | 275 | 2 | 740 400 | 250 | 3 [1210 525 | 350 | 4 | 2780 19 | 74 | 134 [180 | 80 CBE'
7.5 250 | 150 | 1 | 519 475 | 325 | 2 | 860 450 | 300 | 3 | 1310 625 | 450 | 4 | 3360 19.5 74 134 | 190 | 82 1EiE
300 | 200 | 1 | 665  18.5 | 325 | 200 | 2 | 610 500 | 350 | 3 |1630] 37.0 | 425 | 250 | 4 |2520 ~ 20 | 74 | 134 |200 83
350 | 225 | 1 | 899 375 | 250 | 2 | 660 600 | 400 | 3 [1790 475 | 300 | 4 |2840° 205 | 74 | 134 210 86
8.0 | 250 | 150 | 1 | 512 425 | 275 | 2 | 740  27.0 | 350 | 200 | 3 | 1020 525 | 350 | 4 |3se0 21 | 74 | 134 220787
300 | 200 | 1 [ 653 475 | 325 | 2 | 860 400 | 250 | 3 | 1210 625 | 450 | 4 |sgoo| 215 | 74 | 134230 22
350 | 225 | 1 | 878 19.0 | 325 | 200 | 2 | 660 450 | 300 | 3 [4310° 380 | 425 | 250 | 4 | 2520 22;5 ;Z 122 zgg o
85 | 250 | 150 | 1 | 508 375 | 250 | 2 | 710 500 | 350 | 3 [1630 475 | 300 | 4 |2840 23 | 74 | 134 2SO
300 | 200 | 1 | 639 425 | 275 | 2 | 820 600 | 400 | 3 [1790 525 | 350 | 4 (3360 o | .| iaa (560 | 115
350 | 225 | 1 | 857 475 | 325 | 2 | 890 | 275 | 350 | 200 | 3 | 1160 625 | 450 | 4 |3890 24 770 12 e
9.0 | 250 | 150 | 1 | 404 19.5 | 325 | 200 | 2 | 660 400 | 250 | 3 [1310° 39.0 | 425 [ 250 | 4 2520 4 c | 74 | 134 | 270 | 119
300 | 200 | 1 | 635 375 | 250 | 2 | 710 450 | 300 | 3 | 1470 475 | 300 | 4 |2940 25 | 74 | 134 | 275|120
350 | 225 | 1 | 850 425 | 275 | 2 | 820 500 | 350 | 3 [1730 525 | 350 | 4 |3360 o955 | 74 | 134 | 280 | 125
95 | 250 [ 150 | 1 | 494 475 | 325 | 2 | 890 600 | 400 | 3 |[1840 625 | 450 | 4 [3890 26 | 74 | 134 |'308| 130
300 | 200 | 1 [ 635 200 | 325 | 200 | 2 | 660  28.0 | 350 | 200 | 3 [1160  40.0 | 425 | 250 | 4 |2520 27 | 74 | 134 | 325/ 135
350 | 225 | 1 | 843 375 | 250 | 2 | 710 400 | 250 | 3 | 1310 475 | 300 | 4 |2940 28 | 74 | 134 | 355 140
10.0 | 250 | 150 | 1 | 494 425 | 275 | 2 | 870 450 | 300 | 3 [1470 525 | 350 | 4 [3360 29 | 74 | 134 | 370 145
300 | 200 | 1 | 635 475 | 325 | 2 | 920 500 | 350 | 3 |1730 625 | 450 | 4 | 3990 30 74 134 | 410 | 156
350 | 225 | 1 | 839 600 | 400 | 3 [ 1840 32 | 74 | 134 | 485/ 185




SEFLMLT

High Efficiency Drilling

SG-ESS#E 1%k & S — 464R &b $BEMEE L mpmm. 535 90° $BHNCTE A4k 5k

SG-ESS milling cutter bit . . 90°t ten steel drill bit fixed-point NC
- Tungsten steel drill bit e e

& = I s . : ) )
*;TG BEEEKENSL, & A TR ERN AR SN B 4S mYmAg ; 528... Tungsten steel fixed point drill, center drill TR 455D W o=
: —— | GtV lw@g
7 Rt = = Rt 7 7 Rt = 541100 |WGDDZ03D90C 3
NE | 7K | &K |1 NE | TK|£K KE NE | TK | &K [T 541102 |WGDDZ04DSOC | 4
1.0 6 38 | 3 | 62 47 | 24 | 68 | 6 | 101 10.6 | 43 | 100 | 12 | 244 “ 90 T 541104 |WGDDZ05D90C 5
1.1 6 38 | 3| 57 47 | 24 | 68 | 6 [ 101 10.7 | 47 | 104 | 12 | 244 : : % od 541106 |WGDDZ06DIOC 6
1.1 7 39 | 3| 57 48 | 24 | 68 | 6 | 101 10.8 | 47 | 104 | 12 | 244 ) 541108 |WGDDZ08D90C 8
1.2 7 39 3 57 4.8 26 70 6 101 10.9 47 104 | 12 | 244 \ L 541110 |WGDDZ10D90C 10
12 | s | 40 | 3| s7 49 | 26 | 70 | 6| 101 110 | 7 | 104 | 12| 240 118°00] &7 BE | S4t1t4 [WapD21s0s0C. | 1o
1.3 8 40 3 57 4.9 26 70 6 101 11.1 47 104 | 12 | 275 T N o 90° %%%ﬂi}#ﬁNC;@ 5%59_
13 | 8 | 40 | 3| 57 50 | 26 | 70 | & [ 101 11.2 | 47 | 104 |12 | 275 mEm SETOH ERED: 532.. }.L,{ L ‘ _ BRI RE S
14 9 41 3 57 5.0 26 70 6 101 1.3 47 104 12 | 275 R I 90 ° W-Ti-coated steel drill bit fixed-point NC
1.4 9 41 | 3| 57 5.1 26 | 70 | 6 | 120 1.4 | 47 | 104 |12 | 275 & TR WE QL- ThEBl 0w o=
A B Al o e R B it ) ] - R B TIIETIETY) . [ — Rl S
16 | 10 | 42 | 3| 51 52 | 26 | 70 | & |[120 1.7 | 47 | 104 | 12 | 299 2.0 2.9 4 50 64 1.0-2.0 50 22 36 B o :ﬂzgg wggg;gigggg :
1.6 10 42 | 3 | 51 5.3 26 70 | 6 | 120 11.8 | 47 | 104 | 12 | 299 92.0 2.9 6 50 110 2.1-31 50 22 40
225 3.1 6 50 110 3.2.35 50 29 44 - 541204 | WGDDZ05D90CT | 5
1.7 | 10 | 42 | 3 | 51 53 | 26 | 70 | 6 | 120 1.9 | 51 | 108 | 12 | 299 230 5o . o o 409 T HT@d 541206 | WGDDZ06D90CT | 6
17 | 10 | 42 | 3 | 51 54 | 28 | 72 | 6 | 120 12.0 | 51 | 108 | 12 | 299 230 5o . S 160 3.6-4.1 50 22 52 541208 | woDDZ08DOOCT | 8
18 | 11 | 43 | 3 | 51 54 | 28 | 72 | 6 | 120 124 | 51 | 108 | 12 | 324 4.0 50 0 e e 4.2-4.5 50 25 64 ' ‘ 541210 | WGDDZ10D90CT | 10
18 | 11 | 43 | 3 | 51 55 | 28 | 72 | 6 | 120 122 | 51 | 108 | 12 | 324 25.0 6.3 12 60 310 4.6-5.1 50 25 76 | L | S| WERIDADERCT | 2
1.9 1 43 | 3 | 51 55 | 28 | 72 | 6 | 120 12.3 | 51 | 108 | 12 | 324 5.2-5.5 50 25 92 541214 | WGDDZTED90CT | 16
1.9 | 11 | 43 | 3 [ 51 56 | 28 | 72 | 6 | 128 12.4 | 51 | 108 | 12 | 324 ggg; gg gg 132 120° $54ANCE = 4 3k
zg E :: 2 : 23 EZ ;i g 1;: :;z : 18: ::z 22: 6:6—7:1 65 40 140 120 ° tungsten steel drill bit fixed-point NC
: : : = N - R
2.1 12 | 44 | 3 | 61 57 | 28 | 72 | 6 | 128 12.7 | 51 | 108 | 12 | 352 SR EemE 520, ;é g? ;g :g 123 T T,
2.1 12 | a4 | 3| 61 58 | 28 | 72 | 6 | 128 12.8 | 51 | 108 | 12 | 352 8'2'8'5 75 40 212 AC—————— Order Numbel  Cat. No =&
22 | 13 | 45 | 3 | 61 58 | 28 | 72 | 6 | 128 12.9 | 51 | 108 | 12 | 352 High speed steel center drill 8.6-9.1 75 40 232 541300 | WGDDZ03D120C | 3
A ESE I CE S R R R e s233 | s | a0 | o coom veromee| 4
S 23 12 :2 2 21 2-3 28 | 72 | 6 | 128 14.0 | 72 | 132 | 16 | 491 g Lok 0 ad 2 120260 od Zﬂgg; agggigggggg g
> : : : i g 10.2-11.0 80 40 312
24 | 13 | 45 | 3 | 61 6.0 | 28 | 72 | 6 [ 128 14.5 | 76 | 136 | 20 | 540 - > 541308 | WGDDZ08D120C | 8
11.1-11.5 100 50 432 ¢ 541310 | WGDDZ10D120C | 10
24 | 14 | 46 | 3 | 61 6.1 31 75 | 8 | 135 15.0 | 76 | 142 | 20 | 650 11.6-12.1 100 50 452 . w1912 | Webngiantaoe | 12
o 2.5 | 14 | 46 | 3 | 61 6.2 | 31 | 75 | 8 |7185 15.571 801 | 146/ | 20 {geg 12.2-12.5 100 50 500 ‘ 541314 | WGDDZ16D120C | 16 | 16 3 | 119 e g
%Ei 2.5 14 46 3 61 6.3 31 75 8 135 16.0 80 146 | 20 | 695 Mﬁ iém g.! 12.6-13.0 100 50 524 120° ﬂ%ﬂifgﬁNCE,ﬁiﬁ%
N z‘g 1: :2 2 21 Z';‘ 21 ;g : 12: 1:': Z: ::g 28 Z: HSS 120 ° W-Ti-coated steel drill bit fixed-point NC
4k : : ' PR TIEXWEXEK £ = . o,
27 | 14 | 46 | 3 | &1 66 | 31 | 75 | 8 | 140 :;.i 87 | 153 | 20 | 778 -Eg %m E *ﬁ %5 5‘: PR 4EE: 531. . PLCE T T
- 2.7 16 48 | 3 | 61 6.7 31 75 | 8 | 140 . 87 | 153 |20 | 778 m - T “ Order Cat. No =
Eil Y ungsten steel fixed shank bit ‘ o Numb =K
g 28 | 16 | 48 | 3 | 61 6.8 | 34 | 78 | 8 | 140 18.5 | 90 | 156 | 20 | 829 B R s . 54120:; WGDDZ03D120CT| 3
= 28 | 16 | 48 | 3 | 61 6.9 | 34 | 78 | 8 | 140 19.0 | 90 | 164 | 25 [ 829 0.4x3.0x31 110 : 541402 |WGDDZ04D120CT| 4
VMD 29 | 16 | 48 | 3 | 61 70 | 34 | 78 | 8 | 140 19.5 | 94 | 168 | 25 | 1025 0 5x3.0x31 86 ad € / ﬂ I] @D 541404 |WGDDZ05D120CT| 5
XSk 2.9 16 48 3 61 71 34 78 8 | 147 20.0 94 168 | 25 | 1025 : : N 541406 |WGDDZ06D120CT| 6
E— 3.0 7.2 34 78 | 8 | 147 0.6x3.5%x36 77 ‘«——l ‘ 541408 |[WGDDZ08D120CT| 8
%E 718 i 28 3 il *k H?%ﬂ*g%‘ﬁ”/\ 1 L 541410 |WGDDZ10D120CT 10
7~ 3.0 | 16 | 48 | 3 | 61 73| 34 781 8 ] 147 IR W 0.8x4.0x36 59 ‘ ‘ 541412 |WGDDZ12D120CT| 12
_— 3.1 18 | 50 | 4 | 72 74 | 34 | 78 | 8 [ 147 P
E'F:'\L,‘ a1 18 w0 |4l 7 - 2 76 | 8 | 147 Othgr spemﬂpahqns' are 1.0x4.0x36 49 BHEZ |71k | 2kL | AR D- 541414 |WGDDZ16D120CT| 16
L available for inquiry!
= 32 | 18 | 50 | 4 | 72 76 | 37 | 81 | 8 | 155 1.2x5.0x42 45 1.0 8 42 3 80
h % 32 | 18 | 50 | 4 | 72 77 | 37 | 81 | 8 | 155 1.1-1.3 10 42 3 80 $8 4R ML 4 7] HY
§E1ﬁ‘i 33 | 18 | 50 | 4 | 72 78 | 37 | 81 | 8 | 155 1.5x5.0x42 37 14-15 1 42 3 80 Tunasten steel mechanical reamer
3.3 18 50 | 4 | 72 7.9 37 81 8 | 155 x5.0x 37 1.6-1.7 12 42 3 80 g
2.0x5.0x42 THE L | 2K L| #2 0| 7%
LBK 34 | 18 | 50 | 4| 72 80 | 37 | 81 | 8 | 155 5 66, 0xdT 43 1.8-1.9 13 42 3 80 Iﬁﬁﬂer Flute | Overall | Shank | Flute LBK
BST 34 | 20 | 52 | 4| 72 81 | 37 | 81 | 10| 167 2,029 | 14 50 3 88 Length | Length | Diameter | Number BST
w7 35 | 20 | 52 | 4| 72 82 | 37 | 81 | 10| 167 3.0x7.7x57 52 3.0 16 50 3 88 20 25 50 2.0 2 | 40 =L
ki 35 | 20 | 52 | 4 | 72 83 | 37 | 81 | 10] 167 3247 7x57 50 3133 | 20 60 4 120 25 25 50 55 | 4 | a0 TI4A
—_— 3.6 20 52 4 79 8.4 37 81 10 | 167 3.4-3.7 22 60 4 120 3.0 25 50 3.0 4 40
HBOR 36 | 20 | 52 | 4 | 79 85 | 37 | 81 |10 167 4.0x10x69 103 3.8-4.0 | 24 60 4 120 3.5 25 50 35 | 4 |56 HEOR
CBI 37 | 20 | 52 | 4 | 79 86 | 40 | 90 | 10| 180 4150 | 26 62 5 160 i i CBI
5.011x69 111 _——— 4.0 25 |50 | 40 | 4 |56
CBH 3.7 | 20 | 52 | 4| 79 87 | 40 | 90 | 10| 180 : 5.1-5.5 28 66 6 196 45 o5 50 4.5 4 |76 i
s s . . *3;,%.3;
15 %; 3.8 20 52 4 79 8.8 40 90 | 10 | 180 6.0x16x90 271 5.6-6.0 30 66 6 196 5.0 25 50 5.0 4 76 e
A4 6.1-66 | 34 74 7 292 T . . R4
3.8 | 22 | 54 | 4| 79 89 | 40 | 90 | 10] 180 425 AR08 DI E———— ] ) 1o 5.5 25 50 55 4 [104 7
R 8.0x18x100
NEJ 39 | 22 | 54 | 4 | 79 9.0 | 40 | 90 | 10| 180 6.8-7.0 | 37 74 7 292 f_#’ ‘ 6.0 30 60 6.0 6 |104 NBJ
39 | 22 | 54 | 4| 79 91 | 40 | 90 | 10] 192 10x18x100 425 7.1-8.0 | 40 79 8 360 w L ! 6.5 30 60 65 | 6 |152
NBH 8.19.0 | 43 84 9 392 : : NBH
g 40 | 22 | 54 | 4 | 79 92 | 40 | 90 | 10 | 192 1-9. 7.0 35 70 7.0 6 |152 7
ETL 40 | 22 | 54 | 4 | 79 93 | 40 | 90 | 10| 192 9.1-10.0 | 47 89 10 464 8.0 40 70 8.0 6 |184 =k
B% 41 | 22 | e6 | 6 |89 94 | 40 | 90 |10 [ 192 10.1-11.0 | 51 95 n 680 9.0 40 75 90 | 6 |28 ——
41 11.1-12.0 54 102 12 820 N .
TWE . 22 66 6 | 89 9.5 40 90 | 10| 192 121-130| 57 102 13 920 10.0 40 75 10.0 6 |280 TWE
RBH 4.2 22 66 6 | 89 9.6 43 93 | 10 | 204 13'1_14'0 60 107 14 1100 11.0 40 75 11.0 6 |380 RBH
4% 42 | 22 | 66 | 6| 89 9.7 | 43 | 93 | 10 ) 204 — M A THRC55 MAKE &R, 12.0 40 80 | 12.0 | 6 (396 ‘*ﬂzg
A% 43 | 22 | 66 | 6 | 89 98 | 43 | 93 | 10 | 204 B oEmTnomT, TMTHR. Bk, ABER. THEEE. &M, Sha . S8=Zw 13.0 50 100 13.0 6 |[544 R
— 43 | 24 | 68 | 6 | 89 9.9 | 43 | 93 | 10| 204 T EEERR EREVIAA  E AT R A BRI, R TR RS AL 14.0 50 100 | 14.0 | 6 632 e
- 4.4 24 68 6 89 10.0 43 100 | 10 | 204 FaK, RERGEEMIAE, BABE. 15.0 50 100 15.0 6 740 -
T ooy | 4.4 24 68 | 6 | 89 10.1 43 | 100 | 12 | 222 B For NC processing, can process cast steel, cast iron, chilled B Forless than HRC55 steel, stainless steel 16.0 50 100 16.0 6 |800 -
®J] 4.5 24 68 6 89 10.2 43 100 | 12 | 222 cast steel, malleable iron,wear-resistant plastic and other Ute.m\um castiron and other hard 17.0 50 100 17.0 6 900
4.5 24 68 6 89 10.3 43 100 | 12 | 222 difficult to cut materials. For high-speed feed, high-speed Twisted hole cut materials 18.0 50 100 18.0 6 996
4.6 24 68 6 101 10.4 43 100 12 222 cutting, the use of long life, fast shorten the processing time 19.0 50 100 19.0 6 1152
46 | 24 | 68 | 6 | 101 10.5 | 43 | 100 | 12 | 222 and enhance efficiency 20.0 50 100 | 20.0 | 6 [1276




SRR

MZG"

SWRMT
42 e K2 U] 7 B UKL £5 5
7= e HL 3 T]-5 B $HE A

High Efficiency Drilling

Spiral welded edge ultrafine tungsten steellLeft- f
handed mechanical reamer - Morse taper shank ‘ L |
l Ll
| NIRRT
. . Rt Size(mm)
Orde be e Iz 7K T mz EXER gt Price
D(H7) H L d, MT T
551100 SWRMT-12 12 20 150 1 2# 4 390
551102 SWRMT-14 14 20 150 13 2# 4 410
551104 SWRMT-15 5 25 150 14 3# 4 465
551106 SWRMT-16 16 25 150 15 3# 4 465
551108 SWRMT-17 17 25 150 16 3# 4 510
551110 SWRMT-18 18 35 200 17 3# 5 715
551112 SWRMT-19 19 35 200 18 3# ) 730
551114 SWRMT-20 20 35 200 19 3# 5 735
551116 SWRMT-22 22 35 200 20 3# 5] 830
551118 SWRMT-23 23 35 200 21 3# 5 835
551120 SWRMT-24 24 35 200 22 3# 5 865
551122 SWRMT-25 25 35 200 22 3# 5 840
551124 SWRMT-28 28 35 230 25 4# 6 1160
551126 SWRMT-30 30 35 230 26 A# 6 1195
551128 SWRMT-32 32 35 230 28 A4# 6 1245
551130 SWRMT-35 35 35 230 31 4# 6 1360
551132 SWRMT-40 40 40 260 34 4# 6 1650
551134 SWRMT-42 42 40 260 36 4# 6 1810
551136 SWRMT-45 45 40 260 38 4#:5# 6 2020
551138 SWRMT-50 50 50 300 44 A4#.5# 6 2520
= 551140 SWRMT-55 55) 50 300 46 4#:5# 8 3070
L J] 551142 SWRMT-60 60 50 300 50 4#:5# 8 3300
22 SWRIMT
£k
5 - = > JAI B\ TR . S et — s
re o BE AR U] I B AL 55 5 2 e AL AR 8 T)-5 ER HEAR
Eil Spiral Welding Edge Type Ultra-fine Particle Tungsten Steel Left-hand Mechanical Reamer - Morse Taper Shank %:—_ﬁu ;y'“:g.
$hk
TVMD | . . R~ Size(mm)
X &3k Orde be De IR DIR'S TEK HE SRR W Price
e D(H7) H L d, MT T
$hix 551200 SWRIMT-1/2" 1/2" 20 150 12 2# 4 410
e 551202 SWRIMT-5/8" 5/8" 25 150 15 3# 4 465
%’Eg‘-'_\ 551204 SWRIMT-3/4" 3/4" 35 200 18 3# 5 735
N 551206 SWRIMT-7/8" 7/8" 35 200 20 3# 5 865
iy % 551208 SWRIMT-1" 1" 35 200 22 3# 5 1160
fﬁa 1:‘?: 551210 SWRIMT-1"1/8 1"1/8 35 230 25 4# 6 1195
551212 SWRIMT-1"1/4 1"1/4 85 230 28 4# 6 1245
LBK 551214 SWRIMT-1"3/8 1"3/8 35 230 31 4# 6 1360
BST 551216 SWRIMT-1"1/2 1"1/2 35 260 34 4# 6 1650
a7 551218 SWRIMT-1"5/8 1"5/8 40 260 36 4# 6 1810
71 #% 551220 SWRIMT-1"3/4 1"3/4 40 260 38 4# 6 2020
551222 SWRIMT-1"7/8 1"7/8 40 260 40 4# 6 2520
HBOR 551224 SWRIMT-2" 2" 50 300 44 4# 6 3070
CBI
i SWRM H a L
B — ' —
R4 : = 3 i A
8RR IR 7] VB R g — — !
NBJ £ = E7S y
Ven BN A RENLMLE T)-E R 3
57 Spiral-welded ultrafine particlesTungsten steel ‘4 ;\
T left-hand mechanical reamer - straight shank L !
TWE
';EE;: R~ Size(mm)
EX7 Order Numbe e S Nk Ik FE W ik 3 Price
TR D(H7) H L d, d(h7) L, T
3k 551300 SWRM-12 12 20 120 1 12 50 4 270
- 551302 SWRM-14 14 20 150 13 16 60 4 305
551304 SWRM-15 15 20 150 14 16 60 4 315
551306 SWRM-16 16 25 150 15 16 60 4 340
551308 SWRM-20 20 35 200 19 20 60 5) 550
551310 SWRM-25 25 35 200 \ 20 20 60 5 630

K55

High precision reamer

SWRI

v
xof 48 2 B fol KL 55 3N Sk o

d
< "4

Ly AY ——
EENL M J]-H iR T t O
Butt-welded ultra-fine tungsten steel head [~ L 4
Left-handed mechanical reamer - straight shank | ;ﬁll;]%
i R~F Size(mm)
T A 4R R , = ; fr
Order Number ZIES iz LiZRS Wz BT B F’%i?:]e
H d, L, d(h7) L T
551400 SWRI-1/8" 1/8" 20 8 85 8] 75 4
551402 SWRI-3/16" 3/16" 20 4.4 35 4 75 4
551404 SWRI-1/4" 1/4" 30 6 40 6 130 4
551406 SWRI-5/16" 5/16" 30 7.5 40 8 130 5
551408 SWRI-3/8" 3/8" 30 9.3 40 10 130 5
551410 SWRI-7/16" 7/16" 30 10.8 40 12 130 6
551412 SWRI-1/2" 1/2" 30 12 40 12 130 6
SWM | L

A
A
vy _

A
A

T L LT R S—————
2 e L 52 71-EL 1 ;- — +

< C

A

Welding edge type ultrafine tungsten steel is not equal
Left-handed mechanical reamer - straight shank

R~t Size(mm)

Orde be 0 IhE DIE'S [R'S wE EEgid 5] Drice
D(H7) H L, d(h7) L T
551500 SWM-6 6 26 32 6 93 6T
551502 SWM-7 7 31 36 7 109 6T
551504 SWM-8 8 33 42 8 117 6T
551506 SWM-9 9 36 42 9 125 6T
551508 SWM-10 10 38 45 10 133 6T
551510 SWM-11 11 41 48 10 142 6T
551512 SWM-12 12 44 50 10 151 6T
551514 SWM-13 13 44 50 10 151 6T
551516 SWM-14 14 47 53 12.5 160 6T
551518 SWM-15 15 50 55 12.5 162 6T
551520 SWM-16 16 52 58 12.5 170 6T E I
551522 SWM-17 17 54 62 14 175 6T £k
551524 SWM-18 18 56 64 14 182 6T
551526 SWM-19 19 58 66 16 189 6T VMD
551528 SWM-20 20 60 68 16 195 6T KEhsk
71N
SWMT F R N e
= 3 PR AR\ Ay 3 oy v D ] =
RINABHNEBRAFS 2%
i s rge
Eﬁﬁ*ﬂﬁ%ﬁﬂ'%ﬁ%&*ﬁ T o - N 3 g%
Welding edge type uI_trafine tungsten steel is not equal {‘ L 4 i 1tk
Left-handed mechanical reamer - Mo-style taper shank
R T Size(mm) lé%?
Order Numbe o 52 T o 504 17 8 el @7
D(H7) H L MT T TR
551600 SWMT-10 10 38 168 1# 6
551602 SWMT-11 11 41 175 1# 6 HBOR
551604 SWMT-12 12 44 182 1% 6 CBI
551606 SWMT-13 13 44 182 1# 6 CBH
551608 SWMT-14 14 47 189 1# 6 i
551610 SWMT-15 15 50 204 2# 6 R4
551612 SWMT-16 16 52 210 2# 6
551614 SWMT-17 17 54 214 2# 6 NBJ
551616 SWMT-18 18 56 219 2# 6 NBH
551618 SWMT-19 19 58 223 2 6 I
551620 SWMT-20 20 60 228 2# 6 =35
551622 SWMT-22 22 64 237 2# 6
551624 SWMT-24 24 68 268 24 8 TWE
551626 SWMT-25 25 68 268 2# 8 RBH
551628 SWMT-26 26 70 273 34 8 iy
551630 SWMT-27 27 71 277 3 8 D
551632 SWMT-28 28 71 277 3t 8 ey
551634 SWMT-30 30 73 281 3t 8 <
551636 SWMT-32 32 77 317 4 8
551638 SWMT-35 35 78 321 44 8 -
551640 SWMT-36 36 79 325 44 8
551642 SWMT-38 38 81 329 44 8
551644 SWMT-40 40 81 329 44 8




